G LIKE

¥ 52 iR &

FUKE HYDRAULIC

OUll] JIINDIPAH K EHER | INITE)

2022k

AR ESS

| Hydraulic Fitting

www.fukefitting.com



COMPANY
INTRODUCTION

ATEN

www.fukefitting.com

TRBRBENHERLSEE—RBNFRERMERGSEHE
A=A AN E A AE],

NEEERMEFAISO, DIN, SAEIMERIREIEL. SHBEENRE
MR, BEIKME. R, QASRELRFEFENRERSNIRITIH, =
MREFREEXOBARZIFNRERERENBRALSR IESEF XY

NEPAEHIT1IS09001:2000 A& R, Ml ZNEAFAET
W, HHHFEREHE. TENM. NOEBE. BHREI. IEFESE
J

NEAPEERENESRE. NIRE, A AREFRHEMAR™
M. “BFE—. T 2RIMNERER, MEFRERFNRS
EBAKIZAIEXR!



Company Profile TR REN A RS

Ningbo Fuke Hydraulic Machinery Co., Ltd.

©

=
La3=:)

Quality

Ej
i
Service

&

I+

=
Z AW

Quality

Ningbo Fuke Hydraulic Machinery Co., Ltd. is a professional company dedicated to the production and research and
development of hydraulic fluid connectors and control valves.

The company mainly provides hydraulic joints, high-precision hydraulic valve blocks, high-pressure ball valves, and
single-phase valves that comply with ISO, DIN, and SAE standards. The company has experienced hydraulic system
designers, who can provide customers with relevant technical support and all hydraulic accessories solutions to improve
customer procurement efficiency.

The company earnestly implements the 1SO9001:2000 quality system, and its products are widely used in metallurgical
industry, drilling platform equipment manufacturing, construction machinery, wind power generation, petrochemical indus-
try, machine tool manufacturing and other fields.

The company has high-precision production equipment and testing equipment to provide our customers with high-quality
products. "Customer first, continuous innovation" is our development concept, and providing customers with the best
service is our eternal pursuit!

www.fukefitting.com



G LKE

FamiTés

AI=225| MODEL INDEX

01100 01200 00110 00210 00110A 03310
N P6 P6 P7 P7 P8 P8
£ Ferrule
00200 00400 00401 00402
P9 P9 P10 P10
10411 20411 20441 20491
N4 R P11 P12 P13 P14
24°Cone O-ring Seal
10511 20511 20541 20591
P15 P16 P17 P18
HHMEL IS
Britishl
12611A 22611D 22641 22691 13011
P19 P20 P21 P22 P23
EHMRLBL BT
Americal
15611 26711D 26741 26791
P24 P25 P26 P27
87311 87341 87391 87611 87641 87691
N P28 P28 P29 P30 P30 P31
SAEE=Z51
SAE Flange
87613 87643 87693
P31 P32 P32
NHMRYFERSL
Metric Thread Bite
Type Tube Fitting
1C, 1D 109, 1D9 166G, 1DG 1CG9-0G. 1DG9-0G 1CH. 1DH 1CH9-0G. 1DH9-0G
P33 P35 P36 P37 P38 P39

www.fukefitting.com




Product description

RI-E2%5| MODEL INDEX

TR RENERAE] ‘ 0]/02

Ningbo Fuke Hydraulic Machinery Co., Lid.

NHEIRYFEZL
Metric Thread Bite
Type Tube Fitting

72

KL

727 %

L~

7z

1CI-B. 1DI-B 1CB-WD, 1DB-WD 1CM-WD. 1DM-WD

)

1CN, 1DN  1CN9. 1DN9

1CI-M, 1DI-M
P40 P41 P42 P43 P44 P45
[lr [ B
“_ -
160, 1D0 1C09-0G. 1D09-0G 1CT, 1DT 1CT9. 1DT9 1CW, 1DW 1CW9. 1DW9
P46 P47 P48 P49 P50 P51

i, =N
T

2BC-WD, 2BD-WD 26, 2D 209, 2D9 2MC-WD. 2MD-WD 2WC. 2wD 3C. 3D
P52 P53 P55 P56 P57 P58
M
4C, 4D 5CB, 5DB  5CB-GDDK., 5DB-GDK 7BC—GDK, 7BD-GDK 6C-LN. 6D-LN 6C9-LN. 6D9-LN
P59 P60 P61 P61 P62 P63
quﬁ = =]

i

;

ACCG-0G. ADDG-0G ~ ACCH-0G, ADDH-0G ACCO-0G. ADDO-0G

i

P67 P68 P69
CC. CD RL. RS
P71 P73
TRk
British Adaptor
1B 1B-WD 1BJ 1BN 1BN9 1BT-SP
P75 P76 P77 P78 P79 P80

www.fukefitting.com



G LKE

F=mir

BI=2Z25| MODEL INDEX

7]
—n

1BT9-SP

2B

2B9 2NB 2TB-SP 2TB9-SP
P81 P82 P83 P84 P85 P86
4B 4B-WD 5B9 5B 7B 7B9-PK
ot s P86 P87 P87 P88 P89 P90
British Adaptor
9B AB BB CB GB-PK 1T9-SP
P90 P91 P92 P92 P93 P93
1T-SP 5T9 5T-SP 7T 7T79-PK GT-PK
P94 P95 P96 P97 P98 P98
1J 1J9 1JB-WD 1JG9-0G 1IN TIN9
P99 P100 P101 P102 P103 P104
e PN EESS
America Adaptor
1J0 1J09-06G 1JT-SP 1JT9-SP 2J 2J9
P105 P106 P107 P108 P109 P110
2NJ 2NJ9 2TJ-SP 2TJ9-SP 44 6J-LN
P111 P112 P113 P113 P114 P115

www.fukefitting.com




Product description

A= 2%5| MODEL INDEX

TR RENERAE] ‘ 03/04

Ningbo Fuke Hydraulic Machinery Co., Lid.

9J 9J-CAP AJ BJ CJ
P116 P116 P117 P118 P119
ES PR EES
America Adaptor
1N 1N9 4N 5N 5N9 7N
P120 P121 P121 P122 P123 P124
7N9-PK AN GN-PK ZN
P125 P125 P126 P126
i % .
SRSk — -
Flange Coupling
1CFL. 1DFS 1CFL9. 1DFS?  1FLW.1FSW TFLW-PM.1FSW-PM  FL. FS FL-W. FS-W
P127 P128 P129 P130 P131 P132
¥k Plug
4BN-WD 4NMN-WD 40N ANN 4TN-GM
P133 P133 P134 P134 P135
MEFEK :
\
Pressure ‘
measuring joint ‘
EMA
P136 P137 P138

www.fukefitting.com



G LKE

#=225| MODEL

FamiTés

INDEX

i

<

[[Hi

AN I /

RHD RHV-R-ED
P146 P147
— [
miieslilmim [[HN
RHZ-R-ED RHV-M-ED
P148 P149
B =)
one-way valve
RHZ-M-ED
P150
R
Shuttle valve
W =iERIE
P151
R ,
‘ 1 KR ’
i — b
7z H }77/2
Ball valve ‘ — -
BKR/BKN/BKHL/BKHS BKGFS/BKGFS6/SKGFS/SKGFS6 BKSF/BKSF6/SKSF/SKSF6
P153 P156 P158

www.fukefitting.com




Product description

MER R EFESL SWAGED HOSE FITTING

TRERBEANHERAS | 05/06

Ningbo Fuke Hydraulic Machinery Co., Ltd.

L
2 01100
_ 10 —.-—_ = F g5k 2 el
| T — RRA IR EERS
FERRULE FOR CHINA 1-WIRE HOSE
B # %% HOSE BORE R <} DIMENSIONS
PART NO. AFRAN £ DN #7'5 DASH D L
01100-02 4 02 17 28
01100-04 6 04 19 30
01100-05 8 05 21 32
01100-06 10 06 23 32
01100-08 12 08 28 34
01100-10 16 10 31 39
01100-12 20 12 34 43
01100-14 22 14 37 43
01100-16 25 16 41 50
01100-20 32 20 49 59
01100-24 40 24 55 74
01100-32 50 32 68 78
L
f
01200
i (@)
EFr_RRAREER
FERRULE FOR CHINA 2-WIRE HOSE
= % % HOSE BORE JU s} D MENSIONS
PART NO. AP A4 DN F5'5 DASH D L
01200-03 4 02 18 5 28
01200-04 6 04 21.5 30
01200-05 8 05 23 32
01200-06 10 06 25 32
01200-08 12 08 31 34
01200-10 16 10 34 39
01200-12 20 12 37 43
01200-14 22 14 40 43
01200-16 25 16 43 50
01200-20 32 20 51 59
01200-24 40 24 57 74
01200-28 45 28 64 74
01200-32 50 32 70 78

www.fukefitting.com



G LKE

HERNRE L SWAGED HOSE FITTING

Famités

L
7 00110
) i e SAE100R1AT/EN 853 1SN 2 & E&
FERRULE FOR SAE100R1AT/EN 853 1SN HOSE
(%= % HOSE BORE R~ DIMENSIONS
PART NO. AFRN 4% DN Fr= DASH L
00110-20 32 20 59
00110-24 40 24 74
00110-32 50 32 78
L
- 00210
- - D Iy A
SAE100R2AT/EN 853 2SN #i & & &
FERRULE FOR SAE100R2AT/EN 853 2SN HOSE
R % % HOSE BORE R~} DIMENSIONS
PART NO. AN D ¥r5 DASH L
00210-03 5 03 27
00210-04 6 04 30
00210-05 8 05 31
00210-06 10 06 32
00210-08 12 08 34
00210-10 16 10 37
00210-12 20 12 43
00210-16 25 16 50
00210-20 32 20 59
002 10-24 40 24 74
00210-32 50 32 78
e AN T TR

www.fukefitting.com




Product description

HEREEE L SWAGED HOSE FITTING

TR AR E RS ‘ 07/08

Ningbo Fuke Hydraulic Machinery Co., Ltd.

L

00110-A
D Parlas Pavand
SAE100R1AT/DIN20022 1SN ¥ & E 5
FERRULE FOR SAE100R1AT/DIN20022 1SN HOSE
1
= % HOSE BORE R~ DIMENSIONS
PART NO. AFRAN1EDN ¥r 5 DASH D L
00110-03A 5 03 185 23
00110-04A 6 04 21 30.5
00110-05A 8 05 21.5 30
00110-06A 10 06 24.3 32
00110-08A 12 08 28 34
00110-10A 16 10 31.3 37
00110-12A 20 12 355 42
00110-16A 25 16 435 51
L
03310
- SAE 100 R2AT/EN 853 2SN #i& &
FERRULE FOR SAE 100 R2AT/EN 853 2SN HOSE
R 5 % % HOSE BORE R <} DIMENSIONS
PART NO. A\ FRAN 12 DN ¥55 DASH L
03310-03 5 03 23
03310-04 6 04 30.5
03310-05 8 05 30
03310-06 10 06 32
03310-08 12 08 34
03310-10 16 10 37
03310-12 19 12 42
03310-16 25 16 51

www.fukefitting.com



G LKE

FamiTés

HERN K E SR SWAGED HOSE FITTING

L

00200

SAE 100 R2AT/EN 853 2SN R EER

FERRULE FOR SAE 100 R2AT/EN 853 2SN HOSE

5 & HOSE BORE N~} DIMENSIONS
PART NO. AR 4L DN Fr5 DASH L
00200-20 392 20 59
00200-24 40 24 74
00200-32 50 32 78
00400
() Iy dite i st
4SP. 4SH/12-16. R12/06-16 X EER
FERRULE FOR 4SP. 4SH/12-16. R12/06-16 HOSE
5 % % HOSE BORE ] <} DMENS ONS
PART NO. APKNFEDN b5 DASH L
00400-04 6 04 375
00400-06 10 06 39
00400-08 12 08 41
00400-10 16 10 43
00400-12 20 12 51
00400-16 25 16 61.5
00400-20 32 20 67.5
00400-24 40 24 75
00400-32 50 32 79

www.fukefitting.com




Product description

FE R E L SWAGED HOSE FITTING

TR A FBRENME RS

Ningbo Fuke Hydraulic Machinery Co., Ltd.

1 09/10

L
00401
()] 4SH. R12/132 B EEH
FERRULE FOR 4SH . R12/32 HOSE
5 % % HOSE BORE <} DIMENSIONS
PART NO. PR DN Fr 5 DASH L
00401-20 32 20 67.5
00401-24 40 24 75
00401-32 50 32 79
L
00402
a SAE 100 R9AT-R12,DIN EN
856-4SP/04-16 B EER
FERRULE FOR SAE 100 R9AT-R12,
DIN EN 856-4SP/04-16 HOSE
fr % 4% HOSE BORE JU -} DIMENSIONS
PART NO. A\ PR 42 DN ¥r'5 DASH D L
00402-04 6 04 215 30
00402-06 10 06 26 33
00402-08 12 08 30 34
00402-10 16 10 33 39
00402-12 20 12 38 40
00402-16 25 16 46 51
00402-20 32 20 55 60
00402-24 40 24 63 70
00402-32 50 32 77 72
VE <A R T 1R HRE 0 B RS 8

www.fukefitting.com



GUKE a3

HERN K E L SWAGED HOSE FITTING

A
% 10411
H e e
24°( W <||y NEIIMEL24° NIRRT
| METRIC MALE 24° CONE SEAT L.T.DIN 3853
S1
= 12 o E ki % HOSE BORE ETIME R~} DIMENSIONS
PART NO. THREAD E | A% W4 DN | #x%5 DASH | TUBEO.D.| A C S1
10411-12-04 M12X1.5 6 04 6 20.5 10 12
10411-14-04 M14X1.5 6 04 8 20.5 10 14
10411-14-05 M14X1.5 8 05 8 21.5 10 14
10411-16-04 M16X1.5 6 04 10 22.5 11 17
10411-16-05 M16X1.5 8 05 10 22.5 11 17
10411-16-06 M16X1.5 10 06 10 22.5 1 17
10411-18-05 M18X1.5 8 05 12 23.5 11 19
10411-18-06 M18X1.5 10 06 12 22.5 11 19
10411-22-06 M22X1.5 10 06 15 24.5 12 24
10411-22-08 M22X1.5 12 08 15 26 12 24
10411-26-08 M26X1.5 12 08 18 26.5 12 27
10411-26-10 M26X1.5 16 10 18 27 12 27
10411-27-10 M27X1.5 16 10 18 32 14 30
10411-30-10 M30X2 16 10 22 29 14 32
10411-30-12 M30X2 20 12 22 29 14 32
10411-36-16 M36X2 25 16 28 31.5 14 38
10411-45-20 M45X2 32 20 35 36 16 46
10411-52-24 M52X2 40 24 42 38 16 55

www.fukefitting.com



Product description TREZREAAERAD | 17/12

Ningbo Fuke Hydraulic Machinery Co., Ltd.

FEREE L SWAGED HOSE FITTING

C A
= D rrr o
Y z«ELt
S2
20411 20411-T
AFIRIRL24° H#ET O BIER AT
METRIC FEMALE 24° CONE O-RING L.T.
ISO 12151-2--DIN 3865
Kt & ® 4 E X & HOSE BORE BT O JE ke JU 5} DIMENSIONS
PART NO. THREAD E | A# W% DN | 55 DASH [ TUBE O.D. O RING A C S2
20411-12-04 M12X1.5 6 04 6 004.5X1.5 26 1 17
20411-14-04 M14X1.5 6 04 8 006.5X1.5 2008 2 19
20411-14-06 M14X1.5 10 06 8 006.5X1.5 27.5 2 19
20411-16-04 M16X1.5 6 04 10 008.0X1.5 28 2 22
20411-16-05 M16X1.5 8 05 10 008.0X1.5 28 2 22
20411-16-06 M16X1.5 10 06 10 008.0X1.5 28 2 22
20411-18-05T M18X1.5 8 05 12 010.0X1.5 24.5 1.5 22
20411-18-06 M18X1.5 10 06 12 010.0X1.5 29 2.5 24
20411-18-08 M18X1.5 12 08 12 010.0X1.5 29.5 2.5 24
20411-22-05T M22X1.5 8 05 15 012.0X2.0 | 26.5 3 27
20411-22-06T M22X1.5 10 06 15 012.0X2.0 | 26.5 3 27
20411-22-08 M22X1.5 12 08 15 012.0X2.0 32 2.5 27
20411-26-10 M26X1.5 16 10 18 015.0X2.0 | 34.5 2.5 32
20411-26-12 M26X1.5 20 12 18 015.0X2.0 35 2.5 32
20411-27-10T M27X1.5 16 10 18 015.0X2.0 35 2.1 32
20411-27-12 M27X1.5 20 12 18 015.0X2.0 35 2.5 32
20411-30-10T M30X2 16 10 22 020.0X2.0 31 3.8 36
20411-30-12 M30X2 20 12 22 020.0X2.0 39 4 36
20411-36-12T M36X2 20 12 28 026.0X2.0 33 4.5 46
20411-36-14T M36X2 22 14 28 026.0X2.0 33 4.5 46
20411-45-16T M45X2 25 16 35 032.0X2.5 37 4 55
20411-45-20T M45X2 32 20 35 032.0X2.5 SIS 4 55
20411-52-20T M52X2 32 20 42 038.0X2.5 38.5 4 60
20411-52-24T M52X2 40 24 42 038.0X2.5 | 38.5 4 60
e 1 RPCS H TR U 2. Wil TGRS 1R B0k 2041 2-x0¢-XXo
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20412-xx-xx.

www.fukefitting.com



GUKE rzna

HER K E TSR SWAGED HOSE FITTING

20441 20441-T

45° NHINIRG 24° #5 O RIER AT
45° METRIC FEMALE 24° CONE O-RING L.T.
ISO 12151-2—-DIN 3865

R 5 i 4 E Ik % HOSEBORE | %42 | O M JL I DIMENSIONS

PART NO. THREAD E | A P12 DN | #5%5 DASH | TUBE O.D.| O RING A C H S2
20441-14-04 M14X1.5 6 04 8 006.5X1.5 | 49 2 27 19
20441-16-05 M16X1.5 8 05 10 008.0X1.5 | 51.5]| 2 28.2 | 22
20441-16-06 M16X1.5 10 06 10 008.0X1.5 (534 | 2 [29.2]| 22
20441-18-05T M18X1.5 8 05 12 010.0X1.5 [ 46.6| 1.5 | 23.2 | 22
20441-18-06 M18X1.5 10 06 12 010.0X1.5 [54.2] 25 [ 299 | 24
20441-22-05T M22X1.5 8 05 15 012.0X2.0 [46.5]| 3 | 23.2 | 27
20441-22-06T M22X1.5 10 06 15 012.0X2.0 | 48.5 3 24.2 | 27
20441-22-08 M22X1.5 12 08 15 012.0X2.0 [ 68.1] 2.5 | 33.2 | 27
20441-26-08T M26X1.5 12 08 18 015.0X2.0 [60.6 | 2.1 | 25.7 | 32
20441-26-10 M26X1.5 16 10 18 015.0X2.0 [ 80.7| 2.5 | 359 | 32
20441-26-12 M26X1.5 20 12 18 015.0X2.0 [86.9] 2.5 | 39.5 | 32
20441-27-10T M27X1.5 16 10 18 015.0X2.0 | 72 | 21 | 27.7 | 32
20441-27-12 M27X1.5 20 12 18 015.0X2.0 [86.9]| 2.5 [ 39.5| 32
20441-30-10T M30X2 16 10 22 020.0X2.0 | 73.5]| 3.8 | 28.6 | 36
20441-30-12 M30X2 20 12 22 020.0X2.0 [ 891 4 [41.7 | 36
20441-36-12T M36X2 20 12 28 026.0X2.0 | 79.5]| 4.5 | 32.1 | 46
20441-36-14T M36X2 22 14 28 026.0X2.0 [81.9]| 45 [ 31.6 | 46
20441-45-20T M45X2 32 20 35 032.0X2.5 (998 4 | 39.1 ]| 55
20441-52-20T M52X2 32 20 42 038.0X2.5 | 102 | 4 39.8 [ 60
20441-52-24T M52X2 40 24 42 038.0X2.5 [114.5] 4 | 43.7 | 60

e RS T U 2. Wl TS B AN S B 20442-x6-xx
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20442-xx-xx.

www.fukefitting.com



Product description TRBRBEABEELE | 13/14

Ningbo Fuke Hydraulic Machinery Co., Ltd.

FEREE L SWAGED HOSE FITTING

20491-T

90° AHIRIRG 24° H#T O RIER AT
90° METRIC FEMALE 24° CONE O-RING L.T.
ISO 12151-2--DIN 3865

R = # S E X & HOSE BORE ErAME | O JU I DIMENSIONS

PART NO. THREAD E | A% W42 DN | #5'5 DASH [TUBE O.D. | O RING A C H S2
20491-12-03 M12X1.5 5 03 6 004.5X1.5 | 26.5 1 35 17
20491-12-04 M12X1.5 6 04 6 004.5X1.5 30 1 1445 17
20491-14-04 M14X1.5 6 04 8 006.5X1.5 30 2 38 19
20491-16-04 M16X1.5 6 04 10 008.0X1.5 30 2 89 22
20491-16-05 M16X1.5 8 05 10 008.0X1.5 33 2 42 22
20491-16-06 M16X1.5 10 06 10 008.0X1.5 | 35.3 2 |[51.8 22
20491-18-05T [ M18X1.5 8 05 12 010.0X1.5 33 [ 1.5 1425 | 22
20491-18-06 M18X1.5 10 06 12 010.0X1.5 | 35.3 | 2.5 1443 24
20491-22-06T M22X1.5 10 06 15 012.0X2.0 | 35.3 3[448 27
20491-22-08 M22X1.5 12 08 1 012.0X2.0 41 2.5 52 27
20491-26-08T M26X1.5 12 08 18 015.0X2.0 41 2.1 51 32
20491-26-10 M26X1.5 16 10 18 015.0X2.0 56 2.5 [58.5 32
20491-26-12 M26X1.5 20 12 18 015.0X2.0 [ 649 | 25 77 32
20491-27-10T M27X1.5 16 10 18 015.0X2.0 56 2.1 1549 32
20491-27-12 M27X1.5 20 12 18 015.0X2.0 [ 649 | 25 77 32
20491-30-10T M30X2 16 10 22 020.0X2.0 56 | 3.8 |57.2 | 36
20491-30-12 M30X2 20 12 22 020.0X2.0 | 65.5 4 63 36
20491-36-12T M36X2 20 12 28 026.0X2.0 | 65.5| 45 [66.5| 46
20491-36-14T M36X2 22 14 28 026.0X2.0 | 71.2 | 4.5 |67.5 | 46
20491-45-16T M45X2 25 16 85 032.0X2.5 | 76.7 4 75 55
20491-45-20T M45X2 32 20 35 032.0X2.5 | 91.5 4 86 55
20491-52-20T M52X2 32 20 42 038.0X2.5 93 4 87 60
20491-52-24T M52X2 40 24 42 038.0X2.5 1109.4] 4 |100.5|] 60
e RS T g 2. il T RS B A5 B0 20492-x¢-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20492-xx-xx.

www.fukefitting.com



G UKE a3

HERNRE L SWAGED HOSE FITTING

%Q 10511

s
24w {1 | | ” | | NHIMEL 24° AERME RS
= METRIC MALE 24° CONE SEAT H.T.DIN3853
S1
1Y 57 BRLLE | ‘¥ HOSE BORE BT JU_~J DIMENSIONS

PART NO. THREAD E | AF A4 DN | #5'5 DASH | TUBEO.D.| A C S1
10511-14-04 M14X1.5 6 04 6 245 | 12 14
10511-16-04 M16X1.5 6 04 8 265 | 12 il
10511-18-04 M18X1.5 6 04 10 265 | 12 19
10511-20-05 M20X1.5 8 05 12 2l iz 22
10511-20-06 M20X1.5 10 06 12 265 | 12 22
10511-22-05 M22X1.5 8 05 14 305 | 14 24
10511-22-06 M22X1.5 10 06 14 305 | 14 24
10511-22-08 M22X1.5 12 08 14 31 14 24
10511-24-08 M24X1.5 12 08 16 315 | 14 27
10511-30-10 M30X2 16 10 20 345 | 16 32
10511-30-12 M30X2 20 12 20 36 16 32
10511-36-12 M36X2 20 12 25 405 | 18 | 41
10511-36-16 M36X2 25 16 25 415 | 18 38
10511-42-16 M42X2 25 16 30 44 | 20 | 46
10511-42-20 M42X2 32 20 30 45 | 20 | 46
10511-52-20 M52X2 BE 20 38 50 | 22 55

www.fukefitting.com



Product description TRBRBEAEERAS | 15/16

Ningbo Fuke Hydraulic Machinery Co., Lid.

HERNKE L SWAGED HOSE FITTING

C A
C A ]
= R M i
S2
20511 20511-T
90° AHIAIRL 24° #TH O BEERT
90° METRIC FEMALE 24° CONE O-RING
H.T.ISO 12151-2--DIN 3865
i = 2 4 E Jiz_ % HOSE BORE HrhE | O JU~I DIMENSIONS
PART NO. THREAD E [ AFkA 42 DN [ #5'5 DASH [TUBE O.D.| O RING A C S2
20511-14-04 M16X1.5 6 04 6 004.5X1.5 29 1.5 19
20511-16-04 M16X1.5 6 04 8 006.5X1.5 29 1.5 22
20511-16-05 M16X1.5 8 05 8 006.5X1.5 29 1.5 22
20511-18-04T | M18X1.5 6 04 10 008.0X1.5 25.5 1.5 22
20511-18-06 M18X1.5 10 06 10 008.0X1.5 29 2 24
20511-20-06T | M20X1.5 10 06 12 010.0X1.5 26.5 2.5 24
20511-20-08 M20X1.5 12 08 12 010.0X1.5 31.5 2.5 27
20511-22-06T | M22X1.5 10 06 14 011.0X2.0 26.5 3 27
20511-22-08 M22X1.5 12 08 14 011.0X2.0 31.5 2.5 27
20511-24-06T | M24X1.5 10 06 16 013.0X2.0 27 3 30
20511-24-08T | M24X1.5 12 08 16 013.0X2.0 27.5 3 30
20511-30-10T M30X2 16 10 20 016.3X2.4 33 25 36
20511-30-12 M30X2 20 12 20 016.3X2.4 39 3 36
20511-36-12T M36X2 20 12 25 020.3X2.4 35 &2 46
20511-36-14T M36X2 22 14 25 020.3X2.4 34 3.2 46
20511-42-12T M42X2 20 12 30 025.3X2.4 37.5 S 50
20511-42-16T M42X2 25 16 30 025.3X2.4 38.5 3.9 50
20511-52-20T M52X2 32 20 38 033.3X2.4 41.5 4.5 60
20511-52-24T M52X2 40 24 38 033.3X2.4 41.5 4.5 60
e RS T g 2. fiti T 4G B A5 B 2051 2-x¢-xX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20512-xx-xx.

www.fukefitting.com



G LKE

it

HERNIKE L SWAGED HOSE FITTING

20541 20541-T
45° NEIFELL 24° T O BIBIE AT
45° METRIC FEMALE 24° CONE O-RING H.T.
ISO 12151-2--DIN 3865

£ = 12 4 E ik % HOSE BORE | #T14M& | O M R~} DIMENSIONS
PART NO. |THREAD E|[ A# /4% DN| #5'5 DASH [TUBE O.D.| O RING A C H S2
20541-14-04 | M16X1.5 6 04 6 004.5X1.5| 43.4 1.5 21.3 19
20541-16-04 | M16X1.5 6 04 8 006.5X1.5| 44.4 1.5 22.3 22
20541-16-05 | M16X1.5 8 05 8 006.5X1.5| 46.6 1.5 23.2 22
20541-18-04T | M18X1.5 6 04 10 008.0X1.5| 43.7 1.5 21.6 22
20541-18-06 | M18X1.5 10 06 10 008.0X1.5| 48.1 2 23.9 24
20541-20-06T | M20X1.5 10 06 12 010.0X1.5| 47.8 | 2.5 23.5 24
20541-20-08 | M20X1.5 12 08 12 010.0X1.5| 68.1 2.5 33.2 27
20541-22-06T | M22X1.5 10 06 14 011.0X2.0| 48.1 3 23.9 27
20541-22-08 | M22X1.5 12 08 14 011.0X2.0| 68.1 2.5 33.2 27
20541-24-08T | M24X1.5 12 08 16 013.0X2.0| 62.5 3 27.5 30
20541-30-10T | M30X2 16 10 20 016.3X2.4| 735 | 25 29.2 36
20541-30-12 | M30X2 20 12 20 016.3X2.4| 77.2 3 30.3 36
20541-36-12T | M36X2 20 12 25 020.3X2.4| 81.1 3.2 33 46
20541-36-14T | M36X2 22 14 25 020.3X2.4| 82.8 | 3.2 32.5 46
20541-42-16T |  M42X2 25 16 30 025.3X2.4| 90.6 | 3.9 35.1 50
20541-52-20T | M52X2 32 20 38 033.3X2.4| 101.7 | 45 39.4 60
20541-52-24T | M52X2 40 24 38 033.3X2.4| 114.1 | 4.5 43.4 60

e 1 RS H T
Note: 1.For use with braided hoses.

2. 4 T PGS N 20542-XX-XX
2.If use with spiral hoses, hose fitting series number is 20542-xx-xx.

www.fukefitting.com




Product description TRBRAENAERAS | 17/18

Ningbo Fuke Hydraulic Machinery Co., Lid.

FEREE L SWAGED HOSE FITTING

20591-T

90° AHIMIEL24° HHOREERT
90° METRIC FEMALE 24° CONE O-RING H.T.
ISO 12151-2——-DIN 3865

T = 2 2 E Ik % HOSE BORE | % r3Mz | O J¢M LI DIMENSIONS
PART NO. THREAD E [ AFkA 42 DN | ## %5 DASH [TUBE O.D.| O RING A C H S2

20591-14-04 M16X1.5 6 04 6 004.5X1.5] 30 1.5 39.5 19
20591-16-04 M16X1.5 6 04 8 006.5X1.5[ 30 1.5 39.5 22
20591-16-05 M16X1.5 8 05 8 006.5X1.5] 33 1.5 42.5 22
20591-18-05T [ M18X1.5 8 05 10 008.0X1.5[ 33 1.5 41.5 22
20591-18-06 M18X1.5 10 06 10 008.0X1.5] 35.3 2 45.8 24
20591-20-06T [ M20X1.5 10 06 12 010.0X1.5] 35.3 25 44.3 24
20591-20-08 M20X1.5 12 08 12 010.0X1.5| 41 2.5 61 27
20591-22-06T [ M22X1.5 10 06 14 011.0X2.0] 35.3 3 44.8 27
20591-22-08 M22X1.5 12 08 14 011.0X2.0] 41 2.5 53 27
20591-24-08T [ M24X1.5 12 08 16 013.0X2.0] 41 3 50.5 30
20591-24-10 M24X1.5 16 10 16 013.0X2.0] 56.5 2.5 56.5 30
20591-30-10T M30X2 16 10 20 016.3X2.4| 56 2.5 58 36
20591-30-12 M30X2 20 12 20 016.3X2.4] 64.9 3 64 36
20591-36-12T M36X2 20 12 25 020.3X2.4| 66.2 3.2 67.8 46
20591-36-14T M36X2 22 14 25 020.3X2.4]| 71.2 3.2 68.8 46
20591-42-16T M42X2 25 16 30 025.3X2.4| 78 3.9 75.1 50
20591-52-20T M52X2 32 20 38 033.3X2.4] 93 4.5 86.5 60
20591-52-24T M52X2 40 24 38 033.3X2.4] 1094 | 4.5 100 60

e RS TS 2. il H T s B AT B0 20592-x¢-xX e

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20592-xx-xx.

www.fukefitting.com



GUKE a3

HERNRE L SWAGED HOSE FITTING

A 12611A
C
K ) TEIMELN 60° MtEEIZS fAinHE
60° | wit L i FA 4B & H 5 B XA 4
T BSP MALE DOUBLE USE FOR 60°
S1 CONE SEAT OR BONDED SEAL
R 5 12 4 E %X % HOSE BORE &~} DIMENSIONS
PART NO. THREAD E [ AFKN42 DN | Fr5 DASH A © S1
12611A-02-03 G1/8"X28 5 03 22 10 14
12611A-04-04 G1/4"X19 6 04 245 | 12 19
12611A-04-05 G1/4"X19 8 05 245 | 12 19
12611A-06-05 G3/8"X19 8 05 26 | 135 | 22
12611A-06-06 G3/8"X19 10 06 28 | 135 | 22
12611A-06-08 G3/8"X19 12 08 285 | 135 | 22
12611A-08-06 G1/2"X14 10 06 33 16 27
12611A-08-08 G1/2"X14 12 08 335 | 16 2
12611A-08-10 G1/2"X14 16 10 32 16 27
12611A-10-08 G5/8"X14 12 08 35 | 175 | 30
12611A-10-10 G5/8"X14 16 10 36 | 175 | 30
12611A-12-08 G3/4"X14 12 08 36.5 | 185 | 32
12611A-12-10 G3/4"X14 16 10 375 | 185 | 32
12611A-12-12 G3/4"X14 20 12 375 | 185 | 32
12611A-16-12 G1"X11 20 12 425 | 205 | 41
12611A-16-16 G1"X11 25 16 435 | 205 | 41
12611A-20-16 | G1.1/4"X11 25 16 455 | 205 | 50
12611A-20-20 | G1.1/4"X11 32 20 465 | 205 | 50
12611A-24-24 G.1/2"X11 40 24 49 23 55
12611A-32-32 G2"X11 50 32 545 | 255 | 70
W ZARVI BT R 60° HEMIE A, AT 757N A i 1 50 A5 2% J

www.fukefitting.com



Product description vt sy | 19/20

NER R E S SWAGED HOSE FITTING

22611D

GOOCL,_, 1L

KEMNIZL 60° SMEENSA
BSP FEMALE 60° CONE DOUBLE HEXAGON

B 12 2 E Jik % HOSE BORE JU ] DIMENSIONS
PART NO. THREAD E AFRATE DN ¥r5 DASH A C S1 S2
22611D-04-04 G1/4"X19 6 04 23.5 5.5 19 19
22611D-06-06 G3/8"X19 10 06 26.5 6.3 22 22
22611D-08-08 G1/2"X14 12 08 31 7.5 27 27
22611D-10-08 G5/8"X14 12 08 31 9.5 30 30
22611D-12-08 G3/4"X14 12 08 31.5 10.9 32 32
22611D-12-12 G3/4"X14 20 12 33.5 10.9 32 32
22611D-16-16 G1"X11 25 16 35.5 11.7 41 41
22611D-20-20W| G1.1/4"X11 32 20 44 11 50 50
Ee 1RSI TR . 2. N TSR AE AN T 0k 22612D-XX-XXo
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22612D-xx-xx.

www.fukefitting.com



GUKE rzna

HERNIRE L SWAGED HOSE FITTING

22641 22641-W 22641-T

45° FEEMNIZL 60° JMEM
45° BSP FEMALE 60° CONE

= 32 4lE ik % HOSE BORE JU ) DIMENSIONS
PART NO. THREAD E | AFKHN4: DN Fr'5 DASH A C H S2
22641-04-04 G1/4"X19 6 04 42.3 5.5 20.2 19
22641-06-04 G3/8"X19 6 04 43.2 6.3 21 22
22641-06-05 G3/8"X19 8 05 45.3 6.3 22 22
22641-06-06 G3/8"X19 10 06 46.9 6.3 22.6 22
22641-08-06T G1/2"X14 10 06 48.1 7.5 23.9 27
22641-08-08 G1/2"X14 12 08 61.1 7.5 26.1 27
22641-10-08 G5/8"X14 12 08 61.4 9.5 26.5 30
22641-10-10 G5/8"X14 16 10 72.6 9.5 27.8 30
22641-12-08T G3/4"X14 12 08 61.8 109 [ 26.9 32
22641-12-10 G3/4"X14 16 10 73 10.9 [ 28.2 32
22641-12-12 G3/4"X14 20 12 79.2 109 | 31.8 32
22641-16-12T G1"X11 20 12 80.8 11.7 | 33.4 41
22641-16-16 G1"X11 25 16 88.4 117 | 34.2 41
22641-20-16T G1.1/4"X11 25 16 85.3 11 31.1 50
22641-20-20W G1.1/4"X11 32 20 98.8 11 38 50
22641-24-24W G1.1/2"X11 40 24 116.8 13 45.5 55
22641-32-32W G2"X11 50 32 135.7 16 52.7 70
e 1RGP . 2. il T PGB S 5Oh 22642-XX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22642-xx-xx.

www.fukefitting.com



Product description TREBRREAMERAS | 971 /22

Ningbo Fuke Hydraulic Machinery Co., Ltd.

FIE R E L SWAGED HOSE FITTING

22691 22691-W 22691-T

90° JeiF NIRZL60° M
90° BSP FEMALE 60° CONE

=] 2 4L E Jik 4 HOSE BORE JU 5] DIMENSIONS
PART NO. THREAD E | A®KAN4E DN ¥r'5 DASH A C H S2

22691-02-03 G1/8"X28 5 03 26.5 5.5 31.5 14
22691-02-04 G1/8"X28 6 04 30 55 34.5 14
22691-04-03 G1/4"X19 5 03 26.5 5.5 33.5 19
22691-04-04 G1/4"X19 6 04 30 5.9 36.5 19
22691-04-05 G1/4"X19 8 05 33 5.5 39.5 19
22691-04-06 G1/4"X19 10 06 30 5.5 36.5 19
22691-06-04 G3/8"X19 6 04 30 6.3 37.7 22
22691-06-05 G3/8"X19 8 05 88 6.3 40.7 22
22691-06-06 G3/8"X19 10 06 35.3 6.3 43 22
22691-08-06T G1/2"X14 10 06 35.3 7 43.3 27
22691-08-08 G1/2"X14 12 08 41 7.5 51 27
22691-08-10 G1/2"X14 16 10 56.5 7.5 55.5 27
22691-10-08 G5/8"X14 12 08 41 9.5 51.5 30
22691-10-10 G5/8"X14 16 10 56 9.5 56 30
22691-12-08T G3/4"X14 12 08 41 10.9 52.1 32
22691-12-10 G3/4"X14 16 10 56.5 10.9 | 56.6 32
22691-12-12 G3/4"X14 20 12 64.9 10.9 | 66.1 32
22691-16-12T G1"X11 20 12 65.5 11.7 68.3 41
22691-16-14 G1"X11 22 14 71.2 11.7 | 69.3 41
22691-16-16 G1"X11 25 16 76.7 11.7 73.8 41
22691-20-16T G1.1/4"X11 25 16 78 11 69.5 50
22691-20-20W | G1.1/4"X11 32 20 91.5 11 84.3 50
22691-24-24W | G1.1/2"X11 40 24 109.4 13 103 55
22691-32-32W G2"X11 50 32 131.8 16 1238 70

Ve 1. R T RO 2. 0155 P T JREERK S 1R 54 22692-3x-xX.

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 22692-xx-xx.

www.fukefitting.com



GUKE a3

ER K E L SWAGED HOSE FITTING

A
C
e, 13011-SP
U

A 12 4 E i % HOSE BORE X~} DIMENSIONS

PART NO. THREAD E [ AFHN4: DN | #3'5 DASH A C S1
13011-02-03SP R1/8"X28 5 03 22 10 12
13011-02-04SP R1/8"X28 6 04 22.5 10 12
13011-04-04SP R1/4"X19 6 04 27 14.5 14
13011-04-05SP R1/4"X19 8 05 25 15.4 14
13011-04-06SP R1/4"X19 10 06 27 14.5 17
13011-06-04SP R3/8"X19 6 04 27.5 15 17
13011-06-05SP R3/8"X19 8 05 26.5 15 17
13011-06-06SP R3/8"X19 10 06 27.5 15 17
13011-06-08SP R3/8"X19 12 08 30 15 19
13011-08-06SP R1/2"X14 10 06 34.5 20 22
13011-08-08SP R1/2"X14 12 08 35 20 22
13011-08-10SP R1/2"X14 16 10 38 20 22
13011-08-12SP R1/2"X14 20 12 38 20 27
13011-12-08SP R3/4"X14 12 08 37 20 27
13011-12-10SP R3/4"X14 16 10 38 20 27
13011-12-12SP R3/4"X14 20 12 38.5 20 27
13011-12-16SP R3/4"X14 25 16 39.5 20 32
13011-16-12SP R1"X11 20 12 44 | 255 36
13011-16-16SP R1"X11 25 16 45 | 255 36
13011-20-20SP | R1.1/4"X11 32 20 495 | 265 46
13011-24-24SP | R1.1/2"X11 40 24 525 | 26.5 50
13011-32-24SP R2"X11 40 24 57 30 65
13011-32-32SP R2"X11 50 32 57 30 65

www.fukefitting.com



Product description TRBRBEANEELE | 23/24

Ningbo Fuke Hydraulic Machinery Co., Ltd.

FE R E L SWAGED HOSE FITTING

A

C

I 15611

/V W 7 o —

| i Fot S RE

| ] NPT MALE

\Egy

= i o E i % HOSE BORE /i I DIMENSIONS
PART NO. THREAD E NFR N 42 DN tr'5 DASH A © S1

15611-02-03 Z1/8"X27 5 03 21.5 10.5 12
15611-02-04 Z1/8"X27 6 04 22.5 10.5 12
15611-04-03 Z1/4"X18 5 03 27 15 17
15611-04-04 Z1/4"X18 6 04 28 15 17
15611-04-05 Z1/4"X18 8 05 28 15 17
15611-04-06 Z1/4"X18 10 06 28 15 17
15611-06-04 Z3/8"X18 6 04 28 16 19
15611-06-05 Z3/8"X18 8 05 29 16 19
15611-06-06 Z3/8"X18 10 06 29 16 19
15611-06-08 Z3/8"X18 12 08 30.5 16 19
15611-08-06 Z1/2"X14 10 06 34 19.5 22
15611-08-08 Z1/2"X14 12 08 34.5 19.5 22
15611-08-10 Z1/2"X14 16 10 355 19.5 22
15611-12-08 73/4"X14 12 08 37.5 19.5 20
15611-12-10 Z3/4"X14 16 10 37.5 19.5 27
15611-12-12 Z23/4"X14 20 12 38.5 19.5 27
15611-12-16 Z23/4"X14 25 16 39.5 19.5 32
15611-16-10 Z1"X11.5 16 10 45 25 15 36
15611-16-12 Z1"X11.5 20 12 45 25.5 36
15611-16-16 Z1"X11.5 25 16 46.5 25.5 36
15611-20-16 Z1.1/4"X11.5 25 16 49 26.5 46
15611-20-20 Z1.1/4"X11.5 32 20 50.5 26.5 46
15611-24-24 Z1.1/2"X11.5 40 24 51 27.5 50
15611-32-32 Z2"X11.5 50 32 55 2715 65

www.fukefitting.com



26711D

SEH JIC WHIEL 74° MBS A
JIC FEMALE 74° CONE SEAT DOUBLE HEXAGON

SAE J514
L = ®O4E %X ¥ HOSE BORE JU 5} DIMENSIONS
PART NO. THREAD E AFRA4E DN tr5 DASH A C S1 S2
26711D-04-04 7/16"X20 6 04 20 9 17 15
26711D-05-04 1/2"X20 6 04 21 9.5 17 17
26711D-06-04 9/16"X18 6 04 21 10.5 19 19
26711D-06-06 9/16"X18 10 06 21 10.5 19 19
26711D-08-06 3/4"X16 10 06 25 11 24 24
26711D-08-08 3/4"X16 12 08 24.5 11 24 24
26711D-08-10 3/4"X16 16 10 25.5 11 24 24
26711D-10-08 7/8"X14 12 08 28 13 27 27
26711D-10-10 7/8"X14 16 10 29 13 27 27
26711D-12-12 1.1/16"X12 20 12 31.5 15 32 32
26711D-16-12 1.5/16"X12 20 12 33.5 16 41 41
26711D-16-16 1.5/16"X12 25 16 34.5 16 41 41
26711D-16-20 1.5/16"X12 32 20 36.5 16 41 41
26711D-20-20W 1.7/16"X12 32 20 41 iz 50 50
e 1 RS T g . 2. I R SR AT R 26712D-xx-XXo
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26712D-xx-xx.

www.fukefitting.com



Product description TRBRBEANERAS | 25/26

Ningbo Fuke Hydraulic Machinery Co., Lid.

HER R E1E S SWAGED HOSE FITTING

26741 26741W

45° ZEH| JIC AIEL 74° NHEME
45° JIC FEMALE 74° CONE SEAT

SAE J514
5 3 4QE ik % HOSE BORE JUsF DIMENSIONS

PART NO. THREAD E AFRAE DN ¥r*5 DASH A C H S2
26741-04-03 7/16"X20 5 03 37.6 9 17.2 15
26741-04-04 7/16"X20 6 04 40.2 9 18.1 15
26741-05-04 1/2"X20 6 04 40.5 9.5 18.5 17
26741-05-05 1/2"X20 8 05 42.7 9.5 19.3 17
26741-05-06 1/2"X20 10 06 44.6 9.5 20.3 17
26741-06-04 9/16"X18 6 04 40.5 10.5 | 18.5 19
26741-06-05 9/16"X18 8 05 426 | 10.5 | 19.3 19
26741-06-06 9/16"X18 10 06 44.3 | 10.5 20 19
26741-08-06 3/4"X16 10 06 45.7 11 21.4 24
26741-08-08 3/4"X16 12 08 57.9 11 22.9 24
26741-10-08 7/8"X14 12 08 58.9 13 24 27
26741-10-10 7/8"X14 16 10 69.6 i3} 25.3 27
26741-10-12 7/8"X14 20 12 75.7 13 28.9 27
26741-12-08 1.1/16"X12 12 08 60 15 25.1 32
26741-12-10 1.1/16"X12 16 10 70.7 15 26.4 32
26741-12-12 1.1/16"X12 20 12 76.8 15 30 32
26741-14-12 1.3/16"X12 20 12 77.4 15 30 36
26741-16-12 1.5/16"X12 20 12 77.4 16 30 41
26741-16-16 1.5/16"X12 25 16 85.7 16 31.5 41
26741-20-20W 1.5/8"X12 32 20 95.9 17 35.2 50
26741-24-20W 1.7/8"X12 32 20 100.9 20 40.1 55
26741-24-24W 1.7/8"X12 40 24 114.8 20 441 55
26741-32-32W 2.1/2"X12 50 32 135.9 | 235 | 51.6 75

e RS T g 2. W A RGNS BOh 26742000
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26742-xx-xx.

www.fukefitting.com



G LKE

HE R R E1E S SWAGED HOSE FITTING

FamiTés

A

@‘

,/,/<

/

T T
Ol —__1}s2
CLE
74°
26791 26791W
90° ZEHll JIC WIEL 74° RNEE
90° JIC FEMALE 74° CONE SEAT
SAE J514
f B 2 2 E Ik & HOSE BORE JU~} DIMENSIONS
PART NO. THREAD E AFEN4E DN #r*5 DASH A C H S2
26791-04-03 7/16"X20 5 03 26.5 9 30.5 15
26791-04-04 7/16"X20 6 04 30 9 33.5 15
26791-05-04 1/2"X20 6 04 30 9.5 34 17
26791-05-05 1/2"X20 8 05 33 9.5 37 17
26791-05-06 1/2"X20 10 06 35.3 9.5 39.3 17
26791-06-04 9/16"X18 6 04 30 10.5 34 19
26791-06-05 9/16"X18 8 05 33 10.5 37 19
26791-06-06 9/16"X18 10 06 35.3 [ 10.5 | 39.3 19
26791-06-08 9/16"X18 12 08 35.8 [ 10.5 | 39.8 19
26791-08-06 3/4"X16 10 06 35.3 11 41.3 24
26791-08-08 3/4"X16 12 08 41 11 47.5 24
26791-08-10 3/4"X16 16 10 49 11 47.5 24
26791-10-08 7/8"X14 12 08 41 13 48 27
26791-10-10 7/8"X14 16 10 56 13 52.5 27
26791-10-12 7/8"X14 20 12 64.9 13 62 27
26791-12-08 1.1/16"X12 12 08 41 15 49.5 32
26791-12-10 1.1/16"X12 16 10 56 15 54 32
26791-12-12 1.1/16"X12 20 12 65.5 15 63.5 82
26791-12-16 1.1/16"X12 25 16 74 15 63.5 32
26791-14-12 1.3/16"X12 20 12 65.5 15 63.5 36
26791-16-12 1.5/16"X12 20 12 65.5 16 63.5 41
26791-16-16 1.5/16"X12 25 16 76.7 16 70 41
26791-20-20W 1.5/8"X12 32 20 91.5 17 80.5 50
26791-24-20W 1.7/8"X12 32 20 91.5 20 80.5 55
26791-24-24W 1.7/8"X12 40 24 109.4 20 94 55
26791-32-32W 2.1/2"X12 50 32 133.1 ] 235 [121.8] 75
e 1RSI T U . 2. 1ts T 9 G AQ 5 250k 26792-xx-xx

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 26792-xx-xx.

www.fukefitting.com




Product description ot sy | 27/28
FnE K EHE L SWAGED HOSE FITTING
87311
SAE 7%= 3000 PSI
SAE FLANGE 3000 PSI
ISO 12151-3--SAE J516
N = ki the) Ji % HOSE BORE JU <] DIMENSIONS
PART NO. FLANGE SIZE| AFfA4:DN | #x'5 DASH A C D L
87311-08-08 1/2" 12 08 46 30.2 24 6.73
87311-12-08 3/4" 12 08 47 38.1 31.7 6.73
87311-12-10 3/4" 16 10 48 38.1 31.7 6.73
87311-12-12 3/4" 20 12 48 38.1 31.7 6.73
87311-12-16 3/4" 25 16 49 38.1 31.7 6.73
87311-16-12 i 20 12 51 444 38 8
87311-16-16 1" 25 16 52 444 38 8
87311-16-20 il 32 20 53 444 38 8
87311-20-16 1.1/4" 25 16 57 50.8 43 8
87311-20-20 1.1/4" 32 20 58 50.8 43 8
87311-24-20 1.1/2" 32 20 68 60.3 50 8
87311-24-24 1.1/2" 40 24 68 60.3 50 8
87311-32-24 2" 40 24 70 714 62 9.53
87311-32-32 2" 50 32 70 71.4 62 9.53
87311-40-40 2.1/2" 64 40 76 84.1 74 9.53
e 1 RS H TR - 2. i H TG O AR S O 87 312-xx-XXo
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87312-xx-xx.
A
87341
1 0NL 45° SAE 3% 3000 PSI
45° SAE FLANGE 3000 PSI
¢ ISO 12151-3--SAE J516
= vE L K & HOSE BORE JX 5+ DIMENSIONS
PART NO. |FLANGE SIZE| FWf2 DN | #5'5 DASH A C D H L
87341-08-08 1/2" 12 08 58.2 | 30.2 24 233 [6.73
87341-12-08 3/4" 12 08 58.9 [ 381 | 31.7 24 | 6.73
87341-12-10 3/4" 16 10 69.6 | 381 | 31.7 | 253 | 6.73
87341-12-12 3/4" 20 12 76.3 | 381 | 31.7 | 289 | 6.73
87341-16-12 1" 20 12 76.3 | 444 38 | 28.9 8
87341-16-16 1" 25 16 83.9 | 444 38 | 29.7 8
87341-16-20 1" 32 20 94.5 | 444 38 | 33.8 8
87341-20-16 1.1/4" 25 16 85.2 | 50.8 43 | 29.7 8
87341-20-20 1.1/4" 32 20 94.5 [ 50.8 43 | 33.8 8
87341-24-20 1.1/2" 32 20 95.9 | 60.3 50 | 35.2 8
87341-24-24 1.1/2" 40 24 109.9] 60.3 50 | 39.1 8
87341-32-24 2" 40 24 109.9]| 71.4 62 | 39.1 ] 9.53
87341-32-32 2" 50 32 129.31 714 62 | 46.3 | 9.53
e 1 RS TR R . 2. T T 9R G AT U 87342-XxX-XX o
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87342-xx-xx.

www.fukefitting.com



GUKE sz

ER K E L SWAGED HOSE FITTING

87391
T 90° SAE 7%= 3000 PSI
90° SAE FLANGE 3000 PSI
1 ISO 12151-3--SAE J516
it = EERE Jik % HOSE BORE JU ~} DIMENSIONS

PART NO. FLANGE SIZE| AFPM1% DN | br'5 DASH Al C D H L
87391-08-08 1/2" 12 08 41 [302] 24 47 16.73
87391-12-08 3/4" 12 08 41 | 38.1]| 31.7 | 48 | 6.73
87391-12-10 3/4" 16 10 56 | 38.1 [ 31.7 525 6.73
87391-12-12 3/4" 20 12 66.2 | 38.1| 31.7| 62 | 6.73
87391-12-16 3/4" 25 16 76.7 | 38.1]| 31.7 | 67.5| 6.73
87391-16-12 1" 20 12 65.5 | 444 38 62 8
87391-16-16 1" 25 16 76.7 1444 | 38 |67.5 8
87391-16-20 1" 32 20 9151444 | 38 [78.5 8
87391-20-16 1.1/4" 25 16 76.7 150.8| 43 |[67.5| 8
87391-20-20 1.1/4" 32 20 91.5150.8| 43 [78.5 8
87391-20-24 1.1/4" 40 24 107 [{50.8| 43 [785]| 8
87391-24-20 1.1/2" 32 20 91.5160.3| 50 [80.5 8
87391-24-24 1.1/2" 40 24 109.4| 60.3 [ 50 94 8
87391-32-24 2" 40 24 109.4| 714 | 62 94 | 9.53
87391-32-32 2" 50 32 131.8/ 714 [ 62 [114.3] 9.53
87391-40-32 2.1/2" 50 32 131.8] 84.1 | 74.4 [116.3] 9.53

e RS I TSR 2. FEH T GG AU B0 87392-xx-XXo
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87392-xx-xx.

www.fukefitting.com



Product description

HEERE S SWAGED HOSE FITTING

TR B FBRENHE RS ‘ 29/30

Ningbo Fuke Hydraulic Machinery Co., Ltd.

A .
87611
B
a 7= SAE %= 6000 PSI
Of -+ - m SAE FLANGE 6000 PSI
M ISO 12151-3--SAE J516
i 5 ViR ki % HOSE BORE JU 5+ DIMENSIONS
PART NO. [FLANGE SIZE| A ®N4: DN | #55 DASH A C D L
87611-08-08 1/2" 12 08 47 | 31.7 24 | 7.75
87611-12-10 3/4" 16 10 50.5 | 41.3 32 | 8.76
87611-12-12 3/4" 20 12 51 41.3 32 | 8.76
87611-16-12 i 20 12 56 | 47.6 38 | 9.53
87611-16-16 1" 25 16 57 47.6 38 | 9.53
87611-16-20 il 32 20 61 47.6 38 | 9.53
87611-20-16 1.1/4" 25 16 65 54 44 110.29
87611-20-20 1.1/4" 32 20 66 54 44 110.29
87611-24-20 1.1/2" 32 20 75 | 63.5 51 112.57
87611-24-24 1.1/2" 40 24 75 | 63.5 51 [12.57
87611-32-24 2" 40 24 85 [ 79.4 67 |12.57
87611-32-32 2" 50 82 85 | 794 67 | 12.57
Ee RS T S . 2.5 T JEEEAE AT B0k 8761 2-x¢-xX
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 8761 2-xx-xx.
A .
P 87641
N T
T 4 45° SAE ;%= 6000 PSI
< 45° SAE FLANGE 6000 PSI
K\/ ISO 12151-3-SAE J516
i = Al Jiz_ ¥ HOSE BORE JX_~} DIMENSIONS
PART NO. |FLANGE SIZE| A#k /4 DN | ki’ DASH A = D H L
87641-08-08 1/2" 12 08 589 | 31.7 24 24 7.75
87641-08-12 1/2" 20 12 || 3.7 24 1296 | 7.75
87641-12-10 3/4" 16 10 7251413 32 | 282 | 8.76
87641-12-12 3/4" 20 12 79.2 | 41.3 32 | 31.8 | 8.76
87641-16-16 1" 25 16 88.9 | 47.6 38 |34.7] 9.53
87641-20-20 1.1/4" 32 20 102.3| 54 44 | 41.5| 10.29
87641-24-20 1.1/2" 32 20 105.8| 63.5 51 [ 451 ] 12.57
87641-24-24 1.1/2" 40 24 119.8| 63.5 51 49 | 12.57
87641-32-24 2" 40 24 125.4]| 79.4 67 | 54.7 | 12.57
87641-32-32 2" 50 32 144.8] 794 67 | 61.9] 12.57
T RS TRV 2.0t T 95 A A0S 50k 87642-X%-XXo
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 8764 2-xx-xx.

www.fukefitting.com



GUKE a3

EREEIESL SWAGED HOSE FITTING

vl
7~ 87691
/
T ' 90° SAE %= 6000 PSI
D 90° SAE FLANGE 6000 PSI
7] ‘ ISO 12151-3--SAE J516
C
= BERE ik % HOSE BORE JU <} DIMENSIONS
PART NO. FLANGE SIZE| A%kp41% DN | bx'5 DASH A cC| D H L
87691-08-08 1/2" 12 08 41 31.7| 24 48 [ 7.75
87691-12-10 3/4" 16 10 56 41.3| 32 | 56.5 | 8.76
87691-12-12 3/4" 20 12 65.5 |41.3| 32 66 | 8.76
87691-16-12 1" 20 12 65.5 [47.6| 38 69 [ 9.53
87691-16-16 1" 25 16 76.7 1476 38 | 74.5 | 9.53
87691-16-20 1" 32 20 915 | 476 38 | 855 | 9.53
87691-20-16 1.1/4" 25 16 76.7 54 44 | 78.5 | 10.29
87691-20-20 1.14" 32 20 91.5 54 44 | 89.5 [ 10.29
87691-24-20 1.1/2" 32 20 91.5 [63.5] 51 94.5 [12.57
87691-24-24 1.1/2" 40 24 109.4 [ 63.5( 51 108 [ 12.57
87691-32-24 2" 40 24 109.4 1794 | 67 116 | 12.57
87691-32-32 28 50 32 131.8179.4| 67 |136.3] 12.57
Ee RPICTH TR - 2. it T AR AT B8 8769 2-30¢-xx
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 87692-xx-xx.
A
L
% 770 87613
O ol T " SAE ;% 6000 PSI
H_U]ﬂﬂlm SAE FLANGE 6000 PSI
R 5 PRt Jig % HOSE BORE J& ~ DIMENSIONS
PART NO. FLANGE SIZE | AFkPN4%2 DN Fr*5 DASH A C D L
87613-12-12 3/4" 20 12 53 41.3 32 8.76
87613-16-12 1" 20 12 58 47.6 38 9.53
87613-16-16 1" 25 16 59.4 | 47.6 38 9.53
87613-20-16 1.1/4" 25 16 67.4 54 44 [10.29
87613-20-20 1.1/4" 32 20 69.8 54 44 110.29
87613-20-24 1.1/4" 40 24 74.7 54 44 110.29
87613-24-20 1.1/2" 32 20 78.8 | 63.5 51 12.57
87613-24-24 1.1/2" 40 24 78.7 | 63.5 51 12.57
87613-32-24 2" 40 24 91.2 | 794 67 112.57
87613-32-32 2" 50 32 91 79.4 67 112.57

www.fukefitting.com




Product description

TR AR E RS

Ningbo Fuke Hydraulic Machinery Co., Lid.

1 31/32

FE R E L SWAGED HOSE FITTING

87643

45° SAE 7%= 6000 PSI
45° SAE FLANGE 6000 PSI

) 240 2 fiz % HOSE BORE R~} DIMENSIONS

PARTNO. | FLANGE SIZE | A#/y42DN [ 455 DASH A c D H L
87643-12-12 3/4" 20 12 88.7 | 413 | 32 [318 | 876
87643-16-12 1" 20 12 90.8 | 476 | 38 [332] 953
87643-16-16 1" 25 16 101.1 | 47.6 | 38 | 347 | 9.53
87643-20-16 1.1/4" 25 16 103.9 | 54 | 44 [ 375 |10.29
87643-20-20 1.1/4" 32 20 116.6 | 54 | 44 | 415 [10.29
87643-24-20 1.1/2" 32 20 1201|635 | 51 | 451 [12.57
87643-24-24 1.1/2" 40 24 134.6 | 635 | 51 | 49 [1257
87643-32-24 24 140.2 | 79.4 | 67 | 547 [12.57
87643-32-32 32 163.3 | 79.4 | 67 | 619 [1257

87693
T 90° SAE 7%= 6000 PSI
. 90° SAE FLANGE 6000 PSI

o= et e i % HOSE BORE JX_~} DIMENSIONS

PART NO. | FLANGE SIZE | A# A% DN | 45 DASH A C D H L
87693-12-12 314" 20 12 75 | 413 ] 32 | 66 | 876
87693-16-12 1" 20 12 75 | 476 | 38 | 68 | 953
87693-16-16 1" 25 16 88.9 | 476 | 38 [735 | 953
87693-20-16 1.1/4" 25 16 88.9 | 54 | 44 [ 785 [10.29
87693-20-20 1.1/4" 32 20 105.8| 54 | 44 | 865 |10.29
87693-24-20 1.1/2" 32 20 105.8 | 635 | 51 | 89.5 | 12,57
87693-24-24 1.1/2" 40 24 1242 635 | 51 | 103 | 12,57
87693-32-24 2" 40 24 124.2] 79.4 | 67 | 103 | 12,57
87693-32-32 2" 50 32 1503 ] 7904 | 67 |1233]| 1257

www.fukefitting.com



GLIKE ransz

DIN £EXE#Z DIN BITE TYPE TUBE FITTINGS

L1

I

5 %r LAl I 7% ; BB
F STRAIGHT FITTINGS
Ts2 s S3
1C 1C-RN
1D 1D-RN
;£ B 12 ¢ THREAD & F4Mz TUBE O.D. JU -5 DIMENSIONS i FjEE gk
PART NO. E F D1 D2 1 L1 | s1 | s2 | s3 MPa
1C-12 M12X1.5 [ M12X1.5 6 6 10 39 12 14 14
1C-14 M14X1.5 [ M14X1.5 8 8 11 40 14 17 17 315
1C-16 M16X1.5 [ M16X1.5 10 10 13 42 17 19 19 LEE
1C-18 M18X1.5 [ M18X1.5 12 12 14 43 19 22 22 L
1C-22 M22X1.5 [ M22X1.5 15 15 16 46 24 27 27
1C-26 M26X1.5 | M26X1.5 18 18 16 48 27 32 32
1C-30 M30X2 M30X2 22 22 20 52 32 36 36 16
1C-36 M36X2 M36X2 28 28 21 54 41 41 41 LEE Yl
1C-45 M45X2 M45X2 35 35 20 63 46 50 50 L
1C-52 M52X2 M52X2 42 42 21 66 55 60 60
1D-14 M14X1.5 [ M14X1.5 6 6 16 45 14 17 17
1D-16 M16X1.5 [ M16X1.5 8 8 18 47 17 19 19 63
1D-18 M18X1.5 [ M18X1.5 10 10 17 49 19 22 22 RS
1D-20 M20X1.5 | M20X1.5 12 12 19 51 22 24 24 S
1D-22 M22X1.5 [ M22X1.5 14 14 22 57 24 27 27
1D-24 M24X1.5 [ M24X1.5 16 16 21 57 27 30 30
1D-30 | M30X2 | M30X2 20 20 23 | 66 | 32 | 36 | 36 E;O AI
1D-36 | M36X2 | M36X2 25 25 26 | 74 | 41 | 46 | 46 /SJJ
1D-42 M42X2 M42X2 30 30 27 80 46 50 50
1D-52 M52X2 M52X2 38 38 29 90 85 60 60 315 R4S
T i R E A RERE R TR, WEEECS 5 “RN” 4 1C-30RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary
to insert suffix "RN" after our part no., for example 1C-30RN.

www.fukefitting.com




Product description TRBRREAREELE | 33/34

Ningbo Fuke Hydraulic Machinery Co., Lid.

DIN £+ ERE#Zk DIN BITE TYPE TUBE FITTINGS

L1

11
A SRS
T 7 awens

STRAIGHT REDUCERS

D1

S2 S1 S3
1C 1C-RN
1D 1D-RN

;R = 12 2t THREAD EF4ME TUBE OD. JX s D MENS ONS JiWAE
PART NO. E F D1 D2 L1 1 S1 S2 S3 MPa
1C-12-14 M12X1.5 M14X1 5 6 8 40 11 14 15 17

1C-12-16 M12X1.5 M16X1 5 6 10 41 12 17 15 19

1C-12-18 M12X1.5 M18X1 5 6 12 42 13 19 15 22

1C-14-16 M14X1.5 M16X1 5 8 10 41 13 17 17 19 31.5
1C-14-18 M14X1.5 M18X1 5 8 12 42 13 19 17 22 =¥V
1C-16-18 M16X1.5 M18X1 5 10 12 43 14 19 19 22 L
1C-16-22 M16X1.5 M22X1 5 10 15 44.5 15 24 19 27

1C-16-26 M16X1.5 M26X1 5 10 18 46 15.5 27 19 32

1C-18-22 M18X1.5 M22X1 5 12 15 44.5 15 24 22 27

1C-18-26 M18X1.5 M26X1 5 12 18 46 15.5 27 22 32

1C-18-30 M18X1.5 M30X2 12 22 48 17.5 32 22 36

1C-22-26 M22X1.5 M26X1 5 15 18 47.5 16.5 27 27 32

1C-22-30 M22X1.5 M30X2 15 22 49.5 18.5 32 27 36

1C-26-30 M26X1.5 M30X2 18 22 50 18 32 32 36 16
1C-26-36 M26X1.5 M36X2 18 28 51.5 19 41 32 41 L E |
1C-30-36 M30X2 M36X2 22 28 585 21 41 36 4 L
1C-30-45 M30X2 M45X2 22 35 58.5 21 46 36 50

1C-36-45 M36X2 M45X2 28 8o 59 21 46 41 50

1D-14-16 M14X1.5 M16X1 5 6 8 47 18 17 17 19

1D-14-18 M14X1.5 M18X1 5 6 10 48 17.5 19 17 22

1D-14-20 M14X1.5 M20X1 5 6 12 50 19.5 22 17 24 63
1D-16-18 M16X1.5 M18X1 5 8 10 48 17.5 19 19 22

1D-16-20 M16X1.5 M20X1 5 8 12 50 19.5 22 19 24 RS
1D-18-20 M18X1.5 M20X1 5 10 12 51 19 22 22 24 S
1D-18-22 M18X1.5 M22X1 5 10 14 54 20.5 24 22 27

1D-18-30 M18X1.5 M30X2 10 20 59.5 22 32 22 36

1D-20-22 M20X1.5 M22X1 5 12 14 54 20.5 24 24 27

1D-20-24 M20X1.5 M24X1.5 12 16 54 20 27 24 30

1D-20-30 M20X1.5 M30X2 12 20 59.5 22 32 24 36

1D-22-24 M22X1.5 M24X1.5 14 16 57 21.5 27 27 30

1D-24-30 M24X1.5 M30X2 16 20 62 5 23 32 30 36 40
1D-24-36 M24X1.5 M36X2 16 25 67.5 25.5 41 30 46 GVl
1D-30-36 M30X2 M36X2 20 25 71 25.5 41 36 46 S
1D-30-42 M30X2 M42X2 20 30 74 26 46 36 50

1D-36-42 M36X2 M42X2 25 30 77 26.5 46 46 50

1D42-52 M42X2 M52X2 30 38 86.5 28.5 55 50 60 315741
W W R B R R T, WS ERS E “RN” 4 1C-12-14RN,,

Note: In case if youare interested to order the adapter n comp ete set w th cutting r ng and nut ,it is necessary to insert suff x
"RN" after our part no., for example1C-12-14RN .

www.fukefitting.com



G UKE rzna

DIN £&ERX &£ DIN BITE TYPE TUBE FITTINGS

‘ S
Nl /f—‘:r N
5L N 90° Ttk
=~ ﬁ(g 90° ELBOW FITTINGS
ELL1
1C9 1C9-RN
1D9 1D9-RN

(A=) 1% 4t THREAD &AMz TUBE O.D. R =} DIMENSIONS Jis S48
PART NO. E F D1 D2 1,12 [L1,L2| S1 [S2,S3 MPa

1C9-12 M12X1.5 | M12X1.5 6 6 12 27 12 14

1C9-14 M14X1.5 | M14X1.5 8 8 14 29 12 17

1C9-16 M16X1.5 | M16X1.5 10 10 15 30 14 19 i’i?/;sﬁﬂ

1C9-18 M18X1.5 | M18X1.5 12 12 17 32 17 22 L

1C9-22 M22X1.5 | M22X1.5 15 15 21 36 19 27

1C9-26 M26X1.5 | M26X1.5 18 18 23.5 | 40 24 32

1C9-30 M30X2 M30X2 22 22 275 | 44 27 36 16

1C9-36 M36X2 M36X2 28 28 30.5 | 47 36 41 BRY

1C9-45 M45X2 M45X2 35 35 34.5 56 41 50 L

1C9-52 M52X2 M52X2 42 42 40 63 50 60

1D9-14 M14X1.5 | M14X1.5 6 6 16 31 12 17

1D9-16 M16X1.5 | M16X1.5 8 8 17 32 14 19 63

1D9-18 M18X1.5 | M18X1.5 10 10 175 | 34 17 22 HRY

1D9-20 M20X1.5 | M20X1.5 12 12 215 | 38 17 24 S

1D9-22 M22X1.5 | M22X1.5 14 14 22 40 19 27

1D9-24 M24X1.5 | M24X1.5 16 16 245 | 43 24 30 40

1D9-30 M30X2 M30X2 20 20 26.5 | 48 27 36 HARY

1D9-36 M36X2 M36X2 25 25 30 54 36 46 S

1D9-42 M42X2 M42X2 30 30 355 | 62 41 50 31.5

1D9-52 | M52X2 | M52X2 38 38 41 | 72 | 50 | 60 RIS
e nFE R R EIR AR O, WIREAEAUS S “RN”, ai1C9-30RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary
to insert suffix "RN" after our part no., for example 1C9-30RN.

www.fukefitting.com



Product description

TR B BRENHE RS ‘ 35/36

DIN £ERX &£k DIN BITE TYPE TUBE FITTINGS

Ningbo Fuke Hydraulic Machinery Co., Lid.

L1 B
1
ek
2 NEIn IR L0 BB T HFEi
w “ 7T L =l BSP THREAD STUD ENDS
| = | WITH O-RING SEALING
1CG 1CG-RN
1DG 1DG-RN
R 5 12 £ THREAD 142 TUBE O.D. JU s DIMENSIONS JE 2%

PART NO. E B D1 B 11 L1 S1 S2 MPa

1CG-12-02 M12X1.5 G1/8"X28 6 9.5 8.5 23 14 14

1CG-12-04 M12X1.5 G1/4"X19 6 10 10 25 19 14

1CG-14-04 M14x1.5 G1/4"X19 8 10 10 25 19 17

1CG-14-06 M14x1.5 G3/8"X19 8 115 [115 26 22 17

1CG-14-08 M14x1.5 G1/2"X14 8 14 13 | 27.5 27 34

1CG-16-04 M16x1.5 G1/4"X19 10 10 11 26 19 19

1CG-16-06 M16x1.5 G3/8"X19 10 115 [125 27 22 19 31.5

1CG-16-08 M16x1.5 G1/2"X14 10 14 14 29 27 19 BRA

1CG-18-06 M18x1.5 G3/8"X19 12 11.5 [125 27 22 22 L

1CG-18-08 M18x1.5 G1/2"X14 12 14 13 28 27 22

1CG-22-06 M22x1.5 G3/8"X19 15 115 [135 29 24 27

1CG-22-08 M22x1.5 G1/2"X14 15 14 14 29 27 27

1CG-22-12 M22x1.5 G3/4"X14 15 15.5 20 30 32 32

1CG-26-08 M26x1.5 G1/2"X14 18 14 14.5 31 27 32

1CG-26-12 M26x1.5 G3/4"X14 18 155 |14.5 32 32 32

1CG-30-12 M30x2 G3/4"X14 22 155 [16.5 33 32 36

1CG-30-16 M30x2 G1"X11 22 18 17.5 35 41 36

1CG-36-16 M36x2 G1"X11 28 18 17.5 34 41 41 16

1CG-45-20 M45x2 | G1.1/4"X11 35 20 |175 | 39 50 50 L

1CG-52-20 M52X2 | G1.1/4"X11 42 20 19 42 55 60 L

1CG-52-24 M52x2 G1.1/2"X11 42 21.5 19 42 55 60

1CG-52-32 M52x2 G2"X11 42 24.5 25 44 70 60

1DG-14-04 M14X1.5 G1/4"X19 6 10 13 28 19 17

1DG-16-04 M16X1.5 G1/4"X19 8 10 15 31 19 19

1DG-18-04 M18x1.5 G1/4"X19 10 10 14.5 31 19 22

1DG-18-06 M18x1.5 G3/8"X19 10 11.5 15 31 22 22 63

1DG-20-06 M20x1.5 G3/8"X19 12 11.5 17 32 22 24 R

1DG-20-08 M20x1.5 G1/2"X14 12 14 17.5 34 27 24 S

1DG-22-06 M22x1.5 G3/8"X19 14 11.5 19 37 24 27

1DG-22-08 M22x1.5 G1/2"X14 14 14 19 37 27 27

1DG-24-04 M24x1.5 G1/4"X19 16 11 18 37 27 30

1DG-24-08 M24x1.5 G1/2"X14 16 14 18.5 37 27 30

1DG-30-12 M30x2 G3/4"X14 20 15.5 120.5 42 32 36

1DG-36-12 M36x2 G3/4"X14 25 15.5 23 47 41 46 EA;ZS&IJ

1DG-36-16 M36x2 G1"X11 25 18 17.5 47 41 46 s

1DG-42-16 M42x2 G1"X11 30 18 1235 48 46 50

1DG-42-20 M42x2 G1.1/4"X11 30 20 235 50 50 50

1DG-52-24 M52x2 G1.1/2"X11 38 21.5 26 57 09 60 31.5Mm A4S
e W R E LRSI, WA S “RN, 11 1DG-20-08RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN"
after our part no., for example 1DG-20-08RN.

www.fukefitting.com



GUKE rzna

F
90° TREWRL A EO BIE &+ i
‘ 90° ELBOW BSP THREAD ADJUSTABLE
wl | __ﬂ‘ ) STUD ENDS WITH O-RING SEALING
1CG9-0G 1CG9-OG/RN
1DG9-0G 1DG9-OG/RN
g 12 2. THREAD 74z TUBE O.D. U~} DIMENSIONS E 2525
PART NO. E F D1 11 L1 L2 S1 S2 S3 MPa
1CG9-12-020G | M12X1.5| G1/8"X28 6 13 28 1262 | 11 14 14
1CG9-14-040G | M14X1.5| G1/4"X19 8 15.5 | 30.5 | 31.3 | 14 17 19
1CG9-16-040G | M16X1.5| G1/4"X19 10 175 |1 325 | 325 | 16 19 19 31.5
1CG9-16-060G | M16X1.5 [ G3/8"X19 10 17.5 | 325 | 358 | 16 19 | 22 | &Y
1CG9-18-060G | M18X1.5| G3/8"X19 12 19 34 [36.8]| 19 22 22 L
1CG9-22-080G | M22X1.5| G1/2"X14 15 22 37 | 432 | 22 27 27
1CG9-26-080G | M26X1.5| G1/2"X14 18 255 | 42 46 27 32 27
1CG9-26-120G | M26X1.5 | G3/4"X14 18 25,5 | 42 | 493 | 27 32 32
1CG9-30-120G | M30X2 | G3/4"X14 22 293 | 458 | 52 30 36 32
1CG9-30-160G | M30X2 G1"X11 22 315 | 48 53 88 36 41 16
1CG9-36-160G | M36X2 G1"X11 28 33 | 498 | 56 36 41 41 BRI
1CG9-36-200G | M36X2 [ G1.1/4"X11 28 36 52.8 | 59 41 41 50 L
1CG9-45-200G | M45X2 | G1.1/4"X11 35 39.2 [ 60.7 | 63 48 50 50
1CG9-52-240G | M52X2 | G1.1/2"X11 42 448 | 67.8 | 68.5 | 55 60 55
1DG9-14-040G | M14X1.5| G1/4"X19 6 17.5 | 32.5 | 31.3 | 14 17 19
1DG9-16-040G | M16X1.5| G1/4"X19 8 18.7 | 33.7 | 325 | 16 19 19
1DG9-16-060G | M16X1.5 [ G3/8"X19 8 18.7 | 33.7 [ 35.8 | 16 19 22 63
1DG9-18-060G | M18X1.5 | G3/8"X19 10 19.5 36 [36.8| 19 22 22 EA5
1DG9-20-060G | M20X1.5| G3/8"X19 12 19.5 36 |36.8 [ 19 24 22 S
1DG9-22-080G | M22X1.5| G1/2"X14 14 23 41 432 | 22 27 27
1DG9-24-080G | M24X1.5| G1/2"X14 16 24 | 425 | 43 24 30 27 40
1DG9-30-120G | M30X2 | G3/4"X14 20 28 1495 ] 52 | 30 | 36 | 32 —
1DG9-36-160G | M36X2 G1"X11 25 32.8 | 56.8 | 56 36 46 41 S
1DG9-42-200G | M42X2 | G1.1/4"X11 30 36.2 | 62.7 | 58 41 50 50
1DG9-52-240G | M52X2 | G1.1/2"X11 38 45.8 | 76.8 | 68.5 | 55 60 55 |31.51 R4S
e i RE MR ERRE R T, WIWS/EALS 5 “RN”, i1 1CG9-30-120G/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary
to insert suffix "RN" after our part no., for example 1CG9-30-120G/RN.

www.fukefitting.com




Product description

TR AR E RS 3 7/38

Ningbo Fuke Hydraulic Machinery Co., Lid.

DIN FERX &% DIN BITE TYPE TUBE FITTINGS

L1
11
N EIIMELFEIR 1SO 6149
- - : L METRIC THREAD STUD ENDS
U 1 ISO 6149
— S2 S1
1CH 1CH-RN
1DH 1DH-RN
® = B2 THREAD Hri D1 ] O % W ]+ DIMENSIONS TE 4524
PART NO. E F TUBE O.D. 0 RING B I L1 S1 s2 MPa
1CH-12-10 M12X1.5 M10X1 6 008.1X1.6 85 | 95 23 14 14
1CH-14 M14X1.5 M14X1.5 8 011.3X2.4 11 10 25 19 17
1CH-14-12 M14X1.5 M12X1.5 8 009.3X2.4 11 10 25 17 17
1CH-16-14 M16X1.5 M14X1.5 10 011.3X2.4 11 13 26 19 19
1CH-18-14 M18X1.5 M14X1.5 12 011.3X2.4 11 11 | 255 19 22
1CH-14-18 M14X1.5 M18X1.5 8 015.3X2.4 125 | 115 | 265 24 17
1CH-16 M16X1.5 M16X1.5 10 013.3X2.4 115 | 13 28 22 19
1CH-16-18 M16X1.5 M18X1.5 10 015.3X2.4 125 | 125 | 28 24 19 315
1CH-18-16 M18X1.5 M16X1.5 12 013.3X2.4 15 | 12 27 22 22 P
1CH-22-16 M22X1.5 M16X1.5 15 013.3X2.4 115 | 135 | 295 24 27
1CH-22-18 M22X1.5 M18X1.5 15 015.3X2.4 125 | 135 | 29 24 27 L
1CH-16-22 M16X1.5 M22X1.5 10 019.3X2.4 13 14 | 295 27 19
1CH-22-20 M22X1.5 M20X1.5 15 017.3X2.4 12 15 | 305 27 27
1CH-22 M22X1.5 M22X1.5 15 019.3X2.4 13 15 31 27 27
1CH-26-22 M26X1.5 M22X1.5 18 019.3X2.4 13 [145 | 31 27 32
1CH-26 M26X1.5 M26X1.5 18 023.5X3.0 135 | 135 | 31 32 32
1CH-26-27 M26X1.5 M27X2 18 023.5X3.0 16 | 145 | 32 32 32
1CH-26-33 M26X1.5 M33X2 18 029.5X3.0 16 [155 | 33 41 32
1CH-30-22 M30X2 M22X1.5 22 019.3X2.4 13 | 175 | 33 32 | 41
1CH-30-27 M30X2 M27X2 22 023.5X3.0 16 | 165 | 33 32 36
1CH-30 M30X2 M30X2 22 026.5X3.0 16 17.5 33 36 36 16
1CH-36-27 M36X2 M27X2 28 023.5X3.0 16 | 175 | 34 41 PE
1CH-36-33 M36X2 M33X2 28 029.5X3.0 16 17.5 34 41 41 R
1CH-36-42 M36X2 M42X2 28 038.5X3.0 16 | 185 | 35 50 | 41 L
1CH-45-33 M45X2 M33X2 35 029.5X3.0 16 | 175 | a7 46 50
1CH-45-42 M45X2 M42X2 35 038.5X3.0 16 | 175 | a7 50 50
1CH-52-48 M52X2 M48X2 42 044.5X3.0 175 | 19 45 55 60
1DH-14 M14X1.5 M14X1.5 6 011.3X2.4 11 15 28 19 17
1DH-14-12 M14X1.5 M12X1.5 6 009.3X2.4 11 13 28 17 17
1DH-16-14 M16X1.5 M14X1.5 8 011.3X2.4 11 15 30 19 19 63
1DH-18-16 M18X1.5 M16X1.5 10 013.3X2.4 115 | 15 31 22 22 _—
1DH-20-14 M20X1.5 M14X1.5 12 011.3X2.4 11 15 31 22 24
1DH-20-16 M20X1.5 M16X1.5 12 013.3X2.4 115 | 15 31 22 24 S
1DH-20-18 M20X1.5 M18X1.5 12 015.3X2.4 125 | 17 33 24 24
1DH-20-22 M20X1.5 M22X1.5 12 019.3X2.4 13 | 175 | 35 27 30
1DH-24-22 M24X1.5 M22X1.5 16 019.3X2.4 13 | 185 | 37 27 30
1DH-30 M30X2 M30X2 20 026.5X3.0 16 | 205 | 42 36 36
1DH-30-27 M30X2 M27X2 20 023.5X3.0 16 | 205 | 42 32 36 0
1DH-30-33 M30X2 M33X2 20 029.5X3.0 16 | 225 | 42 41 36 —
1DH-36-27 M36X2 M27X2 25 023.5X3.0 16 23 47 41 46
1DH-36-33 M36X2 M33X2 25 029.5X3.0 16 23 47 4 46 S
1DH-42 M42X2 Ma2X2 30 038.5X3.0 16 | 235 | 50 50 50
1DH-42-48 M42X2 M48X2 30 044.5X3.0 175 [265 | 52 55 50
e R RERIR PRI, WAETEACS S “RN”, 41 1DH-20-18RN.

www.fukefitting.com



GUKE rzna

DIN £E&®X &£ DIN BITE TYPE TUBE FITTINGS

90° T AHISMELAIEE iR 1ISO 6149
90° ELBOW METRIC THREAD
ADJUSTABLE

" STUD ENDS 1SO 6149
1CH9-0G 1CH9-OG/RN
1DH9-0G 1DH9-OG/RN
£ 5 % 20 THREAD | #14M2D1| O £ M J ~f  DIMENSIONS A
PART NO. E F TUBE O.D. | O RING 11 L1 L2 S1 S2 S3 MPa
1CH9-12-100G [M12X1.5 | M10X1 6 008.1X1.6 13 28 |26.5 11 14 14
1CH9-14-120G [M14X1.5 | M12X1.5 8 009.3X2.4 | 15.5 | 30.5 | 32 14 17 17 315
1CH9-16-140G [M16X1.5 | M14X1.5 10 011.3X2.4 | 175 | 325 | 34 16 19 19 i Z 5
1CH9-18-160G [ M18X1.5 | M16X1.5 12 013.3X2.4 19 34 36 19 22 22 L
1CH9-22-180G [ M22X1.5 | M18X1.5 15 015.3X2.4 | 22 37 1395 | 22 27 24
1CH9-26-220G | M26X1.5 | M22X1.5 18 019.3X2.4 | 255 | 42 | 435 | 27 32 27
1CH9-30-270G | M30X2 M27X2 22 023.5X3.0 [ 29.3 | 45.8 | 50 30 36 32 16
1CH9-36-330G | M3ex2 | M33x2 28 0295x3.0 [ 333 [498 [ 54 [ 36 | 41 | a1 | &I
1DH9-14-120G [ M14X1.5 | M12X1.5 6 009.3X2.4 | 175 | 325 | 32 14 17 17
1DH9-16-140G [ M16X1.5 | M14X1.5 8 011.3X2.4 | 18.7 | 33.7 | 34 16 19 19 63
1DH9-18-160G [ M18X1.5 | M16X1.5 10 013.3X2.4 | 195 | 36 36 19 22 22 FEY
1DH9-20-180G [ M20X1.5 | M18X1.5 12 015.3X2.4 | 19.5 | 36 37 19 24 24 S
1DH9-22-200G [ M22X1.5 | M20X1.5 14 017.3X2.4 | 23 41 40 22 27 27
1DH9-24-220G [ M24X1.5 | M22X1.5 16 019.3X2.4 | 24 42 375 | 24 30 27
1DH9-30-270G [ M30X2 M27X2 20 023.5X3.0 | 28.3 | 498 | 50 30 36 32 40
1DH9-36-330G | M36X2 M33X2 25 029.5X3.0 | 32.8 | 56.8 | 54 36 46 41 HRY
1DH9-420G M42X2 M42X2 30 038.5X3.0 | 36.2 | 62.7 | 57.2 | 41 50 50 S
e R R IR T, WAL A “RN, 1 1DH9-20-180G/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary
to insert suffix "RN" after our part no., for example 1DH9-20-180G/RN.

www.fukefitting.com



Product description TRBRAENAERAE | 30/40

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £ERX 4L DIN BITE TYPE TUBE FITTINGS

L1
2 L2 7 _
S1 ]:8 L6 g
N 1 S3
= 8|8 oE
0 Qi !
el B Q
rh B o
3 ,\W | | X2) | X3)
T X1) ORI
g ‘ oD6 X2) %8 KDS(AT/hFLOF @O 1S09974)
T X3) Z3E KD(ATREFLOFEMO 1S09974)
oD5
[
1CI 1DI-M-KDS B ELiE= 1L - ASIRgE Bt
oL THES (bar)
D5 | D6 =2
BRI T D3 | D4 |[KDS| KD | L1 | L2 | L3 | L4 | L5 | L6 | L7 |S1|S2|S3 | =/#% TS CF| 71

L [06 |M10x1 4 | 45(149(17.0|19.0|12.0|10.5| 8 [24.0( 27 |25 | 17 | 17 | 14 54 1CI-12-10 [315(315
08 |M12x1.5| 6 | 6.0(17.0|22.0{21.5|14.5|14.0| 12 (30.0| 29 | 3.0 | 22 | 19 | 17 97 1CI-14-12 |315|315
10 |M14x1.5| 8 | 6.0|18.9|22.5(22.5|15.5|/14.0| 12 |30.0( 30 | 3.0 | 22 | 19 | 19 104 1CI-16-14 |315(315
12 [M16x1.5| 10 | 7.5[21.9(27.0(25.0(18.0|16.5| 12 |36.0| 33 | 3.0 | 27 | 24 | 22 180 1CI1-18-16 |315(315
15 [M18x1.5] 11 | 9.0 [23.9(29.0|27.5|21.5|185| 12 |39.5| 37 | 3.0 | 30 | 30 | 27 244 1Cl1-22-18 |315[315
18 |M22x1.5| 15 |12.0|26.9|32.0(28.5|21.0|21.5| 14 (450 37 | 45| 32 | 30 | 32 327 1CI1-26-22 |315|315
22 |M26x1.5| 19 [17.0 (31.9|41.0|35.0|27.5|24.0| 16 (53.0| 44 | 35| 41 | 36 | 36 573 1CI1-30-26 |160 | 160
28 |M33x2 | 24 [21.0|39.9|46.0|39.5|32.0(30.5| 18 |66.0| 49 | 3.5 | 50 | 46 | 41 | 1017 1CI-36-33 [ 160 | 160
35 |M42x2 | 30 [27.0 |49.9|57.0|46.5|36.0(35.5| 20 |(76.0| 58 | 3.5 | 60 | 55 | 50 | 1512 1Cl1-45-42 | 160 | 160
42 |[M48x2 | 36 |34.0 [55.9|64.0|51.5|40.5]|40.5| 22 [87.0| 63 | 3.5 | 70 | 60 | 60 | 2217 1CI1-52-48 [ 160|160
S |06 |M12x1.5| 4 | 6.0|17.0|22.0|23.5|16.5|14.0| 12 [30.0| 31 | 3.0 | 22 | 19 | 17 104 1DI-14-12 |400 | 400
08 [M14x1.5| 5 | 6.0(18.9|22.5|23.5(16.5(14.0| 12 |30.0| 31 3.0 | 22 | 19 | 19 110 1DI1-16-14 |400 | 400
10 |M16x1.5| 7 | 75|21.9|27.0(26.0|18.5|16.5| 12 |36.0| 35 | 3.0 | 27 | 24 | 22 186 1DI1-18-16 |400 |400
12 |M18x1.5| 8 | 9.0|23.9|29.0(27.5|20.0|18.5| 12 |39.5| 36 | 3.0 | 27 | 27 | 24 246 1DI1-20-18 |400 |400
14 |[M20x1.5] 10 [10.0 [ 25 [32.0|30.5|22.5|20.0| 14 [43.5] 40 | 3.0 | 32 | 30 | 27 322 1D1-22-20 |400 | 400
16 [M22x1.5| 12 |12.0 [26.9(32.0(30.5(22.0|21.5| 14 |45.0| 40 |45 | 32 | 30 | 30 327 1DI1-24-22 315|315
20 [M27x2 | 16 [16.0 [32.941.0|37.0(26.5(24.0| 16 |53.0| 48 | 3.5 | 41 | 36 | 36 598 1DI1-30-27 |315|315
25 [M33x2 | 20 [21.0 {39.9|46.0|43.5(31.5(30.5| 18 |66.0| 56 | 3.5 | 50 | 46 | 46 | 1055 1DI1-36-33 |250 | 250
30 [M42x2 | 25 [27.0 [49.9|57.0|50.5(37.0({35.5| 20 |76.0| 64 | 3.5 | 60 | 55 | 50 | 1572 1DI1-42-42 | 160 | 160
38 [M48x2 | 32 [34.0 [55.9|64.0|57.5(41.5(40.5| 22 |87.0| 72 | 3.5 | 70 | 60 | 60 | 2317 1D1-52-48 | 160 | 160

TR RE N RERRIEET 5, MEERS /S RN, 40 1D1-14-12/RN,

Note:In case if you are interested to order the adapter in complete set with cuting ring and nut ,it is necessary
to insert suffix "RN" after our part no., for example 1DI 14-12/RN .

www.fukefitting.com



G LKE

il!l:

O /N

nn}lzg

DIN £ERX &£k DIN BITE TYPE TUBE FITTINGS

L1
22 7
St P L6 8
N 1 11 S3
A P 3 5 :
) 1 Q &‘
9 ()
L | ] a
3 T . X2) | X3)
-5 @ D4 X1) OEIE
= oD6 X2) 3 KDS(AF/MFLOFmEHO 1IS09974)
X3) % B KD(BTEFLOFE@EMO 1S09974)
oD5
- N L
1CI 1DI-B-KDS SFESER L — EiFIEScEHE
D1 T{EFEH (ber)
@ D5 | D6 =
Ry || T D3 | D4 ([KDS|KD | L1 | L2 | L3 | L4 [ L5 | L6 | L7 | S1|S2|S3 | =/t iT5S* CF | 71
L |06 |G1/8A | 4 | 45(149]| 17 [19.0(12.0(105| 8 | 24 | 27 |25 | 17 | 17 | 14 53 1CI-12-B02 [315(315
08 |G 1/4A 6 | 6.0/189| 22 [21.5(14.5(|14.0| 12 | 30 | 29 | 3.0 | 22 | 19 | 17 101 1CI-14-B04 |315 315
10 |G1/4A | 8 | 6.0(18.9| 22 |22.5(155(14.0| 12 | 30 | 30 [ 3.0 | 22 | 19 | 19 102 1CI-16-B04 |315 (315
12 |G3/8A | 10 | 7.5(21.9| 27 |25.0(18.0(16.5| 12 | 36 | 33 [ 3.0 | 27 | 24 | 22 181 1CI-18-B06 |315 |315
15 |G 1/2A | 12 [11.0(26.9| 32 |285(21.5(215| 14 | 45 | 37 | 45| 32 | 30 | 27 312 1CI-22-B08 |315 (315
18 [G1/2A | 15 [11.0(26.9| 32 |28.5(21.0(21.5| 14 | 45 | 37 [ 45| 32 | 30 | 32 319 1CI-26-B08 | 315|315
22 |G3/4A | 19 |17.0(32.9| 41 |35.0|27.5(24.0| 16 | 53 | 44 | 35| 41 | 36 | 36 578 1CI-30-B12 | 160 | 160
28 [G1A | 24 [21.0(39.9| 46 |39.5|32.0|30.5| 18 | 66 | 49 | 35| 50 | 46 | 41 | 1035 1CI-36-B16 | 160 | 160
35 |G 11/4A 30 |27.0 |49.9| 57 |46.5(36.0|355| 20 | 76 | 58 | 3.5 | 60 | 55 | 50 | 1499 1CI-45-B20 | 160 | 160
42 |G 11/2A 36 [34.0 (55.9| 64 |51.5|40.5|405| 22 | 87 | 63 |35 | 70 | 60 | 60 | 2196 1CI-52-B24 | 160 | 160
S |06|G1/4A | 4 | 6.0[18.9| 22 |23.5(|16.5(14.0| 12 | 30 | 31 | 3.0 | 22 | 19 | 17 107 1DI-14-B04 | 400 | 400
08 |G14A | 5 | 6.0(18.9| 22 |23.5|16.5|14.0| 12 | 30 | 31 |30 | 22 | 19 | 19 107 1DI-16-B04 | 400 | 400
10 |G3/8A| 7 | 75|219| 27 |26.0(185[165| 12 | 36 | 35 [ 3.0 | 27 | 24 | 22 188 1DI-18-B06 | 400 | 400
12 |G3/8A| 8 | 7.5(21.9| 27 |26.0(185(16.5| 12 | 36 | 35 [ 3.0 | 27 | 24 | 24 190 1DI-20-B06 | 400 | 400
14 |G 1/2A | 10 [11.0|26.9| 32 |30.5(22.5(21.5| 15 | 45 | 40 | 4.5 | 32 | 30 | 27 320 1DI-22-B08 | 400 | 400
16 |G1/2A | 12 [11.026.9| 32 [30.5(22.0|21.5| 14 | 45 | 40 | 45| 32 | 30 | 30 324 1DI-24-B08 315|315
20 |G 3/4A | 16 |17.0(32.9| 41 |37.0|26.5(24.0| 16 | 53 | 48 |35 | 41 | 36 | 36 588 1DI-30-B12 |315 (315
25 [G1A | 20 [21.0(39.9| 46 |43.5|31.5|30.5| 18 | 66 | 56 | 3.5 | 50 | 46 | 46 | 1073 1DI-36-B16 | 250 | 250
30 |G 11/4A| 25 |27.0 [49.9| 57 |50.5|37.0|355| 20 | 76 | 64 | 3.5 | 60 | 55 | 50 | 1559 1DI-42-B20 | 160 | 160
38 |G11/2A 32 |34.0 [55.9| 64 |57.5|41.5|405| 22 | 87 | 72 |35 | 70 | 60 | 60 | 2296 1DI-52-B24 | 160 | 160

HNEHEENEEIBESEET R, NIEENRSEI“RN”, 47 1Cl-12-B02/RN,

Note:In case if you are interested to order the adapter in complete set with cuting ring and nut ,it is necessary
to insert suffix "RN" after our part no., for example 1CI-12-B02/RN.

www.fukefitting.com



Product description TR AR E RS 4]/42

Ningbo Fuke Hydraulic Machinery Co., Lid.

DIN £E&xX &£ DIN BITE TYPE TUBE FITTINGS

L1 B
11
o 11T F BRI B F A i
- BSP THREAD WITH CAPTIVE SEAL
S1
S2

1CB-WD 1CB-WD/RN
1DB-WD 1DB-WD/RN

£ 5 12 40 THREAD #15M% TUBE O.D. JU sk DIMENSIONS EE 7
PART NO. E 7 D1 B 11 L1 S1 S2 MPa
1CB-12-02WD M12X1.5 G1/8"X28 6 8 8.5 23.5 14 14
1CB-12-04WD M12X1.5 G1/4"X19 6 12 10 25 19 14
1CB-12-06WD M12X1.5 G3/8"X19 6 12 11.5 26.5 22 14
1CB-14-02WD M14X1.5 G1/8"X28 8 8 9 24 14 17
1CB-14-04WD M14X1.5 G1/4"X19 8 12 10 24 19 17
1CB-14-06WD M14X1.5 G3/8"X19 8 12 11 26 22 17
1CB-16-04WD M16X1.5 G1/4"X19 10 12 11 24.5 19 19
1CB-16-06WD M16X1.5 G3/8"X19 10 12 12.5 26 22 19
1CB-16-08WD M16X1.5 G1/2'X14 10 14 13 | 28 | 27 19 ;;gu
1CB-18-04WD M18X1.5 G1/4"X19 12 12 12 27 19 22 TJL
1CB-18-06 WD M18X1.5 G3/8"X19 12 12 12.5 26 22 22
1CB-18-08WD M18X1.5 G1/2"X14 12 14 14 28 27 22
1CB-22-04WD M22X1.5 G1/4"X19 15 12 13 28 24 27
1CB-22-06WD M22X1.5 G3/8"X19 15 12 13.5 28 24 27
1CB-22-08WD M22X1.5 G1/2"X14 15 14 14 29 27 27
1CB-22-12WD M22X1.5 G3/4"X14 15 16 15 29 32 27
1CB-26-08WD M26X1.5 G1/2"X14 18 14 14.5 31 27 32
1CB-26-12WD M26X1.5 G3/4"X14 18 16 14.5 31 32 32
1CB-30-12WD M30X2 G3/4"X14 22 16 16.5 33 32 36
1CB-36-16WD M36X2 G1"X11 28 18 17.5 34 41 41 %,%Gﬁlj
1CB-45-20WD M45X2 G1.1/4"X11 35 20 17.5 39 50 50 L
1CB-52-24WD M52X2 G1.1/2"X11 42 22 19 42 55} 60
1DB-14-04WD M14X1.5 G1/4"X19 6 12 15 30 19 17
1DB-16-04WD M16X1.5 G1/4"X19 8 12 15 30 19 19
1DB-16-06WD M16X1.5 G3/8"X19 8 12 15.5 30 22 19
1DB-18-04WD M18X1.5 G1/4"X19 10 12 14.5 31 19 22
1DB-18-06WD M18X1.5 G3/8"X19 10 12 14.5 31 22 22 ig’)ﬂ
1DB-18-08WD M18X1.5 G1/2"X14 10 14 17.5 34 27 22 s
1DB-20-04WD M20X1.5 G1/4"X19 12 12 16.5 33 22 24
1DB-20-06 WD M20X1.5 G3/8"X19 12 12 15 & 22 24
1DB-20-08WD M20X1.5 G1/2"X14 12 14 17.5 34 27 24
1DB-22-08WD M22X1.5 G1/2"X14 14 14 19 37 27 27
1DB-24-06 WD M24X1.5 G3/8"X19 16 12 18 36.5 27 30
1DB-24-08WD M24X1.5 G1/2"X14 16 14 18.5 37 27 30
1DB-24-12WD M24X1.5 G3/4"X14 16 16 20.5 39 32 30
1DB-30-12WD M30X2 G3/4"X14 20 16 | 205 [ 42 | 32 36 - /%% |
1DB-36-08WD M36X2 G1/2"X14 25 14 23 47 41 46 S
1DB-36-12WD M36X2 G3/4"X14 25 16 23 47 41 46
1DB-36-16WD M36X2 G1"X11 25 18 23 47 41 46
1DB-42-20WD M42X2 G1.1/4"X11 30 20 23.5 50 50 50
1DB-52-24WD M52X2 G1.1/2"X11 38 22 26 57 55 60 31.5 R4S
FEe Wil iR R ERIRREREERIT S, W EACS 5 “RN”, 11 1DB-20-08WD/RN..
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after
our part no., for example 1DB-20-08WD/RN.

www.fukefitting.com



G LKE

FamiTés

DIN & &£k DIN BITE TYPE TUBE FITTINGS

L1 B

D1

SO ﬂr T

2 Il A £ Y B A Ui
METRIC THREAD WITH
CAPTIVE SEAL

1CM-WD 1CM-WD/RN
1DM-WD 1DM-WD/RN
r = 2 20 THREAD #1742 TUBE O.D. JU <} DIMENSIONS JE 25 0%

PART NO. E F D1 B 11 L1 S1 S2 MPa
1CM-12-10WD | M12X1.5 [ M10X1 6 8 8.5 23 14 14
1CM-14-12WD | M14X1.5 [ M12X1.5 8 12 10 25 17 17
1CM-16-12WD | M16X1.5 | M12X1.5 10 12 1" 25 17 19
1CM-16-14WD | M16X1.5 | M14X1.5 10 12 11 26 19 19 315
1CM-16-18WD | M16X1.5 | M18X1.5 10 12 1125 27 24 19
1CM-18-16WD | M18X1.5 | M16X1.5 12 12 | 12.5| 27 22 22 %25

1CM-18WD M18X1.5 | M18X1.5 12 12 (12,5 27 24 22
1CM-18-22WD | M18X1.5 | M22X1.5 12 14 14 29 27 22 L
1CM-22-18WD | M22X1.5 | M18X1.5 15 12 [ 13.5] 29 24 27

1CM-22WD M22X1.5 | M22X1.5 15 14 15 30 27 27
1CM-26-22WD | M26X1.5 | M22X1.5 18 14 |1 145 31 27 32
1CM-30-26WD | M30X2 | M26X1.5 22 16 | 16.5| 33 32 36
1CM-30-27WD | M30X2 | M27x2 | 22 16 |16.5] 33 | 32 | 36 16
1CM-36-33WD | M36x2 | M33x2 28 18 |175] 34 | 41 | 41 AR
1CM-45-42WD | M45X2 M42X2 35 20 [ 17.5] 39 50 50 L
1CM-52-48WD | M52X2 M48X2 42 22 19 42 55 60
1DM-14-12WD | M14X1.5 | M12X1.5 6 12 13 28 17 17
1DM-16-14WD | M16X1.5 [ M14X1.5 8 12 15 30 19 19 63
1DM-18-16WD | M18X1.5 [ M16X1.5 10 12 15 31 22 22 HRY
1DM-20-18WD | M20X1.5 [ M18X1.5 12 12 17 33 24 24 S
1DM-22-20WD | M22X1.5 | M20X1.5 14 14 19 37 27 27
1DM-24-22WD | M24X1.5 | M22X1.5 16 14 118.5| 37 27 30
1DM-30-27WD | M30X2 M27 X2 20 16 [ 20.5] 42 32 36 EA;\)?U
1DM-36-33WD | M36X2 M33X2 25 18 23 47 41 46 s

1DM-42WD M42X2 M42X2 30 20 | 23.5| 50 50 50
1DM-52-48WD | M52X2 M48X2 38 22 26 57 55 60 31.5H R%1S
e Wil R S R IR R ET BT, WE AR S A “RN”, 11DM-20-18 WD/RN.
Note: Incase if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix
"RN" after our partno., for example 1DM-20-18WD/RN.

www.fukefitting.com




Product description TR AR E RS ‘ 43/44

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £EXXE1%LDIN BITE TYPE TUBE FITTINGS

L1
11
L _ ] T HEE MRS
a S NPT MALE
1CN 1CN-RN
1DN 1DN-RN
R = 12 2 THREAD & 14ME TUBE O.D. JU s} DIMENSIONS JE 1559
PART NO. E F D1 11 L1 S1 S2 MPa
1CN-08-02 M8X1 Z1/8"X27 4 14.4 24.4 11 10 10
1CN-10-02LL M10X1 Z1/8"X27 6 12.9 244 11 12 FrERY
1CN-12-02LL M12X1 Z1/8"X27 8 13.9 25.4 12 14 LL
1CN-12-02 M12X1.5 Z1/8"X27 6 13.4 28.4 12 14
1CN-12-04 M12X1.5 Z1/4"X18 6 17.2 32.2 17 14
1CN-14-04 M14X1.5 Z1/4"X18 8 17.2 32.2 14 17
1CN-16-04 M16X1.5 Z1/4"X18 10 18.2 | 33.2 17 19 25
1CN-16-06 M16X1.5 Z3/8"X18 10 19.9 53.0 19 19 B}
1CN-18-04 M18X1.5 Z1/4"X18 12 19.2 34.2 19 22 BRI
1CN-18-06 M18X1.5 Z3/8"X18 12 19.9 34.9 19 22 L
1CN-18-08 M18X1.5 Z1/2"X14 12 21.4 36.4 22 22
1CN-22-08 M22X1.5 Z1/2"X14 15 22.4 37.4 24 27
1CN-22-20 M22X1.5 Z1.1/4"X11.5 15 29.8 374 46 27
1CN-26-08 M26X1.5 Z1/2"X14 18 22.9 39.4 27 32
1CN-26-12 M26X1.5 Z3/4"X14 18 22.4 38.9 30 32
1CN-30-08 M30X2 Z1/2"X14 22 24 .4 40.5 32 36 16
1CN-30-12 M30X2 Z3/4"X14 22 24 .4 40.9 32 36
1CN-36-16 M36X2 Z1"X11.5 28 29.8 46.3 41 41 BRY
1CN-36-20 M36X2 Z1.1/4"X11.5 28 31.3 46.3 46 41 L
1CN-45-20 M45X2 Z1.1/4"X11.5 65 30.3 51.8 46 50
1CN-52-20 M52X2 Z1.1/4"X11.5 42 31.8 55.8 55 60
1CN-52-24 M52X2 Z1.1/2"X11.5 42 32.8 55.8 59) 60
1DN-14-04 M14X1.5 Z1/4"X18 6 22.2 37.2 17 17
1DN-16-04 M16X1.5 Z1/4"X18 8 22.2 37.2 17 19
1DN-18-04 M18X1.5 Z1/4"X18 10 21.7 38.2 19 22 40
1DN-18-06 M18X1.5 Z3/8"X18 10 22.4 38.9 19 22
1DN-20-04 M20X1.5 Z1/4"X18 12 23.7 40.2 22 24 HERY
1DN-20-06 M20X1.5 Z3/8"X18 12 24.4 40.9 22 24
1DN-20-08 M20X1.5 Z1/2"X14 12 25.9 42.4 22 24 s
1DN-22-08 M22X1.5 Z1/2"X14 14 27.4 45.4 24 27
1DN-24-08 M24X1.5 Z1/2"X14 16 26.9 45.4 27 30
1DN-30-12 M30X2 Z3/4"X14 20 28.4 49.9 32 36
1DN-36-12 M36X2 Z3/4"X14 25 30.9 34.0 41 46 25
1DN-36-16 M36X2 Z1"X11.5 25 .8 59.3 41 46 TR
1DN-42-16 M42X2 Z1"X11.5 25 35.8 59.3 46 46
1DN-42-20 M42X2 Z1.1/4"X11.5 30 36.3 62.8 46 50 S
1DN-52-24 M52X2 Z1.1/2"X11.5 38 39.8 70.8 55 60
e W R R REIE AT O, MSEARC S F I “RN” L 411DN-30-12RN
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN"
after our part no., for example 10N-30-12RN.

www.fukefitting.com



GUKE a3

DIN £ERX&iZsL DIN BITE TYPE TUBE FITTINGS

s2 NI
3
5 0L —f 90° EmHEEIMELL
" : S1 90° ELBOW NPT MALE
11
L1
1CN9 1CN9-RN
1DN9 1DN9-RN
£ = 12 4 THREAD #T4M% TUBE O.D. JU s} DIMENSIONS JE 1554,
PART NO. E F D1 11 L1 L2 S1 S2 MPa
1CN9-12-02 M12X1.5 21/8"X27 6 13 28 21 11 14
1CN9-12-04 M12X1.5 21/4"X18 6 15.5 | 30.5 | 25.5 14 14
1CN9-14-04 M14X1.5 Z1/4"X18 8 15.5 | 30.5 [ 255 14 17
1CN9-16-06 M16X1.5 Z3/8"X18 10 17.5 | 32.5 | 29.5 16 19 25
1CN9-18-04 M18X1.5 Z1/4"X18 12 19 34 28 19 22 LEEN
1CN9-18-06 M18X1.5 Z3/8"X18 12 19 34 31 19 22 L
1CN9-18-08 M18X1.5 Z1/2"X14 12 21 36 [36.7 22 22
1CN9-22-06 M22X1.5 Z3/8"X18 15 22 37 |[325 22 27
1CN9-22-08 M22X1.5 Z1/2"X14 15 22 37 |36.7 22 27
1CN9-26-08 M26X1.5 Z1/2"X14 18 25.5 42 40 27 32
1CN9-26-12 M26X1.5 Z3/4"X14 18 25.5 42 44 27 32
1CN9-30-12 M30X2 Z3/4"X14 22 29.3 [ 458 45 30 36 16
1CN9-30-16 M30X2 Z1"X11.5 22 32 47 50 | 33 36 BRH
1CN9-36-16 M36X2 Z1"X11.5 28 33.3 [ 498 [51.5 36 41 L
1CN9-45-20 M45X2 |Z1.1/4"X11.5 35 39.2 | 60.7 63 48 50
1CN9-52-24 M52X2 |Z1.1/2"X11.5 42 44.8 | 67.8 65 55 60
1DN9-14-04 M14X1.5 Z1/4"X18 6 17.5 |1 325 | 255 14 17
1DN9-16-04 M16X1.5 Z1/4"X18 8 18.5 | 33.7 | 26.5 16 19
1DN9-18-06 M18X1.5 Z3/8"X18 10 19.5 36 31 19 22
1DN9-20-04 M20X1.5 Z1/4"X18 12 19.5 36 28 19 24 40
1DN9-20-06 M20X1.5 Z3/8"X18 12 19.5 36 31 19 24 HRY
1DN9-22-06 M22X1.5 Z3/8"X18 14 23 41 32.5 22 27 S
1DN9-22-08 M22X1.5 Z1/2"X14 14 23 41 36.7 22 27
1DN9-24-06 M24X1.5 Z3/8"X18 16 24 [ 425 [33.5 24 30
1DN9-24-08 M24X1.5 Z1/2"X14 16 24 [425 [37.5 24 30
1DN9-30-08 M30X2 Z1/2"X14 20 28 | 49.8 41 30 36
1DN9-30-12 M30X2 Z3/4"X14 20 28 | 49.8 45 30 36
1DN9-36-12 M36X2 Z23/4"X14 25 32.8 | 56.8 49 36 46
1DN9-36-16 M36X2 Z1"X11.5 25 32.8 [ 56.8 [51.5 36 46 25
1DN9-42-16 M42X2 Z1"X11.5 30 36.2 | 62.7 |54.5 41 50 TR
1DN9-42-20 M42X2 |Z1.1/4"X11.5 30 36.2 [ 627 [54.5 41 50 S
1DN9-52-20 M52X2 |Z1.1/4"X11.5 38 45.8 | 76.8 65 55 60
1DN9-52-24 M52X2 |Z1.1/2"X11.5 38 45.8 | 76.8 65 55 60
e MW RE L REERPEET 5, WEASEI “RN” 111CN9-30-12RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix
"RN" after our part no., for example 1CN9-30-12RN.

www.fukefitting.com



Product description

TR AR E RS

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £E&XX&#£LDIN BITE TYPE TUBE FITTINGS

| 45/46

L1 B
I
.. - SEHIR40 BB T AT i
oL 5j4 I[I"""""1 UN. UNF THREAD STUD ENDS
[V WITH O-RING SEALING
) s2 \S1
1CO 1CO-RN
1DO 1DO-RN
r = 42 4L THREAD ¥ 1-4M# TUBE O.D. J& ~  DIMENSIONS T
PART NO. E F D1 B 11 L1 S1 S2 MPa
1C0O-14-04 M14X1.5 7/16"X20 8 9 10 25 17 17
1C0O-16-04 M16X1.5 7/16"X20 10 9 11 26 17 19
1C0O-18-06 M18X1.5 9/16"X18 12 10 11 26 19 22
1C0O-18-08 M18X1.5 3/4"X16 12 11 13 28 24 22 31.5
1C0O-18-10 M18X1.5 7/8"X14 12 12.7 14.3 29 27 22 % %5
1C0-22-08 M22X1.5 3/4"X16 15 11 14 29 24 27
1C0O-22-10 M22X1.5 7/8"X14 15 12.7 15.3 30 27 27 L
1C0-22-12 M22X1.5 1.1/16"X12 15 15.09 | 11.91 30 32 27
1C0O-26-08 M26X1.5 3/4"X16 18 11 14.5 31 27 32
1C0O-26-10 M26X1.5 7/8"X14 18 12.7 14.8 31 27 32
1C0O-30-08 M30X2 3/4"X16 18 11.13 | 13.87 33 32 36
1C0O-30-10 M30X2 7/8"X14 22 12.7 16.8 S8 32 36
1C0O-30-12 M30X2 1.1/16"X12 22 15 16.5 33 32 36
1C0O-30-16 M30X2 1.5/16"X12 22 15 17.5 34 41 36 16
1C0O-36-12 M36X2 1.1/16"X12 28 15.09 | 14.41 34 41 41 =
1C0O-36-16 M36X2 1.5/16"X12 28 15 17.5 34 41 41
1C0O-45-16 M45X2 1.5/16"X12 35 15 17.5 39 46 50 L
1C0-45-20 M45X2 1.5/8"X12 35 15.09 | 16.41 39 50 50
1C0-52-20 M52X2 1.5/8"X12 42 15.09 | 15.91 42 55 60
1D0O-16-04 M16X1.5 7/16"X20 8 9 15 30 17 19 63
1D0O-18-06 M18X1.5 9/16"X18 10 10 14.5 31 19 22 RS
1D0O-20-06 M20X1.5 9/16"X18 12 10 14.5 31 22 24 S
1D0-20-08 M20X1.5 3/4"X16 12 11 17.5 34 24 24
1D0O-24-08 M24X1.5 3/4"X16 16 11 15.5 34 24 30
1D0O-24-10 M24X1.5 7/8"X14 16 12.7 18.8 37 27 30
1D0O-30-08 M30X2 3/4"X16 20 11 20.5 42 32 36 40
1D0O-30-10 M30X2 7/8"X14 20 12.7 20.8 42 32 36
1D0O-30-12 M30X2 1.1/16"X12 20 15 20.5 42 32 36 HRY
1D0O-36-12 M36X2 1.1/16"X12 25 15.09 | 19.91 47 41 46
1D0O-36-16 M36X2 1.5/16"X12 25 15 23 47 41 46 S
1D0-42-16 M42X2 1.5/16"X12 30 15 23.5 50 46 50
1D0O-42-20 M42X2 1.5/8"X12 30 15 23.5 50 50 50
1D0O-52-20 M52X2 1.5/8"X12 38 15.09 | 22.9 53.9 55 60 31.5% R4S
W R R EIR BRI 5T, WSS S “RN”, 411CO-30-10RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert
suffix "RN" after our part no., for example 1CO-30-10RN.

www.fukefitting.com



GUKE a3

90° I EH|M2 L AT 81O BYE 2% £ #im
90° ELBOW UN. UNF THREAD ADJUSTABLE
STUD ENDS WITH O-RING SEALING

1C0O9-0G 1C09-OG/RN
1D09-0G 1D09-OG/RN
iR = 1% 40 THREAD ¥ 4Mz: TUBE O.D. JU <} DIMENSIONS JE &5 5%

PART NO. E F D1 11 L1 L2 S1 S2 S3 MPa
1C09-12-040G| M12X1.5 | 7/16"X20 6 13 28 |[27.2 11 14 17
1C09-14-060G| M14X1.5 | 9/16"X18 8 15.5 | 30.5 | 31.8 14 17 19
1C09-16-060G| M16X1.5 | 9/16"X18 10 17.5 [ 32,5 | 33.3 16 19 19 315
1C09-18-080G| M18X1.5 | 3/4"X16 12 19 | 34 [375 | 10 | 22 | 24 | ®#FS
1C09-22-100G | M22X1.5 7/8"X14 15 22 37 44 22 27 27 L
1C09-22-080G | M22X1.5 3/4"X16 15 22 37 [39.5 | 22 27 24
1C09-26-120G | M26X1.5 | 1.1/16"X12 18 25.5 42 51 27 32 32
1C09-30-120G| M30X2 | 1.1/16"X12 22 29.3 | 458 | 535 30 36 32
1C09-36-120G| M36X2 | 1.1/16"X12 28 335 [478 [575 | 36 | 41 | 41 16
1C09-36-160G | M36X2 | 1.5/16"X12 28 333 (498 |575 | 36 | 41 | a1 | BFRY
1C09-45-200G | M45X2 1.5/8"X12 35 39.2 | 60.7 63 48 50 50 L
1C09-52-240G| M52X2 1.7/8"X12 42 44.8 | 67.8 | 70.5 55 60 55
1D09-14-040G| M14X1.5 | 7/16"X20 6 17.5 | 32.5 30 14 17 17
1D09-16-060G| M16X1.5 | 9/16"X18 8 18.7 | 33.7 | 33.3 16 19 19 63
1D09-18-060G| M18X1.5 | 9/16"X18 10 19.5 36 |[33.5 19 22 19 HARY
1D09-18-080G| M18X1.5 3/4"X16 10 19.5 36 |37.5 19 22 24 S
1D09-20-080G| M20X1.5 3/4"X16 12 19.5 36 |37.5 19 24 24
1D09-22-100G | M22X1.5 7/8"X14 14 23 41 44 22 27 27
1D09-24-100G | M24X1.5 7/8"X14 16 24 [ 425 | 465 | 24 30 27 40
1D09-30-120G| M30X2 | 1.1/16"X12 20 28.3 [49.8 [53.5 | 30 36 32 75
1D09-36-160G| M36X2 | 1.5/16"X12 25 32.8 | 56.8 [ 57.5 36 46 41 s
1D09-42-200G | M42X2 1.5/8"X12 30 36.2 | 62.7 [ 595 | 41 50 50
1D09-52-240G | M52X2 1.7/8"X12 38 458 [ 76.8 | 70.5 55 60 55 |31.5T A4S

T il R E AR BRI 5T, WSS S “RN” L 411C09-30-120G/RN.

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to

insert suffix "RN" after our part no., for example 1C0O9-30-120G/RN.

www.fukefitting.com



Product description

FEATRENNERAT | 47/48

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £ ExXE#& DIN BITE TYPE TUBE FITTINGS

L1
11
w EJ}T HHEINRY
-] BSPT MALE
1CT-SP 1CT-SP/RN
1DT-SP 1DT-SP/RN
B 1% 4 THREAD & 7-4M% TUBE O.D. JU ~}  DIMENSIONS Tk 145 5%
PART NO. E P D 1 L1 S1 S2 MPa
1CT-12-02SP | M12x1.5 R1/8"x28 6 13 28 12 14
1CT-12-04SP | M12x1.5 R1/4"x19 8 16.5 31.5 14 14
1CT-14-04SP | M14x1.5 R1/4"x19 8 16.5 31.5 14 17
1CT-14-06SP | M14x1.5 R3/8"x19 8 17.6 32.6 19 17 25
1CT-16-04SP | M16x1.5 R1/4"x19 10 17.5 325 17 19
1CT-16-06SP | M16x1.5 R3/8"x19 10 18.6 33.6 19 19 BEF|
1CT-16-08SP | M16x1.5 R1/2"x14 10 21.8 36.8 22 19
1CT-16-12SP | M16x1.5 R3/4"x14 10 21.5 36.5 30 19 L
1CT-18-04SP | M18x1.5 R1/4"x19 12 18.5 33.5 19 22
1CT-18-06SP | M18x1.5 R3/8"x19 12 18.6 33.6 19 22
1CT-18-08SP | M18x1.5 R1/2"x14 12 21.8 36.8 22 22
1CT-22-08SP | M22x1.5 R1/2"x14 15 22.8 37.8 24 27
1CT-26-08SP | M26x1.5 R1/2"x14 18 23.3 39.8 27 32
1CT-26-12SP | M26x1.5 R3/4"x14 18 22 38.5 30 32
1CT-30-12SP M30x2 R3/4"x14 22 24 40.5 32 36 16
1CT-36-16SP M36x2 R1"x11 28 29.6 46.1 38 41
1CT-36-20SP M36x2 R1.1/4"x11 28 29.3 45.8 46 41 =Y
1CT-45-16SP M45x2 R1"x11 35 29.6 51.1 46 50
1CT-45-20SP M45x2 R1.1/4"x11 35 28.3 49.8 46 50 L
1CT-52-20SP M52x2 R1.1/4"x11 42 29.8 52.8 55 60
1CT-52-24SP M52x2 R1.1/2"x11 42 29.8 52.8 55 60
1DT-14-04SP | M14x1.5 R1/4"x19 6 13 36.5 17 17
1DT-16-04SP | M16x1.5 R1/4"x19 8 21.5 36.5 17 19
1DT-18-04SP | M18x1.5 R1/4"x19 10 21 37.5 19 22 40
1DT-20-04SP | M20x1.5 R1/4"x19 12 23 39.5 22 24
1DT-20-06SP | M20x1.5 R3/8"x19 12 23.1 39.6 22 24 Y
1DT-22-06SP | M22x1.5 R3/8"x19 14 24.6 42.6 24 27
1DT-22-08SP | M22x1.5 R1/2"x14 14 27.8 45.8 24 27 S
1DT-24-06SP | M24x1.5 R3/8"x19 16 241 42.6 27 30
1DT-24-08SP | M24x1.5 R1/2"x14 16 27.3 45.8 27 30
1DT-30-12SP M30x2 R3/4"x14 20 28 49.5 32 36
1DT-36-12SP M36x2 R3/4"x14 25 29.5 53.5 38 46
25
1DT-36-16SP M36x2 R1"x11 25 341 58.1 38 46
1DT-42-16SP M42x2 R1"x11 30 35.6 62.1 46 50 TR
1DT-42-20SP M42x2 R1.1/4"x11 30 34.3 60.8 46 50 s
1DT-52-20SP M52x2 R1.1/4"x11 38 36.8 67.8 55 60
1DT-52-24SP M52x2 R1.1/2"x11 38 36.8 67.8 55 60
e iR R EE AR Iy, WEEAS /5 “RN” , 1 1DT-22-08SP/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert
suffix "RN" after our part no., for example 1DT-22-08SP/RN.

www.fukefitting.com



G UKE a3

S2 e
-
-
S e 90° LI IMRLL
Ll ¥ S1 90° ELBOW BSPT MALE
L1
1CT9-SP 1CT9-SP/RN
1DT9-SP 1DT9-SP/RN
ro2 12 4t THREAD 145 TUBE O.D. J < DIMENSIONS FE Sy 25:5%
PART NO. E F D1 11 L1 L2 S1 S2 MPa
1CT9-12-02SP M12X1.5 R1/8"X28 6 13 28 21 11 14
1CT9-12-04SP M12X1.5 R1/4"X19 6 15.5 30.5 25.5 14 14
1CT9-14-02SP M14X1.5 R1/8"X28 8 15.5 30.5 23.5 14 17
1CT9-14-04SP M14X1.5 R1/4"X19 8 15.5 30.5 25.5 14 17
1CT9-16-04SP M16X1.5 R1/4"X19 10 17.5 32.5 26.5 16 19 25
1CT9-16-06SP M16X1.5 R3/8"X19 10 17.5 32.5 28.5 16 19
1CT9-16-08SP | M16X1.5 R1/2"X14 10 21 36 36 22 19 225
1CT9-18-04SP | M18X1.5 R1/4"X19 12 21 34 28 19 22
1CT9-18-06SP M18X1.5 R3/8"X19 12 19 34 30.5 19 22 L
1CT9-18-08SP M18X1.5 R1/2"X14 12 21 36 36 22 22
1CT9-22-06SP M22X1.5 R3/8"X19 15 22 37 32.5 22 27
1CT9-22-08SP M22X1.5 R1/2"X14 15 22 37 36 22 27
1CT9-22-12SP M22X1.5 R3/4"X14 15 25.5 40.5 | 435 27 27
1CT9-26-08SP M26X1.5 R1/2"X14 18 25.5 42 39.5 27 32
1CT9-26-12SP | M26X1.5 R3/4"X14 18 255 42 43.5 27 32
1CT9-30-12SP_[ M30X2 R3/4"X14 22 295 | 458 [ 453 | 30 | 36 16
1CT9-30-16SP M30X2 R1"X11 22 31.5 48 50 33 36 %75
1CT9-36-16SP M36X2 R1"X11 28 83,8 49.8 52 36 41 -
1CT9-36-20SP M36X2 R1.1/4"X11 28 36.2 52.7 57 41 41 L
1CT9-45-20SP M45X2 R1.1/4"X11 35 39.2 60.7 61 48 50
1CT9-52-24SP M52X2 R1.1/2"X11 42 44.8 67.8 68 55 60
1DT9-14-04SP M14X1.5 R1/4"X19 6 17.5 32.5 25.5 14 17
1DT9-16-04SP | M16X1.5 R1/4"X19 8 18.7 | 33.7 | 26.5 16 19
1DT9-18-06SP_| M18X1.5 R3/8"X19 10 19.5 36 30.5 19 22 40
1DT9-20-04SP | M20X1.5 R1/4"X19 12 19.5 36 28 19 24
1DT9-20-06SP M20X1.5 R3/8"X19 12 19.5 36 30.5 19 24 = 2
1DT9-22-06SP M22X1.5 R3/8"X19 14 23 41 32.5 22 27
1DT9-22-08SP M22X1.5 R1/2"X14 14 23 41 36 22 27 S
1DT9-24-06SP M24X1.5 R3/8"X19 16 24 42.5 33.5 24 30
1DT9-24-08SP M24X1.5 R1/2"X14 16 24 42.5 SIS 24 30
1DT9-30-08SP M30X2 R1/2"X14 20 28.3 49.8 41 30 36
1DT9-30-12SP M30X2 R3/4"X14 20 28.3 | 49.8 | 45.3 30 36
1DT9-36-12SP_ | M36X2 R3/4"X14 25 333 | 573 | 52 36 | 46 25
1DT9-36-16SP M36X2 R1"X11 25 32.8 56.8 52.5 36 46 RS
1DT9-42-16SP M42X2 R1"X11 30 36.2 62.7 56.5 41 50
1DT9-42-20SP M42X2 R1.1/4"X11 30 36.2 62.7 57 41 50 S
1DT9-52-20SP M52X2 R1.1/4"X11 38 45.8 76.8 67 55 60
1DT9-52-24SP M52X2 R1.1/2"X11 38 45.8 76.8 68 55 60
e Wi RE L RERAPEE T, WIEEACS )5 “RN” ,411CT9-30-12SP/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert
suffix "RN" after our part no., for example 1CT9-30-12SP/RN.

www.fukefitting.com



Product description TRBRAENAEERAE | 49/50

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £ERX &£ DIN BITE TYPE TUBE FITTINGS

(QV
w LN 2
- - g I — RiE

WELD FITTINGS

S2 S1
1CW 1CW-RN
1DW 1DW-RN
£ = 2 4t THREAD #¥4Mz: TUBE O.D. JU sF DIMENSIONS JE 2t
PART NO. E D1 D2 B D 11 L1 S1 | S2 MPa
1CW-12-06 | M12x1.5 6 6 7 10 7 22 12 | 14
1CW-14-08 | M14x1.5 8 8 8 12 8 23 14 | 17
1CW-16-10 | M16x1.5 10 10 8 |14 ] o [24 [17 ] 19 ;7-%
1CW-18-12 | M18x1.5 12 12 8 16 10 | 25 19 | 22 I/fﬁ
1CW-22-15 | M22x1.5 15 15 10 | 19 11 26 | 22 | 27
1CW-26-18 | M26X1.5 18 18 10 | 22 [11.5] 28 | 27 | 32
1CW-26-22 | M26X1.5 18 22 10 | 27 (135 28 | 27 | 32
1CW-30-22 M30x2 22 22 12 | 27 [ 13.5] 30 | 32 | 36
1CW-30-25 | M30x2 22 25 12 | 31 [135] 30 | 32 | 36 16 |
1CW-36-28 M36x2 28 28 12 | 32 (165 33 | 38 | 41 %?Lﬁj
1CW-45-35 M45X2 35 35 14 | 40 [ 14.5) 36 | 46 | 50
1CW-52-42 M52X2 42 42 16 | 46 16 [ 39 | 55 | 60
1DW-14-06 | M14x1.5 6 6 7 11 11 26 14 | 17
1DW-16-08 | M16x1.5 8 8 8 13 13 | 28 17 | 19 63
1DW-18-10 | M18x1.5 10 10 8 15 [ 125 | 29 19 | 22 R
1DW-20-12 | M20x1.5 12 12 10 | 17 [ 145 | 31 22 | 24 S
1DW-22-14 | M22x1.5 14 14 10 | 19 16 | 34 |24 | 27
1DW-24-16 | M24x1.5 16 16 10 | 21 [155| 34 | 27 | 30
1DW-30-20 M30x2 20 20 12 | 26 [175) 39 | 32 | 36 ﬁ%o |
1DW-36-25 M36x2 25 25 12 | 31 20 | 44 | 41 | 46 /Sﬁj
1DW-42-30 M42x2 30 30 14 | 36 [ 20.5| 47 | 46 | 50
1DW-52-38 M52X2 38 38 16 | 44 | 23 | 54 | 55 | 60 | 31.5E K4S
e W RELREBRREE T, WREAERS 5 “RN”  W11CW-30-22RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to
insert suffix "RN" after our part no., for example 1CW-30-22RN.

www.fukefitting.com



G LKE

Fmités

DIN £ ER &£ DIN BITE TYPE TUBE FITTINGS

02
S2 . 5]
) | m
" =7 = %@ 90" 1Rk
51 90° WELD FITTINGS
11
L1
1CW9 1CW9-RN
1DW9 1DW9-RN
VA= 1% 4 THREAD |% T4M% TUBE O.D. JU -5 DIMENSIONS & Sy ZEg
PART NO. E D1 D2 B B1 D 11 L1 S1| S2 MPa
1CW9-12-06 | M12x1.5 6 6 19 7 10 13 28 | 12| 14
1CW9-14-08 | M14x1.5 8 8 23 8 12 [ 155 1305 | 12 | 17
1CW9-16-10 | M16x1.5 10 10 |24 | 8 [14]175(325][1419] 312
1CW9-18-12 | M18x1.5 12 12 25 8 16 19 34 | 17 | 22 %/?L\/IJ
1CW9-22-15 | M22x1.5 15 15 30 10 19 | 22 37 | 19 | 27
1CW9-26-18 | M26X1.5 18 18 33 10 | 22 |2565 | 42 | 24 | 32
1CW9-26-22 | M26X1.5 18 22 37 10 | 27 |255 | 42 | 24 | 32
1CW9-30-22 M30x2 22 22 37 12 | 27 | 29.3 458 | 27 | 36
1CW9-30-25 M30x2 22 25 37 12 311293 458 | 27 | 36 iégﬁu
1CW9-36-28 M36x2 28 28 42 12 32 | 36 |52.8 | 36 | 41 L
1CW9-45-35 M45X2 35 35 49 14 | 40 | 39.2 |60.7 | 41 | 50
1CW9-52-42 M52X2 42 42 57 | 16 |46 |40.5 [63.5 [50 |60
1DW9-14-06 | M14x1.5 6 6 23 7 1 (7.5 B25 |12 |17
1DW9-16-08 | M16x1.5 8 8 24 8 13| 18.7] 33.7| 14| 19 63
1DW9-18-10 | M18x1.5 10 10 25 8 15 1195 36 | 17 | 22 HERY
1DW9-20-12 | M20x1.5 12 12 29 10 17 [ 195 ]| 36 | 17 | 24 S
1DW9-22-14 | M22x1.5 14 14 30 10 19 | 23 41 19 | 27
1DW9-24-16 | M24x1.5 16 16 88 10 | 21 24 1425 | 24 | 30
1DW9-30-20 M30x2 20 20 37 12 | 26 | 28 495 | 27 | 36 E%O |
1DW9-36-25 M36x2 25 25 42 12 31 | 32.8 |56.8 | 36 | 46 /SﬁJ
1DW9-42-30 M42x2 30 30 49 14 | 36 [36.2 |62.7 | 41 | 50
1DW9-52-38 M52X2 38 38 57 16 | 44 (415 | 725 | 50 | 60 | 31.5EAHS
T il R E AR BRI T, WIEERCS S “RN”, 21 1DW9-20-12RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to
insert suffix "RN" after our part no., for example 1DW9-20-12RN.

www.fukefitting.com




Product description TRBRAENAARAS | §1/52

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £ERX&3#£L DIN BITE TYPE TUBE FITTINGS

A L1
e
| )
w b o w
o EEBY R B ZEH TR
-bt o P BSP THREAD WITH CAPTIVE SEAL
S1 S2
2BC-WD
2BD-WD
R = i2 4 THREAD % ¥-4Mz TUBE O.D. R ~f DIMENSIONS IE A2
PART NO. E F D1 A L1 S1 S2 il
2BC-02-12WD | G1/8"X28 | M12X1.5 6 8 | 245 14 14
2BC-04-14WD | G1/4"X19 | M14X1.5 8 12 | 205 19 17
2BC-04-16WD | G1/4'X19 | M16X1.5 10 12 | 275 19 19 é;gu
2BC-06-18WD | G3/8"X19 | M18X1.5 12 12 34 22 22 L
2BC-08-22WD | G1/2'X14 | M22X1.5 15 14 32 27 27
2BC-08-26WD | G1/2'X14 | M26X1.5 18 14 | 315 | 27 32
2BC-12-30WD | G3/4"X14 M30X2 22 16 | 325 | 32 36
2BC-16-36WD |  G1"X11 M36X2 28 18 35 41 41 %2 4
2BC-20-45WD | G1.1/4"X11 M45X2 35 20 | 425 | 50 50 L
2BC-24-52WD | G1.1/2"X11 M52X2 42 2 | 465 | 55 60
2BD-04-14WD | G1/4"X19 | M14X1.5 6 12 27 19 17
2BD-04-16WD | G1/4'X19 | M16X1.5 8 12 | 205 19 19 63
2BD-06-18WD | G3/8"X19 M18X1.5 10 12 32 22 22 AR
2BD-06-20WD | G3/8"X19 | M20X1.5 12 12 34 22 24 S
2BD-08-22WD | G1/2'X14 | M22X1.5 14 14 | 365 | 27 27
2BD-08-24WD | G1/2'X14 | M24X1.5 16 14 37 27 30
2BD-12-30WD | G3/4"X14 M30X2 20 16 43 32 36 ii% |
2BD-16-36WD |  G1"X11 M36X2 25 18 48 41 46 S
2BD-20-42WD | G1.1/4"X11 M42X2 30 20 51 50 50
2BD-24-52WD | G1.1/2"X11 M52X2 38 22 60 55 60 |[315EHS

www.fukefitting.com



GUKE rzna

DIN £ EXXE#Ek DIN BITE TYPE TUBE FITTINGS

L1
11
s SMES PRI
5 %T 48 REDUCER TUBE ADAPTOR
| WITH SWIVEL NUT

R 5 12 4L THREAD & 14M* TUBE O.D. JU s DIMENSIONS T 15549
PART NO. E B D1 D2 11 L1 S1 S2 S3 MPa
2C-12-14 M12X1.5 M14X1.5 6 8 23.5 38 12 14 17
2C-12-16 M12X1.5 M16X1.5 6 10 25 40 14 14 19
2C-14-16 M14X1.5 M16X1.5 8 10 25 40 14 17 19
2C-12-18 M12X1.5 M18X1.5 6 12 25 40 17 14 22
2C-14-18 M14X1.5 M18X1.5 8 12 25 40 17 17 22 315
2C-16-18 M16X1.5 M18X1.5 10 12 26 41 17 19 22 %{ﬂ
2C-12-22 M12X1.5 M22X1.5 6 15 28.5 43 19 14 27 L
2C-14-22 M14X1.5 M22X1.5 8 15 28.5 43 19 17 27
2C-16-22 M16X1.5 M22X1.5 10 15 29.5 44 19 19 27
2C-18-22 M18X1.5 M22X1.5 12 15 29.5 44 19 22 27
2C-12-26 M12X1.5 M26X1.5 6 18 28 43 24 14 32
2C-22-26 M22X1.5 M26X1.5 15 18 30 45 24 27 32
2C-12-30 M12X1.5 M30X2 6 22 32 47 27 14 36
2C-14-30 M14X1.5 M30X2 8 22 32 47 27 17 36
2C-16-30 M16X1.5 M30X2 10 22 33 48 27 19 36
2C-18-30 M18X1.5 M30X2 12 22 88 48 27 22 36
2C-22-30 M22X1.5 M30X2 15 22 34 49 27 27 36
2C-26-30 M26X1.5 M30X2 18 22 5315/ 50 27 32 36
2C-12-36 M12X1.5 M36X2 6 28 34 49 36 14 41
2C-14-36 M14X1.5 M36X2 8 28 34 49 36 17 41
2C-16-36 M16X1.5 M36X2 10 28 35 50 36 19 41
2C-18-36 M18X1.5 M36X2 12 28 35 50 36 22 41
2C-22-36 M22X1.5 M36X2 15 28 36 51 36 27 41
2C-26-36 M26X1.5 M36X2 18 28 B515) 52 36 32 41
2C-30-36 M30X2 M36X2 22 28 37.5 54 36 36 41
2C-12-45 M12X1.5 M45X2 6 35 37 52 41 14 50 16
2C-14-45 M14X1.5 M45X2 8 35 37 52 41 17 50 GEH
2C-16-45 M16X1.5 M45X2 10 35 38 59 41 19 50 L
2C-18-45 M18X1.5 M45X2 12 35 38 53 41 22 50
2C-22-45 M22X1.5 M45X2 15 35 39 54 41 27 50
2C-26-45 M26X1.5 M45X2 18 35 38.5 55 41 32 50
2C-30-45 M30X2 M45X2 22 35 40.5 57 41 36 50
2C-36-45 M36X2 M45X2 28 35 40.5 57 41 41 50
2C-12-52 M12X1.5 M52X2 6 42 40.5 605 50 14 60
2C-14-52 M14X1.5 M52X2 8 42 40.5 55 50 17 60
2C-16-52 M16X1.5 M52X2 10 42 41.5 56 50 19 60
2C-18-52 M18X1.5 M52X2 12 42 41.5 56 50 22 60
2C-22-52 M22X1.5 M52X2 15 42 42.5 58 50 27 60
2C-26-52 M26X1.5 M52X2 18 42 42 58 50 32 60
2C-30-52 M30X2 M52X2 22 42 44 60 50 36 60
2C-36-52 M36X2 M52X2 28 42 44 61 50 41 60
2C-45-52 M45X2 M52X2 85 42 43 65 50 50 60

W R E LR BRI T, RS A “RNT, 1 2C-30-52RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after our part
no., for example 2C-30-52RN.

www.fukefitting.com



Product description

TR AR E RS 53/54

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DINFEREJELDIN BITE TYPE TUBE FITTINGS

L1

1

<
N

J
r

)

.

D1
1

82 S1 ssj

|
|

2D 2D-RN

l

SMZL N IR D R R Sk
REDUCER TUBE ADAPTOR
WITH SWIVEL NUT

R 5 1% 4 THREAD & 14Mt TUBE O.D. JU 5} DIMENSIONS JE 554
PART NO. E E D1 D2 11 L1 S1 S2 S3 MPa
2D-14-16 M14X1.5 M16X1.5 6 8 27 42 14 17 19
2D-14-18 M14X1.5 M18X1.5 6 10 27.5 42 17 17 22
2D-16-18 M16X1.5 M18X1.5 8 10 27.5 42 17 19 22
2D-14-20 M14X1.5 M20X1.5 6 12 29 44 17 17 24 63
2D-16-20 M16X1.5 M20X1.5 8 12 29 44 17 19 24 T
2D-18-20 M18X1.5 M20X1.5 10 12 31 46 19 22 24 s
2D-14-22 M14X1.5 M22X1.5 6 14 31.5 46 19 17 27
2D-16-22 M16X1.5 M22X1.5 8 14 31.5 46 19 19 27
2D-18-22 M18X1.5 M22X1.5 10 14 31 47 19 22 27
2D-20-22 M20X1.5 M22X1.5 12 14 31 47 22 24 27
2D-14-24 M14X1.5 M24X1.5 6 16 32 47 22 17 30
2D-16-24 M16X1.5 M24X1.5 8 16 32 47 22 19 30
2D-18-24 M18X1.5 M24X1.5 10 16 31.5 48 22 22 30
2D-20-24 M20X1.5 M24X1.5 12 16 33.5 50 22 24 30
2D-22-24 M22X1.5 M24X1.5 14 16 33 51 24 27 30
2D-14-30 M14X1.5 M30X2 6 20 36 51 27 17 36
2D-16-30 M16X1.5 M30X2 8 20 36 51 27 19 36
2D-18-30 M18X1.5 M30X2 10 20 8515) 52 27 22 36
2D-20-30 M20X1.5 M30X2 12 20 35.5 52 27 24 36
2D-22-30 M22X1.5 M30X2 14 20 37 59 27 27 36
2D-24-30 M24X1.5 M30X2 16 20 37.5 55 30 30 36
2D-14-36 M14X1.5 M36X2 6 25 38.5 53 36 17 46
2D-16-36 M16X1.5 M36X2 8 25 38.5 53 36 19 46 ﬁgm
2D-18-36 M18X1.5 M36X2 10 25 38 54 36 22 46 /S
2D-20-36 M20X1.5 M36X2 12 25 38 54 36 24 46
2D-22-36 M22X1.5 M36X2 14 25 S5 57 36 27 46
2D-24-36 M24X1.5 M36X2 16 25 39 57 36 30 46
2D-30-36 M30X2 M36X2 20 25 39 61 36 36 46
2D-14-42 M14X1.5 M42X2 6 30 44 59 41 17 50
2D-16-42 M16X1.5 M42X2 8 30 44 59 41 19 50
2D-18-42 M18X1.5 M42X2 10 30 43.5 60 41 22 50
2D-20-42 M20X1.5 M42X2 12 30 43.5 60 41 24 50
2D-22-42 M22X1.5 M42X2 14 30 45 63 41 27 50
2D-24-42 M24X1.5 M42X2 16 30 44.5 63 41 30 50
2D-30-42 M30X2 M42X2 20 30 44.5 66 41 36 50
2D-36-42 M36X2 M42X2 25 30 44 69 41 46 50
2D-14-52 M14X1.5 M52X2 6 38 47.5 62 50 17 60
2D-16-52 M16X1.5 M52X2 8 38 47.5 62 50 19 60
2D-18-52 M18X1.5 M52X2 10 38 47 63 50 22 60
2D-20-52 M20X1.5 M52X2 12 38 47 63 50 24 60 31.5
2D-22-52 M22X1.5 M52X2 14 38 48.5 66 50 27 60 R
2D-24-52 M24X1.5 M52X2 16 38 48 66 50 30 60 S
2D-30-52 M30X2 M52X2 20 38 48 70 50 36 60
2D-36-52 M36X2 M52X2 25 38 48.5 73 50 46 60
2D-42-52 M42X2 M52X2 30 38 49 76 50 50 60
e Wi R E R REIR R T, WSS SN “RN”,12D-30-52RN .
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example 2D-30-52RN.

www.fukefitting.com



G LKE

FmiTé

DIN £&3X &% DIN BITE TYPE TUBE FITTINGS

D1

SMBLH IR AR K 90° T
REDUCER TUBE ADAPTOR

w T_ WITH SWIVEL NUT 90° ELBOW
S2 ¥ 1
2C9 2C9-RN
2D9 2D9-RN
R = 1% 2 THREAD | T 4kM% TUBE O.D. JU s} DIMENSIONS T 5%
PART NO. E F D1 D2 M | 11 | 2| s1| s2| s3| MPa
2C9-12 M12X1.5 | M12X1.5 6 6 12 27 26 12 14 14
2C9-14 M14X1.5 | M14X1.5 8 8 14 29 |275 | 12 17 17
2C9-16 M16X1.5 | M16X1.5 10 10 15 30 29 14 19 19 iéizfﬁﬂ
2C9-18 M18X1.5 | M18X1.5 12 12 17 32 | 295 | 17 22 22 L
2C9-22 M22X1.5 | M22X1.5 15 15 21 36 325 ]| 19 27 27
2C9-26 M26X1.5 | M26X1.5 18 18 23.5 40 | 355 | 24 32 32
2C9-30 M30X2 M30X2 22 22 27.5 44 | 385 | 27 36 36
2C9-36 M36X2 M36X2 28 28 30.5 47 | 415 | 36 41 41 16
2C9-45 |M45x2 | M45X2 35 35 |345 | 56 | 51 | 41 | 50 | 50 | #ARIIL
2C9-52 M52X2 M52X2 42 42 40 63 56 50 60 60
2D9-14 M14X1.5 | M14X1.5 6 6 16 31 27 12 17 17
2D9-16 M16X1.5 | M16X1.5 8 8 17 32 |275 | 14 19 19 63
2D9-18 [ M18X1.5 | M18X1.5 10 10 175 | 34 | 30 | 17 | 22 | 22 | ERS
2D9-20 M20X1.5 | M20X1.5 12 12 215 38 31 17 24 24 S
2D9-22 M22X1.5 | M22X1.5 14 14 22 40 35 19 27 27
2D9-24 M24X1.5 | M24X1.5 16 16 24.5 43 | 365 | 24 30 30
2D9-30 M30X2 M30X2 20 20 26.5 48 | 445 | 27 36 36 ﬁgﬂ
2D9-36 M36X2 M36X2 25 25 30 54 50 36 46 46 S
2D9-42 M42X2 M42X2 30 30 35.5 62 55 41 50 50
2D9-52 M52X2 M52X2 38 38 41 72 63 50 60 60 [31.5THRFIS
He Wil R E LR EIRARET B, WIS/ )5 “RN”, 41 2C9-30RN .
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example 2C9-30RN.

www.fukefitting.com




Product description

TR B FRENHE RS

Ningbo Fuke Hydraulic Machinery Co., Ltd. ‘ 55/56

DIN £ERX &1L DIN BITE TYPE TUBE FITTINGS

AL L
<\
P>
= i
ap 1’il B
L IR B A
S1 o METRIC THREAD WITH CAPTIVE SEAL
2MC-WD
2MD-WD
= i 2 THREAD 152 TUBE O.D. X < DIMENSIONS T g
PART NO. E F D1 A L1 S1 S2 -
2MC-10-12WD |  M10X1 M12X1.5 6 8 | 245 | 14 14
OMC-12-14WD | M12X15 | M14x1.5 8 12 | 265 | 17 17
OMC-14-16WD | M14X15 | M16X1.5 10 12 | 275 | 19 19 521%5@
2MC-16-18WD | M16X1.5 | M18X1.5 12 12 | 305 | 22 22 L
OMC-18-22WD | M18X1.5 | M22x1.5 15 12 | 315 | 24 27
OMC-22-26WD | M22X15 | M26X1.5 18 14 | 315 | 27 32
2MC-26-30WD | M26X1.5 M30X2 22 16 | 325 | 32 36
2MC-33-36WD | M33X2 M36X2 28 18 35 41 41 %gﬂ
OMC-42-45WD |  M42x2 M45X2 35 20 | 425 | 50 50 L
OMC-48-52WD | M48X2 M52X2 42 2 | 465 | 55 | 60
OMD-12-14WD | M12X15 | M14X1.5 6 12 27 17 17
OMD-14-16WD | M14X15 | M16X1.5 8 12 | 205 | 19 19 63
2MD-16-18WD | M16X1.5 | M18X1.5 10 12 32 22 22 @S@”
2MD-18-20WD | M18X1.5 | M20X1.5 12 12 34 24 24
2MD-20-22WD | M20X15 | M22x1.5 14 14 | 365 | 27 27
OMD-22-24WD | M22X15 | M24x1.5 16 14 37 27 30
2MD-27-30WD | M27X2 M30X2 20 16 | 43 32 36 E‘/‘%’ﬂ
2MD-33-36WD | M33X2 M36X2 25 18 | 48 41 46 s
OMD-42-42WD |  M42x2 M42X2 30 20 51 50 50
OMD-48-52WD |  M48X2 M52X2 38 22 60 55 | 60 |315EAsIS

www.fukefitting.com



G LUKE #2143

DIN £ ERE3EL DIN BITE TYPE TUBE FITTINGS

. 8 24° L
KEiEIE Sk
WELD FITTINGS

2WC
2WD

A= 12 2 THREAD &~ TUBE SIZE JU 5} DIMENSIONS T 5%
PART NO. F D1xt L DO D2 S2 MPa
2WC-6X1.5 M12X1.5 6X1.5 30 2.5 6 14
2WC-8X2.0 M14X1.5 8X2.0 30 4 8 17
2WC-10X2.0 M16X1.5 10X2.0 31 6 10 19 25
2WC-12X2.0 M18X1.5 12X2.0 31 7.5 12 22 HARIIL
2WC-15X2.0 M22X1.5 15X2.0 35 10 15 27
2WC-18X2.0 M26X1.5 18X2.0 35 13 18 32
2WC-22X2.0 M30X2 22X2.0 35 17 22 36
2WC-28X2.5 M36X2 28X2.5 41 23 28 41 %gﬂ
2WC-35X3.0 M45X2 35X3.0 48 29 35 50 L
2WC-42X3.0 M52X2 42X3.0 50.5 36 42 60
2WD-6X1.5 M14X1.5 6X1.5 28.5 2.5 6 17
2WD-8X2.0 M16X1.5 8X2.0 29 4 8 19
2WD-10X1.0 M18X1.5 10X1.0 32 6.5 10 22 63
2WD-10X1.5 M18X1.5 10X1.5 32 6.5 10 22 F Z )
2WD-10X2.0 M18X1.5 10X2.0 32 6 10 22 S
2WD-12X1.5 M20X1.5 12X1.5 32.5 8 12 27
2WD-12X2.0 M20X1.5 12X2.0 32.5 8 12 27
2WD-12X2.5 M20X1.5 12X2.5 32.5 7 12 27
2WD-16X1.5 M24X1.5 16X1.5 39 13 16 30
2WD-16X2.0 M24X1.5 16X2.0 39 12 16 30
2WD-16X2.5 M24X1.5 16X2.5 39 11 16 30
2WD-16X3.0 M24X1.5 16X3.0 39 10 16 30
2WD-20X2.0 M30X2 20X2.0 43 15 20 36
2WD-20X2.5 M30X2 20X2.5 43 15 20 36 40
2WD-20X3.0 M30X2 20X3.0 43 14 20 36 R
2WD-20X4.0 M30X2 20X4.0 43 12 20 36 s
2WD-25X2.5 M36X2 25X2.5 50 20 25 46
2WD-25X3.0 M36X2 25X3.0 50 19 25 46
2WD-25X4.0 M36X2 25X4.0 50 17 25 46
2WD-25X5.0 M36X2 25X5.0 50 15 25 46
2WD-30X3.0 M42X2 30X3.0 52 24 30 50
2WD-30X4.0 M42X2 30X4.0 52 22 30 50
2WD-30X5.0 M42X2 30X5.0 52 20 30 50 25
2WD-30X6.0 M42X2 30X6.0 52 18 30 50 HARS
2WD-38X4.0 M52X2 38X4.0 56.5 30 38 60 s
2WD-38X5.0 M52X2 38X5.0 56.5 28 38 60
2WD-38X6.0 M52X2 38X6.0 56.5 26 38 60
2WD-38X7.0 M52X2 38X7.0 56.5 24 38 60

www.fukefitting.com



Product description TRBRAENHERAS | 57/58

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £ ERE#ELDIN BITE TYPE TUBE FITTINGS

L1

" RIS BB E Sk
STRAIGHT TUBE ADAPTERS
WITH SWIVEL NUT

3C
3D

= # 4 THREAD | % T-4M% TUBE O.D. ] ~F DIMENSIONS JE 2554
PART NO. EF D1,D2 L1 | L2 | s1,82 MPa

3C-12 M12X1.5 6 33 | 32| 14

3C-14 M14X1.5 8 33 | 32| 17

3C-16 M16X1.5 10 34 | 33| 19 i}f%ﬂ

3C-18 M18X1.5 12 34 | 33| 22 L

3C-22 M22X1.5 15 39 | 38 | 27

3C-26 M26X1.5 18 41 | 39 | 32

3C-30 M30X2 22 44 | 42 | 36

3C-36 M36X2 28 48 | 46 | 46 %gﬂ

3C-45 M45X2 35 52 | 48 | 50 L

3C-52 M52X2 42 57 | 52| 60

3D-14 M14X1.5 6 33 | 32| 17

3D-16 M16X1.5 8 34 | 33| 19 63

3D-18 M18X1.5 10 35 | 33| 22 Efﬁ”

3D-20 M20X1.5 12 38 | 36 | 24

3D-22 M22X1.5 14 41 | 39 | 27

3D-24 M24X1.5 16 42 | 39 | 30

3D-30 M30X2 20 48 | 44 | 36 E‘%‘\) .

3D-36 M36X2 25 53 | 46 | 46 S

3D-42 M42X2 30 62 | 52 | 50

3D-52 M52X2 38 67 | 52 60 3.5 HRHS

www.fukefitting.com



GUKE a3

DIN £ ER 3£ DIN BITE TYPE TUBE FITTINGS

S2 i
S1
Ny~
° ? Al 1 Sk
PLUG
4C-RN
4D-RN
i = 12 2t THREAD T 4MzE TUBE O.D. JU sF  DIMENSIONS F 1452
PART NO. E D1 n || s1] s2 478
4C-12 M12x1.5 6 22 12 14
4C-14 M14x1.5 8 23 14 17
4C-16 M16x1.5 10 24 | 17 | 19 z,:»g;yu
4C-18 M18x1.5 12 10 25 19 22 L
4C-22 M22x1.5 15 11 26 | 24 27
4C-26 M26X1.5 18 15| 28 | 27 32
4C-30 M30x2 22 135 | 30 | 32 36
4C-30D M30x1.5 22 135 | 30 | 32 36
4C-36 M36x2 28 145 [ 31 41 41 16
4C-36D M36x1.5 28 145 | 31 | 41 | 41 ﬁ%ﬁ”
4C-45 M45X2 35 145 | 36 | 46 [ 50
4C-45D M45X1.5 85 145 | 36 | 46 50
4C-52 M52X2 42 16 39 | 55 60
4D-14 M14X1.5 6 11 26 14 17
4D-16 M16X1.5 8 13 28 17 19 63
4D-18 M18x1.5 10 125 29 | 19 | 22 HARY
4D-20 M20x1.5 12 145 | 31 22 24 S
4D-22 M22x1.5 14 16 34 | 24 27
4D-24 M24x1.5 16 155 | 34 | 27 30 40
4D-30 M30x2 20 175 | 39 | 32 36 F A7
4D-36 M36x2 25 20 | 44| 38 | 46 S
4D-42 M42x2 30 205 | 47 | 46 50
4D-52 M52X2 38 23 54 | 55 60 31.5 RS
d i R E N R BRI, WSS S “RN” , 41 4C-30RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example 4C-30RN.

www.fukefitting.com




Product description TRBRAENAEEAE | 50/60

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £+ EX 1%L DIN BITE TYPE TUBE FITTINGS

L1

11
B
/7
w| -t EE-A T 5 ARG i K
- BSP FEMALE STUD FITTINGS
S2 S1
5CB 5CB-RN
5DB 5DB-RN
= 12 4. THREAD #¥4ME TUBE O.D. J s} DIMENSIONS AL
PART NO. E F D1 B | 1 L1 | s1 | s2 MPa
5CB-12-02 M12X1.5| G1/8"X28 6 12 | 19 | 34 14 | 14
5CB-12-04 M12X1.5| G1/4"X19 6 16 | 23 | 36 19 | 17
5CB-14-04 M14X1.5| G1/4"X19 8 17 | 24 | 39 19 | 17
5CB-14-06 M14X1.5| G3/8"X19 8 17 | 25 | 40 24 | 17
5CB-14-08 M14X1.5| G1/2"X14 8 20 | 29 | 44 27 | 17
5CB-16-04 M16X1.5| G1/4"X19 10 17 | 25 | 40 19 | 19
5CB-16-06 | M16X1.5| G3/8"X19 10 17 | 26 | 41 | 24 | 19 ;1%; |
5CB-16-08 M16X1.5 | G1/2"X14 10 20 | 30 | 45 27 | 19 I]_\
5CB-18-04 M18X1.5 | G1/4"X19 12 17 | 23 | 38 19 | 22
5CB-18-06 M18X1.5 | G3/8"X19 12 17 | 26 | 41 24 | 22
5CB-18-08 M18X1.5 | G1/2"X14 12 20 | 30 | 45 27 | 22
5CB-22-06 M22X1.5 | G3/8"X19 15 17 | 28 | 43 24 | 27
5CB-22-08 M22X1.5 [ G1/2"X14 15 20 | 31 | 46 27 | 27
5CB-26-08 M26X1.5 | G1/2"X14 18 20 |30.5| 47 27 | 32
5CB-30-12 M30X2 G3/4"X14 22 22 |355]| 52 36 | 36
5CB-36-16 M36X2 G1"X11 28 245 | 38 | 55 41 | 41 ;ﬁz‘f& I
5CB-45-20 M45X2 | G1.1/4"X11 35 265 | 41 | 63 55 | 50 I]_\
5CB-52-24 M52X2 | G1.1/2"X11 42 28.5 |42.5| 65 60 | 60
5DB-14-04 M14X1.5| G1/4"X19 6 17 | 26 | 41 19 | 17
5DB-16-04 M16X1.5 | G1/4"X19 8 17 | 26 | 41 19 | 19
5DB-18-06 M18X1.5| G3/8"X19 10 17 |26.5| 43 24 | 22 ﬁ%ﬁ’ﬁ !
5DB-20-06 M20X1.5 | G3/8"X19 12 17 |275| 28 24 | 24 s
5DB-20-08 M20X1.5| G1/2"X14 12 20 |30.5| 31 24 | 24
5DB-22-08 M22X1.5| G1/2"X14 14 20 | 32 | 50 30 | 27
5DB-24-08 M24X1.5| G1/2"X14 16 20 |31.5]| 50 30 | 30
5DB-30-12 M30X2 G3/4"X14 20 22 |345| 56 36 | 36 ﬁi‘?ﬁ !
5DB-36-16 M36X2 G1"X11 25 245 |375| 62 41 | 46 s
5DB-42-20 M42X2 | G1.1/4"X11 30 26.5 | 42 | 69 55 | 50
5DB-52-24 M52X2 | G1.1/2"X11 38 28.5 |43.5| 74 60 | 60 31.5 HZS
e T RE A REBREREET T, WIEERT)EN “RN” , U1 5CB-45-20RN,
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example 5CB-45-20RN.

www.fukefitting.com



=4

r

LKE &~=3n&

DIN +ER E#k DIN BITE TYPE TUBE FITTINGS

L1

11 B
)
WMBEHREE HFRESL
w — " i BSP PRESSURE GAUGE CONNECTOR
WITH DKI SEALING RING
5CB-GDK 5CB-GDK/RN
5DB-GDK 5DB-GDK/RN
R B i 2. THREAD “#-F4M7 TUBE O.D. R~} DIMENSIONS Sﬁﬁ’?ﬂ% A
PART NO. E F D1 M 1] B | s1]s2| rRinGoki MPa
5CB-12-04GDK | M12X1.5 | G1/4"X19 75 | 37 [ 145 | 19 | 14 | DP-B04DK
5CB-14-04GDK | M14X1.5 | G1/4"X19 75 | 37 | 145 | 19 | 17 | DP-B0o4DK g%gu
5CB-16-04GDK | M16X1.5 | G1/4"X19 10 85 | 38 | 145 | 19 | 19 | DP-B04DK L
5CB-18-04GDK | M18X1.5 | G1/4"X19 12 85 | 38 [ 145 | 19 | 22 | DP-B04DK
5DB-14-08GDK | M14X1.5 | G1/2"X14 11 | 46 | 20 | 27 | 17 | DP-BOSDK
5DB-16-08GDK | M16X1.5 | G1/2"X14 11 | 46 | 20 | 27 | 19 | DP-BOSDK 63
5DB-18-08GDK | M18X1.5 | G1/2"X14 10 105 | 47 | 20 | 27 | 22 | DP-B0O8DK E’S@”
5DB-20-08GDK | M20X1.5 | G1/2"X14 12 105 | 47 | 20 | 27 | 24 | DP-BOSDK

e Wl RE A RERRHEE T, WEEUS 5 “RN”, 11 5CB-18-04GDK/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example 5CB-18-04GDK/RN.

L1

WHEHREE N REK
BSP PRESSURE GAUGE CONNECTOR

WITH DKI SEALING RING

7BC-GDKI/S

7BD-GDKI/S

& = 12 4 THREAD % F 4z TUBE O.D. N s DIMENSIONS Sﬁflﬁ% E A2

PART NO. E F D1 M L1 ] s1 | s2 RING DK MPa
7BC-04-12GDK/S [G1/4"X19 | M12X1.5 6 145 (355 | 19 | 14 DP-B04DK
7BC-04-14GDK/S |G1/4"X19 | M14X1.5 8 145 (355 | 19 | 17 DP-B04DK é’gﬂ
7BC-04-16GDK/S [G1/4"X19 | M16X1.5 10 145 | 36 | 19 | 19 DP-B04DK L
7BC-04-18GDK/S |G1/4"x19 | M18X1.5 12 145 | 36 | 19 | 22 DP-B04DK
7BD-04-14GDK/S |G1/4"x19 | M14x1.5 6 145 [355] 19 | 17 DP-B04DK
7BD-04-16GDK/S |G1/4"X19 | M16X1.5 8 145 [355| 19 | 19 DP-B04DK
7BD-04-18GDK/S |G1/4"X19 | M18X1.5 10 145 | 36 | 19 | 22 DP-B04DK 63
7BD-04-20GDK/S [G1/4"X19 | M20X1.5 12 145 [ 39 | 19 | 24 DP-B0O4DK | E&JI
7BD-08-14GDK/S [G1/2"X14 | M14X1.5 6 20 [425| 27 | 17 DP-B08DK S
7BD-08-16GDK/S |G1/2"X14 | M16X1.5 8 20 | 43| 27 | 19 DP-B08DK
7BD-08-18GDK/S [G1/2"X14 | M18X1.5 10 20 [435]| 27 | 22 DP-B08DK
7BD-08-20GDK/S [G1/2"X14 | M20X1.5 12 20 | 45| 27 | 24 DP-B08DK

www.fukefitting.com




Product description TRBRAENAERAS | §]/62

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £ EREEL DIN BITE TYPE TUBE FITTINGS

L1 L2
nl 2

R — T AN VS ZZZPN]

NS T SO L | TR A S

S2 S1 J@
6C 6C-RN 6C-LN/RN
6D 6D-RN 6D-LN/RN
BiBdREk
STRAIGHT BULKHEAD FITTINGS

i = 1% 4 THREAD #-f-4Mz TUBE O.D. R s DIMENSIONS JE 1254
PART NO.| E F D1 p2 |1 |12 | 11| 2| s1]|s2s3|sa| MP2

6C-12 M12X1.5 [ M12X1.5 6 6 7 27 22 42 17 14 17

6C-14 M14X1.5 | M14X1.5 8 8 8 27 23 42 19 17 19

6C-16 M16X1.5 | M16X1.5 10 10 10 28 25 43 22 19 22 gjﬁzju

6C-18 M18X1.5 | M18X1.5 12 12 10 29 25 44 24 22 24 L

6C-22 M22X1.5 | M22X1.5 15 15 12 31 27 46 27 27 30

6C-26 M26X1.5 | M26X1.5 18 18 13.5 [ 325 | 30 49 32 32 36

6C-30 M30X2 M30X2 22 22 16.5 [ 345 | 33 51 36 36 41

6C-36 M36X2 M36X2 28 28 18.5 [ 355 | 35 52 41 41 46 16

6C-45 M45X2 M45X2 35 35 18.5 [ 36.5 | 40 58 50 50 55 BRIIL

6C-52 M52X2 M52X2 42 42 19 36 42 59 60 60 65

6D-14 M14X1.5 | M14X1.5 6 6 12 29 27 44 19 17 19

6D-16 M16X1.5 | M16X1.5 8 8 13 29 28 44 22 19 22 63

6D-18 M18X1.5 | M18X1.5 10 10 145 [ 295 | 31 46 24 22 24 | EHRF

6D-20 M20X1.5 | M20X1.5 12 12 14.5 1 30.5 [ 31 47 27 24 27 S

6D-22 M22X1.5 | M22X1.5 14 14 17 32 35 50 30 27 30

6D-24 M24X1.5 [ M24X1.5 16 16 16.5 [315] 35 [ 50 | 32 | 30 | 32

6D-30 M30X2 M30X2 20 20 17.5 [ 33.5 [ 39 55 41 36 41 E‘g?ﬂ

6D-36 M36X2 M36X2 25 25 20 35 44 59 46 46 46 S

6D-42 M42X2 M42X2 30 30 21.5 | 375 | 48 64 50 50 50

6D-52 M52X2 M52X2 38 38 22 | 37 | 53 | 68 | 65 | 60 | 65 [31.5%RAIS
W WFFASRIT B, MBEEAC S SN LN, @ 6C-30LN; Wi KB & R EBEAT 5, AT EMN “RN”, W1 6C-
30RN; G iirtill, RELREREHTT, EACT M “LN/RN”, 41 6C-30LN/RN.
Note: In case if you are interestedto order the adapter with lock nut,please insert suffix "LN" after our part no.for example
6C-30LN,order the adapter with cutting ring and nut,insert suffix "RN" after part no.,for example 6C-30RN,order the
adapter with lock nut and cutting ring and nut,insert suffix "LN/RN" afterpart no.,for example 6C-30LN/RN.

www.fukefitting.com



G LKE

FamiTés

DIN &R &£k DIN BITE TYPE TUBE FITTINGS

D2 s3
! S
iE
f—
ry ik
Sid
w [TF Ls1
S2 11
L1
6C9 6C9-LN 6C9-RN 6C9-LN/RN
6D9 6D9-LN 6D9-RN 6D9-LN/RN
90° Tl I HRIE K
90° ELBOW BULKHEAD FITTINGS
R 5 1% 40 THREAD |4 141M% TUBE O.D. U <} DIMENSIONS JE 7554
PART NO. E F D1 D2 11 12 13 L1 L2 S1 |S2,S3| S4 L)
6C9-12 M12X1.5| M12X1.5 6 6 12 | 27 14 27 42 12 14 17
6C9-14 M14X1.5 | M14X1.5 8 8 14 | 27 17 29 42 12 17 19
6C9-16 M16X1.5| M16X1.5 10 10 15 | 28 18 30 43 14 19 22 ?Fi?j%F;IJ
6C9-18 M18X1.5| M18X1.5 12 12 17 | 29 20 32 44 17 22 24 L
6C9-22 M22X1.5 | M22X1.5 15 15 21 31 23 36 46 19 27 30
6C9-26 M26X1.5 | M26X1.5 18 18 235|325 | 24 40 49 | 24 32 36
6C9-30 M30X2 [ M30X2 22 22 27.5 1345 | 30 44 51 27 36 41
6C9-36 M36X2 [ M36X2 28 28 30.5 | 35.5 | 34 47 52 | 36 41 46 %gﬂ
6C9-45 M45X2 | M45X2 35 35 345 1365 | 39 56 58 | #1 50 55 L
6C9-52 M52X2 [ M52X2 42 42 40 | 36 43 63 59 | 50 60 65
6D9-14 M14X1.5| M14X1.5 6 6 16 | 29 17 31 44 12 17 19
6D9-16 M16X1.5 | M16X1.5 8 8 17 | 29 18 32 44 14 19 22 63
6D9-18 M18X1.5 [ M18X1.5 10 10 175|295 20 | 34 | 46 | 17 | 22 24 | BRI
6D9-20 M20X1.5 | M20X1.5 12 12 21.5 1305 | 21 38 47 17 24 27 S
6D9-22 M22X1.5 | M22X1.5 14 14 22 | 32 23 40 50 19 27 30
6D9-24 M24X1.5 | M24X1.5 16 16 245|315 | 24 43 50 | 24 30 32
6D9-30 M30X2 [ M30X2 20 20 26.5 |33.5 | 30 48 55 | 27 36 41 EA,%)@J
6D9-36 M36X2 [ M36X2 25 25 30 | 35 34 54 59 | 36 46 46 S
6D9-42 M42X2 | M42X2 30 30 355 |37.5 | 39 62 64 | 41 50 50
6D9-52 M52X2 [ M52X2 38 38 41 37 43 72 68 | 50 60 65 |31.5E A4S
Ve TR B8, WFAERCE I “LN A16CO-B0LN: Al A K R ASIRRKT B, £/ I “RN” L1BCO-30RN;
i iRE, R REIRRHT DY, RS EIN “LN/RN” , 16C9-30LN/RN.
Note: In case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our part no.for example 6C9-
30LN,order the adapter with cutting ring and nut,insert suffix "RN" after part no.,for example 6C9-30RN,order the adapter
with lock nut and cutting ring and nut,insert suffix "LN/RN" after part no.,for example 6C9-30LN/RN.

www.fukefitting.com




Product description

TR BRI E RS ‘ 63/64

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £ ERX &L DIN BITE TYPE TUBE FITTINGS

L1
L
% 77
Fﬁ’—/q
g
. RIR G Sk
ﬂ e FEMALE PLUG
”JLJ\/
182
9D
5 2 4t THREAD %74 % TUBE O.D. &~} DIMENSIONS SIET
PART NO. F D L L1 S2 MPa
9C-12 M12X1.5 6 155 | 175 14
9C-14 M14X1.5 8 15.5 18 17
315
9C-16 M16X1.5 10 16.5 18 19 ,
BRI
9C-18 M18X1.5 12 18 19.5 22 L
9C-22 M22X1.5 15 19.5 20 27
9C-26 M26X1.5 18 20 22 32
9C-30 M30X2 22 215 | 225 36
16
9C-36 M36X2 28 225 | 245 41 e
9C-45 M45X2 35 25 29 55 L
9C-52 M52X2 42 27 315 60
9D-14 M14X1.5 6 16 18 17
9D-16 M16X1.5 8 165 | 185 19 63
9D-18 M18X1.5 10 18 20 22 RS
9D-20 M20X1.5 12 185 | 205 24 S
9D-22 M22X1.5 14 19 215 27
9D-24 M24X1.5 16 185 | 215 30
40
9D-30 M30X2 20 225 25 36 A
H RS
9D-36 M36X2 25 235 | 285 46 s
9D-42 M42X2 30 25.5 32 50
9D-52 M52X2 38 26.5 36 60 31.5 RIS

www.fukefitting.com



GULKE ransz

DIN +ExR &%k DIN BITE TYPE TUBE FITTINGS

D2

L2

AR v i s 1 a[{ﬁj_ T e =iBfEk
2| b | st EQUAL TEES
L1 L3
AC AC-RN
AD AD-RN
& 2 |#8 g THREAD |%& T-4M% TUBE O.D. JU <} DIMENSIONS s 11554
PART NO.| EF,G D1, D2 ,D3 11,203 |L1L12L3| s1 |S2,5384 U
AC-08 M8X1 4 11 21 9 10
AC-10 M10X1 5 9.5 21 9 12 %é%ﬁu
AC-10LL M10X1 6 9.5 21 9 12 LL
AC-12LL M12X1 8 11.5 23 12 14
AC-12 M12X1.5 6 12 27 12 14
AC-14 M14X1.5 8 14 29 12 17
AC-16 M16X1.5 10 15 30 14 19 i;‘%?ﬁu
AC-18 M18X1.5 12 17 32 17 22 L
AC-22 M22X1.5 15 21 36 19 27
AC-26 M26X1.5 18 23.5 40 24 32
AC-30 M30X2 22 27.5 44 27 36
AC-36 M36X2 28 30.5 47 36 41 16
AC-45 M45X2 35 34.5 56 41 50 ?Féffﬂ
AC-52 M52X2 42 40 63 50 60
AD-14 M14X1.5 6 16 31 12 17
AD-16 M16X1.5 8 17 32 14 19 63
AD-18 M18X1.5 10 17.5 34 17 22 RS
AD-20 M20X1.5 12 215 38 17 24 S
AD-22 M22X1.5 14 22 40 19 27
AD-24 M24X1.5 16 24.5 43 24 30
AD-30 M30X2 20 26.5 48 27 36 ﬂi‘}%\)ﬁu
AD-36 M36X2 25 30 54 36 46 S
AD-42 M42X2 30 35.5 62 41 50
AD-52 M52X2 38 41 72 50 60 31.5ERIS
TE: il R E LR BRI, WSS “RN”  IAC-22RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example AC-22RN.

www.fukefitting.com



Product description

TR AR E RS

Ningbo Fuke Hydraulic Machinery Co., Lid.

DIN FExRX &% DIN BITE TYPE TUBE FITTINGS

65/66

Er

S3

L2

A
P G ESES S
TR o e 1 - TEE REDUCERS
| L1
AC. AD AC-RN. AD-RN
ft 5 2 2L THREAD HAME TUBEOD JU 5] DIMENSIONS e h&E %
PART NO. E F G D1 D3 11 12 13 L1 L2 L3 S1 S2 S3 S4 MPa
AC-12-14-12_| M12X1.5 | M14X1.5 |[M12X1.5 6 8 6 14 14 14 29 29 29 14 14 17 14
AC-12-16-12_| M12X1.5 | M16X1.5 |[M12X1.5 6 10 6 15 15 15 30 30 30 14 14 19 14
AC-12-16-16 | M12X1.5 | M16X1.5 |M16X1.5 6 10 10 15 15 15 30 30 30 14 14 19 19
AC-14-12-14 | M14X1.5 | M12X1.5 |M14X1.5 8 6 8 14 14 14 29 29 29 14 17 14 17
AC-14-14-18 4X1.5 4X1.5 8X1.5 8 8 12 7 7 7 32 32 32 7 7 17 22
AC-14-16-14 4X1.5 6X1.5 4X1.5 8 10 8 5 B 5 30 30 30 4 7 19 7
AC-14-18-14 4X1.5 8X1.5 4X1.5 8 12 8 7 7 7 32 32 32 7 7 22 7
AC-16-12-16 6X1.5 2X1.5 6X1.5 10 6 10 5) 5 5 30 30 30 4 9 14 19
AC-16-14-16 16X1.5 4X1.5 6X1.5 10 8 10 5 15 5 30 30 30 4 9 17 9
AC-16-16-18 | M16X1.5 | M16X1.5 |M18X1.5 10 10 12 17 17 17 32 32 32 17 19 19 22
AC-16-16-26 | M16X1.5 | M16X1.5 | M26X1.5 10 10 18 24 24 24 39 39 40 24 19 19 32
AC-16-18-16 | M16X1.5 | M18X1.5 |[M16X1.5 10 12 10 17 17 17 32 32 32 17 19 22 19
AC-16-18-18 | M16X1.5 | M18X1.5 |[M18X1.5 0 2 2 17 17 17 32 32 32 17 9 22 22
AC-16-22-16 | M16X1.5 | M22X1.5 |M16X1.5 10 5 0 21 21 21 36 36 36 19 9 27 19
AC-16-26-26 | M16X1.5 | M26X1.5 | M26X1.5 10 18 18 24 24 24 39 40 40 24 19 32 32
AC-18-12-18 | M18X1.5 | M12X1.5 |M18X1.5 12 6 12 17 17 17 32 32 32 17 22 14 22
AC-18-14-18 | M18X1.5 | M14X1.5 |[M18X1.5 12 8 12 17 17 17 32 32 32 17 22 17 22 25
AC-18-16-18 | M18X1.5 | M16X1.5 |[M18X1.5 12 0 2 17 17 17 32 32 32 7 22 19 22 ZE3
AC-18-18-22 | M18X1.5 | M18X1.5 | M22X1.5 2 2 5 21 21 21 36 36 36 19 22 22 27 L
AC-18-22-18 | M18X1.5 | M22X1.5 |M18X1.5 12 15 12 21 21 21 36 36 36 9 22 27 22
AC-18-22-22 | M18X1.5 | M22X1.5 | M22X1.5 12 15 15 21 21 21 36 36 36 19 22 27 27
AC-18-22-30 | M18X1.5 | M22X1.5 | M30X2 12 15 22 28 28 28 43 43 44 27 22 27 36
AC-18-26-18 | M18X1.5 | M26X1.5 |[M18X1.5 12 18 12 24 24 24 39 40 39 24 22 32 22
AC-22-12-22 | M22X1.5 | M12X1.5 | M22X1.5 15 6 15 21 21 21 36 36 36 19 27 14 27
AC-22-16-22 | M22X1.5 | M16X1.5 | M22X1.5 15 10 15 21 21 21 36 36 36 19 27 19 27
AC-22-18-22 | M22X1.5 | M18X1.5 |M22X1.5 15 12 15 21 21 21 36 36 36 19 27 22 27
AC-22-22-30 | M22X1.5 | M22X1.5 | M30X2 15 15 22 28 28 28 43 43 44 27 27 27 36
AC-22-26-22 | M22X1.5 | M26X1.5 | M22X1.5 15 18 15 24 24 24 39 40 39 24 27 32 27
AC-26-16-26 | M26X1.5 | M16X1.5 | M26X1.5 18 10 18 23.5 24 1235 40 39 40 24 32 19 32
AC-26-18-26 | M26X1.5 | M18X1.5 |M26X1.5 18 12 18 23.5 24 1235 40 39 40 24 32 22 32
AC-26-22-26 | M26X1.5 | M22X1.5 |M26X1.5 18 15 18 24 24 24 40 39 40 24 32 27 32
AC-26-26-30 | M26X1.5 | M26X1.5 | M30X2 18 18 22 275 | 275 | 275 44 44 44 27 32 32 36
AC-26-30-30 | M26X1.5 | M30X2 | M30X2 18 22 22 275 | 275 | 275 44 44 44 27 32 36 36
AC-30-16-30 M30X2 | M16X1.5 | M30X2 22 10 22 27.5 28 | 27.5 44 43 44 27 36 19 36
AC-30-18-30 M30X2 | M18X1.5 | M30X2 22 12 22 27.5 28 275 44 43 44 27 36 22 36
AC-30-22-30 M30X2 | M22X1.5 | M30X2 22 15 22 27.5 28 1275 44 43 44 27 36 27 36 16
AC-30-26-30 M30X2 | M26X1.5 | M30X2 22 18 22 275 1275|275 44 44 44 27 36 32 36 ZE3
AC-30-30-36 M30X2 M30X2 | M36X2 22 22 28 30.5 |30.5 | 30.5 47 47 47 36 36 36 41 L
AC-36-16-36 M36X2 | M16X1.5 | M36X2 28 10 28 30.5 31 130.5 47 46 47 36 41 19 41
AC-36-18-36 M36X2 | M18X1.5 | M36X2 28 12 28 30.5 31 1305 47 46 47 36 41 22 41
AC-36-22-36 M36X2 | M22X1.5 | M36X2 28 15 28 30.5 31 1305 47 46 47 36 41 27 41
AC-36-26-36 M36X2 | M26X1.5 | M36X2 28 18 28 30.5 |30.5 | 30.5 47 47 47 36 4 32 4
AC-36-30-36 M36X2 M30X2 | M36X2 28 22 28 30.5 | 30.5 | 30.5 47 47 47 36 4 36 4
AD-16-16-20 | M16X1.5 | M16X1.5 | M20X1.5 8 8 12 22 22 22 37 37 38 17 19 19 24
AD-18-14-18 | M18X1.5 | M14X1.5 |M18X1.5 10 6 10 17.5 18 1 17.5 34 33 34 17 22 17 22 63
AD-20-16-20 | M20X1.5 | M16X1.5 |M20X1.5 12 8 12 21.5 22 1215 38 37 38 17 24 19 24 ESY
AD-20-18-20 | M20X1.5 | M18X1.5 | M20X1.5 12 10 12 215 1215 ]215 38 38 38 17 24 22 24 S
AD-20-20-30 | M20X1.5 | M20X1.5 | M30X2 12 12 20 26.5 | 26.5 | 29.5 46 46 48 27 24 24 36
AD-20-24-20 | M20X1.5 | M24X1.5 | M20X1.5 12 16 12 255 1245 | 255 42 43 42 24 24 30 24
AD-20-30-20 | M20X1.5 | M30X2 |M20X1.5 12 20 12 26.5 | 29.5 | 26.5 46 48 46 27 24 36 24
AD-20-30-30 | M20X1.5 | M30X2 | M30X2 12 20 20 26.5 |29.5 | 29.5 46 48 48 27 24 36 36
AD-24-14-24 | M24X1.5 | M14X1.5 | M24X1.5 16 6 16 24.5 26 | 245 43 41 43 24 30 17 30
AD-24-16-24 | M24X1.5 | M16X1.5 |M24X1.5 16 8 16 245 26 | 245 43 41 43 24 30 19 30
AD-24-18-24 | M24X1.5 | M18X1.5 | M24X1.5 16 10 16 245 | 25.5 | 245 43 42 43 24 30 22 30
AD-24-20-24 | M24X1.5 | M20X1.5 | M24X1.5 16 12 16 245 | 25.5 | 245 43 42 43 24 30 24 30
AD-24-30-24 | M24X1.5 | M30X2 |M24X1.5 16 20 16 28.5 |26.5 | 28.5 47 48 47 27 30 36 30 40
AD-30-18-30 M30X2 | M18X1.5 | M30X2 20 10 20 26.5 |129.5 | 26.5 48 46 48 27 36 22 36 ESY
AD-30-20-30 M30X2 | M20X1.5 | M30X2 20 12 20 26.5 | 29.5 | 26.5 48 46 48 27 36 24 36 S
AD-30-24-30 M30X2 | M24X1.5 | M30X2 20 16 20 26.5 | 28.5 | 26.5 48 47 48 27 36 30 36
AD-30-36-30 M30X2 M36X2 | M30X2 20 25 20 31.5 30 | 315 53 54 53 36 36 46 36
AD-36-24-36 M36X2 | M24X1.5 | M36X2 25 16 25 30 33.5 30 54 52 54 36 46 30 46
AD-36-30-36 M36X2 M30X2 | M36X2 25 20 25 30 31.5 30 54 53 54 36 46 36 46
AD-36-42-36 M36X2 M42X2 | M36X2 25 30 25 37 35.5 37 61 62 61 41 46 50 46
e IR SRR BT Y, WS EAC S SN “RN” 1AC-26-26-30RN .
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example AC-26-26-30RN.

www.fukefitting.com



GUKE =

miT4a

DIN £ EREEsL DIN BITE TYPE TUBE FITTINGS

D2
. s3 *lo
7 s2 Y
L i . Wk
S R Ty
L s4
S1 L1 L3
ACCG-0G ACCG-OG/RN
ADDG-0G ADDG-OG/RN
ZiBEAImEEIELAEE O BUE % %
BARREL TEE BSP THREAD ADJUSTABLE
STUD ENDS WITH O-RING SEALING
£ = % 40 THREAD & 4M% TUBE O.D. JU 5} DIMENSIONS FE J15549%
PART NO. E,F G D1,D2 1,2 [L1,L2 L3 S1 [S2,S3 | S4 MPa
ACCG-12-12-020G | M12X1.5 G1/8"X28 6 13 28 |[26.2 11 14 14
ACCG-14-14-040G | M14X1.5 G1/4"X19 8 155 | 30.5 | 31.3 14 17 19
ACCG-16-16-040G | M16X1.5 G1/4"X19 10 175 | 325 | 325 16 19 19 315
ACCG-18-18-060G | M18x1.5 | G3/&™x19 12 19 | 34 |se8 | 19 | 22 | 22 | HF
ACCG-22-22-080G | M22X1.5 G1/2"X14 15 22 37 [43.2 22 27 27
ACCG-26-26-080G | M26X1.5 G1/2"X14 18 25.5 42 | 46.5 27 32 27
ACCG-30-30-120G M30X2 G3/4"X14 22 29.3 | 45.8 52 30 36 32 7 16
ACCG-36-36-160G M36X2 G1"X11 28 333 | 49.8 56 36 41 41 %/L%@IJ
ACCG-45-45-200G M45X2 [ G1.1/4"X11 35 39.2 | 60.7 63 48 50 50
ADDG-14-14-040G | M14X1.5 G1/4"X19 6 17.5 | 32.5 [ 31.3 14 17 19
ADDG-16-16-040G | M16X1.5 G1/4"X19 8 18.7 | 33.7 | 325 16 19 19 @3
ADDG-18-18-060G | M18X1.5 G3/8"X19 10 19.5 36 | 36.8 19 22 22 i/sffwIJ
ADDG-20-20-060G | M20X1.5 G3/8"X19 12 19.5 36 |[36.8 19 24 22
ADDG-22-22-080G | M22X1.5 G1/2"X14 14 23 41 43.2 22 27 27
ADDG-24-24-080G | M24X1.5 G1/2"X14 16 24 42.5 44 24 30 27
ADDG-30-30-120G M30X2 G3/4"X14 20 283 | 49.8 52 30 36 32 EA;%)FIJ
ADDG-36-36-160G M36X2 G1"X11 25 328 | 56.8 56 36 46 41 S
ADDG-42-42-200G M42X2 | G1.1/4"X11 30 36.2 | 62.7 58 41 50 50
W AR R E LR BRSNS AT I “RN”, i1ACCG-18-18-060G/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and
nut ,it is necessary to insert suffix "RN" after our Part No., for example ACCG-18-18-060G/RN.

www.fukefitting.com




Product description TRBRAENAERAS | §7/68

Ningbo Fuke Hydraulic Machinery Co., Lid.

DIN £ERX &% DIN BITE TYPE TUBE FITTINGS

s3 [

S2 |
m i i

11 S4
L1 L3

12

ACCH-0OG ACCH-OG/RN
ADDH-OG ADDH-OG/RN

=B HIIMES 24° HE [ ) SMELC AT I [ 4L 1ISO 6149-2
METRIC MALE 24° CONE / METRIC MALE
ADJUSTABLE STUD END ISO 6149-2

RUN TEE
(i 1% 40 THREAD H14Me D1,D2| O JE JU ) DIMENSIONS JE 745 2%
PART NO. E,F G TUBE O.D. O RING |12 |L1,L2 L3 S1 |S2,S3| sS4 MPa

ACCH-12-12-100G | M12X1.5 M10X1 6 008.1X1.6 13 28 26.5 11 14 14
ACCH-14-14-120G | M14X1.5 M12X1.5 8 009.3X2.4| 15.5 | 30.5 32 14 17 17
ACCH-16-16-140G | M16X1.5 | M14X1.5 10 011.3x2.4 | 175 [ 325 | 34 | 16 19 | 19 521%’»5%
ACCH-18-18-160G | M18X1.5 M16X1.5 12 013.3x24| 19 34 36 19 22 22 L
ACCH-22-22-180G | M22X1.5 M18X1.5 15 015.3X24 | 22 37 [39.5 22 27 24
ACCH-26-26-220G | M26X1.5 M22X1.5 18 019.3X2.4 | 25.5 42 | 435 27 32 27
ACCH-30-30-270G M30X2 M27X2 22 023.5X3.0( 29.3 | 45.8 50 30 36 32 16
ACCH-36-36-330G M36X2 M33X2 28 029.2X3.0 | 33.3 | 49.8 54 36 41 41 R
ADDH-14-14-120G | M14X1.5 M12X1.5 6 009.3X2.4| 175 | 32.5 32 14 17 17
ADDH-16-16-140G | M16X1.5 M14X1.5 8 011.3X2.4 | 18.7 | 33.7 34 16 19 19
ADDH-18-18-160G | M18X1.5 M16X1.5 10 013.3X2.4 | 19.5 36 36 19 22 22 if’;‘::ﬁlj
ADDH-20-20-180G | MZ20X1.5 M18X1.5 12 015.3X2.4 | 19.5 36 37 19 24 24 s
ADDH-24-24-220G | M24X1.5 M22X1.5 16 019.3X24| 24 42 37.5 24 30 27
ADDH-30-30-270G M30X2 M27X2 20 023.5X3.0| 28.3 | 49.8 50 30 36 32 40
ADDH-36-36-330G | M36X2 M33X2 25 029.2x3.0| 328 | 568 | 54 | 36 | 46 | 41 E?”
ADDH-42-42-420G M42X2 M42X2 30 038.5X3.0 [ 36.2 | 62.7 | 57.2 41 50 50

W 1 WP RE L RERREEET I, WS )5 RN, WIACCH-30-30-270G/RN. 2 GUi51SO 9974-13h IIAHEL, 4448 ) 5

ISO 6149-1 3 ITAHAC -

Note: 1 In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix "RN" after

our part no., for example ACCH-30-30-270G/RN. 2 G end is connected with ISO 9974-1 port and connected with 1ISO 6149-1 port

without retaining ring.

www.fukefitting.com



GUKE rzna

DIN £ExXE#&k DIN BITE TYPE TUBE FITTINGS

F s fo
J/L 7 S2 ‘ g,ﬂ
w P IE7 ST o 5[%:4 |
st 01 L3
ACCO-0G ACCO-OG/RN
ADDO-0G ADDO-OG/RN

Z B A mEFIZL AT O BUE %
BARREL TEE UN. UNF THREAD ADJUSTABLE
STUD ENDS WITH O-RING SEALING

R = 1% 4t THREAD E¥HMETUBE O.D. J <} DIMENSIONS T Sy 2t g

PART NO. E,F G D1,D2 11,12 |L1,L2 L3 S1 |S2,S3| S4 MPa
ACCO-12-12-040G [ M12X1.5 7/16"X20 6 13 28 27.2 11 14 17
ACCO-14-14-060G [ M14X1.5 9/16"X18 8 15.5 | 30.5 | 31.8 14 17 19
ACCO-16-16-060G | M16X1.5 | 9/16"X18 10 175 | 325 333 | 16 | 19 | 19 é’%ﬂ
ACCO-18-18-080G | M18X1.5 3/4"X16 12 19 34 37.5 19 22 24 L
ACCO-22-22-100G | M22X1.5 7/8"X14 15 22 37 44 22 27 27
ACCO-26-26-120G | M26X1.5 | 1.1/16"X12 18 255 42 51 27 32 32
ACCO-30-30-120G M30X2 [ 1.1/16"X12 22 29.3 [ 458 [535 30 36 32 16
ACCO-36-36-160G | M36X2 | 1.5/16"X12 28 333 | 498 [575 | 36 | 41 | a1 %‘:fﬁ”
ACCO0-45-45-200G M45X2 | 1.5/8"X12 35 39.2 | 60.7 63 48 50 50
ADDO-14-14-040G [ M14X1.5 7/16"X20 6 17.5 | 32.5 30 14 17 17
ADDO-16-16-060G [ M16X1.5 9/16"X18 8 18.7 | 33.7 | 33.3 16 19 19 63
ADDO-18-18-060G | M18X1.5 | 9/16"X18 10 195 | 36 |[335 | 19 22 19 iﬁﬁ;s%ﬁu
ADDO-20-20-080G [ M20X1.5 3/4"X16 12 19.5 36 37.5 19 24 24
ADDO-22-22-100G [ M22X1.5 7/8"X14 14 23 41 44 22 27 27
ADDO-24-24-100G [ M24X1.5 7/8"X14 16 24 42.5 | 46.5 24 30 27
ADDO-30-30-120G M30X2 | 1.1/16"X12 20 28.3 | 498 [535 30 36 32 E;?W
ADDO-36-36-160G M36X2 | 1.5/16"X12 25 328 [ 56.8 [575 36 46 41 S
ADDO-42-42-200G M42X2 1.5/8"X12 30 36.2 [ 62.7 [595 41 50 50
e WG RE R EIR AT 58, WA S “RN”, 7 ACCO-30-30-120G/RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,it is necessary to insert suffix"RN"
after our part no., for example ACCO-30-30-120G/RN.

www.fukefitting.com



Product description

DIN £ ERXEEsL DIN BITE TYPE TUBE FITTINGS

TRAZMEARLT | 60/70)

Ningbo Fuke Hydraulic Machinery Co., Ltd

Fh 8] i A MR 4 = i@ 1% Sk
BRANCH TEE FITTINGS
WITH SWIVEL NUT

BC BC-RN
BD BD-RN
R = 12 4t THREAD & T4Mz TUBE O.D. JU <) DIMENSIONS & 155 %%
PART NO. E.G F D1,D3 D2 1,13 |L1,L3 | L2 S1 [(S2,84( S3 LAl
BC-12 M12X1.5 | M12X1.5 6 6 12 27 26 12 14 14
BC-14 M14X1.5 | M14X1.5 8 8 14 29 | 275 12 17 17
BC-16 M16X1.5 | M16X1.5 10 10 15 30 29 14 19 19 ‘éj%iﬂ
BC-18 M18X1.5 | M18X1.5 12 12 17 32 1295 | 17 22 22 L
BC-22 M22X1.5 | M22X1.5 15 15 21 36 325 19 27 27
BC-26 M26X1.5 | M26X1.5 18 18 23.5 40 | 355 | 24 32 32
BC-30 M30X2 M30X2 22 22 27.5 44 1385 | 27 36 36
BC-36 M36X2 M36X2 28 28 30.5 47 415 | 36 41 41 16
BC-45 | M45X2 | M45X2 35 35 |345 | 56 | 51 | 41 | 50 | 50 | BARIIL
BC-52 M52X2 M52X2 42 42 40 63 56 50 60 60
BD-14 M14X1.5 | M14X1.5 6 6 16 31 27 12 17 17
BD-16 M16X1.5 | M16X1.5 8 8 17 32 |27.5 14 19 19 63
BD-18 M18X1.5 | M18X1.5 10 10 17.5 34 30 17 22 22 LRSI
BD-20 M20X1.5 | M20X1.5 12 12 215 38 31 17 24 24 S
BD-22 M22X1.5 | M22X1.5 14 14 22 40 35 19 27 27
BD-24 M24X1.5 | M24X1.5 16 16 24.5 43 |136.5 | 24 30 30
BD-30 M30X2 M30X2 20 20 26.5 48 | 445 | 27 36 36 E}?ﬁﬂ
BD-36 M36X2 M36X2 25 25 30 54 50 36 46 46 S
BD-42 M42X2 M42X2 30 30 35.5 62 55 41 50 50
BD-52 M52X2 M52X2 38 38 41 72 63 50 60 60 [31.5ERIS
VEs IFHRAS R RS REEASIT IS, IRSZEAR SUE N “RN”, 41 BC-30RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example BC-30RN.

www.fukefitting.com



G LKE

DIN FEREEL DIN BITE TYPE TUBE FITTINGS

Famités

Ls,

EESHTS

Ain NN =@ iE Sk
BARREL TEE FITTINGS
WITH SWIVEL NUT

CcC CC-RN
CD CD-RN
(A 12 £ THREAD 1 4MzE TUBE O.D. JR & DIMENSIONS Ji 1452
PART NO. E.,F G D1,D2 D3 1,2 |L1,L2| L3 S1 [S2,S3| S4 MPa
CC-12 M12X1.5 [ M12X1.5 6 6 12 27 26 12 14 14
CC-14 M14X1.5 | M14X1.5 8 8 14 29 | 275] 12 17 17
CC-16 M16X1.5 [ M16X1.5 10 10 15 30 29 14 19 19 g%sﬂ
CC-18 M18X1.5 | M18X1.5 12 12 17 32 | 295 17 22 22 L
CC-22 M22X1.5 [ M22X1.5 15 15 21 36 | 325] 19 27 27
CC-26 M26X1.5 | M26X1.5 18 18 23.5 40 | 355 | 24 32 32
CC-30 M30X2 M30X2 22 22 275 44 | 385 | 27 36 36
CC-36 M36X2 M36X2 28 28 30.5 47 | 415 36 41 41 %gﬂ
CC-45 M45X2 M45X2 35 35 34.5 56 51 41 50 50 L
CC-52 M52X2 M52X2 42 42 40 63 56 50 60 60
CD-14 M14X1.5 [ M14X1.5 6 16 31 27 12 17 17
CD-16 M16X1.5 | M16X1.5 8 17 32 [ 275] 14 19 19 63
CD-18 | M18X1.5 | M18X1.5 10 10 175 | 34 | 30 | 17 | 22 | 22 | HEHRS
CD-20 M20X1.5 | M20X1.5 12 12 21.5 38 31 17 24 24 S
CD-22 M22X1.5 [ M22X1.5 14 14 22 40 35 19 27 27
CD-24 M24X1.5 | M24X1.5 16 16 24.5 43 | 36.5| 24 30 30
CD-30 M30X2 M30X2 20 20 26.5 48 | 445 | 27 36 36 E%?ﬁu
CD-36 M36X2 M36X2 25 25 30 54 50 36 46 46 S
CD-42 M42X2 M42X2 30 30 35.5 62 55 41 50 50
CD-52 M52X2 M52X2 38 38 41 72 63 50 60 60 |[31.5HRFIS
VE: il R LR EREPE T, WIEEACS 5 “RN”, 411 CC-30RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example CC-30RN.

www.fukefitting.com




Product description

TR AR E RS ‘ 7]/72

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £ EREEL DIN BITE TYPE TUBE FITTINGS

S2
( ;} NL
NS
L ©
+EZ2
RETAINING NUTS
A\
= i2 4 THREAD | #T-4M% TUBE O.D. R ~f DIMENSIONS IIE
PART NO.| E c | 4 | s2 MPa

NL-12 | M12x1.5 6 145 | 6 | 14

NL-14 | M14X15 8 145 | 8 | 17

NL-16 | M16X1.5 10 155 | 10 | 19

NL-18 | M18X1.5 12 155 | 12 | 22

NL-22 | M22x1.5 15 17 | 15 | 27

NL-26 | M26X1.5 18 18 | 18 | 32

NL-30 M30X2 22 20 22 36 BARY
NL-30D | M30X1.5 22 19 | 22 | 36 L
NL-36 | M36X2 28 21 | 28 | 41

NL-36D | M36X1.5 28 21 | 28 | 41

NL-45 | M45x2 35 24 | 35 | 50

NL-45D | M45X1.5 35 25 | 35 | 50

NL-52 | M52x2 42 24 | 42 | 60

NS-14 | M14X1.5 6 165 | 6 | 17

NS-16 | M16X1.5 8 165 | 8 | 19

NS-18 | M18X1.5 10 175 | 10 | 22

NS-20 | M20X1.5 12 175 | 12 | 24

NS-22 | M22X1.5 14 205 | 14 | 27 _—
NS-24 | M24X1.5 16 205 | 16 | 30 A
NS-30 | M30X2 20 24 | 20 | 36

NS-36 | M36X2 25 27 | 25 | 46

NS-42 | M42x2 30 29 | 30 | 50

NS-52 | M52X2 38 325 | 38 | 60

www.fukefitting.com



GUKE rzna

DIN £ ERE#EL DIN BITE TYPE TUBE FITTINGS

RL
RS

()]
+E
CUTTING RING

f 5 HTHMED JU +} DIMENSIONS -
PART NO. TUBE O.D. [ [ | %k

RL-06 5

RL-08 8 7 i

RL-10 10 55 5 R B HH R 5

RL-12 12 )

RL-15 15 4

RL-18 18 B

RL-22 22

RL-28 28

RL-35 35

RL-42 22

RS-06 5

RS-08 P

RS-10 10

RS-12 12 |

RS-14 ” gs

RS-16 16 -

RS-20 20

RS-25 25

RS-30 30

RS-38 38

Jiged

EOLASTIC h WD

W ijogerd
CAPTIVE SEAL

V=2 E4E  THREAD JU s} DIMENSIONS
PART NO. A1l METRIC Hi4 BSP h
WD-B02 M10X1 G1/8"X28 1
WD-M12 M12X1.5 1.5
WD-B04 M14X1.5 G1/4"X19 1.5
WD-M16 M16X1.5 1.5
WD-B06 G3/8"X19 1.5
WD-M18 M18X1.5 1.5
WD-M20 M20X1.5 1.5
WD-B08 G1/2"X14 15
WD-M22 M22X1.5 1.5
M26X1.5 "
WD-B12 M27X2 G3/4"X14 15
WD-B16 M33X2 G1"X11 2
WD-B20 M42X2 G1.1/4"X11 2
WD-B24 M48X2 G1.1/2"X11 2

www.fukefitting.com



Product description TRBRBEAREELE | 73/74

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN £E&xX &£k DIN BITE TYPE TUBE FITTINGS

D2

o T S o
e e N 0328 3 Sk
) m CROSS FITTINGS
H |_1|1
XC XC-RN
XD XD-RN
i = 1% 2L THREAD | % F4IM% TUBE O.D. ]~} DIMENSIONS JE &%
PART NO. | EF,GH D1,D2,D3,D4 1 L1 S1 S2 e
XC-12 M12X1.5 6 12 27 12 14
XC-14 M14X1.5 8 14 29 12 17
XC-16 | M16X1.5 10 15 30 14 19 é;ﬂ
XC-18 M18X1.5 12 17 32 17 22 L
XC-22 M22X1.5 15 21 36 19 27
XC-26 M26X1.5 18 23.5 40 24 32
XC-30 M30X2 22 27.5 44 27 36
XC-36 M36X2 28 30.5 47 36 41 %gﬁd
XC-45 M45X2 35 34.5 56 41 50 L
XC-52 M52X2 42 40 63 50 60
XD-14 M14X1.5 6 16 31 12 17
XD-16 M16X1.5 8 17 32 14 19 63
XD-18 | M18X1.5 10 17.5 34 17 22 RS
XD-20 M20X1.5 12 21.5 38 17 24 S
XD-22 M22X1.5 14 22 40 19 27
XD-24 M24X1.5 16 24.5 43 24 30
XD-30 M30X2 20 26.5 48 27 36 ﬁ‘gﬁ f
XD-36 M36X2 2 30 54 36 46 S
XD-42 M42X2 30 35.5 62 41 50
XD-52 M52X2 38 41 72 50 60 315 ERIIS
e W RE MR BRI Ty, WE/EACT 5 “RN”, 41 XC-30RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring
and nut ,it is necessary to insert suffix "RN" after our part no., for example XC-30RN.

www.fukefitting.com



G LKE

Famités

REBY60TEEZT BSPP 60°CONE SEAL

s '8

| REIMEL60° NS AinE MASERER

60°| LU - L 60° BSP MALE DOUBLE USE FOR 60°
CONE SEAT OR BONDED SEAL
S1
K = % 40 THREAD JU s DIMENSIONS
PART NO. E F A B L S1
1B-02 G1/8"X28 G1/8"X28 10 10 26 14
1B-02-04 G1/8"X28 G1/4"X19 10 12 28 19
1B-02-06 G1/8"X28 G3/8"X19 10 13.5 31.5 22
1B-02-08 G1/8"X28 G1/2"X14 10 16 36 27
1B-04 G1/4"X19 G1/4"X19 12 12 30 19
1B-04-06 G1/4"X19 G3/8"X19 12 13.5 33.5 22
1B-04-08 G1/4"X19 G1/2"X14 12 16 38 27
1B-04-10 G1/4"X19 G5/8"X14 12 17.5 39.5 30
1B-06 G3/8"X19 G3/8"X19 13.5 13.5 35 22
1B-06-08 G3/8"X19 G1/2"X14 13.5 16 39.5 27
1B-06-10 G3/8"X19 G5/8"X14 13.5 17.5 42 30
1B-06-12 G3/8"X19 G3/4"X14 13.5 18.5 43 32
1B-08 G1/2"X14 G1/2"X14 16 16 42 27
1B-08-10 G1/2"X14 G5/8"X14 16 17.5 435 30
1B-08-12 G1/2"X14 G3/4"X14 16 18.5 455 32
1B-10 G5/8"X14 G5/8"X14 17.5 17.5 45 30
1B-10-12 G5/8"X14 G3/4"X14 17.5 18.5 47 32
1B-10-16 G5/8"X14 G1"X11 17.5 20.5 51.5 41
1B-12 G3/4"X14 G3/4"X14 18.5 18.5 48 32
1B-12-16 G3/4"X14 Gl 18.5 20.5 525 41
1B-12-20 G3/4"X14 G1.1/4"X11 18.5 20.5 56 50
1B-16 bl bl 20.5 20.5 54 41
1B-16-20 G1"X11 G1.1/4"X11 20.5 20.5 58 50
1B-16-24 G1"X11 G1.1/2"X11 20.5 23 60.5 55
1B-20 G1.1/4"X11 G1.1/4"X11 20.5 20.5 58 50
1B-20-24 G1.1/4"X11 G1.1/2"X11 20.5 23 60.5 55
1B-24 G1.1/2"X11 G1.1/2"X11 23 23 63 55
1B-24-32 G1.1/2"X11 G2"X11 23 25.5 66.5 70
1B-32 G2"X11 G2"X11 255 255 68 70
1B-40 G2.1/2"X11 G2.1/2"X11 32 32 81 90
1B-48 G3"X11 G3"X11 36 36 92 100

www.fukefitting.com




Product description

REBN60HEE

TR AR E RS ‘ 75/76

Ningbo Fuke Hydraulic Machinery Co., Ltd

i} BSPP 60°CONE SEAL

1B-WD
4 | RE NAmEAEESRER /
60°| LW L %ZH BT
BSP MALE DOUBLE USE FOR 60° CONE SEAT OR
BONDED SEAL / BSP MALE CAPTIVE SEAL
= % 40 THREAD i3 # CAPTIVE N <} DIMENSIONS
PART NO. E F F %t A B L S1
1B-04WD G1/4"X19 G1/4"X19 WD-B04 12 12 32 19
1B-04-06 WD G1/4"X19 G3/8"X19 WD-B06 12 12 34.5 22
1B-04-08WD G1/4"X19 G1/2"X14 WD-B08 12 14 39 27
1B -06WD G3/8"X19 G3/8"X19 WD-B06 13.5 12 34 22
1B-06-08WD G3/8"X19 G1/2"X14 WD-B08 13.5 14 40.5 27
1B -08WD G1/2"X14 G1/2"X14 WD-B08 16 14 43 27
1B-08-12WD G1/2"X14 G3/4"X14 WD-B12 16 16 46 32
1B-12WD G3/4"X14 G3/4"X14 WD-B12 18.5 16 46.5 32
1B-12-16WD G3/4"X14 G1"X11 WD-B16 18.5 18 52.5 41
1B-16WD G1"X11 G1"X11 WD-B16 20.5 18 54.5 41
1B-16-20WD G1"X11 G1.1/4"X11 WD-B20 20.5 20 58.5 50
1B -20WD G1.1/4"X11 | G1.1/4"X11 WD-B20 20.5 20 58.5 50

www.fukefitting.com



JUKE

Famités

REEY60TEEZ T BSPP 60°CONE SEAL

L EENUT
A B
60°(L w 74° | ke e
= = it
.
) L %‘%%ﬂJICG’I‘Eﬁ%ZIM 9I\$E
S1
BSP MALE DOUBLE USE FOR 60° CONE SEAT
1BJ OR BONDED SEAL / JIC MALE 74° CONE
;R = 32 4 THREAD R o DIMENSIONS
PART NO. E F A B L S1
1BJ-02-04 G1/8"X28 7/16"X20 10 14 30 14
1BJ-02-05 G1/8"X28 1/2"X20 10 14 30 14
1BJ-02-06 G1/8"X28 9/16"X18 10 14.1 30 17
1BJ-04 G1/4"X19 7/16"X20 12 14 32 19
1BJ-04-05 G1/4"X19 1/2"X20 12 14 32 19
1BJ-04-06 G1/4"X19 9/16"X18 12 14.1 32 19
1BJ-04-08 G1/4"X19 3/4"X16 12 16.7 36.5 22
1BJ-04-10 G1/4"X19 7/8"X14 12 19.3 39 24
1BJ-06 G3/8"X19 9/16"X18 13.5 14.1 35.5 22
1BJ-06-04 G3/8"X19 7/16"X20 13.5 14 35.5 22
1BJ-06-05 G3/8"X19 1/2"X20 13.5 14 35.5 22
1BJ-06-08 G3/8"X19 3/4"X16 13.5 16.7 38.5 22
1BJ-06-10 G3/8"X19 7/8"X14 13.5 19.3 41 24
1BJ-06-12 G3/8"X19 1.1/16"X12 13.5 21.9 45 30
1BJ-08 G1/2"X14 3/4"X16 16 16.7 43 27
1BJ-08-04 G1/2"X14 7/16"X20 16 14 40 27
1BJ-08-05 G1/2"X14 1/2"X20 16 14 40 27
1BJ-08-06 G1/2"X14 9/16"X18 16 14.1 40 27
1BJ-08-10 G1/2"X14 7/8"X14 16 19.3 45.5 27
1BJ-08-12 G1/2"X14 1.1/16"X12 16 21.9 48 30
1BJ-08-14 G1/2"X14 1.3/16"X12 16 22.6 49.5 32
1BJ-08-16 G1/2"X14 1.5/16"X12 16 23.1 50 36
1BJ-10 G5/8"X14 7/8"X14 17.5 19.3 47 30
1BJ-10-08 G5/8"X14 3/4"X16 17.5 16.7 44 30
1BJ-10-12 G5/8"X14 1.1/16"X12 17.5 21.9 49.5 30
1BJ-10-16 G5/8"X14 1.5/16"X12 17.5 23.1 51.5 36
1BJ-12 G3/4"X14 1.1/16"X12 18.5 21.9 51.5 32
1BJ-12-06 G3/4"X14 9/16"X18 18.5 14.1 43.5 32
1BJ-12-08 G3/4"X14 3/4"X16 18.5 16.7 46.5 32
1BJ-12-10 G3/4"X14 7/8"X14 18.5 19.3 49 32
1BJ-12-14 G3/4"X14 1.3/16"X12 18.5 22.6 52 32
1BJ-12-16 G3/4"X14 1.5/16"X12 18.5 23.1 52.5 34
1BJ-12-20 G3/4"X14 1.5/8"X12 18.5 24.3 55.5 46
1BJ-16 G1"X11 1.5/16"X12 20.5 23.1 57 41
1BJ-16-08 G1"X11 3/4"X16 20.5 16.7 50 41
1BJ-16-10 G1"X11 7/8"X14 20.5 19.3 53 41
1BJ-16-12 G1"X11 1.1/16"X12 20.5 21.9 55.5 41
1BJ-16-14 G1"X11 1.3/16"X12 20.5 22.6 56 41
1BJ-16-20 G1"X11 1.5/8"X12 20.5 24.3 58 46
1BJ-20 G1.1/4"X11 1.5/8"X12 20.5 24.3 62 50
1BJ-20-12 G1.1/4"X11 1.1/16"X12 20.5 21.9 57.5 50
1BJ-20-16 G1.1/4"X11 1.5/16"X12 20.5 23.1 60.5 50
1BJ-20-24 G1.1/4"X11 1.7/8"X12 20.5 27.5 63 50
1BJ-24-16 G1.1/2"X11 1.5/16"X12 23 23.1 61 55
1BJ-24-20 G1.1/2"X11 1.5/8"X12 23 24.3 62.5 55
1BJ-24 G1.1/2"X11 1.7/8"X12 23 27.5 67.5 55
1BJ-24-32 G1.1/2"X11 2.1/2"X12 23 33.9 74 65
1BJ-32 G2"X11 2.1/2"X12 25.5 33.9 77.5 70
1BJ-32-24 G2"X11 1.7/8"X12 25.5 27.5 70 70
e SRBERAEG AT . AT EAR D AN, AR EER A £ 52k ] NB200. NB500. 45 1948 Ehlm, B HIRRRE A 4543 % ) NB200. NB300.
Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com

#/



Product description TEBEREAERAS | 7T [78

Ningbo Fuke Hydraulic Machinery Co., Ltd

REIEN60%EE ZE BSPP 60°CONE SEAL

L
A, | B 1BN
Mﬁ 7% EIMBLIB0° PN RIS A S R /
w 7 4 AME L
60 J BSP MALE DOUBLE USE FOR 60° CONE SEAT OR
= BONDED SEAL / NPT MALE
S1

r®oe i2 20 THREAD J <+ DIMENSIONS
PART NO. E F A B L S1
1BN-02 G1/8"X28 Z1/8"X27 10 10.5 26 14
1BN-02-04 G1/8"X28 Z1/4"X18 10 15 31 17
1BN-04 G1/4"X19 Z1/4"X18 12 15 33 19
1BN-04-02 G1/4"X19 Z1/8"X27 12 10.5 28 19
1BN-04-06 G1/4"X19 Z3/8"X18 12 16 34 19
1BN-04-08 G1/4"X19 Z1/2"X14 12 19.5 39.5 22
1BN-06 G3/8"X19 Z3/8"X18 13.5 16 37.5 22
1BN-06-04 G3/8"X19 Z1/4"X18 13.5 15 36 22
1BN-06-08 G3/8"X19 Z1/2"X14 13.5 19.5 41 22
1BN-06-12 G3/8"X19 Z3/4"X14 13.5 19.5 43 30
1BN-08 G1/2"X14 Z1/2"X14 16 19.5 455 27
1BN-08-06 G1/2"X14 Z3/8"X18 16 16 42 27
1BN-08-12 G1/2"X14 Z3/4"X14 16 19.5 455 30
1BN-08-16 G1/2"X14 Z1"X11.5 16 25.5 52.5 36
1BN-10-08 G5/8"X14 Z1/2"X14 17.5 19.5 47 30
1BN-10-12 G5/8"X14 Z3/4"X14 17.5 19.5 47 30
1BN-12 G3/4"X14 Z3/4"X14 18.5 19.5 49 32
1BN-12-06 G3/4"X14 Z3/8"X18 18.5 16 45.5 32
1BN-12-08 G3/4"X14 Z1/2"X14 18.5 19.5 49 32
1BN-12-16 G3/4"X14 Z1"X11.5 18.5 25.5 55 36
1BN-16 G1"X11 Z1"X11.5 20.5 25.5 59 41
1BN-16-12 G1"X11 Z3/4"X14 20.5 19.5 53 41
1BN-16-20 G1"X11 Z1.1/4"X11.5 20.5 26.5 60 46
1BN-20 G1.1/4"X11 Z1.1/4"X11.5 20.5 26.5 62 50
1BN-20-16 G1.1/4"X11 Z1"X11.5 20.5 25.5 61 50
1BN-20-24 G1.1/4"X11 Z1.1/2"X11.5 20.5 27.5 63 50
1BN-24 G1.1/2"X11 Z1.1/2"X11.5 23 27.5 65.5 55
1BN-24-20 G1.1/2"X11 Z1.1/4"X11.5 23 26.5 64.5 55
1BN-24-32 G1.1/2"X11 Z2"X11.5 23 27.5 67.5 65
1BN-32 G2"X11 Z2"X11.5 25.5 27.5 70 70
1BN-32-20 G2"X11 Z1.1/4"X11.5 25.5 26.5 69 70
1BN-32-24 G2"X11 Z1.1/2"X11.5 25.5 27.5 70 70

www.fukefitting.com



GLUKE ranz
REIRN60%EEmZE BSPP 60°CONE SEAL
FLT 1BN9
) m
N
60°! L > 90° T HE I aRwH /
g A 1 et
A 90° ELBOW BSP MALE DOUBLE USE FOR 60°
CONE SEAT OR BONDED SEAL / NPT MALE
o i 2 THREAD <} DIMENSIONS
PART NO. E F A B S1
1BN9-04 G1/4"X19 Z1/4"X18 24.5 255 14
1BN9-04-02 G1/4"X19 Z1/8"X27 24.5 23.5 14
1BN9-06 G3/8"X19 Z3/8"X18 28.5 31 19
1BN9-06-04 G3/8"X19 Z1/4"X18 27.5 26.5 16
1BN9-06-08 G3/8"X19 Z1/2"X14 31 36.5 22
1BN9-06-12 G3/8"X19 Z3/4"X14 34.5 44 27
1BN9-08 G1/2"X14 Z1/2"X14 34.5 37.5 22
1BN9-08-06 G1/2"X14 Z3/8"X18 34.5 33 22
1BN9-12 G3/4"X14 Z3/4"X14 38 43.5 27
1BN9-12-08 G3/4"X14 Z1/2"X14 39 40 27
1BN9-12-16 G3/4"X14 Z1"X11.5 43 50 33
1BN9-16 G1"X11 Z1"X11.5 46 50 33
1BN9-16-12 G1"X11 Z3/4"X14 46 46.5 33

www.fukefitting.com




Product description TEBZREAMERAE | 79/80

Ningbo Fuke Hydraulic Machinery Co., Ltd

REMEN60%EE ZE BSPP 60°CONE SEAL

L
A B 1BT-SP
HEIMRN60° NS FAinEAEEGERER /
607 W - HHEEIMRL

BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL / BSPT MALE

o i 20 THREAD R~} DIMENSIONS
PART NO. E F A B L S1
1BT-02SP G1/8"X28 R1/8"X28 10 10 26 14
1BT-02-04SP | G1/8"X28 R1/4"X19 10 | 145 | 305 | 14

1BT-04SP G1/4"X19 R1/4"X19 12 | 145 | 32 19
1BT-04-02SP | G1/4"X19 R1/8"X28 12 10 28 19
1BT-04-06SP | G1/4"X19 R3/8"X19 12 15 32 19
1BT-04-08SP | G1/4"X19 R1/2"X14 12 20 40 24

1BT-06SP G3/8"X19 R3/8"X19 135 | 15 | 355 | 22
1BT-06-04SP | G3/8"X19 R1/4"X19 135 | 145 | 355 | 22
1BT-06-08SP | G3/8"X19 R1/2"X14 135 | 20 | 405 | 24

1BT-08SP G1/2"X14 R1/2"X14 16 20 45 27
1BT-08-04SP | G1/2"X14 R1/4"X19 16 | 145 | 405 | 27
1BT-08-06SP | G1/2"X14 R3/8"X19 16 15 40 27
1BT-08-12SP | G1/2"X14 R3/4"X14 16 20 45 30
1BT-10-06SP | G5/8"X14 R3/8"X19 175 | 15 | 415 | 30
1BT-10-08SP | G5/8"X14 R1/2"X14 175 | 20 | 465 | 30
1BT-10-12SP | G5/8"X14 R3/4"X14 175 | 20 | 465 | 30
1BT-10-16SP | G5/8"X14 R1"X11 175 | 255 | 54 36

1BT-12SP G3/4"X14 R3/4"X14 185 | 20 | 485 | 32
1BT-12-08SP | G3/4"X14 R1/2"X14 185 | 20 | 495 | 32
1BT-12-16SP | G3/4"X14 R1"X11 185 | 255 | 535 | 36
1BT-12-20SP | G3/4"X14 R1.1/4"X11 185 | 265 | 58 46

1BT-16SP G1"X11 R1"X11 205 | 255 | 58 41
1BT-16-12SP G1"X11 R3/4"X14 205 | 20 53 41
1BT-16-20SP G1"X11 R1.1/4"X11 205 | 265 | 60 46

1BT-20SP G1.1/4"X11 | R1.1/4"X11 205 | 265 | 62 50
1BT-20-12SP | G1.1/4"X11 R3/4"X14 205 | 205 | 56 50
1BT-20-16SP | G1.1/4"X11 R1"X11 205 | 255 | 61 50
1BT-20-24SP | G1.1/4"X11 | R1.1/2"X11 205 | 265 | 62 50

1BT-24SP G1.1/2"X11 | R1.1/2"X11 23 | 265 | 645 | 55
1BT-24-16SP | G1.1/2"X11 R1"X11 23 | 255 | 635 | 55
1BT-24-20SP | G1.1/2"X11 | R1.1/4"X11 23 | 265 | 645 | 55
1BT-24-32SP | G1.1/2"X11 R2"X11 23 30 70 65

1BT-32SP G2"X11 R2"X11 255 | 30 | 725 | 70
1BT-32-20SP G2"X11 R1.1/4"X11 255 | 27 | 685 | 70
1BT-32-24SP G2"X11 R1.1/2"X11 255 | 265 | 685 | 70

1BT-40SP G2.1/2"X11 | R2.1/2"X11 32 34 83 90

1BT-48SP G3"X11 R3"X11 36 38 94 | 100

www.fukefitting.com



GUKE a3

REZL60°HEZT BSPP 60°CONE SEAL
F o
m 1BT9-SP
sl [T | 90 TR EIMBL60° I / FHEEINB
I —[ . )<§ 90° ELBOW BSP MALE 60° SEAT / BSPT MALE

X 5 12 40 THREAD J I DIMENSIONS
PART NO. E F A B S1
1BT9-02SP G1/8"X28 R1/8"X28 20 21 11

1BT9-02-04SP | G1/8"X28 R1/4"X19 223 | 255 14
1BT9-04SP G1/4"X19 R1/4"X19 245 | 255 14
1BT9-04-02SP | G1/4"X19 R1/8"X28 25 23.5 14
1BT9-04-06SP | G1/4"X19 R3/8"X19 25 28.5 16
1BT9-04-08SP | G1/4"X19 R1/2"X14 30 36 22
1BT9-06SP G3/8"X19 R3/8"X19 275 | 285 16
1BT9-06-04SP | G3/8"X19 R1/4"X19 275 | 26.5 16
1BT9-06-08SP | G3/8"X19 R1/2"X14 31 36 22
1BT9-08SP G1/2"X14 R1/2"X14 34.5 36 22
1BT9-08-04SP | G1/2"X14 R1/4"X19 345 | 305 22
1BT9-08-06SP | G1/2"X14 R3/8"X19 345 | 325 22
1BT9-08-12SP | G1/2"X14 R3/4"X14 375 | 435 27
1BT9-08-16SP | G1/2"X14 R1"X11 41 50 33
1BT9-10-08SP | G5/8"X14 R1/2"X14 35 36 22
1BT9-10-12SP | G5/8"X14 R3/4"X14 39 | 435 27
1BT9-12SP G3/4"X14 R3/4"X14 40 43 27
1BT9-12-06SP | G3/4"X14 R3/8"X19 40 36 27
1BT9-12-08SP | G3/4"X14 R1/2"X14 40 39.5 27
1BT9-12-16SP | G3/4"X14 R1"X11 435 50 33
1BT9-12-20SP | G3/4"X14 R1.1/4"X11 48 56.5 41
1BT9-16SP G1"X11 R1"X11 46 50 33
1BT9-16-08SP G1"X11 R1/2"X14 46 43 33
1BT9-16-12SP G1"X11 R3/4"X14 46 | 475 33
1BT9-16-20SP G1"X11 R1.1/4"X11 50.5 | 56.5 41
1BT9-20SP G1.1/4"X11 R1.1/4"X11 52 59 41
1BT9-20-12SP | G1.1/4"X11 R3/4"X14 50.5 54 41
1BT9-20-16SP | G1.1/4"X11 R1"X11 52 56.5 41
1BT9-20-24SP | G1.1/4"X11 R1.1/2"X11 545 | 62.5 48
1BT9-24SP G1.1/2"X11 R1.1/2"X11 57.5 62 48
1BT9-24-20SP | G1.1/2"X11 R1.1/4"X11 57.5 61 48
1BT9-24-32SP | G1.1/2"X11 R2"X11 66 75 63
1BT9-32SP G2"X11 R2"X11 67 75 63
1BT9-32-24SP G2"X11 R1.1/2"X11 68 72 63

www.fukefitting.com




Product description

Parlax

HEIEN60%EE ZE BSPP 60°CONE SEAL

TR AR ERAE]

Ningbo Fuke Hydraulic Machinery Co., Ltd

1 81/82

L B
A
W

2B

60° | 3 ><j60° 3@%’9\Eﬁ%éimzﬁlfqiﬁ%;ﬁ%#‘g?ﬁgéﬂéﬂ%ﬂ /
B R Z
BSP MALE DOUBLE USE FOR 60° CONE SEAT
S S2 OR BONDED SEAL / BSP FEMALE 60° CONE
B i 4 THREAD <} DIMENSIONS
PART NO. E F A B L s1 | s2
2B-02 G1/8"X28 G1/8"X28 10 | 55 | 25 14 14
2B-02-04 G1/8"X28 G1/4"X19 10 | 55 | 27 14 19
2B-04 G1/4"X19 G1/4"X19 12 | 55 | 29 19 19
2B-04-06 G1/4"X19 G3/8"X19 12 | 63 | 305 | 19 | 22
2B-04-08 G1/4"X19 G1/2"X14 12 | 75 | 32 19 | 27
2B-06 G3/8"X19 G3/8"X19 135 | 63 | 34 | 22 | 22
2B-06-08 G3/8"X19 G1/2"X14 135 | 75 | 355 | 22 | 27
2B-06-10 G3/8"X19 G5/8"X14 135 | 95 | 36 | 22 | 30
2B-08 G1/2"X14 G1/2"X14 16 | 75 | 40 | 27 | 27
2B-08-06 G1/2"X14 G3/8"X19 16 | 63 | 385 | 27 | 22
2B-08-12 G1/2"X14 G3/4"X14 16 | 109 | 41 27 | 32
2B-10 G5/8"X14 G5/8"X14 175 | 95 | 42 30 | 30
2B-10-08 G5/8"X14 G1/2"X14 175 | 75 | 415 | 30 | 27
2B-10-12 G5/8"X14 G3/4"X14 175 | 109 | 425 | 30 | 32
2B-12 G3/4"X14 G3/4"X14 185 | 109 | 445 | 32 | 32
2B-12-10 G3/4"X14 G5/8"X14 185 | 95 | 44 32 | 30
2B-12-16 G3/4"X14 G1"X11 185 | 117 | 46 32 | 41
2B-16 G1"X11 G1"X11 205 | 117 | 50 | 41 41
2B-16-12 G1"X11 G3/4"X14 205 | 109 | 49 | 41 32
2B-16-20 G1"X11 G1.1/4"X11 205 | 11 53 | 41 50
2B-20 G1.1/4"X11 | G1.1/4"X11 205 | 11 55 50 | 50
2B-20-16 G1.1/4"X11 G1"X11 205 | 117 | 52 50 | 41
2B-20-24 G1.1/4"X11 | G1.1/2"X11 205 | 13 | 555 | 50 | 55
2B-24 G1.1/2'X11 | G1.1/2"X11 23 13 58 55 | 55
2B-32 G2"X11 G2"X11 255 | 16 | 635 | 70 | 70

www.fukefitting.com




GUKE a3

REEY60EEZE T BSPP 60°CONE SEAL
60°
4
F
07

S1

90°

ZTs ~HE fote

SRE

2B9

SMZRLT60° A HE / RE FERLL60° 51 HE
90° ELBOW BSP MALE 60° SEAT / BSP FEMALE 60° CONE

o= % 40 THREAD JU <} DIMENSIONS
PART NO. E F A B S1 S2
2B9-02 G1/8"X28 G1/8"X28 198 | 55 11 14
2B9-04 G1/4"X19 G1/4"X19 245 | 55 14 19
2B9-04-06 G1/4"X19 G3/8"X19 25 6.3 14 22
2B9-06 G3/8"X19 G3/8"X19 275 | 6.3 16 22
2B9-06-04 G3/8"X19 G1/4"X19 275 | 55 16 19
2B9-08 G1/2"X14 G1/2"X14 345 | 75 22 27
2B9-08-06 G1/2"X14 G3/8"X19 345 | 6.3 22 22
2B9-10 G5/8"X14 G5/8"X14 35 9.5 22 30
2B9-10-08 G5/8"X14 G1/2"X14 35 7.5 22 27
2B9-12 G3/4"X14 G3/4"X14 40 109 | 27 32
2B9-16 G1"X11 G1"X11 46 11.7 33 41
2B9-20 G1.1/4"X11 G1.1/4"X11 50.5 11 41 50
2B9-24 G1.1/2"X11 G1.1/2"X11 57.5 13 48 55
2B9-32 G2"X11 G2"X11 72.5 16 63 70

www.fukefitting.com




Product description TRBERENAEEAS | 83/84

Ningbo Fuke Hydraulic Machinery Co., Lid.

HEMEN60%EE ZEE BSPP 60°CONE SEAL

s N8

[ ] TR o
*0 FrHR B SMEL | BT AR 60° S
. NPT MALE / BSP FEMALE 60° CONE
S1 35

KR = 12 2 THREAD R 7 DIMENSIONS
PART NO. E F A B L S1 S2

2NB-02 Z1/8"X27 G1/8"X28 10.5 55 25.5 12 14
2NB-02-04 Z1/8"X27 G1/4"X19 10.5 5.5 27 14 19

2NB-04 Z1/4"X18 G1/4"X19 15 55 31 17 19
2NB-04-06 Z1/4"X18 G3/8"X19 15 6.3 32.5 17 22
2NB-04-08 Z1/4"X18 G1/2"X14 15 7.5 35 19 27

2NB-06 Z3/8"X18 G3/8"X19 16 6.3 33.5 19 22
2NB-06-08 Z3/8"X18 G1/2"X14 16 7.5 36 19 27

2NB-08 Z1/2"X14 G1/2"X14 19.5 7.5 41 22 27
2NB-08-06 Z1/2"X14 G3/8"X19 19.5 6.3 39.5 24 24
2NB-08-12 Z1/2"X14 G3/4"X14 19.5 10.9 445 27 32

2NB-12 Z3/4"X14 G3/4"X14 19.5 10.9 44.5 30 32
2NB-12-16 Z3/4"X14 G1"X11 19.5 11.7 46.5 32 41

2NB-16 Z1"X11.5 G1"X11 25.5 11.7 52.5 36 41
2NB-16-20 Z1"X11.5 G1.1/4"X11 25.5 11 59.5 41 50

2NB-20 Z1.1/4"X11.5 G1.1/4"X11 26.5 11 60.4 46 50

2NB-24 Z1.1/2"X11.5 G1.1/2"X11 27.5 13 62 50 55

2NB-32 Z2"X11.5 G2"X11 27.5 20 65.4 65 70

www.fukefitting.com



G LKE

il!l:

anll

REEY60EEZ T BSPP 60°CONE SEAL

2TB-SP

REFIMBLY | TENIRG60° S

BSPT MALE / BSP FEMALE 60° CONE

E/ S1, S2
A7 2 4 THREAD <} DIMENSIONS
PART NO. E F A B L S1 S2
2TB-02SP R1/8"X28 G1/8"X28 10 | 55 | 25 12 14
2TB-04SP R1/4"X19 G1/4"X19 145 | 55 | 315 | 17 19
2TB-06SP R3/8"X19 G3/8"X19 15 | 63 | 33 19 22
2TB-06-04SP | R3/8"X19 G1/4"X19 15 | 55 | 32 19 19
2TB-06-08SP | R3/8"X19 G1/2"X14 15 | 75 | 35 19 27
2TB-08SP R1/2"X14 G1/2"X14 20 | 75 | 42 22 27
2TB-08-06SP | R1/2"X14 G3/8"X19 20 | 63 | 40 22 22
2TB-08-12SP | R1/2"X14 G3/4"X14 20 | 109 | 45 27 32
2TB-12SP R3/4"X14 G3/4"X14 20 | 109 | 45 30 32
2TB-12-08SP | R3/4"X14 G1/2"X14 20 | 75 | 44 30 27
2TB-12-16SP | R3/4"X14 G1"X11 20 | 11.7 | 47 32 41
2TB-16SP R1"X11 Cllp 255 | 117 | 525 | 36 41
2TB-16-12SP R1"X11 G3/4"X14 255 | 109 | 515 | 36 32
2TB-20-16SP | R1.1/4"X11 G 265 | 117 | 555 | 46 41
2TB-20SP R1.1/4"X11 | G1.1/4"X11 265 | 11 59 46 50
2TB-24SP R1.1/2"X11 | G1.1/2"X11 265 | 13 | 615 | 50 55
2TB-32SP R2"X11 G2"X11 30 16 68 65 70

www.fukefitting.com




Product description TREBAENAERAS | 85/86

Ningbo Fuke Hydraulic Machinery Co., Lid.

REMEN60%EE ZE BSPP 60°CONE SEAL
60°

\v4
F
Org
2TB9-SP
E L@

90° LHRHEFIMRY | RENIEL 60° M

I - _-l‘v 90° ELBOW BSPT MALE / BSP FEMALE 60° CONE
=
A
5 12 40 THREAD s} DIMENSIONS
PART NO. E F A B Si S2
2TB9-02SP R1/8"X28 G1/8"X28 21 55 11 14
2TB9-04SP R1/4"X19 G1/4"X19 25.5 5.5 14 19
2TB9-06SP R3/8"X19 G3/8"X19 28.5 6.3 16 22
2TB9-06-08SP R3/8"X19 G1/2"X14 31 7.5 19 27
2TB9-08-06SP R1/2"X14 G3/8"X19 36 6.3 22 22
2TB9-08SP R1/2"X14 G1/2"X14 36 7.5 22 27
2TB9-08-12SP R1/2"X14 G3/4"X14 37 10.9 24 32
2TB9-12-08SP R3/4"X14 G1/2"X14 43.5 7.5 27 27
2TB9-12SP R3/4"X14 G3/4"X14 43.5 10.9 27 32
2TB9-16SP R1"X11 G1"X11 50 11.7 33 41
2TB9-20SP R1.1/4"X11 G1.1/4"X11 58 11 41 50
2TB9-24SP R1.1/2"X11 G1.1/2"X11 62.5 13 48 55
L
T
/T @ﬁ“ 4B
60°| LW - e o ~ An© Eot i £ N Rk S
HEIMEL 60° MR AMIBEAESRES Bk
BSP MALE DOUBLE USE FOR 60° CONE SEAT
> OR BONDED SEAL PLUG
g = 2 2 THREAD .~} DIMENSIONS
PART NO. E A L S1
4B-02 G1/8"X28 10 16 14
4B-04 G1/4"X19 12 18 19
4B-06 G3/8"X19 13.5 21.5 22
4B-08 G1/2"X14 16 26 27
4B-10 G5/8"X14 17.5 27.5 30
4B-12 G3/4"X14 18.5 29.5 32
4B-16 G1"X11 20.5 34 41
4B-20 G1.1/4"X11 20.5 37.5 50
4B-24 G1.1/2"X11 23 40 55
4B-32 G2"X11 25.5 43.5 70

www.fukefitting.com



~

G KE =873

REBY60TEEZ T BSPP 60°CONE SEAL

REIMEQIRBE £
BSP MALE CAPTIVE SEAL PLUG

L
A S1
&ﬁ 4B-WD
L -

R o2 12 2 THREAD ik ¥ CAPTIVE ] <} DIMENSIONS
PART NO. E Esfi A L S1
4B-02WD G1/8"X28 WD-B02 8 15.5 14
4B-04WD G1/4"X19 WD-B04 12 19.6 19
4B-06WD G3/8"X19 WD-B06 12 | 225 22
4B-08WD G1/2"X14 WD-B08 14 25 27
4B-12WD G3/4"X14 WD-B12 16 29 32
4B-16WD G1"X11 WD-B16 18 35 41
4B-20WD G1.1/4"X11 WD-B20 20 37 50
4B-24WD G1.1/2"X11 WD-B24 22 40 55

F
| 589
| 28]
—
600/;_ T_\b 90° TREIMRL60° N / RE IR 1SO 1179
)< 90° ELBOW BSP MALE 60° SEAT / BSP FEMALE I1SO 1179
A S1

£ = 2 4r THREAD JU 5F DIMENSIONS
PART NO. E F A B S1
5B9-02 G1/8"X28 G1/8"X28 25| 20 16
5B9-04 G1/4"X19 G1/4"X19 255 | 22 19
5B9-06 G3/8"X19 G3/8"X19 305 | 26 24
5B9-08 G1/2"X14 G1/2"X14 39 31 30
5B9-12 G3/4"X14 G3/4"X14 435 | 37 33
5B9-16 G1"X11 G1"X11 50.5 | 43 41
5B9-20 G1.1/4"X11 G1.1/4"X11 55 46 50

www.fukefitting.com



Product description

REMEN60%EE ZE BSPP 60°CONE SEAL

TR AR ERAE]

Ningbo Fuke Hydraulic Machinery Co., Ltd.

| 87/88

S1/

5B

%M%Q%’?QX 60° Py HE BN A i 1

H A e g5t/

El:buJ

JUE NIZL 1SO 1179

BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL / BSP FEMALE ISO 1179

R 5 12 2 THREAD JU < DIMENSIONS
PART NO. E F A L S1
5B-02-04 G1/8"X28 G1/4"X19 11 29 19
5B-04-02 G1/4"X19 G 1/8"X28 12 28 19
5B-04 G1/4"X19 G1/4"X19 12 33 19
5B-04-06 G1/4"X19 G3/8"X19 12 36 22
5B-06-04 G3/8"X19 G1/4"X19 13.5 | 335 22
5B-06 G3/8"X19 G3/8"X19 13.5 | 37.5 22
5B-06-08 G3/8"X19 G1/2"X14 13.5 | 425 27
5B-08-06 G1/2"X14 G3/8"X19 16 38 27
5B-08 G1/2"X14 G1/2"X14 16 45 27
5B-08-10 G1/2"X14 G5/8"X14 16 46 30
5B-08-12 G1/2"X14 G3/4"X14 16 44.5 36
5B-10-08 G5/8"X14 G1/2"X14 16 41.5 30
5B-12-08 G3/4"X14 G1/2"X14 18.5 | 44.5 32
5B-12 G3/4"X14 G3/4"X14 18.5 48 36
5B-12-16 G3/4"X14 G1"X11 18.5 | 563.5 41
5B-16-12 G1"X11 G3/4"X14 205 | 475 41
5B-16 G1"X11 G1"X11 20.5 | 555 41
5B-16-20 G1"X11 G1.1/4"X11 20.5 | 56.5 50
5B-20-16 G1.1/4"X11 G1"X11 20.5 49 50
5B-20 G1.1/4"X11 G1.1/4"X11 20.5 | 52.5 50
5B-20-24 G1.1/4"X11 G1.1/2"X11 205 | 57.5 55
5B-24 G1.1/2"X11 G1.1/2"X11 23 58 55
5B-32-24 G2"X11 G1.1/2"X11 26 59.5 70
5B-32 G2"X11 G2"X11 26 63 70

www.fukefitting.com



c

~

REBY60TEEZ T BSPP 60°CONE SEAL

KE r

miT 48

L
) 7B
L — " B HI24L 1ISO 1179
/ BSP FEMALE 1SO 1179
s1/

R 5 i 4 THREAD R~} DIMENSIONS
PART NO. E F L S1

7B-02 G1/8"X28 G1/8"X28 22 14
7B-02-04 G1/8"X28 G1/4"X19 24 19

7B-04 G1/4"X19 G1/4"X19 24 19
7B-04-06 G1/4"X19 G3/8"X19 29 22

7B-06 G3/8"X19 G3/8"X19 26 22
7B-06-08 G3/8"X19 G1/2"X14 33 27

7B-08 G1/2"X14 G1/2"X14 32 27
7B-08-10 G1/2"X14 G5/8"X14 36 30

7B-10 G5/8"X14 G5/8"X14 36 30

7B-12 G3/4"X14 G3/4"X14 36 32
7B-12-16 G3/4"X14 G1"X11 43 41

7B-16 G1"X11 G1"X11 40 41
7B-16-20 G1"X11 G1.1/4"X11 46 50

7B-20 G1.1/4"X11 G1.1/4"X11 44 50
7B-20-24 G1.1/4"X11 G1.1/2"X11 48 55

7B-24 G1.1/2"X11 G1.1/2"X11 45 55
7B-24-32 G1.1/2"X11 G2"X11 56 70

7B-32 G2"X11 G2"X11 54 70

www.fukefitting.com




Product description

REMEN60%EE ZE BSPP 60°CONE SEAL

TR B BRENHE RS

Ningbo Fuke Hydraulic Machinery Co., Ltd.

1 89/90

F
7B9-PK
90° EE MWL ISO 1179
Ll 90° BSP FEMALE ISO 1179
5 12 4 THREAD R~ DIMENSIONS
PART NO. E F A B S1
7B9-02PK G1/8"X28 G1/8'X28 20 20 16
7B9-04PK G1/4"X19 G1/4"X19 22.5 | 225 19
7B9-06PK G3/8"X19 G3/8'X19 26 26 24
7B9-08PK G1/2"X14 G1/2'X 14 31 31 27
7B9-12PK G3M4"X14 G3/4"X 14 34 34 33
7B9-16PK G1"X11 G1"X11 42 42 41
7B9-20PK G1.1/4"X11 G1.1/4"X 11 48 48 50
7B9-24PK G1.1/2"X11 G1.1/2"X 11 53 53 60
7B9-32PK G2"X11 G2"X11 62 62 70
L. A
2
% / 9B
L 60

\: ,:

SR IR L 607 MR Sk
BSP FEMALE 60° CONE PLUG

S2
®oB iz THREAD Ji ) DMENSIONS
PART NO. E A L S2
9B-02 G1/8"X28 55 | 11.5 | 14
9B-04 G1/4"X19 55 | 135 | 19
9B-06 G3/8"X19 63 | 145 | 22
9B-08 G1/2"X14 75 | 16 | 27
9B-10 G5/8"X14 95 | 165 | 30
9B-12 G3/4"X14 10.9 | 175 | 32
9B-16 G1'X11 117 | 19 | 41
9B-20 G1.1/4'X11 11 | 215 | 50
9B-24 G1.1/2'X11 13 | 22 | 55
9B-32 G2"X11 16 | 265 | 70

www.fukefitting.com



LKE

Famités

REBY60TEEZ T BSPP 60°CONE SEAL

60°| w

60°

AB

REIMEL 60° NE=E
BSP MALE 60° SEAT TEE

R = I 40 THREAD JU I DIMENSIONS
PART NO. E F G A B C S1
AB-02 G1/8"X28 G1/8"X28 G1/8"X28 19.8 | 19.8 | 19.8 11
AB-04 G1/4"X19 G1/4"X19 G1/4"X19 245 | 245 | 245 14
AB-04-06-04 | G1/4"X19 G3/8"X19 G1/4"X19 265 | 275 | 26.5 16
AB-06-04-06 | G3/8"X19 G1/4"X19 G3/8"X19 275 | 265 | 27.5 16
AB-06 G3/8"X19 G3/8"X19 G3/8"X19 275 | 2715 | 275 16
AB-06-08-06 | G3/8"X19 G1/2"X14 G3/8"X19 31 34.5 31 22
AB-08-06-08 | G1/2"X14 G3/8"X19 G1/2"X14 34.5 31 34.5 22
AB-08 G1/2"X14 G1/2"X14 G1/2"X14 345 | 345 | 345 22
AB-10 G5/8"X14 G5/8"X14 G5/8"X14 35 35 35 22
AB-12 G3/4"X14 G3/4"X14 G3/4"X14 40 40 40 27
AB-12-16-12 G3/4"X14 G1"X11 G3/4"X14 43.5 46 43.5 33
AB-16-12-16 G1"X11 G3/4"X14 G1"X11 46 43.5 46 33
AB-16 G1"X11 G1"X11 G1"X11 46 46 46 33
AB-20 G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 50.5 | 50.5 | 50.5 41
AB-24 G1.1/2"X11 | G1.1/2"X11| G1.1/2"X11 575 | 57.5 | 57.5 48
AB-32 G2"X11 G2"X11 G2"X11 725 | 725 | 72.5 63

www.fukefitting.com




Product description o LIRSRIERIRAS | 91/92
REMZL60°tEE ZET BSPP 60°CONE SEAL
60°
Y BB
.
s2 i N - i e e .
| YL AMRZ 60° NHE [ DL NIRZL 60°  AME =
| BSP MALE 60° SEAT / BSP FEMALE
[« | T 60° CONE BRANCH TEE
60° | Wi-—r— —r-4t 60°
iy
ANl ¢
5 i 40 THREAD JU -] DIMENSIONS
PART NO. E F G A B C S1 S2
BB-02 G1/8"X28 | G1/8"X28 | G1/8"X28 198 | 55 | 19.8 | 11 14
BB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 245 | 55 | 245 | 14 19
BB-06 G3/8"X19 G3/8"X19 G3/8"X19 27.5 6.3 27.5 16 22
BB-08 G1/2"X14 | G1/2"X14 | G1/2"X14 345 | 75 | 345 | 22 27
BB-12 G3/4"X14 G3/4"X14 G3/4"X14 40 109 40 27 32
BB-16 G1"X11 G1"X11 G1"X11 46 | 117 | 46 33 41
BB-20 [ G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 505 | 11 | 505 | 41 50
BB-24 G1.1/2"X11 | G1.1/2"X11 | G1.1/2"X11 57.5 13 57.5 48 55
BB-32 G2"X11 G2"X11 G2"X11 725 | 16 | 725 | 63 70
60°
F CB
—
| ¢ o o
7 | <~ m EAMZLL60° PAHE [ 9L
% i ZoN WIRZr 60° AMfE —al
60°(L -]J-—[-— i 0 60°  BSP MALE 60° SEAT/BSP
1 FEMALE 60° CONE RUN TEE
A \S1 S2
K 5 12 2t THREAD JX s} DIMENSIONS
PART NO. E F G A B C S1 S2
CB-02 G1/8"X28 G1/8"X28 G1/8"X28 198 19.8 55 11 14
CB-04 G1/4"X19 G1/4"X19 G1/4"X19 25 25 55 14 19
CB-06 G3/8"X19 G3/8"X19 G3/8"X19 275 | 27.5 6.3 16 22
CB-08 G1/2"X14 G1/2"X14 G1/2"X14 345 34.5 7.5 22 27
CB-10 G5/8"X14 G5/8"X14 G5/8"X14 345 34.5 9.5 22 30
CB-12 G3/4"X14 G3/4"X14 G3/4"X14 40 40 10.9 27 32
CB-16 G1"X11 G1"X11 G1"X11 46 46 1.7 33 41
CB-20 G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 50.5 50.5 11 41 50
CB-24 G1.1/2"X11 | G1.1/2"X11 | G1.1/2"X11 575 57.5 13 48 55
CB-32 G2"X11 G2"X11 G2"X11 725 | 72.5 16 63 70

www.fukefitting.com




Famités

REBY60TEEZT BSPP 60°CONE SEAL

_F
S1 Y
— m GB-PK
L L — 0= T N R
BSP FEMALE
A C
R 5 12 2. THREAD K s} D MENSIONS
PART NO. E F G A B C S1
GB-02PK | G1/8"X28 | G1/8'X28 | G1/8"X28 20 20 20 16
GB-04PK | G1/4"X19 | G1/4"X19 | G1/4'X19 225 | 225 | 2.5 19
GB-06PK | G3/8"X19 | G3/8'X19 | G3/8"X19 % 26 26 24
GB-08PK | G1/2"X14 | G1/2'X14 | G1/2"X14 31 31 31 27
GB-12PK | G3/4"X14 | G3/4"X14 | G3/4"X14 34 34 34 33
GB-16PK G1"X11 G1"X11 G1"X 11 2 42 42 41
GB-20PK | G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 48 48 48 50
GB-24PK | G1.1/2"X11 [ G1.1/2"X11 | G1.1/2"X11 53 53 53 60
GB-32PK G2"X11 G2"X11 G2'X 11 62 62 62 70
1T9-SP

90° THHEE MR
90° ELBOW BSPT MALE

r5 1% 40 THREAD U 5) DIMENSIONS
PART NO. E F A B S1
1T9-02SP R1/8"X28 R1/8"X28 21 21 11
1T9-02-04SP R1/8"X28 R1/4"X19 235 | 255 | 14
1T9-04SP R1/4"X19 R1/4"X19 255 | 255 | 14
1T9-04-06SP R1/4"X19 R3/8"X19 265 | 285 | 16
1T9-04-08SP R1/4"X19 R1/2"X14 305 [ 36 22
1T9-06SP R3/8"X19 R3/8"X19 285 | 285 | 16
1T9-06-08SP R3/8"X19 R1/2"X14 325 [ 36 22
1T9-08SP R1/2"X14 R1/2"X14 36 36 22
1T9-08-12SP R1/2'X14 R3/4"X14 39.5 | 435 | 27
1T9-12SP R3/4"X14 R3/4"X14 435 | 435 | 27
1T9-12-16SP R3/4"X14 R1"X11 48 50 33
1T9-16SP R1"X11 R1"X11 50 50 33
1T9-16-20SP R1"X11 R1.1/4"X11 56.5 | 575 | 41
1T9-20SP R1.1/4"X11 | R1.1/4"X11 575 [ 575 | #1
1T9-24SP R1.4/2"X11 | R1.1/2"X11 62.5 | 625 | 48
1T9-32SP R2"X11 R2"X11 68 75 63

www.fukefitting.com




Product description

TR B BRENHE RS ‘ 93/94

Ningbo Fuke Hydraulic Machinery Co., Ltd.

HIEEIZEBSPTIEL BSPT THREAD ADAPTER

L

H]Jﬁ )

A B
Dy

1]

|
e/ g1~ F/

1T-SP

FHEE IMELL
BSPT MALE

X 5 I 20 THREAD JU ~) DIMENSIONS
PART NO. E F A B L S1
1T-02SP R1/8"X28 R1/8"X28 10 10 26 12
1T-02-04SP R1/8"X28 R1/4"X19 10 145 | 30.5 14
1T-02-06SP R1/8"X28 R3/8"X19 10 15 31 17
1T-04SP R1/4"X19 R1/4"X19 14.5 14 .5 34 14
1T-04-06SP R1/4"X19 R3/8"X19 14.5 15 35 17
1T-04-08SP R1/4"X19 R1/2"X14 15 20 43 22
1T-06SP R3/8"X19 R3/8"X19 15 15 36 17
1T-06-08SP R3/8"X19 R1/2"X14 15 20 43 22
1T-08SP R1/2"X14 R1/2"X14 20 20 46 22
1T-08-12SP R1/2"X14 R3/4"X14 20 20 48 27
1T-12SP R3/4"X14 R3/4"X14 20 20 48 27
1T-12-16SP R3/4"X14 R1"X11 20 255 | 55.5 36
1T-16SP R1"X11 R1"X11 255 | 255 61 36
1T-16-20SP R1"X11 R1.1/4"X11 2565 | 265 | 64.5 46
1T-20SP R1.1/4"X11 R1.1/4"X11 265 [ 265 | 65.5 46
1T-20-24SP R1.1/4"X11 R1.1/2"X11 26.5 | 265 67 50
1T-24SP R1.1/2"X11 R1.1/2"X11 26.5 | 265 67 50
1T-24-32SP R1.1/2"X11 R2"X11 26.5 30 71.5 65
1T-328P R2"X11 R2"X11 30 30 75 65

www.fukefitting.com



GUKE =

miT4a

HIEEIZEBSPTESL BSPT THREAD ADAPTER

s

RHEEY
BSPT MALE PLUG

4T-SP

MZOE S

R 5 i 40 THREAD JU s DIMENSIONS
PART NO. E A L S1
4T-02SP R1/8"X28 10 16 12
4T-04SP R1/4"X19 14.5 20 14
4T-06SP R3/8"X19 15 21 17
4T-08SP R1/2"X14 20 27 22
4T-12SP R3/4"X14 20 29 27
4T-16SP R1"X11 255 36.5 36
4T-20SP R1.1/4"X11 26.5 38.5 46
4T-24SP R1.1/2"X11 26.5 42 50
4T-32SP R2"X11 30 47 65
/F'
]! 5T9-SP
oM
? | 00° SIS ST 4T /| B4 IR
/ 90° ELBOWBSPT MALE /BSPT FEMALE
A -—
=) % 4L THREAD R~} DIMENSIONS
PART NO. E F A B S1
5T9-02SP R1/8"X28 Rc1/8"X28 24.5 23 16
5T9-04SP R1/4"X19 Rc1/4"X19 28.5 25 19
5T9-06SP R3/8"X19 Rc3/8"X19 33.5 25 24
5T9-08SP R1/2"X14 Rc1/2"X14 40.8 315 30
5T9-12SP R3/4"X14 Rc3/4"X14 47.5 37 33
5T9-16SP R1"X11 Rc1"X11 56.5 43 41
5T9-20SP R1.1/4"X11 Rc1.1/4"X11 61 50 48
5T9-24SP R1.1/2"X11 Rc1.1/2"X11 75 59, 63

www.fukefitting.com




Product description

HIEEIZEBSPTIEL BSPT THREAD ADAPTER

TR AR E RS ‘ 95/96

Ningbo Fuke Hydraulic Machinery Co., Ltd.

5T-SP

REEE IMBLL | REEE AR
BSPT MALE / BSPT FEMALE

o st
% 12 2r THREAD J s DIMENSIONS
PART NO. E F A L S1
5T-02-04SP R1/8"X28 Rc1/4"X19 1 325 19
5T-04-02SP R1/4"X19 Rc1/8"X28 14.5 20.5 14
5T-04SP R1/4"X19 Rc1/4"X19 14.5 36 19
5T-04-06SP R1/4"X19 Rc3/8"X19 14.5 38 22
5T-06-02SP R3/8"X19 Rc1/8"X28 15 23 19
5T-06-04SP R3/8"X19 Rc1/4"X19 15 23 19
5T-06SP R3/8"X19 Rc3/8"X19 15 38.5 22
5T-06-08SP R3/8"X19 Rc1/2"X14 15 44 27
5T-08-04SP R1/2"X14 Rc1/4"X19 20 30 24
5T-08-06SP R1/2"X14 Rc3/8"X19 20 30 24
5T-08SP R1/2"X14 Rc1/2"X14 20 49 27
5T-08-12SP R1/2"X14 Rc3/4"X14 20 51 36
5T-12-06SP R3/4"X14 Rc3/8"X19 20 31 30
5T-12-08SP R3/4"X14 Rc1/2"X14 20 31 30
5T-12SP R3/4"X14 Rc3/4"X14 20 51 36
5T-12-16SP R3/4"X14 Rec1"X11 20 56.5 41
5T-16-08SP R1"X11 Rc1/2"X14 25.5 37 36
5T-16-12SP R1"X11 Rc3/4"X14 25.5 37 36
5T-16SP R1"X11 Rc1"X11 25.5 60 41
5T-16-20SP R1"X11 Rc1.1/4"X11 25.5 64 50
5T-20-12SP R1.1/4"X11 Rc3/4"X14 26.5 38 46
5T-20-16SP R1.1/4"X11 Rec1"X11 26.5 38 46
5T-20SP R1.1/4"X11 Rc1.1/4"X11 26.5 64.5 50
5T-24-16SP R1.1/2"X11 Rc1"X11 26.5 41 50
5T-24-20SP R1.1/2"X11 Rc1.1/4"X11 26.5 41 50
5T-32-20SP R2"X11 Rc1.1/4"X11 30 45 65
5T-32-24SP R2"X11 Rc1.1/2"X11 30 45 65

www.fukefitting.com



GUKE a3

HREEEIZEQBSPTIEL BSPT THREAD ADAPTER

T

RHEE RIELY
BSPT FEMALE

\ \
\ S1

= 12 2t THREAD R s} DIMENSIONS
PART NO. E F L S1
7T-02 Rc1/8"X28 Rc1/8"X28 20 14
7T-02-04 Rc1/8"X28 Rc1/4"X19 30 19
7T-04 Rc1/4"X19 Rc1/4"X19 30 19
7T-04-06 Rc1/4"X19 Rc3/8"X19 30 22
7T-04-08 Rc1/4"X19 Rc1/2"X14 40 27
7T-06 Rc3/8"X19 Rc3/8"X19 30 22
7T-06-08 Rc3/8"X19 Rc1/2"X14 40 27
7T-06-12 Rc3/8"X19 Rc3/4"X14 37 36
7T-08 Rc1/2"X14 Rc1/2"X14 40 27
7T-08-12 Rc1/2"X14 Rc3/4"X14 42 36
7T-12 Rc3/4"X14 Rc3/4"X14 42 36
7T-12-16 Rc3/4"X14 Rc1"X11 50 41
7T-16 Rc1"X11 Rc1"X11 50 41
7T-16-20 Rc1"X11 Rec1.1/4"X11 52 50
7T-20 Rc1.1/4"X11 Rec1.1/4"X11 55 50
7T-24 Rec1.1/2"X11 Re1.1/2"X11 515 59
7T-32 Rc2"X11 Rc2"X11 65 70

www.fukefitting.com




Product description TRBRAENAERAE | 97/08

Ningbo Fuke Hydraulic Machinery Co., Ltd.

HEEIEBSPTIES BSPT THREAD ADAPTER
F

~ 7T9-PK
(a1]
] | 00° T HHEE IR
TN J 90° ELBOW BSPT FEMALE
— N
A
B i 40 THREAD X+ DIMENSIONS
PART NO. E F A B S1
7T9-02PK Rc1/8"X28 Rc1/8"X28 20 20 16
7T9-02-04PK Rc1/8"X28 Rc1/4"X19 20 225 19
7T9-04PK Rc1/4"X19 Rc1/4"X19 22.5 22.5 19
7T9-06PK Rc3/8"X19 Rc3/8"X19 26 26 24
7T9-08PK Rc1/2"X14 Rc1/2"X14 31 31 27
7T9-12PK Rc3/4"X14 Rc3/4"X14 34 34 33
7T9-16PK Rc1"X11 Rc1"X11 42 42 41
7T9-20PK Rc1.1/4"X11 Rc1.1/4"X11 48 48 50
7T9-24PK Rec1.1/2"X11 Rc1.1/2"X11 53 53 60
7T9-32PK Rc2"X11 Rc2"X11 62 62 70
F
|
S1 ]
%/ ol m
: } GT-PK
£/ {\C S IR =8
A C BSPT FEMALE TEE
B i 2 THREAD R~ D MENSIONS
PART NO. E F G A B C S1
GT-02PK Rc1/8"X28 Rc1/8"X28 Rc1/8"X28 20 20 20 16
GT-04PK Rc1/4"X19 Rc1/4"X19 Rc1/4"X19 22.5 22.5 22.5 19
GT-06PK Rc3/8"X19 Rc3/8"X19 Rc3/8"X19 26 26 26 24
GT-08PK Rc1/2"X14 Rc1/2"X14 Rc1/2"X14 31 31 31 27
GT-12PK Rc3/4"X14 Rc3/4"X14 Rc3/4"X14 34 34 34 33
GT-16PK Rc1"X11 Rc1"X11 Rc1"X11 42 42 42 41
GT-20PK | Rc1.1/4"X11| Rc1.1/4"X11| Rc1.1/4"X11 48 48 48 50
GT-24PK | Rc1.1/2"X11| Rc1.1/2"X11| Rc1.1/2"X11 53 53 53 60
GT-32PK Rc2"X11 Rc2"X11 Rc2"X11 62 62 62 70

www.fukefitting.com



GUKE =

miT 48

EH|74°)ICH Ok JC 74° CONE FLARED TUBE ADAPTER

74° D@

#45 SLEEVE

R RENUT

Sl JIC SMRLL 74° S
JIC MALE 74° CONE

S1
1J
UAVIR=S 12 2 THREAD JU 5} DIMENSIONS
PART NO. E = A B L S1
1J-02 5/16"X24 5/16"X24 11.4 11.4 29 12
1J-02-03 5/16"X24 3/8"X24 11.4 12.2 29.5 12
1J-03 3/8"X24 3/8"X24 12.2 12.2 30.5 12
1J-04 7/16"X20 7/16"X20 14 14 34 12
1J-04-05 7/16"X20 1/2"X20 14 14 34 14
1J-04-06 7/16"X20 9/16"X18 14 14.1 34.1 17
1J-04-08 7/16"X20 3/4"X16 14 16.7 38.5 22
1J-05 1/2"X20 1/2"X20 14 14 34 14
1J-05-06 1/2"X20 9/16"X18 14 14.1 34 17
1J-05-08 1/2"X20 3/4"X16 14 16.7 38.5 22
1J-05-10 1/2"X20 7/8"X14 14 19.3 41 24
1J-06 9/16"X18 9/16"X18 14.4 14.1 34.2 17
1J-06-08 9/16"X18 3/4"X16 14.1 16.7 38.5 22
1J-06-10 9/16"X18 7/8"X14 14.1 19.3 41.5 24
1J-06-12 9/16"X18 1.1/16"X12 14.1 21.9 46 30
1J-08 3/4"X16 3/4"X16 16.7 16.7 42 22
1J-08-10 3/4"X16 7/8"X14 16.7 19.3 44 24
1J-08-12 3/4"X16 1.1/16"X12 16.7 21.9 48.5 30
1J-08-16 3/4"X16 1.5/16"X12 16.7 23.1 51 36
1J-10 7/8"X14 7/8"X14 19.3 19.3 46.5 24
1J-10-12 7/8"X14 1.1/16"X12 19.3 21.9 51 30
1J-10-16 7/8"X14 1.5/16"X12 19.3 23.1 585 36
1J-12 1.1/16"X12 1.1/16"X12 21.9 21.9 54 30
1J-12-14 1.1/16"X12 1.3/16"X12 21.9 22.6 5980 32
1J-12-16 1.1/16"X12 1.5/16"X12 21.9 23.1 56 36
1J-14 1.3/16"X12 1.3/16"X12 22.6 22.6 56 32
1J-14-16 1.3/16"X12 1.5/16"X12 22.6 23.1 56.5 36
1J-16 1.5/16"X12 1.5/16"X12 23.1 23.1 57 36
1J-16-20 1.5/16"X12 1.5/8"X12 23.1 24.3 60.5 46
1J-16-24 1.5/16"X12 1.7/8"X12 23.1 27.5 65.5 50
1J-20 1.5/8"X12 1.5/8"X12 24.3 24.3 62 46
1J-20-24 1.5/8"X12 1.7/8"X12 24.3 27.5 67 50
1J-20-32 1.5/8"X12 2.1/2"X12 24.3 33.9 75 65
1J-24 1.7/8"X12 1.7/8"X12 27.5 27.5 70 50
1J-24-32 1.7/8"X12 2.1/2"X12 27.5 33.9 78.5 65
1J-32 2.1/2"X12 2.1/2"X12 33.9 33.9 85 65
T BB BT AT . T EAR D AN, BCHIBREEA Ak 1l NB200. NB500. & 7 H AR NSk, MeHREE K ATE )
3% NB200. NB300. Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB50O is suitable for metric
tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com




Product description

TR RN E RS

Ningbo Fuke Hydraulic Machinery Co., Ltd.

EHI74°)ICH Ok JC 74° CONE FLARED TUBE ADAPTER

IR NUT

90° T JIC SMZELL 74° S

7 I—T—-A 5 TESEEE ) 90° ELBOW JIC MALE 74° CONE
e )
1J9
B i2 4 THREAD R~ DIMENSIONS
PART NO. E F A B S1
1J9-02 5/16"X24 5/16"X24 20.5 20.5 1
1J9-03 3/8"X24 3/8"X24 22 22 11
1J9-04 7/16"X20 7/16"X20 24.5 24.5 11
1J9-05 1/2"X20 1/2"X20 26.6 26.6 14
1J9-05-06 1/2"X20 9/16"X18 26.6 26.9 14
1J9-06 9/16"X18 9/16"X18 26.9 26.9 14
1J9-06-08 9/16"X18 3/4"X16 30 32 19
1J9-06-10 9/16"X18 7/8"X14 32 37.8 22
1J9-08 3/4"X16 3/4"X16 32 32 19
1J9-08-10 3/4"X16 7/8"X14 34.8 37.8 22
1J9-10 7/8"X14 7/8"X14 37.8 37.8 22
1J9-10-12 7/8"X14 1.1/16"X12 41 44 2 27
1J9-12 1.1/16"X12 1.1/16"X12 44 2 44 2 27
1J9-14 1.3/16"X12 1.3/16"X12 47.5 47.5 30
1J9-16 1.5/16"X12 1.5116"X12 49 49 33
1J9-20 1.5/8"X12 1.5/8"X12 55.5 55.5 41
1J9-24 1.7/8"X12 1.7/8"X12 62.5 62.5 48
1J9-32 2.1/2"X12 2.1/2"X12 78 78 63

TE BB AT E R AT IS T EARD AN, O SRR 2250 3 T NB200, NB500 . A 1~ 1547k 9 il
3 H NB200. NB300. Note: Nut and sleeve should be ordered separately.The nut NB200 and s eeve NB500 is suitable for metric

tube,the nut NB200 and s eeve NB300 s suitab e for inch tube

W LSS SR By

www.fukefitting.com

199/100




GUK E ™83

EHI74°)ICH O3k JC 74° CONE FLARED TUBE ADAPTER

A B UEEENUT

% 4 SLEEVE Q}%‘ ‘ J|C 9"*?& 74o 9|\
1l |

H / REIMRYRB TR

w 74{ | o a
I - \ JIC MALE 74° CONE / BSP
< — MALE CAPTIVE SEAL

1JB-WD
i = 12 2t THREAD Jiz # CAPTIVE JU s+ DIMENSIONS
PART NO. E F F Jiij A B L S1
1JB-04-02WD 7/16"X20 G1/8"X28 WD-B02 14 8 29.5 14
1JB-04WD 7/16"X20 G1/4"X19 WD-B04 14 12 34 19
1JB-04-06 WD 7/16"X20 G3/8"X19 WD-B06 14 12 34.5 22
1JB-04-08WD 7/16"X20 G1/2"X14 WD-B08 14 14 41 27
1JB-05-04WD 1/2"X20 G1/4"X19 WD-B04 14 12 34 19
1JB-05-06WD 1/2"X20 G3/8"X19 WD-B06 14 12 34.5 22
1JB-06-02WD 9/16"X18 G1/8"X28 WD-B02 | 14.1 8 29.5 17
1JB-06-04WD 9/16"X18 G1/4"X19 WD-B04 | 14.1 12 34 19
1JB-06WD 9/16"X18 G3/8"X19 WD-B06 | 14.1 12 34.5 22
1JB-06-08WD 9/16"X18 G1/2"X14 WD-B08 | 14.1 14 41 27
1JB-08-04WD 3/4"X16 G1/4"X19 WD-B04 | 16.7 12 37 22
1JB-08-06WD 3/4"X16 G3/8"X19 WD-B06 | 16.7 12 37.5 22
1JB-08WD 3/4"X16 G1/2"X14 WD-B08 | 16.7 14 43.5 27
1JB-10-08WD 7/8"X14 G1/2"X14 WD-B08 | 19.3 14 46.5 27
1JB-10-12WD 7/8"X14 G3/4"X14 WD-B12 | 19.3 16 47.5 32
1JB-12-08WD 1.1/16"X12 G1/2"X14 WD-B08 | 21.9 14 48.5 30
1JB-12WD 1.1/16"X12 G3/4"X14 WD-B12 | 21.9 16 50 32
1JB-12-16WD 1.1/16"X12 G1"X11 WD-B16 | 21.9 18 56 41
1JB-16-12WD 1.5/16"X12 G3/4"X14 WD-B12 | 23.1 16 53 36
1JB-16WD 1.5/16"X12 G1"X11 WD-B16 | 23.1 18 57 41
1JB-16-20WD 1.5/16"X12 G1.1/4"X11 WD-B20 | 23.1 20 61 50
1JB-20-16WD 1.5/8"X12 G1"X11 WD-B16 | 24.3 18 58 46
1JB-20WD 1.5/8"X12 G1.1/4"X11 WD-B20 | 24.3 20 62 50
1JB-20-24WD 1.5/8"X12 G1.1/2"X11 WD-B24 | 24.3 22 64 55
1JB-24-20WD 1.7/8"X12 G1.1/4"X11 WD-B20 | 27.5 20 65.5 50
1JB-24WD 1.7/8"X12 G1.1/2"X11 WD-B24 | 27.5 22 67.5 55
e BEE R ER AT . E T EAR D A AR, ECAHIREE R A4y ik I NB200. NB500. & F B4R A el
Hic T W2 RE 4o 453 J1l3% T NB200. NB300. Note: Nut and sleeve should be ordered separately.The nut NB200
and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com



Product description TEBTRENMEESE 1101/102

Ningbo Fuke Hydraulic Machinery Co., Ltd.

EH74°)1CH O3k JC 74° CONE FLARED TUBE ADAPTER

74°
1JG9-0G 90° T4 JIC SMBLL 74° S / TR SMRLL O R
90° ELBOW JIC MALE 74° CONE / BSP MALE O-RING
R 5 % 40 THREAD O JEI8 O-RING JU sf DIMENSIONS
PART NO. E F F i A B S1 S2
1JG9-04-020G 7/16"X20 G1/8"X28 0011 245 | 26.2 11 14
1JG9-04-060G 7/16"X20 G3/8"X19 0113 27.5 | 36.8 16 22
1JG9-040G 7/16"X20 G1/4"X19 o111 26.6 | 313 14 19
1JG9-05-040G 1/2"X20 G1/4"X19 0111 26.5 | 31.8 14 19
1JG9-05-060G 1/2"X20 G3/8"X19 0113 27.5 | 358 16 22
1JG9-05-080G 1/2"X20 G1/2"X14 0115 315 | 432 22 27
1JG9-06-040G 916"X 18 G1/4"X19 o111 269 | 313 14 19
1JG9-06-080G 9/16"X18 G1/2"X14 0115 325 | 43.2 22 27
1JG9-060G 9/16"X18 G3/8"X19 0113 285 | 35.8 16 22
1JG9-08-040G 3/4"X16 G1/4"X19 o111 32 88l5 19 19
1JG9-080G 3/4"X16 G1/2"X14 0115 34.8 | 43.2 22 27
1JG9-08-060G 3/4"X16 G3/8"X19 0113 32 36.8 19 22
1JG9-08-120G 3/4"X16 G3/4"X14 0119 37.9 | 493 27 32
1JG9-10-060G 7/8"X14 G3/8"X19 0113 37.8 | 39.2 22 22
1JG9-10-080G 7/8"X14 G1/2"X14 0115 37.8 | 43.2 22 27
1JG9-10-120G 7/8"X14 G3/4"X14 0119 41 49 3 27 32
1JG9-120G 1.1/16"X12 G3/4"X14 0119 442 | 493 27 32
1JG9-12-080G | 1.1/16"X12 G1/2"X14 0115 442 | 465 27 27
1JG9-12-160G | 1.1/16"X12 G1'X11 0217 48 53 33 41
1JG9-160G 1.5/16"X12 G1'X11 0217 49 53 33 41
1JG9-16-120G | 1.5/16"X12 G3/4"X14 0119 49 53 33 32
1JG9-16-200G | 1.5/16"X12 G1.1/4"X11 0222 53.8 58 41 50
1JG9-200G 1.5/8"X12 G1.1/4"X11 0222 55.5 58 41 50
1JG9-20-160G 1.5/8"X12 G1"X11 0217 55.5 58 41 41
1JG9-24-160G 17/8"X12 G1'X11 0217 625 63 48 41
1JG9-24-200G 1.7/8"X12 G1.1/4"X11 0222 62.5 63 48 50
1JG9-240G 1.7/8"X12 G1.1/2"X11 0224 62.5 63 48 55
T 1@&&“%%@1@ . BT EARD NAKIN, AU SRR 4R 435035 HINB200. NB500. A7 EL420 DI,
T FH MR K 44 43-3)3% A NB200. NB300. 2 Fiii5j DIN 3852l I1AHE. Note: 1 Nut and sleeve should be
ordered separately.The Nut and s eeve should be ordered separately.Thenut NB200 and sleeve NB500 s suitable
for metric tube,the nut NB200 and sleeve NB300 is suitable forinch tube. 2 F end isconnected w th DIN 3852 port.

www.fukefitting.com



G LUIKE =514

EHI74°)ICH O3k JC 74° CONE FLARED TUBE ADAPTER

R RENUT
#% SLEEVE

JIC SMZELL 74° SMNE | ol E SMBRLL
JIC MALE 74° CONE / NPT MALE

5 2v 40 THREAD JL <} DIMENSIONS
PART NO. E F A B L S1
1JN-02 5/16"X24 Z1/8"X27 11.4 10.5 28 12
1JN-04-02 7/16"X20 Z1/8"X27 14 10.5 30.5 12
1JN-04 7/16"X20 Z1/4"X18 14 15 85 17
1JN-04-06 7/16"X20 Z3/8"X18 14 16 36 19
1JN-04-08 7/16"X20 Z1/2"X14 14 19.5 41.5 24
1JN-05-02 1/2"X20 Z1/8"X27 14 10.5 30.5 14
1JN-05-04 1/2"X20 Z1/4"X18 14 15 B85 17
1JN-05-06 1/2"X20 Z3/8"X18 14 16 36 19
1JN-05-08 1/2"X20 Z1/2"X14 14 19.5 41.5 24
1JN-06-04 9/16"X18 Z1/4"X18 14.1 15 34.5 17
1JN-06 9/16"X18 Z3/8"X18 14.1 16 36 19
1JN-06-08 9/16"X18 Z1/2"X14 14.1 19.5 41.5 24
1JN-08-04 3/4"X16 Z1/4"X18 16.7 15 39 22
1JN-08-06 3/4"X16 Z3/8"X18 16.7 16 40 22
1JN-08 3/4"X16 Z1/2"X14 16.7 19.5 44 24
1JN-08-12 3/4"X16 Z3/4"X14 16.7 19.5 46.5 30
1JN-10-06 7/8"X14 Z3/8"X18 19.3 16 43.5 24
1JN-10-08 7/8"X14 Z1/2"X14 19.3 19.5 47 24
1JN-10-12 7/8"X14 Z3/4"X14 19.3 19.5 49 30
1JN-12-08 1.1/16"X12 Z1/2"X14 21.9 19.5 51 30
1JN-12 1.1/16"X12 Z3/4"X14 21.9 19.5 515 30
1JN-12-16 1.1/16"X12 Z1"X11.5 21.9 25.5 58.5 36
1JN-12-20 1.1/16"X12 Z1.1/4"X11.5 21.9 26.5 61.5 46
1JN-14-12 1.3/16"X12 Z3/4"X14 22.6 19.5 53 32
1JN-16-12 1.5/16"X12 Z3/4"X14 23.1 19.5 53.5 36
1JN-16 1.5/16"X12 Z1"X11.5 23.1 25.5 58.5 36
1JN-16-20 1.5/16"X12 Z1.1/4"X11.5 23.1 26.5 62.5 46
1JN-16-24 1.5/16"X12 Z1.1/2"X11.5 23.1 27.5 65.5 50
1JN-20-16 1.5/8"X12 Z1"X11.5 24.3 25.5 63 46
1JN-20 1.5/8"X12 Z1.1/4"X11.5 24.3 26.5 63.5 46
1JN-20-24 1.5/8"X12 Z1.1/2"X11.5 24.3 27.5 67 50
1JN-24-20 1.7/8"X12 Z1.1/4"X11.5 27.5 26.5 69 50
1JN-24 1.7/8"X12 Z1.1/2"X11.5 27.5 27.5 70 50
1JN-24-32 1.7/8"X12 Z2"X11.5 27.5 27.5 72 65
1JN-32 2.1/2"X12 Z2"X11.5 33.9 27.5 78.5 65
1JN-32-20 2.1/2"X12 Z1.1/4"X11.5 33.9 26.5 77 65
1JN-32-24 2.1/2"X12 Z1.1/2"X11.5 33.9 27.5 78.5 65
VE: BEBEROET AT B, TR D AN, ACJTERRE SR 51 I NB200. NBB0O. 45 ELF SEbIit , T i3 S A 4593
H NB200. NB300. Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB50O0 is suitable for metric tube,the
nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com



Product description

TERARENHARAS | 103/104

Ningbo Fuke Hydraulic Machinery Co., Lid.

EHI74°)ICH Ok JC 74° CONE FLARED TUBE ADAPTER

W2 BENUT
¥4 SLEEVE

3

~

90° %5 JIC SMZRLL 74° I [ s & IMERLL
90° ELBOW JIC MALE 74° CONE / NPT MALE

R 5 12 4 THREAD R~ DIMENSIONS
PART NO. E F A B S1
1JN9-02 5/16"X24 Z1/8"X27 21 21 11
1JN9-03-02 3/8"X24 Z1/8"X27 22 21 11
1JN9-04 7/16"X20 21/4"X18 26.6 25.5 14
1JN9-04-02 7/16"X20 Z1/8"X27 24.5 21 11
1JN9-04-06 7/16"X20 Z3/8"X18 29.5 31 19
1JN9-05-02 1/2"X20 21/8"X27 26.6 23.5 14
1JN9-05-04 1/2"X20 Z1/4"X18 26.6 25.5 14
1JN9-05-06 1/2"X20 Z3/8"X18 29.5 31 19
1JN9-06 9/16"X18 Z3/8"X18 30 31 19
1JN9-06-04 9/16"X18 Z1/4"X18 26.9 25.5 14
1JN9-06-08 9/16"X18 Z1/2"X14 32 36.7 22
1JN9-08 3/4"X16 Z1/2"X14 34.8 37.3 22
1JN9-08-04 3/4"X16 Z1/4"X18 32 28.5 19
1JN9-08-06 3/4"X16 Z3/8"X18 32 31 19
1JN9-08-12 3/4"X16 Z3/4"X14 37.9 44 27
1JN9-10-06 7/8"X14 Z23/8"X18 37.8 32.5 22
1JN9-10-08 7/8"X14 Z1/2"X14 37.8 37.3 22
1JN9-10-12 7/8"X14 Z3/4"X14 41 44 27
1JN9-10-16 7/8"X14 Z1"X11.5 44.5 50 33
1JN9-12 1.1/16"X12 Z3/4"X14 44.2 44 27
1JN9-12-08 1.1/16"X12 Z1/2"X14 44.2 40 27
1JN9-12-16 1.1/16"X12 Z1"X11.5 49 50 33
1JN9-12-20 1.1/16"X12 Z1.1/4"X11.5 52.5 54.5 41
1JN9-14-12 1.3/16"X12 Z3/4"X14 47.5 45 30
1JN9-14-16 1.3/16"X12 Z1"X11.5 48.7 50 33
1JN9-16 1.5/16"X12 Z1"X11.5 49 50 33
1JN9-16-12 1.5/16"X12 Z3/4"X14 49 45.2 33
1JN9-16-20 1.5/16"X12 Z1.1/4"X11.5 54 60.5 41
1JN9-16-24 1.5/16"X12 Z1.1/2"X11.5 59.4 59.5 48
1JN9-20 1.5/8"X12 Z1.1/4"X11.5 5519) 54.5 41
1JN9-20-16 1.5/8"X12 Z1"X11.5 55.5 54.5 41
1JN9-20-24 1.5/8"X12 Z1.1/2"X11.5 59.4 63 48
1JN9-24 1.7/8"X12 Z1.1/2"X11.5 62.5 63 48
1JN9-24-20 1.7/8"X12 Z1.1/4"X11.5 62.5 63 48
1JN9-32-24 2.1/2"X12 Z1.1/2"X11.5 75.4 70 63
1JN9-32 2.1/2"X12 Z2"X11.5 75.4 67.5 63
W BRRERATER AT I BT EACD AT, FCHERREA A4y 7)1 H NB200. NB500. &7 HAR A JEHI, HE R RE A A 4553 31
% NB200. NB300. Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB50O0 is suitable for metric
tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com



G LUIKE =514

EH174°)1CH Ok JC 74° CONE FLARED TUBE ADAPTER

L
A B
.x% BRRENUT
7 ¥4 SLEEVE
74°(>@ 1 N ._[.u_ Dr
S H EH JIC JMRL 74° 5h4E / SAE

1JO HMZ A O BUER2 251 1SO 11926-3
JIC MALE 74° CONE / SAE O-RING
BOSS L-SERIES ISO 11926-3

R = 1% 4 THREAD O JE il O-RING JU 5 DIMENSIONS
PART NO. E I F i A B L S1
1J0-04-02 7/16"X20 5/16"X24 0902 14 7.54 27.5 14
1J0O-04-03 7/16"X20 3/8"X24 0903 14 7.54 27.5 14

1J0-04 7/16"X20 7/16"X20 0904 14 9.14 29 14
1J0-04-05 7/16"X20 1/2"X20 0905 14 9.14 29 17
1J0O-04-06 7/16"X20 9/16"X18 0906 14 9.93 30 17
1J0-04-08 7/16"X20 3/4"X16 0908 14 11.13 33 22

1J0O-05 1/2"X20 1/2"X20 0905 14 9.14 29 17
1J0O-05-04 1/2"X20 7/16"X20 0904 14 9.14 29 14
1J0O-05-06 1/2"X20 9/16"X18 0906 14 9.93 30 17
1J0O-05-08 1/2"X20 3/4"X16 0908 14 11.13 88 22

1JO-06 9/16"X18 9/16"X18 0906 14.1 9.93 30 17
1J0O-06-04 9/16"X18 7/16"X20 0904 14.1 9.14 29 17
1J0O-06-05 9/16"X18 1/2"X20 0905 14.1 9.14 29.5 17
1J0O-06-08 9/16"X18 3/4"X16 0908 14.1 11.13 33 22
1J0O-06-10 9/16"X18 7/8"X14 0910 14.1 12.7 37 27
1J0-06-12 9/16"X18 1.1/16"X12 0912 14.1 15.09 40 32

1JO-08 3/4"X16 3/4"X16 0908 16.7 11.13 36 22
1J0O-08-04 3/4"X16 7/16"X20 0904 16.7 9.14 34 22
1J0O-08-06 3/4"X16 9/16"X18 0906 16.7 9.93 35 22
1J0O-08-10 3/4"X16 7/8"X14 0910 16.7 12.7 40 27
1J0O-08-12 3/4"X16 1.1/16"X12 0912 16.7 15.09 43 32
1J0-08-14 3/4"X16 1.3/16"X12 0914 16.7 15.09 43 36

1JO-10 7/8"X14 7/8"X14 0910 19.3 12.7 42.5 27
1JO-10-08 7/8"X14 3/4"X16 0908 19.3 11.13 39 24
1J0-10-12 7/8"X14 1.1/16"X12 0912 19.3 15.09 45.5 32
1JO-10-14 7/8"X14 1.3/16"X12 0914 19.3 15.09 45.5 36

1JO-12 1.1/16"X12 1.1/16"X12 0912 21.9 15.09 48 32
1J0-12-08 1.1/16"X12 3/4"X16 0908 21.9 11.13 43 30
1J0-12-10 1.1/16"X12 7/8"X14 0910 21.9 12.7 45 30
1J0O-12-14 1.1/16"X12 1.3/16"X12 0914 21.9 15.09 48 36
1J0-12-16 1.1/16"X12 1.5/16"X12 0916 21.9 15.09 48 38

1J0O-14 1.3/16"X12 1.3/16"X12 0914 22.6 15.09 48.5 36
1J0O-14-12 1.3/16"X12 1.1/16"X12 0912 22.6 15.09 48.5 32
1J0O-14-16 1.3/16"X12 1.5/16"X12 0916 22.6 15.09 50.5 38

1JO-16 1.5/16"X12 1.5/16"X12 0916 23.1 15.09 49 38
1JO-16-12 1.5/16"X12 1.1/16"X12 0912 23.1 15.09 49 36
1J0O-16-14 1.5/16"X12 1.3/16"X12 0914 23.1 15.09 49 36
1J0-16-20 1.5/16"X12 1.5/8"X12 0920 231 15.09 53 50

1J0O-20 1.5/8"X12 1.5/8"X12 0920 24.3 15.09 54.5 50
1J0O-20-16 1.5/8"X12 1.5/16"X12 0916 24.3 15.09 52.5 46
1J0-20-24 1.5/8"X12 1.7/8"X12 0924 24.3 15.09 54.5 55

1J0O-24 1.7/8"X12 1.7/8"X12 0924 27.5 15.09 57.5 58]
1J0-24-20 1.7/8"X12 1.5/8"X12 0920 27.5 15.09 57.5 50
1J0-24-32 1.7/8"X12 2.1/2"X12 0932 27.5 15.09 59.5 70

1J0O-32 2.1/2"X12 2.1/2"X12 0932 33.9 15.09 66 70

T BERERATET ST . T EHARD AR, e FHERRE AR5 I H NB200. NB500. A& HAR N Jeiilif, it FHERRE AT 53 iIE HI NB200.
NB300. Note: Nut and sleeve should be ordered separately. The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and
sleeve NB300 is suitable for inch tube.

www.fukefitting.com



Product description TEBRREANEEAS | 105/106

Ningbo Fuke Hydraulic Machinery Co., Lid.

EHI74°)ICH Ok JC 74° CONE FLARED TUBE ADAPTER

-

90°Z5 24| JICHMB L 74° 4]
E / SAESMELHORIE32 2 511SO 11926-3
90° ELBOW JIC MALE 74° CONE / SAE
O-RINGBOSS L-SERIES ISO 11926-3

i TRy

A

1J09-0G
= 12 2r  THREAD O J[# O-RING X~ DIMENSIONS
PART NO. E E F ¥ A B S1 S2
1J09-04-030G 7/16"X20 3/8"X24 0903 24.5 28 11 14
1J09-040G 7/16"X20 7/16"X20 0904 24.5 27.2 11 17
1J09-04-050G 7/16"X20 1/2"X20 0905 26.6 29.9 14 17
1J09-04-060G 7/16"X20 9/16"X18 0906 26.6 31.8 14 19
1J09-05-040G 1/2"X20 7/16"X20 0904 26.6 30 14 17
1J0O9-050G 1/2"X20 1/2"X20 0905 26.6 29 14 17
1J09-05-060G 1/2"X20 9/16"X18 0906 26.6 31.8 14 19
1J09-06-040G 9/16"X18 7/16"X20 0904 26.9 30 14 17
1J09-06-050G 9/16"X18 1/2"X20 0905 26.9 29.9 14 17
1J09-060G 9/16"X18 9/16"X18 0906 26.9 31.8 14 19
1J09-06-080G 9/16"X18 3/4"X16 0908 30 36.8 19 24
1J09-08-040G 3/4"X16 7/16"X20 0904 32 89 19 17
1J09-08-060G 3/4"X16 9/16"X18 0906 33 33.5 19 19
1J09-080G 3/4"X16 3/4"X16 0908 88 36.8 19 24
1J09-08-100G 3/4"X16 7/8"X14 0910 34.8 44 22 27
1J09-08-120G 3/4"X16 1.1/16"X12 0912 37.9 51 27 32
1J09-10-080G 7/8"X14 3/4"X16 0908 38 40 22 27
1J0O9-100G 7/8"X14 7/8"X14 0910 37.8 44 22 27
1J09-10-120G 7/8"X14 1.1/16"X12 0912 41 51 27 32
1J09-12-080G 1.1/16"X12 3/4"X16 0908 45 44 27 24
1J09-12-100G 1.1/16"X12 7/8"X14 0910 44.2 47 27 27
1J09-120G 1.1/16"X12 1.1/16"X12 0912 44.2 51 27 32
1J09-12-160G 1.1/16"X12 1.5/16"X12 0916 47.8 54.5 33 41
1J09-140G 1.3/16"X12 1.3/16"X12 0914 47.5 55} 30 36
1J09-14-160G 1.3/16"X12 1.5/16"X12 0916 48.5 54.5 33 41
1J09-16-120G 1.5/16"X12 1.1/16"X12 0912 48.8 54.5 88 32
1J09-16-140G 1.5/16"X12 1.3/16"X12 0914 49 56 33 36
1J09-160G 1.5/16"X12 1.5/16"X12 0916 48.8 54.5 88 41
1J09-16-200G 1.5/16"X12 1.5/8"X12 0920 53.8 59 41 50
1J09-20-160G 1.5/8"X12 1.5/16"X12 0916 555 | 59.5 41 41
1J09-200G 1.5/8"X12 1.5/8"X12 0920 55.3 59 41 50
1J09-20-240G 1.5/8" X12 1.7/8"X12 0924 59.4 63 48 55
1J09-240G 1.7/8"X12 1.7/8"X12 0924 62.5 63 48 55
1J09-320G 2.1/2"x12 2.1/2"x12 0932 80 76 63 70
de VERB R ETR AT S, B EARD A AHIN, B ERRE A5 ) NB200. NB500. #-f A b deifiln, AiH
WERE K Al 243 59035 il NB200. NB300. 2 F %5 1SO 11926-1 i LI4Hfic. Note: 1 Nut and sleeve should be ordered
separately.The nut NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch
tube. 2 F end is connected with ISO 11926-1port.

www.fukefitting.com



Famités

G LKE

EH174°)1CH Ok JC 74° CONE FLARED TUBE ADAPTER

L
A B JZEENUT
% | #45 SLEEVH Q \\
7. 20 - 2
gLy L

F/
1JT-SP S50 JIC SMELL 74° 5 | TEHEEIMEBEL
JIC MALE 74° CONE / BSPT MALE
i = 1% 4. THREAD JU s} DIMENSIONS
PART NO. E F A B L S1
1JT-04-02SP 7/16"X20 R1/8"X28 14 10 30 12
1JT-04SP 7/16"X20 R1/4"X19 14 14.5 34.5 14
1JT-04-06SP 7/16"X20 R3/8"X19 14 15 35 17
1JT-05-02SP 1/2"X20 R1/8"X28 14 10.5 30.5 14
1JT-05-04SP 1/2"X20 R1/4"X19 14 14.5 34 14
1JT-05-06SP 1/2"X20 R3/8"X19 14 15 35 19
1JT-06-02SP 9/16"X18 R1/8"X28 14.1 10.5 30.5 17
1JT-06-04SP 9/16"X18 R1/4"X19 14.1 14.5 34 17
1JT-06SP 9/16"X18 R3/8"X19 14.1 15 34 17
1JT-06-08SP 9/16"X18 R1/2"X14 14.1 20 41 22
1JT-08-06SP 3/4"X16 R3/8"X19 16.7 15 39 22
1JT-08SP 3/4"X16 R1/2"X14 16.7 20 44.5 22
1JT-08-12SP 3/4"X16 R3/4"X14 16.7 20 46 30
1JT-10-06SP 7/8"X14 R3/8"X19 19.3 15 42.5 24
1JT-10-08SP 7/8"X14 R1/2"X14 19.3 20 46.5 24
1JT-10-12SP 7/8"X14 R3/4"X14 19.3 20 48.5 30
1JT-12-08SP 1.1/16"X12 R1/2"X14 21.9 20 51 30
1JT-12SP 1.1/16"X12 R3/4"X14 21.9 20 51 30
1JT-12-16SP 1.1/16"X12 R1"X11 21.9 25.5 57.5 36
1JT-14-12SP 1.3/16"X12 R3/4"X14 22.6 20 52.5 32
1JT-14-16SP 1.3/16"X12 R1"X11 22.6 25.5 57.5 36
1JT-16-12SP 1.5/16"X12 R3/4"X14 23.1 20 58 36
1JT-16SP 1.5/16"X12 R1"X11 23.1 25.5 59 36
1JT-16-20SP 1.5/16"X12 R1.1/4"X11 23.1 26.5 61.5 46
1JT-20-16SP 1.5/8"X12 R1"X11 24.3 25.5 62.5 46
1JT-20SP 1.5/8"X12 R1.1/4"X11 24.3 26.5 63 46
1JT-20-24SP 1.5/8"X12 R1.1/2"X11 24.3 26.5 66.5 50
1JT-24-20SP 1.7/8"X12 R1.1/4"X11 27.5 26.5 67.5 50
1JT-24SP 1.7/8"X12 R1.1/2"X11 27.5 26.5 69.5 50
1JT-24-32SP 1.7/8"X12 R2"X11 27.5 30 74.5 65
1JT-32-24SP 2.1/2"X12 R1.1/2"X11 33.9 26.5 77.5 65
1JT-32SP 2.1/2"X12 R2"X11 33.9 30 80 65
e BB KA ETH AT I T EARD AT, B RER A £33 1% ) NB200. NBS500. & 7~ EAR A SNy, Ko IR RE KAt &5
3% NB200, NB300. Note: Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for
metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com



Product description TREBRAENNERAE | 107/108

Ningbo Fuke Hydraulic Machinery Co., Lid.

EHI74°)ICH Ok JC 74° CONE FLARED TUBE ADAPTER

F

' iz K} NUT "

JV |_[ m 4 SLEEVE ) y |
| |

I

%
74° D@ \” j o |
)@ o
A S W
1JT9-SP 90° TEHil| JIC JMRLL 74° JME [ BEHEE JMRLL
90° ELBOW JIC MALE 74° CONE / BSPT MALE
A= 1 2z THREAD JU st DIMENSIONS

PART NO. E F A B S1

1JT9-02SP 5/16"X24 R1/8"X28 20.5 21 11
1JT9-04-02SP 7/16"X20 R1/8"X28 24.5 21 11

1JT9-04SP 7/16"X20 R1/4"X19 26.6 255 14
1JT9-04-06SP 7/16"X20 R3/8"X19 27.5 28 16
1JT9-05-02SP 1/2"X20 R1/8"X28 26.6 23.5 14
1JT9-05-04SP 1/2"X20 R1/4"X19 26.6 255 14
1JT9-05-06SP 1/2"X20 R3/8"X19 27.5 28 16
1JT9-06-02SP 9/16"X18 R1/8"X28 26.9 23.5 14
1JT9-06-04SP 9/16"X18 R1/4"X19 26.9 255 14

1JT9-06SP 9/16"X18 R3/8"X19 28.5 28.5 16
1JT9-06-08SP 9/16"X18 R1/2"X14 32 36 22
1JT9-08-04SP 3/4"X16 R1/4"X19 32 28 19
1JT9-08-06SP 3/4"X16 R3/8"X19 32 30.5 19

1JT9-08SP 3/4"X16 R1/2"X14 34.8 36 22
1JT9-08-12SP 3/4"X16 R3/4"X14 37.9 43.5 27
1JT9-10-06SP 7/8"X14 R3/8"X19 38 32 22
1JT9-10-08SP 7/8"X14 R1/2"X14 37.8 36 22
1JT9-10-12SP 7/8"X14 R3/4"X14 41 43.5 27
1JT9-12-08SP 1.1/16"X12 R1/2"X14 44.2 40 27

1JT9-12SP 1.1/16"X12 R3/4"X14 442 43.5 27
1JT9-12-16SP 1.1/16"X12 R1"X11 47.8 50 33
1JT9-16-12SP 1.5/16"X12 R3/4"X14 49 47.5 33

1JT9-16SP 1.5/16"X12 R1"X11 49 50 33
1JT9-16-20SP 1.5/16"X12 R1.1/4"X11 54 56.5 41
1JT9-20-16SP 1.5/8"X12 R1"X11 55.5 56.5 41

1JT9-20SP 1.5/8"X12 R1.1/4"X11 55.5 56.5 41
1JT9-24-20SP 1.7/8"X12 R1.1/4"X11 62.5 61 48

1JT9-24SP 1.7/8"X12 R1.1/2"X11 62.5 62.5 48
1JT9-24-32SP 1.7/8"X12 R2"X11 74.5 67 63

1JT9-32SP 2.1/2"X12 R2"X11 75.4 67 63
W BB BT AT . B ER D A AHIN, B IS EE £ 5 ik NB200. NB500. &+ B AR A Jehln,
FHMEEE Jo At 4553 5l3% ) NB200. NB300.  Note: Nut and sleeve should be ordered separately.The nut NB200 and
sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com



Famités

G LKE

EHI74°)ICH Ok JC 74° CONE FLARED TUBE ADAPTER

#142 SLEEVE "8 EENUT

2J
£l JIC SMZELL 74° SMNE / JIC RIRLL 74°
JIC MALE 74°CONE / JIC FEMALE 74° SEAT
g B 12 4 THREAD JU 5} DIMENSIONS
PART NO. E F A B L S1 S2
2J-04 7/16"X20 7/16"X20 14 9 28 12 15
2J-04-05 7/16"X20 1/2"X20 14 9.5 28.5 12 17
2J-04-06 7/16"X20 9/16"X18 14 10.5 28.5 14 19
2J-04-08 7/16"X20 3/4"X16 14 11 30.5 19 24
2J-05 1/2"X20 1/2"X20 14 9.5 29 14 17
2J-05-06 1/2"X20 9/16"X18 14 10.5 28.5 14 19
2J-05-08 1/2"X20 3/4"X16 14 11 30.5 19 24
2J-06 9/16"X18 9/16"X18 14.1 10.5 29 17 19
2J-06-08 9/16"X18 3/4'X16 14.1 11 31 19 24
2J-06-10 9/16"X18 7/8"X14 14.1 13 33.5 22 27
2J-08 3/4"X16 3/4"X16 16.7 11 36 22 24
2J-08-06 3/4"X16 9/16"X18 16.7 10.5 34 22 19
2J-08-10 3/4"X16 7/8"X14 16.7 13 36.5 22 27
2J-08-12 3/4"X16 1.1/16"X12 16.7 15 39.5 27 32
2J-10 7/8"X14 7/8"X14 19.3 13 39 24 27
2J-10-08 7/8"X14 3/4"X16 19.3 11 38 24 24
2J-10-12 7/8"X14 1.1/16"X12 19.3 15 42 27 32
2J-12 1.1/16"X12 1.1/16"X12 21.9 15 44.5 30 32
2J-12-10 1.1/16"X12 7/8"X14 21.9 13 43.5 30 27
2J-12-16 1.1/16"X12 1.5/16"X12 21.9 16 45.5 36 41
2J-16 1.5/16"X12 1.5/16"X12 23.1 16 46.5 36 41
2J-16-20 1.5/16"X12 1.5/8"X12 23.1 17 53 41 50
2J-20 1.5/8"X12 1.5/8"X12 24.3 17 54.5 46 50
2J-20-24 1.5/8"X12 1.7/8"X12 24.3 20 8515 46 55
2J-24 1.7/8"X12 1.7/8"X12 27.5 20 61 50 55
2J-24-32 1.7/8"X12 2.1/2"X12 27.5 24.5 63 65 75
2J-32 2.1/2"X12 2.1/2"X12 33.9 24.5 69.5 65 75
e WRRE AT R AT B B HAR D AW, FCHIERE K425 5028 H] NB200. NB500. &1 A=A S, i
JHUREE Je 4573 5)36 JT) NB200. NB300.  Note: Nut and sleeve should be ordered separately. The nut NB200 and
sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com




Product description

TR REMERAE]

Ningbo Fuke Hydraulic Machinery Co., Ltd.

EH74°)1CH O3k JC 74° CONE FLARED TUBE ADAPTER

1109/110

#1145 SLEEVE  #5EE NUT

2J9
90° Tl JIC SJMRLL 74° 1M 1 JIC NIRLL 74° N
90° ELBOW JIC MALE 74°CONE / JIC FEMALE 74° SEAT
= 12 40 THREAD R~} DIMENSIONS
PART NO. E F A B S1 S2
2J9-02 5/16"X24 5/16"X24 21 5.6 11 12
2J9-03 3/8"X24 3/8"X24 22 11 14
2J9-04 7/16"X20 7/16"X20 24.5 11 15
2J9-05 1/2"X20 1/2"X20 26.5 9.5 14 17
2J9-06 9/16"X18 9/16"X18 26.9 10.5 14 19
2J9-06-08 9/16"X18 3/4"X16 28.5 11 16 24
2J9-08-06 3/4"X16 9/16"X18 32 10.5 19 19
2J9-08 3/4"X16 3/4"X16 32 11 19 24
2J9-08-10 3/4"X16 7/8"X14 32 13 19 27
2J9-10 7/8"X14 7/8"X14 37.8 13 22 27
2J9-10-08 7/8"X14 3/4"X16 37.8 11 22 24
2J9-10-12 7/8"X14 1.1/16"X12 39.5 15 24 32
2J9-12 1.1/16"X12 1.1/16"X12 44.2 15 27 32
2J9-12-10 1.1/16"X12 7/8"X14 44.2 13 27 27
2J9-12-16 1.1/16"X12 1.5/16"X12 46 16 30 41
2J9-14 1.3/16"X12 1.3/16"X12 47.5 15 30 36
2J9-16 1.5/16"X12 1.5/16"X12 48.8 16 33 41
2J9-16-20 1.5/16"X12 1.5/8"X12 54 17 41 50
2J9-20-16 1.5/8"X12 1.5/16"X12 55.5 16 41 41
2J9-20 1.5/8"X12 1.5/8"X12 55.5 17 41 50
2J9-20-24 1.5/8"X12 1.7/8"X12 59.5 20 48 55
2J9-24-20 1.7/8"X12 1.5/8"X12 62.5 17 48 50
2J9-24 1.7/8"X12 1.7/8"X12 62.5 20 48 55
2J9-32 2.1/2"X12 2.1/2"X12 755 | 245 63 75

T BB KA B AT BT

I, BC PR EE KA 2573 il H NB200. NB300-

Note:

B EHR D O ARIR, BCH S RE A2 5% H NB200. NB500. & ¥ HA% K i
Nut and sleeve should be ordered separately.The nut
NB200 and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com



GUKE a3

EH174°)1CH Ok JC 74° CONE FLARED TUBE ADAPTER

2NJ

o HEE SMRSUIIC IR D74
NPT MALE/JIC FEMALE 74° SEAT

B 2 4 THREAD JU <} DIMENSIONS
PART NO. E F A B L s1 | s2
2NJ-02-04 Z1/8"X27 7/16"X20 105 | 9 |245| 12 | 17
2NJ-02-05 Z1/8"X27 1/2"X20 105 | 9 25 | 12 | 17

2NJ-04 Z1/4"X18 7/16"X20 15 | 9 29 | 17 | a7
2NJ-04-05 Z1/4"X18 1/2"X20 15 | 9 | 295 | 17 | 17
2NJ-04-06 Z1/4"X18 9/16"X18 15 | 105 | 295 | 17 | 19
2NJ-04-08 Z1/4"X18 3/4"X16 15 | 105 | 315 | 19 | 24

2NJ-06 Z3/8"X18 9/16"X18 16 | 105 | 305 | 19 | 19
2NJ-06-08 Z3/8"X18 3/4"X16 16 | 105 | 325 | 19 | 24
2NJ-06-10 Z3/8"X18 7/8"X14 16 | 12 | 35 | 22 | 27

2NJ-08 Z1/2"X14 3/4"X16 195 | 105 | 375 | 22 | 24
2NJ-08-06 Z1/2"X14 9/16"X18 195 | 105 | 36 | 22 | 19
2NJ-08-10 Z1/2"X14 7/8"X14 195 | 12 | 38 | 22 | 27
2NJ-08-12 Z1/2"X14 1.1/16"X12 195 | 15 | 42 | 27 | 32

2NJ-12 Z3/4"X14 1.1/16"X12 195 | 15 | 42 | 30 | 32
2NJ-12-08 Z3/4"X14 3/4"X16 195 | 105 | 40 | 30 | 24
2NJ-12-10 Z3/4"X14 7/8"X14 195 | 12 | 405 | 30 | 27
2NJ-12-16 Z3/4"X14 1.5/16"X12 195 | 16 | 425 | 32 | 41

2NJ-16 Z1"X11.5 1.5/16"X12 255 | 16 | 48 | 36 | 41
2NJ-16-12 Z1"X11.5 1.1/16"X12 255 | 15 | 49 | 36 | 32
2NJ-16-20 Z1"X11.5 1.5/8"X12 255 | 17 | 525 | 41 | 50

2NJ-20 Z1.1/4"X11.5 1.5/8"X12 265 | 17 | 525 | 46 | 50
2NJ-20-24 | Z1.1/4"X11.5 1.7/8"X12 265 | 20 | 54 | 46 | 60
2NJ-24-20 | Z1.1/2'X11.5 1.5/8"X12 275 | 17 | 565 | 50 | 50

2NJ-24 Z1.1/2"X11.5 1.7/8"X12 275 | 235 | 57 | 50 | 60

www.fukefitting.com




Product description

TRAZBEVHERLS | 117/112

Ningbo Fuke Hydraulic Machinery Co., Lid.

EH74°)1CH Ok JC 74° CONE FLARED TUBE ADAPTER

2NJ4

45° ZEHI NPT 424z /JIC IR 74° A
NPT MALE/JIC FEMALE 74° SEAT

oo 2 40 THREAD JU s} DIMENSIONS
PART NO. E F A B S1 S2
2NJ4-04 Z1/4"X18 7/16"X20 21 9 14 17
2NJ4-06 73/8"X18 9/16"X18 24 10.5 19 19
2NJ4-08 Z1/2"X14 3/4"X16 29.5 10.5 22 24
2NJ4- 12 Z3/4"X14 1 1/16"X12 35 15 27 32
2NJ4- 16 Z1"X11 5 1.5/16"X12 39 16 33 41
2NJ4-20 Z1.1/4"X11 5 1.5/8"X12 425 17 41 50
2NJ4-24 Z1.1/2"X11 5 1.7/8"X12 45 20 48 55
74°
2NJ9
6% Z 4 7R MBS/ I CPIRELI 74° A4 90°25
NPT MALE/JIC FEMALE 74° SEAT 90° ELBOW
=" 2 40 THREAD JU~) DIMENSIONS
PART NO. E F A B 1 S2
2NJ9-02-04 Z1/4"X18 7/16"X20 21 9 11 17
2NJ9-02-05 Z1/4"X18 1/2"X20 21 9 11 17
2NJ9-04 Z1/4"X18 7/16"X20 255 9 14 17
2NJ9-04-06 Z1/4"X18 9/16"X 18 255 10.5 14 19
2NJ9-06 Z3/8"X18 9/16"X 18 31 10.5 19 19
2NJ9-06-08 Z3/8"X18 3/4"X 16 31 10.5 19 24
2NJ9-08 Z1/2"X14 3/4"X 16 373 10.5 22 24
2NJ9-08-10 Z1/2"X14 7/8"X14 373 12 22 27
2NJ9-08-12 Z1/2"X14 1.1/16"X12 375 15 24 32
2NJ9-12 Z3/4"X14 1.1/16"X 12 44 15 27 32
2NJ9-12-08 Z3/4"X14 3/4"X 16 435 10.5 27 24
2NJ9-12-10 73/4"X14 7/8"X14 435 12 27 27
2NJ9-16 Z1"X11.5 1.5/16"X 12 50 16 33 41
2NJ9-16-14 Z1"X11.5 1.3/16"X 12 49 15 33 36
2NJ9-20 Z1.1/4"X11.5 1.5/8"X12 53 17 41 50
2NJ9-24 Z1.1/2"X11.5 1.7/8"X12 59 20 48 55

www.fukefitting.com



G LKE

FamiTés

EH74°)1CH Ok JC 74° CONE FLARED TUBE ADAPTER

74°
~_F
o0
T,
e 2TJ9-SP
| |
!‘T—‘ ) 90° ZEHEEIMEL /KH JC HIRM 74° A
— )@ 90° BSPT MALE/JIC FEMALE 74° SEAT
A
! 2 4 THREAD 5} D MENSIONS
PART NO. E F A B S1 S2
2TJ9-04SP R1/4"X19 7/16"X20 26 9 14 15
2TJ9-04-06SP R1/4"X19 9/16"X18 26 105 14 19
2TJ9-06 SP R3/8"X19 9/16"X18 29 10.5 16 19
2TJ9-08SP R1/2"X14 3/4"X16 37 11 22 24
2TJ9-08-10SP R1/2"X14 7/8"X14 37 13 22 27
2TJ9-12SP R3/4"X14 1.1/16"X12 43.5 15 27 32
2TJ9-12-16SP R3/4"X14 1.5/16"X12 46.5 16 33 41
2TJ9-16 SP R1"X11 1.5/16"X12 50 16 33 41
L B
A
7
7 2TJ-SP
I dE - o -
| THEE MBL [ ZEH] JIC HIRL 74° N
E/i ) BSPT MALE/JIC FEMALE 74° SEAT
S1 _A\SZ
o 2 2 THREAD JU <} DIMENSIONS
PART NO. E F A B L S1 S2
2TJ-02-04SP R1/8"X28 7/16"X20 10 9 24 12 17
2TJ-04SP R1/4'X19 7/16"X20 14 9 28 14 17
2TJ-04-05SP R1/4'X19 1/2"X20 14 9 28.5 14 17
2TJ-04-06SP R1/4'X19 9/16"X18 14 10.5 28.5 14 19
2TJ-06-05SP R3/8"X19 1/2"X20 15 9 29.5 19 17
2TJ-06SP R3/8"X19 9/16"X18 15 10.5 29.5 17 19
2TJ-06-08SP R3/8"X19 3/4"X16 15 10.5 31.5 19 24
2TJ-08SP R1/2"X14 3/4"X16 19 10.5 37.5 24 24
2TJ-08-10SP R1/2"X14 7/8"X14 19 12 38 24 27
2TJ-08-12SP R1/2"X14 1.1/16"X12 20 15 41.5 27 32
2TJ-12SP R3/4"X14 1.1/16"X12 19 15 1.5 30 32
2TJ-12-16SP R3/4"X14 1.5/16"X12 20 16 43.5 32 41
2TJ-16SP R1"X11 1.5/16"X12 24 16 47.5 36 41
2TJ-20SP R1.1/4"X11 1.5/8"X12 25 17 52 46 50
2TJ-24SP R1.1/2"X11 1.7/8"X12 26.5 20 56 50 55

www.fukefitting.com




Product description

TRAEENAARLS | 113/114

Ningbo Fuke Hydraulic Machinery Co., Ltd.

EH|74°)ICH Ok JC 74° CONE FLARED TUBE ADAPTER

i

BREENUT

#1% SLEEVE

‘:::"'(;%5'(4'77 2
DI |

S1
4)
EH JIC SMELL 74° ShERE S
JIC MALE 74° CONE PLUG
= 1% 40 THREAD R s DIMENSIONS
PART NO. E A L S1

4J-02 5/16"X24 114 | 175 11

4J-03 3/8"X24 12.2 18 11

4J-04 7/16"X20 14 20 12

4J-05 1/2"X20 14 20 14

4J-06 9/16"X18 14.1 20 17

4J-08 3/4"X16 16.7 25 22

4J-10 7/8"X14 19.3 27.5 24

4J-12 1.1/16"X12 21.9 32 30

4J-14 1.3/16"X12 22.6 | 33.5 32

4J-16 1.5/16"X12 23.1 34 36

4J-20 1.5/8"X12 24.3 38 46

4J-24 1.7/8"X12 27.5 | 445 50

4J-32 2.1/2"X12 33.9 51 65
W BB AT R AT 5. 7 AR D A ABIn, BHERERE KA 427 H NB200. NB500. 1 F 1% J il
I, WC FHAEEE A A2 % B NB200. NB300.  Nut and sleeve should be ordered separately. The nut NB200
and sleeve NB50O is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com



G LKE

FamiTés

EHI74°)ICH O3EL JC 74° CONE FLARED TUBE ADAPTER

i LOCK NUT

ﬂ%wm

#1145 SLEEVE #2 5} NUT

6J 6J-LN
EH JIC SMEL 74° ST AR EE S
JIC MALE 74° CONE BULKHEAD
B i2 20 THREAD ] <} DIMENSIONS
PART NO. E F A B L s1 | s2
6J-02 5/16"X24 5/16"X24 114 | 282 | 475 | 14 | 14
6J-03 3/8"X24 3/8"X24 122 | 282 | 483 | 16 | 16
6J-04 7/16"X20 7/16"X20 14 | 325 | 525 | 17 | 17
6J-05 1/2"X20 1/2"X20 14 | 325 | 525 | 19 | 19
6J-06 9/16"X18 9/16"X18 141 | 325 | 545 | 22 | 22
6J-06(S19) 9/16"X18 9/16"X18 141 | 325 | 545 | 19 | 22
6J-08 3/4"X16 3/4"X16 16.7 | 365 | 615 | 24 | 24
6J-10 7/8"X14 7/8"X14 193 | 40 | 695 | 30 | 30
6J-12 1.1/16"X12_ | 1.1/16"X12 219 | 445 | 785 | 36 | 36
6J-14 1.3/16"X12_| 1.3/16"X12 226 | 445 | 792 | 38 | 38
6J-16 1.5/16"X12_| 1.5/16"X12 231 | 445 | 798 | 41 41
6J-20 1.5/8"X12 1.5/8"X12 243 | 457 | 84 | 50 | 50
6J-24 1.7/8"X12 1.7/8"X12 275 | 46 | 895 | 55 | 55
6J-32 2.1/2"X12 2.1/2"X12 33.9 | 531 [ 1067 | 70 | 70

Ve WIFAEEIRIIT R, WSS S “LN” , W1 6J-12LN. R M T BATIT

RE
A

Y EARD AAEIR, HH

R R KAt 455 )i T NB200. NB500. 51 FLAR R JE i, WCHIBRRE & AT 4253 il 6 Hf NB200. NB300. Note: In
case if you are interested to order the adapter with lock nut,please insert suffix "LN" after our partno ,
forexample 6J-12LN., Nut and sleeve should be ordered separately, The nut NB200 and sleeve NB500 is
suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com




Product description TEBREEAEEAS | 115/116

Ningbo Fuke Hydraulic Machinery Co., Lid.

EHI74°)ICH O#EL JC 74° CONE FLARED TUBE ADAPTER
L A

) 9J

(o]
w74 £ 5] JIC PIREL 740 Ptz Sk
JIC FEMALE 74° SEAT PLUG

S2
e 1% 2 THREAD JU <} DIMENSIONS

PART NO. E A L S2
9J-03 3/8"X24 8 10.5 14
9J-04 7/16"X20 9 10.5 15
9J-05 1/2"X20 9.5 11 17
9J-06 9/16"X18 10.5 11 19
9J-08 3/4"X16 11 13 24
9J-10 7/18"X14 13 13.5 27
9J-12 1.1/16"X12 15 15 32
9J-14 1.3/16"X12 15 15 36
9J-16 1.5/16"X12 16 15.5 41
9J-20 1.5/8"X12 17 18.5 50
9J-24 1.7/8"X12 20 19 55
9J-32 2.1/2"X12 23.5 20.5 75

L
ﬂ 9J-CAP
a1,

JIC 74° PEBLLIE Sk
>—< JIC 74° FEMALE PLUG
st

R = 12 47 THREAD X~} DIMENSIONS
PART NO. E L S1
9J-04CAP 7/16"X20 151 15
9J-10CAP 7/8"X14 21.4 27
9J-05CAP 1/2"X20 15.5 17
9J-06CAP 9/16"X18 15.9 19
9J-08CAP 3/4"X16 19 24
9J-12CAP 1.1/16"X12 23 32
9J-20CAP 1.5/8"X12 27 50
9J-24CAP 1.7/8"X12 30.2 60
9J-32CAP 2.1/2"X12 36.5 75
9J-16CAP 1.5/16"X12 25.8 41

www.fukefitting.com



GUKE rzna

EH74°)1CH Ok JC 74° CONE FLARED TUBE ADAPTER

X
AJ
o shil S5 JIC SMBSL 74° SheE
740 o JIC MALE 74° CONE
A C

£ = 1% 2 THREAD JU ) DIMENSIONS
PART NO. E P G A B C S1
AJ-02 5/16"X24 5/16"X24 5/16"X24 21 21 21 11
AJ-03 3/8"X24 3/8"X24 3/8"X24 22 22 22 11
AJ-04 7/16"X20 7/16"X20 7/16"X20 24.5 245 24.5 11
AJ-04-06-04 7/16"X20 9/16"X18 7/16"X20 26.6 26.9 26.6 14
AJ-05-04-05 1/2"X20 7/16"X20 1/2"X20 26 26.6 26 14
AJ-05 1/2"X20 1/2"X20 1/2"X20 26 26 26 14
AJ-06-04-06 9/16"X18 7/16"X20 9/16"X18 26.9 26.6 26.9 14
AJ-06 9/16"X18 9/16"X18 9/16"X18 26.9 26.9 26.9 14
AJ-06-08-06 9/16"X18 3/4"X16 9/16"X18 30 32 30 19
AJ-08 3/4"X16 3/4"X16 3/4"X16 32 32 32 19
AJ-08-06-06 3/4"X16 9/16"X18 9/16"X18 32 30 30 19
AJ-08-06-08 3/4"X16 9/16"X18 3/4"X16 32 30 32 19
AJ-08-10-08 3/4"X16 7/8"X14 3/4"X16 34.8 37.8 34.8 22
AJ-08-12-08 3/4"X16 1.1/16"X12 3/4"X16 37.9 44.2 37.9 27
AJ-10 7/8"X14 7/8"X14 7/8"X14 37.8 37.8 37.8 22
AJ-10-08-08 7/8"X14 3/4"X16 3/4"X16 37.8 34.8 34.8 22
AJ-10-08-10 7/8"X14 3/4"X16 7/8"X14 37.8 34.8 37.8 22
AJ-10-12-10 7/8"X14 1.1/16"X12 7/8"X14 41 44.2 41 27
AJ-12 1.1/16"X12 1.1/16"X12 1.1/16"X12 44.2 44.2 44.2 27
AJ-12-08-12 1.1/16"X12 3/4"X16 1.1/16"X12 44.2 37.9 44.2 27
AJ-12-10-12 1.1/16"X12 7/8"X14 1.1/16"X12 44.2 41 44.2 27
AJ-12-16-12 1.1/16"X12 1.5/16"X12 1.1/16"X12 48 49 48 33
AJ-14 1.3/16"X12 1.3/16"X12 1.3/16"X12 47.5 47.5 47.5 30
AJ-16 1.5/16"X12 1.5/16"X12 1.5/16"X12 49 49 49 33
AJ-16-12-16 1.5/16"X12 1.1/16"X12 1.5/16"X12 49 48 49 33
AJ-20 1.5/8"X12 1.5/8"X12 1.5/8"X12 56.5 56.5 56.5 41
AJ-20-16-20 1.5/8"X12 1.5/16"X12 1.5/8"X12 56.5 54 56.5 41
AJ-24 1.7/8"X12 1.7/8"X12 1.7/8"X12 63 63 63 48
AJ-32 2.1/2"X12 2.1/2"X12 2.1/2"X12 78 78 78 63

T BRRERATET AT, B HAR D ANHIN, AR AT B NB200, NB500. & 1 ELAR RSNy, e AR RE 24427331

1 HI NB200. NB300. Nut and sleeve should be ordered separately.The nut NB200 and sleeve NB500 is suitable for metric

tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com



Product description

TR REMERAE]

Ningbo Fuke Hydraulic Machinery Co., Ltd. ‘ .I .I 7/.| .I 8

EH|74°)ICH Ok JC 74° CONE FLARED TUBE ADAPTER

[{.s2

B RENUT

#1145 SLEEVE

==

95 NN

BJ
£ JIC SMRL / SEH JIC MRS/ £ JIC JMRLL
JIC MALE /JIC FEMALE/JIC MALE
V= 2 4z THREAD JU ) DIMENSIONS
PART NO. E F G A C S1 S2
BJ-04 7/16"X20 | 7/16"X20 | 7/16"X20 24.5 9 24.5 11 15
BJ-05 1/2"X20 1/2"X20 1/2"X20 26.5 9.5 26.5 14 17
BJ-06 9/16"X18 | 9/16"X18 | 9/16"X18 26.9 | 10.5 [ 26.9 14 19
BJ-08 3/4"X16 3/4"X16 3/4"X16 32 11 32 19 24
BJ-10 7/8"X14 7/8"X14 7/8"X14 37.8 14 37.8 22 27
BJ-12 1.1/16"X12 [ 1.1/16"X12 | 1.1/16"X12 44.2 15 44.2 27 32
BJ-14 1.3/16"X12 [ 1.3/16"X12 [ 1.3/16"X12 47.5 15 47.5 30 36
BJ-16 1.5/16"X12 [ 1.5/16"X12 | 1.5/16"X12 49 16 49 33 41
BJ-20 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 56 17 56 41 50
BJ-24 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 63.5 20 63.5 48 55
BJ-32 2.1/2"X12 | 2.1/2"X12 | 2.1/2"X12 78 24.5 78 63 75
e BB AT EFR AT It & 1T HAR D AN, BCHIRRE 55l H NB200. NB500. 451~ HASA S,
Jic A2 RE A A5 7 %6 F NB200. NB300.  Nut and sleeve should be ordered separately. The nut NB200 and
sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com



G LKE

Famités

EHI74°)ICH O3k JC 74° CONE FLARED TUBE ADAPTER

CJ
EH) JIC FMBLr / SE£H] JIC SMBL /£ JIC FIIRLL
JIC MALE/JIC MALE/JIC FEMALE
(A=) % £ THREAD R s DIMENSIONS
PART NO. E F G A B C S1 S2
CJ-04 7/16"X20 | 7/16"X20 | 7/16"X20 245 | 245 9 11 15
CJ-05 1/2"X20 1/2"X20 1/2"X20 26.6 | 26.6 9.5 14 17
CJ-06 9/16"X18 | 9/16"X18 | 9/16"X18 26.9 | 269 [ 10.5 14 19
CJ-08 3/4"X16 3/4"X16 3/4"X16 32 32 9.5 19 24
CJ-10 7/8"X14 7/8"X14 7/8"X14 37.8 | 37.8 13 22 27
CJ-10-08-10| 7/8"X14 7/8"X14 7/8"X14 37.8 | 34.8 13 22 27
CJ-12 1.1/16"X12 ] 1.1/16"X12 | 1.1/16"X12 442 | 44.2 15 27 32
CJ-12-08-12| 1.1/16"X12 | 1.1/16"X12 | 1.1/16"X12 442 | 37.9 15 27 32
CJ-14 1.3/16"X12 | 1.3/16"X12 [ 1.3/16"X12 475 | 475 15 30 36
CJ-16 1.5/16"X12 | 1.5/16"X12 [ 1.5/16"X12 49 49 16 33 41
CJ-20 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 55.5 | 55.5 17 41 50
CJ-24 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 63 63 20 48 55
CJ-32 2.1/2"X12 | 2.1/2"X12 | 2.1/2"X12 78 78 24.5 63 75
e BREE AT ET AT It & T HARD A AHIN, BCHEEE A E 3 H NB200. NB500. & 1~ FH.41 2k Je il
I, e ISR At 2 703 i NB200. NB300.  Nut and sleeve should be ordered separately. The nut NB200
and sleeve NB500 is suitable for metric tube,the nut NB200 and sleeve NB300 is suitable for inch tube.

www.fukefitting.com




Product description

EHHEEIZLINPTIESL NPT THREAE FITTING

TR REMERAE]

Ningbo Fuke Hydraulic Machinery Co., Lid.

1119/120

A
| j | 1N
SIS IIIIII YD,
‘#TT N £ A R ML
e N NPT MALE
E/s1 /) F/
5 2 2 THREAD JU s} DIMENSIONS
PART NO. E F A B L S1
1N-02 Z1/8"X27 Z1/8"X27 10.5 10.5 27 12
1N-02-04 Z1/8"X27 Z1/4"X18 10.5 15 31 17
1N-02-06 Z1/8"X27 Z3/8"X18 10.5 16 32 19
1N-04 Z1/4"X18 Z1/4"X18 15 15 85 17
1N-04-06 Z1/4"X18 Z3/8"X18 15 16 37 19
1N-04-08 Z1/4"X18 Z1/2"X14 15 19.5 41.5 22
1N-06 Z3/8"X18 Z3/8"X18 16 16 38 19
1N-06-08 Z3/8"X18 Z1/2"X14 16 19.5 43.5 22
1N-06-12 Z3/8"X18 Z3/4"X14 16 19.5 455 27
1N-08 Z1/2"X14 Z1/2"X14 19.5 19.5 47 22
1N-08-12 Z1/2"X14 Z3/4"X14 19.5 19.5 49 27
1N-08-16 Z1/2"X14 Z1"X11.5 19.5 25.5 56 36
1N-12 Z3/4"X14 Z3/4"X14 19.5 19.5 49 27
1N-12-16 Z3/4"X14 Z1"X11.5 19.5 25.5 55 36
1N-12-20 Z3/4"X14 Z1.1/4"X11.5 19.5 26.5 59 46
1N-16 Z1"X11.5 Z1"X11.5 25.5 25.5 61 36
1N-16-20 Z1"X11.5 Z1.1/4"X11.5 25.5 26.5 64 46
1N-16-24 Z1"X11.5 Z1.1/2"X11.5 25.5 27.5 68 50
1N-20 Z1.1/4"X11.5 Z1.1/4"X11.5 26.5 26.5 65 46
1N-20-24 Z1.1/4"X11.5 Z1.1/2"X11.5 26.5 27.5 69 50
1N-24 Z1.1/2"X11.5 Z1.1/2"X11.5 27.5 27.5 69 50
1N-24-32 Z1.1/2"X11.5 Z2"X11.5 27.5 27.5 72 65
1N-32 Z2"X11.5 Z2"X11.5 27.5 27.5 71 65

www.fukefitting.com



G LKE

Famités

EHHEE E?*INPThw’: NPT THREAE FITTING

1N9

0° S HEEIMEL

90° ELBOW NPT MALE

R 5 12 40 THREAD JU ' DIMENSIONS
PART NO. E F A B S1

1N9-02 Z1/8"X27 71/8"X27 21 21 11
1N9-02-04 Z1/8"X27 Z1/4"X18 235 | 255 | 14

1N9-04 Z1/4"X18 Z1/4"X18 255 | 255 | 14
1N9-04-06 Z1/4"X18 73/8"X18 28 31 19
1N9-04-08 Z1/4"X18 Z1/2"X14 305 | 365 | 22

1N9-06 Z3/8"X18 Z3/8"X18 31 31 19
1N9-06-08 Z3/8"X18 Z1/2"X14 338 | 373 | 22

1N9-08 Z1/2"X14 Z1/2"X14 373 | 373 | 22
1N9-08-12 Z1/2"X14 Z3/4"X14 40 44 27

1N9-12 Z3/4"X14 Z3/4"X14 44 44 27
1N9-12-16 Z3/4"X14 Z1"X11.5 465 | 50 33

1N9-16 Z1"X11.5 Z1"X11.5 50 50 33

1N9-20 Z1.1/4"X11.5 | Z1.1/4"X11.5 54 54 41

1N9-24 Z1.1/2"X11.5 | Z1.1/2"X11.5 63 63 48

1N9-32 Z2"X11.5 72'X11.5 68 68 63

L
A 4N
? E T EEIMELUIE
NPT MALE PLUG
E
S1

& 5 2 2 THREAD JU 5} DIMENSIONS
PART NO. E A L S1

4N-02 71/8"X27 10.5 16 12

4N-04 Z1/4"X18 15 20 17

4N-06 73/8"X18 16 21 19

4N-08 Z1/2"X14 19.5 | 27 22

4N-12 73/4"X14 19.5 | 295 | 27

4N-16 Z1"X11.5 255 | 36.5 | 36

4N-20 Z1.1/4"X11.5 265 | 385 | 46

4N-24 Z1.1/2"X11.5 275 | 43 50

4N-32 72"X11.5 275 | 435 | 65

www.fukefitting.com




Product description TRGBRAENNERAR | 121/122

Ningbo Fuke Hydraulic Machinery Co., Lid.

EHHEEIRLINPTIESL NPT THREAE FITTING

L
A
E
\j ) SN
| ’ (|| i THERS HMIBEL | ATHERS P IR
| — \F NPT MALE / NPT FEMALE
[

't = i 2 THREAD /< DIMENSIONS
PART NO. E F A L S1
5N-02 Z1/8"X27 Z1/8"X27 105 | 255 17
5N-02-04 Z1/8"X27 Z1/4"X18 105 31 19
5N-02-06 Z1/8"X27 Z3/8"X18 11 31 24
5N-04-02 Z1/4"X18 Z1/8"X27 15 22 17
5N-04 Z1/4"X18 Z1/4"X18 15 35.3 19
5N-04-06 Z1/4"X18 Z3/8"X18 15 36.6 24
5N-04-08 Z1/4"X18 Z1/2"X14 15 43 30
5N-06-02 73/8"X18 Z1/8"X27 16 22 19
5N-06-04 73/8"X18 Z1/4"X18 16 22 19
5N-06 73/8"X18 Z3/8"X18 16 37.6 24
5N-06-08 73/8"X18 Z1/2"X14 17 | 437 30
5N-06-12 Z3/8"X18 Z3/4"X14 17 47 36
5N-08-04 Z1/2"X14 Z1/4"X18 19.5 28 24
5N-08-06 Z1/2"X14 Z3/8"X18 195 | 285 24
5N-08 Z1/2"X14 Z1/2"X14 195 | 475 30
5N-08-12 Z1/2"X14 Z3/4"X14 19.5 49 36
5N-12-06 Z3/4"X14 Z3/8"X18 195 | 305 27
5N-12-08 Z3/4"X14 Z1/2"X14 195 | 305 27
5N-12 Z3/4"X14 Z3/4"X14 19.5 49 36
5N-12-16 Z3/4"X14 Z1"X11.5 195 | 554 41
5N-16-08 Z1"X11.5 Z1/2"X14 255 | 355 36
5N-16-12 Z1"X11.5 Z3/4"X14 255 | 365 36
5N-16 Z1"X11.5 Z1"X11.5 255 | 60.7 41
5N-16-20 Z1"X11.5 Z1.1/4"X11.5 255 | 635 50
5N-20-12 Z1.1/4"X11.5 Z3/4"X14 265 | 385 46
5N-20-16 Z1.1/4"X11.5 Z1"X11.5 26.5 41 46
5N-20 71.1/4"X11.5 Z1.1/4"X11.5 265 | 615 50
5N-20-24 Z1.1/4"X11.5 Z1.1/2"X11.5 265 | 625 60
5N-24-16 Z1.1/2'X11.5 Z1"X11.5 275 | 415 50
5N-24-20 Z1.1/2'X11.5 Z1.1/4"X11.5 27.5 41 50
5N-24 Z1.1/2"X11.5 Z1.1/2"X11.5 275 | 625 65
5N-24-32 Z1.1/2"X11.5 72'X11.5 275 | 665 70
5N-32-20 72'X11.5 Z1.1/4"X11.5 275 | 445 65
5N-32-24 Z2'X11.5 Z1.1/2"X11.5 27.5 45 65
5N-32 Z2'X11.5 72'X11.5 275 | 625 70

www.fukefitting.com



G LUIKE #2143

EHHEEIZLINPTIESL NPT THREAE FITTING

F
E
N — o0
oy 5N9
[ AN
| | j)< 00° 5 7 4 AMB AL | 7 4 P AR
i S1 90° ELBOW NPT MALE/NPT FEMALE
A
f & 12 40 THREAD J 5} DIMENSIONS
PART NO. E F A B S1
5N9-02 Z1/8"X27 Z1/8"X27 245 17.8 16
5N9-04-02 Z1/4"X18 Z1/8"X27 26.5 16.8 16
5N9-04 Z1/4"X18 Z1/4"X18 28 22.4 19
5N9-04-06 Z1/4"X18 Z3/8"X18 31 25 24
5N9-06-04 Z3/8"X18 Z1/4"X18 31 22.4 19
5N9-06 Z3/8"X18 Z3/8"X18 33.5 25 24
5N9-08 Z1/2"X14 Z1/2"X14 41.2 31.2 30
5N9-12-08 Z3/4"X14 Z1/2"X14 45 31.2 30
5N9-12 Z3/4"X14 Z3/4"X14 452 34.5 33
5N9-16 Z1"X11.5 Z1"X11.5 545 411 41
5N9-20 Z1.1/4"X11.5 Z1.1/4"X11.5 63 43.2 48
5N9-24 Z1.1/2"X11.5 Z1.1/2"X11.5 71.5 52.8 63
5N9-32 Z2"X11.5 Z2"X11.5 73.5 62 65

www.fukefitting.com




Product description

EHIHEEIZLGINPTIESL NPT THREAE FITTING

TRAEENAARLS | 1923/124

Ningbo Fuke Hydraulic Machinery Co., Ltd.

7N
T IR
. NPT FEMALE
\S1

® = % 2r THREAD JU 5} DIMENSIONS
PART NO. E F L S1
7N-02 Z1/8"X27 Z1/8"X27 24 17
7N-02-04 Z1/8"X27 Z1/4"X18 27 19
7N-02-06 Z1/8"X27 Z3/8"X18 30 22
7N-04 Z1/4"X18 Z1/4"X18 29 19
7N-04-06 Z1/4"X18 Z3/8"X18 31 22
7N-04-08 Z1/4"X18 Z1/2"X14 35 30
7N-06 Z3/8"X18 Z3/8"X18 29 22
7N-06-08 Z3/8"X18 Z1/2"X14 38 30
7N-06-12 Z3/8"X18 Z3/4"X14 40 36
7N-08 Z1/2"X14 Z1/2"X14 38 30
7N-08-12 Z1/2"X14 Z3/4"X14 43 36
7N-12 Z3/4"X14 Z3/4"X14 39 36
7N-12-16 Z3/4"X14 Z1"X11.5 45.5 41
7N-16 Z1"X11.5 Z1"X11.5 48 41
7N-20 Z1.1/4"X11.5 Z1.1/4"X11.5 49 50
7N-24 Z1.1/2"X11.5 Z1.1/2"X11.5 49 60
7N-32 Z2"X11.5 Z2"X11.5 50 70

www.fukefitting.com



c

LKE

il!l:

miT4a

SEHIHEEIRLINPTIESL NPT THREAE FITTING

F
.
e
7 7N9-PK
[
E/ L 90° T HEE FIRLL
A X S1 90° ELBOW NPT FEMALE
g 2 2 THREAD <] DIMENSIONS
PART NO. E F A B S1
7N9-02PK Z1/8"X27 Z1/8"X27 20 20 16
7N9-02-04PK Z1/8"X27 Z1/4"X18 20 22.5 19
7N9-04PK Z1/4"X18 Z1/4"X18 225 | 225 19
7N9-04-06PK Z1/4"X18 Z3/8"X18 25 26 24
7N9-06PK Z3/8"X18 Z3/8"X18 26 26 24
7N9-06-08PK Z3/8"X18 Z1/2"X14 26 31 27
7N9-08PK Z1/2"X14 Z1/2"X14 31 31 27
7N9-08-12PK Z1/2"X14 Z3/4"X14 34 34 33
7N9-12PK Z3/4"X14 Z3/4"X14 34 34 33
7N9-12-16PK Z3/4"X14 Z1"X11.5 42 42 41
7N9-16PK Z1"X11.5 Z1"X11.5 42 42 41
7N9-20PK Z1.1/4"X11.5 Z1.1/4"X11.5 48 48 50
7N9-24PK Z1.1/2"X11.5 Z1.1/2"X11.5 53 53 60
7N9-32PK Z2"X11.5 Z2"X11.5 62 62 70
2
E s17 Gm
ol | AN
e -
]L [ | 7 B IMBL
A C NPT MALE
KB % 4L THREAD JU ~] DIMENSIONS
PART NO. E F G A | B | C | st
AN-02 Z1/8"X27 Z1/8"X27 Z1/8"X27 21 21 21 11
AN-04 Z1/4"X18 Z1/4"X18 Z1/4"X18 255 | 255|255 14
AN-06 Z3/8"X18 Z3/8"X18 Z3/8"X18 31 31 31 19
AN-08 Z1/2"X14 Z1/2"X14 Z1/2"X14 36.7 | 36.7 | 36.7 | 22
AN-12 Z3/4"X14 Z3/4"X14 Z3/4"X14 44 | 44 | 44 27
AN-16 Z1"X11.5 Z1"X11.5 Z1"X11.5 50 | 50 [ 50 | 33
AN-20 Z1.1/4"X11.5 | Z1.1/4"X11.5 | Z1.1/4"X11.5 545545545 41
AN-24 Z1.1/2"X11.5 | Z1.1/2"X11.5| Z1.1/2"X11.5 59.5 | 59.5 | 59.5| 48

www.fukefitting.com




Product description WL EREBENMERAS | 125/126
- L Sk s kw2l
EHIEEIENPTIESL NPT THREAE FITTING
F
S1
\_
o
\ A 77) GN-PK
B, | G T HE IR = i
NPT FEMALE TEE
A C
= 12 2r THREAD JU s DIMENSIONS
PART NO. E B G A B © S1
GN-02PK Z21/8"X27 Z21/8"X27 Z1/18"X27 20 20 20 16
GN-04PK Z1/4"X18 Z1/4"X18 Z1/4"X18 225 225 225 19
GN-06PK Z3/8"X18 Z3/8"X18 Z3/8"X18 26 26 26 24
GN-08PK Z1/2"X14 Z1/2"X14 Z1/2"X14 31 31 31 27
GN-12PK Z3/4"X14 Z3/4"X14 Z3/4"X14 34 34 34 33
GN-16PK Z1"X11.5 Z1"X11.5 Z1"X11.5 42 42 42 41
GN-20PK | Z1.1/4"X11.5| Z1.1/4"X11.5| Z1.1/4"X11.5 48 48 48 50
GN-24PK | Z1.1/2"X11.5| Z1.1/2"X11.5| Z1.1/2"X11.5 53 53 53 60
GN-32PK Z2"X11.5 Z2"X11.5 Z2"X11.5 62 62 62 70
F
|
|
> m
EA T G ZN
o \ re .
&1 . [ o IR
. v NPT FEMALE CROSS
A | C
R = 12 4r THREAD R -} DIMENSIONS
PART NO. E, F, G, H A B, C, D S1
ZN-04 Z1/4"X18 22.5 19
ZN-06 Z3/8"X18 26 24
ZN-08 Z1/2"X14 31 27
ZN-12 Z3/4"X14 34 33
ZN-16 Z1"X11.5 42 41
ZN-20 Z1.1/4"X11.5 48 50

www.fukefitting.com



GUKE a3

DIN FExRX &% DIN BITE TYPE TUBE FITTINGS

80 JH— 11|

NEBLFER /52
Z55%21S0 6162-1
METRIC MALE BITE TYPE /

:g:i:: :g:i:: E: L-SERIES FLANGE ISO 6162-1

&5 B4 E PRI EE H4ME DI O M X~} DIMENSIONS T 2y
PART NO. THREAD | FLANGE SIZE TUBE O.D. O-RING d1 | 11 L1 S1 S2 MPa
1CFL-22-08 M22X1.5 1/2" 15 0210 30.2 6.7 41 56 24 27 315
1CFL-26-12 M26X1.5 3/4" 18 0214 38.1 6.73 | 45.5 62 30 32 BRY L
1CFL-30-12 M30X2 3/4" 22 0214 38.1 6.7 455 62 32 36
1CFL-36-16 M36X2 1" 28 0219 44 .4 8 46.5 63 38 41 16
1CFL-45-20 M45X2 1.1/4" 35 0222 50.8 8 47.5 69 41 50 BRY L
1CFL-52-24 M52X2 1.1/2" 42 0225 60.3 8 53 76 46 60
1DFL-24-08 M24X1.5 1/2" 16 0210 30.2 6.7 415 60 24 30 35
1DFL-30-12 M30X2 3/4" 20 0214 38.1 6.7 46.5 68 30 36 wZ
1DFL-36-12 M36X2 3/4" 25 0214 38.1 6.73 45 69 30 46 é
1DFL-42-16 M42X2 1" 30 0219 44 .4 8 49.5 76 36 50
1DFL-36-20 M36X2 1.1/4" 25 0222 50.8 8 48 72 41 46 28
1DFL-42-20 M42X2 1.1/4" 30 0222 50.8 8 48.5 75 41 50 HRY
1DFL-52-20 M52X2 1.1/4" 38 0222 50.8 8 50 81 46 60 S
1DFL-52-24 M52X2 1.1/2" 38 0225 60.3 8 54 85 46 60 | 21 FFII S
Ve W SR RIS REERAT S0, WRAEAR SN RN, 40 1DFL-52-24RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,
it is necessary to insert suffix "RN" after our part NO., for example 1DFL-52-24RN.

L1
I
NHBEGFEX/E

VT T

R5£=1S0 6162-2
METRIC MALE BITE TYPE /
H-SERIES FLANGE ISO 6162-2

1DFS-RN
(A7 IR E =Xtk B/r4MEDT | OB X~ DIMENSIONS JE 155 9%

PART NO. | THREAD | FLANGE SIZE | TUBE O.D. | O-RING d1 | 11 L1 S1 S2 MPa
1DFS-24-08 | M24X1.5 1/2" 16 0210 31.7 7.8 | 445 63 24 30

1DFS-24-12 | M24X1.5 3/4" 16 0214 41.3 8.8 50.5 69 30 30

1DFS-30-12 M30X2 3/4" 20 0214 41.3 8.8 50.5 72 30 36 40
1DFS-36-12 M36X2 3/4" 25 0214 41.3 8.8 51 75 30 46 EY
1DFS-36-16 M36X2 1" 25 0219 47.6 9.5 60 81 36 46 S
1DFS-42-16 M42X2 1" 30 0219 47.6 9.5 | 605 87 36 50

1DFS-42-20 M42X2 1.1/4" 30 0222 54 10.3 | 65.5 92 41 50

1DFS-52-20 M52X2 1.1/4" 38 0222 54 10.3 67 98 46 60 31.5
1DFS-52-24 M52X2 1.1/2" 38 0225 63.5 | 12.6 73 104 46 60 RS
e i R R R IR R T, WITEAEAR S S I “RN”, i1 1DFS-52-24RN.

Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,

it is necessary to insert suffix "RN" after our part NO., for example 1DFS-52-24RN.

www.fukefitting.com




Product description

TR REMBRAE)

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DIN +ERXE3#2L DIN BITE TYPE TUBE FITTINGS

1127/128

d1
' o
. EK
w I s1 R . .
sz 90° T AHIZHEER /
BARYEZ1S0 6162-1
1CFL9 1CFL9-RN 90° ELBOW METRIC MALE BITE TYPE /
1DFL9 1DFL9-RN L-SERIES FLANGE ISO 6162-1
(V=) 124 E RS &AMz D1 (oFiA::] JU s;  DIMENSIONS IR =74
PART NO. THREAD FLANGE SIZE TUBE O.D. O-RING d1 | 11 L1 L2 S1 S2 MPa
1CFL9-22-08 M22X1.5 1/2" 15 0210 30.2 6.7 29 44 36 24 27 31.5
1CFL9-26-12 M26X1.5 3/4" 18 0214 38.1 6.7 |31.5 48 42 30 32 TRV
1CFL9-30-12 M30X2 3/4" 22 0214 38.1 6.7 |33.5 50 42 30 36
1CFL9-36-16 M36X2 1" 28 0219 44.4 8 36.5 53 45 36 41 16
1CFL9-45-20 M45X2 1.1/4" 35 0222 50.8 8 46.5 68 50 41 50 BRYIL
1CFL9-52-24 M52X2 1.1/2" 42 0225 60.3 3 47 70 75 48 60
1DFL9-24-08 M24X1.5 1/2" 16 0210 30.2 6.7 |29.5 48 36 24 30 35
1DFL9-30-12 M30X2 3/4" 20 0214 38.1 6.7 | 325 54 42 30 36 T2
1DFL9-36-12 M36X2 3/4" 25 0214 38.1 6.7 33 57 42 30 46 'é
1DFL9-42-16 M42X2 1" 30 0219 44.4 8 36.5 63 45 36 50
1DFL9-36-20 M36X2 1.1/4" 25 0222 50.8 8 43 67 50 41 46 28
1DFL9-42-20 M42X2 1.1/4" 30 0222 50.8 8 43.5 70 50 41 50 R
1DFL9-52-20 M52X2 1.1/4" 38 0222 50.8 8 43 74 50 46 60 S
1DFL9-52-24 M52X2 1.1/2" 38 0225 60.3 8 48 79 75 48 60 [21 FHIIS
e IR A R EEET TE, WE /RS S N ‘RN, 41 1DFL9-52-24RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,
it is necessary to insert suffix "RN" after our part NO., for example 1DFL9-52-24RN.

d1
| N
—
<70 1 s 0 o
) . [ 90° BAHIRGFER /
] . S1 S
s2 44— 11 BEARYZ=1S0 6162-2
L1
90° ELBOW METRIC MALE BITE TYPE /
1DFS9 1DFS9-RN H-SERIES FLANGE ISO 6162-2
R = IR E BRI B4z D1 O JEH JU 55 DIMENSIONS Y
PART NO. THREAD FLANGE SIZE TUBE O.D. O-RING d1 | i L1 L2 S1 S2 MPa
1DFS9-24-08 M24X1.5 1/2" 16 0210 31.7 7.8 295 48 39 24 30
1DFS9-24-12 M24X1.5 3/4" 16 0214 41.3 8.8 |36.5 B9 48 32 30
1DFS9-30-12 M30X2 3/4" 20 0214 41.3 8.8 |35.5 57 48 32 36 40
1DFS9-36-12 M36X2 3/4" 25 0214 41.3 8.8 36 60 48 32 46 ERA
1DFS9-36-16 M36X2 1" 25 0219 47.6 9.5 41 65 60 41 46 S
1DFS9-42-16 M42X2 1" 30 0219 47.6 95 |415 68 60 41 50
1DFS9-42-20 M42X2 1.1/4" 30 0222 54 10.3 | 445 71 68 46 50
1DFS9-52-20 M52X2 1.1/4" 38 0222 54 10.3 45 76 68 46 60 315
1DFS9-52-24 M52X2 1.1/2" 38 0225 63.5 |12.6 56 87 76 48 60 RIS
e W R ER R, WSS RN, 41 1DFS9-52-24RN.
Note: In case if you are interested to order the adapter in complete set with cutting ring and nut ,
it is necessary to insert suffix "RN" after our part NO., for example 1DFS9-52-24RN.

www.fukefitting.com



G LKE

0 A\473
F anll zn
o4 2z
SAE ;2= SAE FLANGE
_ 1. 1FLW
© 1FSW
SAE 3% | (R4EE
L SAE FLANGE/WELD TUBE
5 2L A DXt Ji~F DIMENSION JE 12525
PART NO. FLANGE SIZE d1 D | I L MPa
3000PS|
1FLW-08-16X2 1/2 16X2 30.2 16 68 a1
1FLW-08-20X2.5 127 20X2.5 20
1FLW-12-25X3 3/4” 25X3 38.1 25 6.8 50
1FLW-16-25X3 1” 25X3 25 34.5
1FLW-16-28X3 1 28X3 444 28 8 50
1FLW-16-30X4 17 30X4 30
1FLW-16-38X5 i° 38X5 38
1FLW-20-25X3 1.1/4” 25X3 25
1FLW-20-30X4 1.1/ 30X4 0.8 30 8 55 27.6
1FLW-20-38X5 1.1/4” 38X5 38
1FLW-20-42X6 1.1/4” 42X6 42
1FLW-24-38X4 1.1/2” 38X4 38
1FLW-24-42X5 1.1/2 42X5 60.3 42 8 57
1FLW-24-45X5 1.1/2” 45X5 45 0.7
1FLW-24-50X6 1.1/2” 50X6 50 '
1FLW-32-55X5 2 55X5 114 55 06 57
1FLW-32-60X8 27 60X8 60
1FLW-40-65X6 2112 65X6 841 65 06 58 17
1FLW-40-70X7.5 2.1/2” 70X7.5 70
1FLW-48-80X6 3 80X6 1016 80 96 58 138
1FLW-48-90X8 3” 90X8 90
6000PS|

1FSW-08-16X2 1/2 16X2 317 16 28 24
1FSW-08-20X2.5 127 20X2.5 20
1FSW-12-16X2 3/4” 16X2 16
1FSW-12-20X2.5 3/4” 20X2.5 413 20 8.8 38
1FSW-12-25X4 3/4” 25X4 25
1FSW-16-25X3 E 25X3 25
1FSW-16-30X4 17 30X4 47.6 30 9.5 40
1FSW-16-38X5 17 38X5 38
1FSW-20-25X3 1.1/4” 25X3 25 40
1FSW-20-30X4 1.1/ 30X4 5 30 103 45
1FSW-20-38X5 1.1/4” 38X5 38
1FSW-20-42X6 1.1/4” 42X6 42
1FSW-24-38X5 1.1/2” 38X5 38
1FSW-24-45X6.5 1.1/2 45%6.5 635 45 126 50
1FSW-24-48X8 1.1/2” 48X8 48
1FSW-24-50X8 1.1/2” 50X8 50
1FSW-32-60X8 2 60X8 204 60 126 55
1FSW-32-60X10 27 60X10 60

www.fukefitting.com




Product description

SAE ;A= SAE FLANGE

TRAZREVHERAS | 1929/130

Ningbo Fuke Hydraulic Machinery Co., Ltd.

-
ha - +— |0 1FSW-PM
N YA H 4% &5
SAE %= /125 %
5 A Oxt /st DIMENSION JE 2
PART NO. FLANGE SIZE d1 D | I L MPa
3000PSI
1FLW-08-16X2PM 1/2 16X2 30.2 16 68 1
1FLW-08-20X2.5PM 112”7 20X2.5 20
1FLW-12-25X3PM 3/4” 25X3 38.1 25 6.8 50
1FLW-16-25X3PM 1” 25X3 25 34.5
1FLW-16-28X3PM 17 28X 2
Cad i ) 44 .4 & 8 50
1FLW-16-30X4PM 1” 30X4 30
1FLW-16-38X5PM 1” 38X5 38
1FLW-20-25X3PM 1.1/14” 25X3 25
1FLW-20-30X4PM 1.1/4” 30X4 30 27.6
50.8 8 55
1FLW-20-38X5PM 1.1/4” 38X5 38
1FLW-20-42X6PM 1.1/4” 42X6 42
1FLW-24-38X4PM 1.1/2” 38X4 38
1FLW-24-42X5PM 1.1/2 42X5 603 42 s 57
1FLW-24-45X5PM 1.1/2” 45X5 45 20.7
1FLW-24-50X6PM 1.1/2” 50X6 50 ’
1FLW-32-55X5PM 2 55X5 714 55 96 57
1FLW-32-60X8PM 2”7 60X8 60
1FLW-40-65X6PM 2.1/2 65X6 84.1 65 96 58 172
1FLW-40-70X7.5PM 2.1/2” 70X7.5 70
1FLW-48-80X6PM ” X
8-80X6 3 80X6 101.6 80 9.6 58 13.8
1FLW-48-90X8PM 3” 90X8 90
6000PSI
1FSW-08-16X2PM 1/2 16X2 317 16 78 34
1FSW-08-20X2.5PM 1127 20X2.5 20
1FSW-12-16X2PM 3/4” 16X2 16
1FSW-12-20X2.5PM 3/4” 20X2.5 41.3 20 8.8 38
1FSW-12-25X4PM 3/4” 25X4 25
1FSW-16-25X3PM 1” 25X3 25
1FSW-16-30X4PM 17 30X4 47.6 30 9.5 40
1FSW-16-38X5PM 1” 38X5 38
1FSW-20-25X3PM 1.1/4” 25X3 25 40
1FSW-20-30X4PM 1.1/14” 30X4 30
54 10.3 45
1FSW-20-38X5PM 1.1/4” 38X5 38
1FSW-20-42X6PM 1.1/14” 42X6 42
1FSW-24-38X5PM 1.1/2” 38X5 38
1FSW-24-45X6.5PM 1.1/27 45X6.5 45
63.5 12.6 50
1FSW-24-48X8PM 1.1/2” 48X8 48
1FSW-24-50X8PM 1.1/2”7 50X8 50
1FSW-32-60X8PM 2”7 X
SHI2se0Re GUAE 79.4 60 12.6 58
1FSW-32-60X10PM 27 60X10 60

www.fukefitting.com



1148

GULKE ran

SAE 2= SAE FLANGE

L=

FL
FS

SAE X A=k
SAE SPLIT FLANGE CLAMP

R % B JU_~} DIMENSIONS ACH | IR
PART NO.  |FLANGE SIZE Al B d] n| M| N| BB | v
3000PS|

FL-08 1/2" 54 [456 | 9 [ 62 [381]17.5 [ Mmsx2s
FL-12 3/4" 65 | 51.8 | 11 [ 6.2 | 47.6 | 22.2 [M10x30| 345
FL-16 1" 70 [ 584 | 11 [ 7.5 | 524 [ 26.2 [M10x30
FL-20 1.1/4" 79 [ 726 | 11 [ 7.5 | 58.7 [ 30.2 [M10x30] 27.6
FL-24 1.1/2" 94 [822 (135 | 7.5 | 69.9 | 357 [M12X35] .
FL-32 2" 102 [ 96.4 [ 135 | 9 [77.8] 429 [m12x35
FL-40 2.1/2" 114 [108.2] 135 | 9 [ 889 | 508 [m12x40] 17.2
FL-48 3" 135 [1306] 175 | 9 [106.4] 61.9 [m16x50] 13.8
6000PS|
FS-08 172" 56 [472| 9 [ 7.2 [405 [ 182 | M8x30
FS-12 3/4" 71 | 60 | 11 [ 82 [ 508 [ 23.8 [M10x35
FS-16 1" 81 | 696 | 135 | o |57.2|27.8 [M12x45]
FS-20 1.1/4" 95 [ 772135 [ 9.8 | 66.6 | 31.8 [M12x45
FS-24 1.1/2" 113 | 95 [ 175 | 12 | 79.3 | 36.5 [M16X55
FS-32 2" 133 [113.8] 22 | 12 [ 96.8 | 44.5 [M20x70

www.fukefitting.com




. . [—N N 2 \E
Product description i s ot | 1317132
S 22
SAE 72= SAE FLANGE

B

N

o FL-W

RS, FS-W

: =

N SAE JE=3%
g SAE FLANGE CLAMP
1K= E2RG JU ~ DIMENSIONS B | IS5
PART NO. |FLANGE SIZE Al B | d | n | M| N | & | MPa
3000PS|
FL-08W 1/2" 54 [ 456 | 9 | 62 | 381 | 17.5 | M8X25
FL-12W 3/4" 65 | 51.8 | 11 | 6.2 | 476 | 22.2 [M10X30| 34.5
FL-16W 1" 70 [ 584 | 11 | 75 | 524 | 26.2 [M10X30
FL-20W 1.1/4" 79 [ 726 | 11 | 75 | 58.7 | 30.2 [M10X30| 27.6
FL-24W 1.1/2" 94 | 822 | 135 | 75 | 699 | 357 [M12X35 , .
FL-32W 2" 102 | 964 | 135 | 9 | 77.8 | 429 |[M12X35 '
FL-40W 2.1/2" 114 | 1082 | 135 | 9 | 889 | 50.8 |M12x40| 17.2
FL-48W 3" 135 | 1306 | 16.75 | 9 | 1064 | 61.9 |M16X50] 13.8
6000PS|

FS-08W 1/2" 56 [ 472 | 9 | 72 | 405 | 18.2 | M8X30
FS-12W 3/4" 71 | 60 | 11 | 82 | 50.8 | 23.8 [M10X35
FS-16W 1" 81 | 699 | 135 | 9 | 57.2 | 27.8 [M12xd5|
FS-20W 1.1/4" 95 [ 772 | 135 | 9.8 | 66.6 | 31.8 [M12X45
FS-24W 1.1/2" 113 | 95 | 175 | 12 [ 793 | 365 |M16X55
FS-32W 2" 133 | 1138 | 22 | 12 [ 96.8 | 44.5 |M20X70

www.fukefitting.com



GUKE rzna

# PLUG

L
A
g 4BN-WD
& N _S1 -
L REIMRYISBBEEH AN AL
BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG
= 2 2r THREAD ik # CAPTIVE ]~} DIMENSIONS
PART NO. E Eifi A L S1
4BN-02WD G1/8"X28 WD-B02 8 12.3 5
4BN-04WD G1/4"X19 WD-B04 12 | 17.3 6
4BN-06WD G3/8"X19 WD-B06 12 | 17.3 8
4BN-08WD G1/2"X14 WD-B08 14 | 193 | 10
4BN-12WD G3/4"X14 WD-B12 16 | 21.3 | 12
4BN-16WD G1"X11 WD-B16 16 | 228 | 17
4BN-20WD G1.1/4"X11 WD-B20 16 | 22.8 | 22
4BN-24WD G1.1/2"X11 WD-B24 16 | 228 | 24
L
A
§ 4MN-WD
S1
ul NV ABISMNBSR B 1tk
METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG
(AR 12 40 THREAD ik #  CAPTIVE JU <} DIMENSIONS
PART NO. E E i A L S1
4MN-10WD M10X1 WD-B02 8 123| 5
4MN-12WD M12X1.5 WD-M12 12 17.3| 6
4MN-14WD M14X1.5 WD-B04 12 17.3| 6
4MN-16WD M16X1.5 WD-M16 12 17.3| 8
4MN-18WD M18X1.5 WD-M18 12 17.3| 8
4MN-20WD M20X1.5 WD-M20 14 19.3| 10
4MN-22WD M22X1.5 WD-M22 14 19.3| 10
4MN-26WD M26X1.5 WD-B12 16 213 12
4MN-27WD M27X2 WD-B12 16 213 12
4MN-33WD M33X2 WD-B16 16 | 228 | 17
4MN-42WD M42X2 WD-B20 16 | 228 | 22
4MN-48WD M48X2 WD-B24 16 | 22.8 | 24

www.fukefitting.com



Product description

# % PLUG

TRADRENHARAS | 133/134

Ningbo Fuke Hydraulic Machinery Co., Lid.

L
A
N
- 40N
S1
L _ SAE M2 A7~ gk
SAE O-RING BOSS HOLLOW HEX PLUG
A= 12 2r THREAD O ¥ e O-RING R ~F DIMENSIONS
PART NO. E E i A L S1
40N-04 716" X20 8.92X1.83 9.1 1.5 5
40N-05 1/2"X20 10.52X1.83 9.1 11.5 5
40ON-06 9/16"X18 11.89X1.98 99 12.2 6
40N-08 3/4"X16 16.36X2.21 111 14.3 8
40N-10 7/8"X14 19.18X2.46 12.7 16 10
40N-12 1.116"X12 23.47X2.95 151 19 14
40N-16 1.516"X12 29.74X2.95 15.1 19 16
40N-20 1.5/8"X12 37.46X3.00 151 19 19
E
S1
4NN
EHREEIMEL A AL
NPT MALE HOLLOW HEX PLUG
N
L
"= 2 2 THREAD <) DIMENSIONS
PART NO. E L S1
4NN-02 Z1/8"X27 8 5
4NN-04 Z1/4"X18 10 6
4NN-06 73/8"X18 12 8
4NN-08 Z1/2"X14 15 10
4NN-12 Z3/4"X14 16 12
4NN-16 Z1"X11 5 18 17

www.fukefitting.com



GUKE rzna

#sk PLUG

L

( S1

4TN-GM
WEEIMEN A ABE L
| BSPT MALE HOLLOW HEX
=
= 1 4 THREAD R} DIMENSIONS

PART NO. E L S1
4TN-02GM R1/8"X28 8 5
4TN-04GM R1/4"X19 9
4TN-06GM R3/8"X19 10
4TN-08GM R1/2"X14 12 10
4TN-12GM R3/4"X14 12 12
4TN-16GM R1"X11 17 17

www.fukefitting.com



Product description TEBRREANEEAS | 135/136

Ningbo Fuke Hydraulic Machinery Co., Lid.

MEFESL PRESSURE MEASURING JOINT

SMZL:BSSP, Al

M16x2 M16x2 62 _ oS XD1 -
L L ‘ ‘ i’ Y]
- ™ S |9
i | ©v
! o] o
== Ve i | vy
] 5 P EEa S ’ 5 i ] -
= | e | £
— S2 QE ™
| : ' A
s1 : st ; st ‘ |
— ] : | N T \
X1) 1] - x2) : - x2)’ [ 3
- o m ' /A B0 AR
X . A X1 E.B o1 E.C |
m— M16x2 M16x2
| 1
£ b b hr
é = = f S2
: \
St st : s1
‘ T T
S S i ~
X1) . X3) | \ ‘ X3) ‘ y
. \ w X1) ORI
Iso 6149 T1 T1 5 X2) Bt
XD1 B.F XD1 E.D o1 E.E X3) € B HEH
g= T1EE 7 (bar) DF**
T D1 L1 L2 S1 S2 . =/ iT&RS* CF 71 CF 71
M8x1 9.5 38.5 7.5 17 A 66 EMA3/8X10R 250 4.0
M10x1 11.5 37.0 7.5 17 A 70 EMA3/10X10R 630 630 4.0 4
M14x1.5 18.8 39.5 11.0 19 F 79 EMA3/14X1.51SO 630 630 4.0 4
M10x1 14.0 40.0 8.0 17 D 67 EMA3/10X1 400 4.0
M12x1.5 17.0 38.0 12.0 17 D 74 EMA3/12X1.5 400 4.0
M14x1.5 19.0 39.0 12.0 19 D 78 EMA3/14X1.5 400 4.0
M16x1.5 21.0 40.0 12.0 22 D 90 EMA3/16X1.5 400 4.0
G1/8 14.0 37.5 8.0 17 D 70 EMA3/1/8 400 4.0
G1/4 18.0 39.0 12.0 19 D 77 EMA3/1/4 400 4.0
G3/8 22.0 40.5 12.0 22 D 91 EMAZ3/3/8 400 4.0
G1/2 26.0 46.0 14.0 27 17 E 137 EMA3/1/2 400 3.4
G1/8 14.0 375 8.0 17 B 72 EMAZ3/1/8ED 400 400 4.0 4
G1/4 19.0 39.0 12.0 19 B 76 EMA3/1/4ED 630 630 4.0 4
G3/8 22.0 40.5 12.0 22 B 93 EMA3/3/8ED 630 630 4.0 4
M10x1 14.0 40.0 8.0 17 B 71 EMA3/10X1ED 400 400 4.0 4
M12x1.5 17.0 38.0 12.0 17 B 72 EMA3/12X1.5ED 630 630 4.0 4
M14x1.5 19.0 39.0 12.0 19 B 77 EMA3/14X1.5ED 400 400 4.0 4
G112 270 | 460 | 140 | 27 17 C 135 EMA3/1/2ED 400 | 400 | 40 4
**DF = i&it R
TRSRS
[7E s FEALIE w5l FRAEZ IR
B
IHIRIE S
HEAIER BRiW, FTNINEREEE CF EMA3/10X100RCF NBR
HREEmMER | A5 71 EMA3/10X100R71 | VIT

www.fukefitting.com



G LKE

,'.I!l:

miT 48

MEFESL PRESSURE MEASURING JOINT

24°HEREEE IR B 1R

M16x2

N

29,5

M16x2

- O
T 7z |
1" I S2
S2
X1)
X1)
z S1
S1
=== N
el el
I N NN\ \ r =T R N
=T > S H— [ _Xs]
D1 XD1
N T1
B .A X1) OZ[E] #. B
= TIfEIEH (bar) DF**
E2 D1 T1 L1 S1 S2 . /% iTHRS* CF 71 CF 71
L 06 M12x1.5 55 14 17 A 82 VKA3/06L 315 315 4 4
08 M14x1.5 51 17 17 A 82 VKA3/08L 315 315 4 4
10 M16x1.5 53 19 17 A 93 VKA3/10L 315 315 4 4
12 M18x1.5 53 22 17 A 107 VKA3/12L 315 315 4 4
15 M22x1.5 59 27 17 B 133 VKA3/15L 315 315 4 4
18 M26x1.5 59 32 17 B 163 VKA3/18L 315 315 4 4
22 M30x2 60 36 17 B 205 VKA3/22L 160 160 4 4
28 M36x2 64 41 17 B 269 VKA3/28L 160 160 4 4
35 M45x2 71 50 17 B 411 VKA3/35L 160 160 4 4
42 M52x2 72 60 17 B 592 VKA3/42L 160 160 4 4
S 06 M14x1.5 50 17 17 A 81 VKA3/06S 630 630 4 4
08 M16x1.5 52 19 17 A 88 VKA3/08S 630 630 4 4
10 M18x1.5 53 22 17 A 99 VKA3/10S 630 630 4 4
12 M20x1.5 54 24 19 A 121 VKA3/12S 630 630 4 4
14 M22x1.5 59 27 17 B 136 VKA3/14S 630 630 4 4
16 M24x1.5 58 30 17 B 156 VKA3/16S 400 400 4 4
20 M30x2 65 36 17 B 223 VKA3/20S 400 400 4 4
25 M36x2 68 46 17 B 367 VKA3/25S 400 400 4 4
30 M42x2 74 50 17 B 444 VKA3/30S 400 400 4 4
38 M52x2 81 60 17 B 655 VKA3/38S 315 315 4 4
**DF = i8It R&H
ITRSESR
[7E) FEALIE A5l FRAEZ T
RAR
= B4,
%ﬁlﬁzgﬁ TGRS CF VKA3/06LCF NBR
MHRERMES | FHW 71 VKA3/06L71 VIT

www.fukefitting.com




Product description

SMA RFIMAERE

TREFZREHERAS | 137/138

Ningbo Fuke Hydraulic Machinery Co., Ltd

BS EiEELER HELHA REBE
MM
SMA3-XXX* M16X2 RHR4L M16X2 K484 2
SMA4-XXX M16X2 A 42 4L DKOP4Z24IM14X1.5 2
SMA5-XXX M16X2 A 4240 DKOMA424IM16X1.5 2
SMAB-XXX M16X2 424 G1/4MHRLL 2
SMA7-XXX DKO M2 M14X1.5 G1/4 HEEL 2
SMAB8-XXX DKOM#24IM16X1.5 G1/4M4E5L 2
SMA9-XXX DKOPIZ24IM14X1.5 DKOP4Z24IM14X1.5 2
SMA10-XXX DKOMA424IM16X1.5 DKOMA424IM16X1.5 2

XXX FAKE (mm), ATRIERIR R EWE .

www.fukefitting.com



GUK E =214

R SHUTTLE VALVE

A R — D EHRERIFCR RN BaieiigE T
B, BIRNAHARNANON— DL O, | & 2 5 R 1E
MBEEDBRHLREEROASBS CEE, BIEI NG
K EH AR — MO,

MEMREBE: RPN E,REFREE

(720/M B EEEE)

ETH YRR EDRIE (BN BIRE
ERigH)
BEEE:-40%CE+120°C
AIFtRE:lem® 9 5h

REES IR ER!

www.fukefitting.com



Product description TEERAENERAS | 139/140

Ningbo Fuke Hydraulic Machinery Co., Ltd.

B [g][%] ONE-WAY VALVE

=
OPLII

FRINBEH K

www.fukefitting.com



GULIKE ransz

RHD/VIZ JIC X ORFS Ei[g)§] ONE-WAY VALVE

BSPPi24L /_ ~ P
EDRIE 5 JC
\ / 37Oz
\ Yz / \
~ ~ .~  ORFs
HEEE
UNFig4g S Ny
onE / \
\ )
~ _/ =
o UNFig4
ORFS 7 ™~ ORE
iy [ 2 ‘ -
/ N )
— N f
\ = \ /
i 3 7 1T\~
Jic ‘ . BSPP/MIZ4L
sreyos [ i / \ EDR %5
T A
B
\ W \ N\
FEn
~ _/ JETES _/
A [A) iR B2 AL iR = am SE
B RiEEHIEAL20BAR: &im:
- FImiRE RHD - EFSEEE 160 BAR Wv
-E5HmO: RHV/RHZ -HBERFMIAESDT205H /559
- PR IR AGERE | RHDI
- HEE: RVP
- s I-TL
- EROWREADTLUE/ 9%

www.fukefitting.com




Product description TERBTREAEEAE | 141/142

Ningbo Fuke Hydraulic Machinery Co., Lid.

RHD/V/Z i [5)f§] ONE-WAY VALVE

w Z
<4
| l @)
{ gV
\ o
B \Q%
5 4 3 2 1 6
| | T 1. HEMRS
2: BEIR
| | 3 IR
4: WE
5. BRIBiREE
Y il 6: EDAIE{[E
l I l I o DN = @& (mm)
RHD RHV RHZ
LETL . TEME, TEVR A BIRE.
B0 HBEMABM RN EH RS ERERS IS (BAZE3 barFBEAN)
H. ASABREEENM, BELABE, ke, EF ° $i(CuZn35Ni2, ##152.0540),
K, MIARERESES. #HENEXTRIEAREI8K/FD H AN ERLEHI AT IR 1E1.457 1 N E54M.
(BSREMZHEIRE) . RHVERHZE O E =54 (B AZ 3 bar FREH)
EDZEI .
FEEjJ N &:

FREFRIESN A1 bar (MMFEFBESN 02,05,2,3,4,5,6  iFEH.

bar , AIFEITHEM4FAER) FREARFE £20%RE AFEHSSHEIRA.

1. FERTER ZMSBRSERES.
FTKE, BRSIRERARANZFHIA.

ESE

[ ]

TN &SR (CF), BHM B T BRI EE JSAE.

www.fukefitting.com



HBE PR EIMZ 06L/06+08S; #484;
BEIP9E4L 1/8, 1/4; RVP 13; DN 3.5
3..
/
!
/
2 ///
/
//
N
0
05 10 15 20 25 30 35 40 45 50
HRE I/min
[— tbar FEIHESH |
ENBE BT 8L/10S; g4,
RVP 16; DN 5.5
3_
.--—“"’f
L1
2 ___a-'-"'"‘"'—-—#
L]
//
1
0
3 4 5 6 7 8 9 10 11 12
& I/min
[— 1bar ARIMEES |
ENBE EIMZ 10L/12S; #ig4;
F§IPMI2E4L 3/8; RVP 20; DN 7.5
3_
/"'--—-—
//
2 ——
//
a"'/
1
0
2 4 6 8 10 12 14 16 18 20
e I/min
[— 1bar FEIHEES |

www.fukefitting.com

FiABERPRITHRBIEEHSM/E



Product description

TR RENMAERAS) ‘ ]43/" 44

Ningbo Fuke Hydraulic Machinery Co., Lid.

EHPE EHME 12L/14S; $1488; RVP 24; DN 9.5

3_.
/
/
/
2 ]
//
1
0
5 10 15 20 25 30 35
BRE I/min
[— Tbar FEIHEES |
EHE EIMZ 15L/16S; MES;
SRS 1/2; RVP 27; DN 11.5
4
3 ——
//
»-"“"—‘
1 —
0
5 10 15 20 25 30 35 40 45 50
RE I/min
[— 1bar ARIIEES |
ENE EIMT 18LI20S; HHES;
%I ABE4L 3/4; RVP 35; DN 15.0
4 -
3 e
-—-//
2 _..--"’/'—F-‘
—-‘""—’—f—-
1
0
10 20 30 40 50 60 70 80 90

RE I/min
[— 1bar ARIEES |

FiAERPRIFIREEERSM/E

www.fukefitting.com



ENBE EIMZ 22L/258; Htg16;
HEHIPISELL 1; RVP 40; DN 19

3_
2,5
15
1
0,5
0
20 40 60 80 100 120 140
#RE I/min
[— t1bar AEIHEES |
ENFE &EHMZ 28LI30S; #1#516;
SE$IP24L 11/4; RVP 47; DN 24
3_
25 e
!2 _-"—-'-___‘_,-
|1
15 ———=—
1
0,5
0 .
20 40 60 80 100 120 140 160 180 200 220
HE I/min
[— 1bar FRIHES |
E D SHMZ 35+42L/38S; #1516;
SHIPILELL 11/2; RVP 55; DN 29
3_
25 — —
2 ]
1,5 —t""]
1 +——
05
0 s
o O O O O O O O 0O O O O 0O O O O
N 9§ © 0 O N ¢ © 00 O N < © ©© O N
™ v v = +— SN N N N N O M
HRE I/min
[— t1bar FEIHESN |

www.fukefitting.com

FiAERPRITHRBIEEDSm/E



. ° e e E 3 INS
Product description e BEIEIRAT 1 145/146
B[]l ONE-WAY VALVE
EO 24°%/EO 24°
s2 s1
\ S3
B VI 1 Y WO
5 | = | b 5 1 | e 1 .
S I °¢ SIN 5
by
- O\ _4L3 Q
A
L2
L1
D1 T1EE A (bar)
CF 71 CF 71 CF 71 =
EX ] ~ DN DN L1 L1 L2 L3 S1 S2 S2 S3 /14 TS CF 71
06 4 4 52 52 39 68 22 27 27 14 46 RHDO6LOMD 400 250
08 6 6 52 52 39 68 22 27 27 17 61 RHDOSLOMD 400 250
10 8 8 52 52 39 68 22 27 27 19 104 RHD10LOMD 400 250
12 8 8 53 53 40 69 22 27 27 22 166 RHD12LOMD 400 250
L 15 11 11 57 57 43 72.5 27 32 32 27 192 RHD15LOMD 400 250
18 11 11 63 63 47.5 79.5 27 32 32 32 292 RHD18LOMD 400 160
22 19 19 75 75 595 | 91.5 41 46 46 36 472 RHD22LOMD 250 160
28 20 20 81 81 65.5 | 98.5 41 46 46 41 746 RHD28LOMD 250 100
35 29 29 92 92 70.5 113.5| 60 70 70 50 1062 RHD35LOMD 250 100
42 29 29 88 88 66 111.0| 60 70 70 60 1518 RHD42LOMD 250 100
06 4 4 56 56 42 71 22 27 27 17 70 RHD06SOMD | 420 400
08 5 5 56 56 42 71 22 27 27 19 74 RHD08SOMD 420 400
10 7 7 54 54 39 71 22 27 27 22 121 RHD10SOMD 420 400
12 7 7 55 55 40 72.5 22 27 27 24 148 RHD12SOMD 420 400
S 14 10 10 61 61 44.5 79.5 27 32 32 27 218 RHD14SOMD 420 315
16 1 11 65 65 475 | 83.5 27 32 32 30 286 RHD16SOMD 420 315
20 16 16 79 79 57.5 | 100.5| 41 46 46 36 506 RHD20SOMD | 420 250
25 20 20 81 81 56.5 104.5| 41 46 46 46 639 RHD25SOMD 420 250
30 24 24 91 91 63.5 119.5| 50 55 55 50 1157 RHD30SOMD 250 250
38 29 29 99 99 66.5 127.5| 60 70 70 60 1650 RHD38SOMD 250 250
ITRSR%
LYt REAIE A5 FREZEMR
Rttid
. TR,
LSRN [P TN CF RHDOSLOMDCF | NBR
FELER
Wil E 71 RHDOGLOMD71 | VIT

www.fukefitting.com




GUK E manaz

Era)d ONE-WAY VALVE

RHV-R-ED
EO 24°4/5< | PHIR L BSPP-ED % £ (1ISO1179)
s2 St
—— N
) S3
S as
a [3e)
e —1ae 8 D
NN\ L4
‘A ~X1)
L2 L3
X1) EDE L1
D1 TAEE 71 (bar)
@ CF | 71 CF | 7 CF | 71 g
#5 || T |DN|DN|D3|L1|L1|L2|L3|L4|sS1|sS2]|s2]|8s3|=/# THS CF | 71

06 | G1/8A | 4 4 14 |43 |43 | 36 8 |505| 22| 27 | 27 | 14 47 RHVO6LREDOMD | 400 | 250
08 | G1/4A | 6 6 19 |42 |42 |35 12 | 495 22| 27 | 27 | 17 62 RHVOSLREDOMD | 400 | 250
L 10 | G1/4A | 6 6 19 |42 |42 |35 12 495 22| 27 | 27 | 19 105 RHV10LREDOMD | 400 | 250
12 | G3/8A | 7 7 22 |46 |46 |385| 12 |53 22 | 27 | 27 | 22 175 RHV12LREDOMD | 400 | 250
15 | G1/2A | 1 11 27 |48 |48 |40.5| 14 |5855| 27 | 32 | 32 | 27 205 RHV15LREDOMD | 400 | 250
18 | G12A | 11 11 27 |51 |51 |435| 14 |59 27 | 32| 32 | 32 294 RHV18LREDOMD | 400 | 160
22 | G3/4A | 17 | 17 | 32 |61 |61 53.5| 16 |69 41 | 46 | 46 | 36 450 RHV22LREDOMD | 250 | 160
28 G1A | 20 | 20 | 40 |68 |68 |61 18 | 77.5| 41| 46 | 46 | 41 720 RHV28LREDOMD | 250 | 100
35 [G11/4A| 29 | 29 | 50 | 775|775 67.5| 20 |88 60 | 70 | 70 | 50 1050 | RHV35LREDOMD | 250 | 100
42 [G11/2A[ 29 | 29 | 55 |74 |74 |63 22 | 85 60 | 70 | 70 | 60 1560 | RHV42LREDOMD | 250 | 100
06 | G1/4A | 4 4 19 | 44 |44 |37 12 | 515 22 | 27 | 27 | 17 73 RHVO6SREDOMD | 420 | 400
08 | G1/4A | 5 5 19 |42 |42 |35 12 | 50 22 | 27 | 27 | 19 79 RHV0O8SREDOMD | 420 | 400
s 10 | G3/8A | 7 7 22 | 46.5[46.5| 39 12 | 53 22 | 27 | 27 | 22 132 RHV10SREDOMD | 420 | 400
12 | G3/8A | 7 7 22 |47 |47 | 395| 12 |5835| 22 | 27 | 27 | 24 153 RHV12SREDOMD | 420 | 400
14 | G12A | 11 11 27 |50 [50 |42 14 |59 27 | 32 | 32 | 27 230 RHV14SREDOMD | 420 | 315
16 | G1/2A | 11 1" 27 |53 |53 |445| 14 |62 27 | 32| 32 | 30 293 RHV16SREDOMD | 420 | 315
20 | G34A | 16 | 16 | 32 | 63 |63 |525| 16 |74 41| 46 | 46 | 36 511 RHV20SREDOMD | 420 | 250
25 G1A | 20 | 20 | 40 |65 |65 |53 18 | 77 41 | 46 | 46 | 46 648 RHV25SREDOMD | 420 | 250
30 [G11/4A| 24 | 24 | 50 | 73.5|73.5| 60 20 | 86.5| 50 | 55 | 55 | 50 1176 | RHV30SREDOMD | 250 | 250
38 [G11/2A| 29 | 29 | 55 | 81.5|81.5|655| 22 | 96 60 | 70 | 70 | 60 1624 | RHV38SREDOMD | 250 | 250

ITRSREE
#Hl REAE =~ FREE SR
Rtsl
- BN,
%%Eiﬁiﬁ TN EEESE CF RHVO6LREDOMDCF NBR
RIS 4. TR 71 RHVO6LREDOMD71 VIT

www.fukefitting.com



Product description TEBRREAEERAS | 147/148

Ningbo Fuke Hydraulic Machinery Co., Ltd.

Era)d ONE-WAY VALVE

RHZ-R-ED
4 FRIZS BSPP-ED %41 (1ISO1179)/EO 24°4

S2 S1
S3 -~
ﬂ: o
- 8
8-z [ <= |_ l o) _
) QO I Q
L4
X1)
L3 L2
X1) EDZ%1[E L1
D1 TAEE 7 (bar)
CF | 71 CF 71 CF 71 =
£y I~ T1 DN | DN | D3 L1 L1 L2 L3 L4 S1 S2 S2 | S3 /1% T8RS CF 71

06 | G1/8A | 4 4 14 | 43 |43 |36 8 |505| 22| 27 | 27 | 14 47 RHZ06LREDOMD | 400 | 250
08 | G14A | 6 6 19 |42 |42 |35 12 | 495 22 | 27 | 27 | 17 62 RHZ0BLREDOMD | 400 | 250
L 10 | G1/4A | 6 6 19 |42 |42 |35 12 | 495 22| 27 | 27 | 19 105 RHZ10LREDOMD | 400 | 250
12 | G3/8A | 7 7 22 |46 |46 |385| 12 |53 22 | 27 | 27 | 22 175 RHZ12LREDOMD | 400 | 250
15 | G1/2A | 11 11 27 |48 |48 |405| 14 |556.5| 27 | 32 | 32 | 27 205 RHZ15LREDOMD | 400 | 250
18 | G12A | 1 " 27 | 51 | 51 43.5| 14 |59 27 | 32 | 32 | 32 294 RHZ18LREDOMD | 400 | 160
22 | G3M4A | 17 | 17 | 32 |61 |61 53.5| 16 |69 41| 46 | 46 | 36 450 RHZ22LREDOMD | 250 | 160
28 G1A | 20 | 20 | 40 |68 |68 |61 18 | 77.5| 41| 46 | 46 | 41 720 RHZ28LREDOMD | 250 | 100
35 |G11/4A1 29 | 29 | 50 | 77.5|77.5|67.5| 20 |88 60 | 70 | 70 | 50 1050 | RHZ35LREDOMD | 250 | 100
42 [G11/2A| 29 | 29 | 55 |74 |74 |63 22 |85 60 | 70 | 70 | 60 1560 | RHZ42LREDOMD | 250 | 100

06 | G1/4A | 4 4 19 |44 |44 |37 12 | 515 22| 27 | 27 | 17 73 RHZ06SREDOMD | 420 | 400
08 | G1/4A | 5 5 19 |42 |42 |35 12 |50 22 | 27 | 27 | 19 79 RHZ08SREDOMD | 420 | 400
s 10 | G3/8A | 7 7 22 | 46.5|46.5| 39 12 |53 22 | 27 | 27 | 22 132 RHZ10SREDOMD | 420 | 400
12 | G3/8A | 7 7 22 | 47 |47 |39.5| 12 |563.5| 22 | 27 | 27 | 24 153 RHZ12SREDOMD | 420 | 400
14 | G12A | 11 11 27 |50 |50 |42 14 [ 59 27 | 32 | 32 | 27 230 RHZ14SREDOMD | 420 | 315
16 | G12A | 11 11 27 |53 |53 |445| 14 |62 27 | 32 | 32 | 30 293 RHZ16SREDOMD | 420 | 315
20 | G3/4A | 16 | 16 | 32 |63 |63 |525| 16 |74 41 | 46 | 46 | 36 511 RHZ20SREDOMD | 420 | 250
25 G1A | 20 | 20 | 40 |65 |65 |53 18 |77 41 | 46 | 46 | 46 648 RHZ25SREDOMD | 420 | 250
30 |G11/4A| 24 | 24 | 50 | 73.5|73.5| 60 20 | 86.5| 50 | 55 | 55 | 50 1176 | RHZ30SREDOMD | 250 | 250
38 |G11/2A| 29 | 29 | 55 | 81.5|81.5|655| 22 |96 60 | 70 | 70 | 60 1624 | RHZ38SREDOMD | 250 | 250

TSR
[z REALE Gl FRAEB SR
Rttt
e M,
% ﬁt;ﬂ;*ﬁ TAM e CF RHZOSLREDOMDCF | NBR
WEmEs. | TBH 71 RHZOBLREDOMD71 | VIT

www.fukefitting.com



GUKE rzna

Eara) ONE-WAY VALVE

RHV-M-ED
EO 24°4/4 ) FRERL-ED % £ (1S0997)

S2 S1
AN
: A\
5 S3
st, L ]
EL b i z|~|8 e _ B
Q NV [ay Q
e S—
L4
~X1)
L2 L3
X1) ED¥% £ L1
D1 [TAEE 71 (bar)
CF | 71 CF | 71 CF | 71 =
] T DN | DN | D3 | L1 L1 L2 L3 L4 | S1 S2 | S2 | S3 | =/ iTHS CF | 71

06 [M 10x1 4 4 06 |43 [43 |36 06 |50.5| 22 |27 | 27 | 14 | 46 RHVO6LMEDOMD | 400 | 250
08 [M12x1.5| 6 6 08 |42 |42 |35 08 |495| 22 |27 | 27 | 17 | 58 RHV0OSLMEDOMD | 400 | 250
L 10 |M14x1.5| 6 6 10 (42 |42 |35 10 [495| 22 | 27 | 27 | 19 | 108 RHV10LMEDOMD | 400 | 250
12 M 16x1.5| 7 7 12 |46 |46 |385| 12 |53 22 | 27 | 27 | 22 | 173 RHV12LMEDOMD | 400 | 250
15 M 18x1.5| 11 11 15 |48 |48 |405| 15 |5655] 27 | 32 | 32 | 27 | 192 RHV15LMEDOMD | 400 | 250
18 [M22x1.5| 11 " 18 |51 |51 |435| 18 |59 27 | 32 | 32 | 32 | 298 RHV18LMEDOMD | 400 | 160
22 |M26x1.5| 17 | 17 | 22 |61 |61 |53.5| 22 |69 41 | 46 | 46 | 36 | 446 RHV22LMEDOMD | 250 | 160
28 |M33x2 20 | 20 | 28 |68 |68 |61 28 | 77.5| 41 | 46 | 46 | M 722 RHV28LMEDOMD | 250 | 100
35 |M42x2 29 |29 | 35 |775|775|675| 35 |88 60 | 70 | 70 | 50 | 1053 | RHV35LMEDOMD | 250 | 100
42 |M48x2 29 |29 |42 |74 |74 |63 42 | 85 60 | 70 | 70 | 60 | 1563 | RHV42LMEDOMD | 250 | 100
06 [M12x1.5( 4 4 06 |45 |45 |38 06 |525| 22 |27 |27 | 17 | 70 RHV06SMEDOMD | 420 | 400
08 |[M14x1.5| 5 5 08 |42 |42 |35 08 |50 22 | 27 |27 | 19 | 76 RHV08SMEDOMD | 420 | 400
s 10 |M16x1.5| 7 7 10 |46.5|46.5| 39 10 |53 22 | 27 | 27 | 22 | 124 RHV10SMEDOMD | 420 | 400
12 M 18x1.5| 7 7 12 |47 |47 [395| 12 |535| 22 | 27 | 27 | 24 | 157 RHV12SMEDOMD | 420 | 400
14 |M20x1.5| 11 11 15 |50 |50 |42 15 |59 27 | 32 | 32 | 27 | 215 RHV14SMEDOMD | 420 | 315
16 |M22x1.5| 11 11 18 |53 |53 |445| 18 |62 27 | 32 | 32 | 30 | 296 RHV16SMEDOMD | 420 | 315
20 |M27x2 16 | 16 | 22 |63 |63 |525| 22 |74 41 | 46 | 46 | 36 | 521 RHV20SMEDOMD | 420 | 250
25 (M 33x2 20 | 20 | 28 |65 |65 |53 28 |77 41 | 46 | 46 | 46 | 648 RHV25SMEDOMD | 420 | 250
30 |M42x2 24 | 24 | 35 |73.5|73.5|60 35 | 86.5| 50 | 55 | 55 | 50 | 1178 | RHV30SMEDOMD| 250 | 250
38 |M48x2 29 | 29 | 42 | 81.5|815|65.5| 42 | 96 60 | 70 | 70 | 60 | 1627 | RHV38SMEDOMD| 250 | 250

ITHRSESR
i FEALIE G| TR R
BATR
o )
%é;iiéﬁ TN iBESE CF RHVO6LMEDOMDCF NBR
HEERIER. TR 71 RHVO06LMEDOMD71 VIT

www.fukefitting.com



] 3 ﬁ:&% }*—i B /\E
Product description e ERR 2 1149/150
B [q)§] ONE-WAY VALVE
2N SMBE-EDEE (1SO997)/EO 24°4
S2 S1
=
S3
7: o
- S
8~z [ L= |_ o _
Q [l ] I Q
L4
X1)-
L3 L2
X1) EDE £ L1
D1 [TAEE 7 (bar)
CF | 71 CF | 71 CF | 71 =
EX] T DN | DN | D3 | L1 L1 L2 L3 L4 | S1 S2 | S2 | S3 | =/ iT5HS CF | 71
06 |M 10x1 4 4 06 |43 |43 |36 06 |505| 22 | 27 | 27 14 46 RHZ06LMEDOMD| 400 | 250
08 |[M12x1.5| 6 6 08 |42 |42 |35 08 |495| 22 | 27 | 27 17 58 RHZ08LMEDOMD| 400 | 250
L 10 |[M14x1.5| 6 6 10 (42 |42 |35 10 [49.5| 22 | 27 | 27 19 108 RHZ10LMEDOMD| 400 | 250
12 IM16x1.5| 7 7 12 |46 |46 |[38.5| 12 |53 22 | 27 | 27 | 22 173 RHZ12LMEDOMD| 400 | 250
15 M 18x1.5| 11 11 15 [48 |48 [40.5] 15 |[55.5] 27 32 32 27 192 RHZ15LMEDOMD| 400 | 250
18 [M22x1.5| 11 11 18 | 51 51 435 18 |59 27 | 32 | 32 | 32 | 298 RHZ18LMEDOMD| 400 | 160
22 |M26x1.5| 17 17 | 22 |61 61 53.5| 22 | 69 41 46 | 46 | 36 446 RHZ22LMEDOMD| 250 | 160
28 |M 33x2 20 | 20 | 28 |68 |68 |61 28 | 775 41 46 | 46 | M1 722 RHZ28LMEDOMD| 250 | 100
35 [M42x2 29 | 29 35 | 775|775|67.5| 35 |88 60 70 | 70 50 1053 RHZ35LMEDOMD| 250 | 100
42 M 48x2 29 [ 29 | 42 |74 74 |63 42 | 85 60 70 | 70 60 1563 RHZ42LMEDOMD| 250 | 100
06 |[M12x1.5| 4 4 06 |45 |45 |38 06 |525| 22 | 27 | 27 17 70 RHZ06SMEDOMD| 420 | 400
08 |[M14x1.5| 5 5 08 |42 |42 |35 08 | 50 22 | 27 | 27 19 76 RHZ08SMEDOMD| 420 | 400
s 10 |[M16x1.5| 7 7 10 [46.5|46.5| 39 10 |53 22 | 27 | 27 22 124 RHZ10SMEDOMD| 420 | 400
12 IM18x1.5| 7 7 12 (47 |47 |[39.5| 12 |583.5| 22 | 27 | 27 24 157 RHZ12SMEDOMD| 420 | 400
14 |M20x1.5| 11 11 15 |50 50 [42 15 [ 59 27 32 | 32 27 215 RHZ14SMEDOMD| 420 | 315
16 |M22x1.5| 11 11 18 |53 53 | 445| 18 |62 27 32 | 32 30 296 RHZ16SMEDOMD| 420 | 315
20 |M27x2 16 16 | 22 |63 |63 |525| 22 |74 41 46 | 46 36 521 RHZ20SMEDOMD| 420 | 250
25 [M 33x2 20 [ 20 | 28 |65 |65 |53 28 |77 41 46 | 46 | 46 648 RHZ25SMEDOMD| 420 | 250
30 |M42x2 24 | 24 35 | 73.5|73.5|60 35 | 86.5| 50 55 | 55 | 50 1178 RHZ30SMEDOMD| 250 | 250
38 [M48x2 29 | 29 | 42 | 81.5|81.5|655| 42 | 96 60 70 | 70 60 1627 RHZ38SMEDOMD| 250 | 250
ITHRSER
R FEALIE et FREE E R
Rarrt
. BN,
%ézgﬁ TN ERESE CF RHZ06LMEDOMDCF NBR
HERNESR. N3] 7 RHZ06LMEDOMD?71 VIT

www.fukefitting.com



GUKE rzna

21%) SHUTTLE VALVE

WV =i@2iE
EA, SNRMAFEOGENR, ZINIKENRINIERT, B3ng#EO2XH.
B RE SRR B E 24 M OB B B T R B 1EIE .

L1 L1
L2 L2
St
L3 L3
2 a
E E 1 b= / ‘ &
Q2 A - == Ll mBl—
| L =
ST 9 =
b *C
7 AW o TIB 7 E:
iR E: —40°C up to +120°C. Z B TIE 1. D1 > Ds = Dy %]
iR &EENPmax T &4 #1205 D, — D3 = Dy X
D1 TiEEA
£ (bar)
75 | ¥ T DN L1 L2 L3 S1 S2 B T8 S* CF
L 8 M 14x1.5 45 21 14 29 14 17 53 WV08LOMD 160
10 M 16x1.5 6.0 22 15 30 17 19 73 WV10LOMD 160
12 M 18x1.5 75 24 17 32 19 22 96 WV12LOMD 160
15 M 22x1.5 10.0 28 21 36 19 27 134 WV15LOMD 160
ITHRSRE%
#l FELE w15 bR E R
RrHy
*|HHR
§EE¥§ %iﬂhigiﬁi* CF WVOSLOMDCF | 4Rk
MRS, iR "

www.fukefitting.com




Product description

Bki® BALL VALVE

TRARBEHERAS | 157]/152

Ningbo Fuke Hydraulic Machinery Co., Ltd.

Bk LE 1A E
DNO04-25

DN32-DN50

— MR

— R EHER
— IE#EIR

— 1R

— B

— IR

— FHE

— B

_ BEEHE
DN32-50

— EfT 8

www.fukefitting.com



GUK E =214

Tk BALL VALVE

B

RN
DNO04-DN25
Ik
DN32-DN50
DN LW PN* L1 B H H1 H2 H4 sw M S
mm mm mm mm mm mm mm mm mm mm mm
4 5 500 37 26 434 32 12.8 11 9 M5 3
6 6 500 37 26 46.4 32 12.8 1 9 M5 3
8 8 500 37 26 434 32 12.8 1 9 M5 3
10 10 500 42 32 492 38 16.25  10.9 9 M5 3
13 13 500 482 35 51.2 40 1725  10.9 9 M5 3
16 15 500 47 38 61.9 46 187 155 12 M6 35
20 20 400 60 48 73.4 57 24.5 16 14 M6
25 24 350 65 57 76.6 60 26.5 16 14 M6 4
32 32 400 834 80 1044 854 395 185 17 M8 5
40 38 400 91 90 114 924 42 18.5 17 M8 5
50 475 400 100 111 129 110 52 18.5 17 M8 5

*ER I B A TAEE 1 B E A B R AR B RO HE Sk A0 JE W B RUARBRI@M RAER N TR (AR ZEE) BN TIEENSR TRERE.
FERAMERT T, BRBITEM
www.fukefitting.com



Product description R AT | 153/154
Tkik] BALL VALVE
TBER
BSP R124L BKR 04 xxxxx 4 5 G1/8 - 69 8 22 0.35
DIN/ISO228 BKR 06 xxxxx 6 6 G1/4 - 69 12 2 035
BKR 10 XXXXX 10 10 G3/8 - 73 12 27 0.5
BKR 13 xxxxx 13 13 G1/2 = 85 14 30 0.65
BKR 16 XXXXX 16 15 G1/2 - 84 14 32 0.75
BKR 20 xxxxx 20 20 G3/4 = 96 16 41 1.5
BKR 25 XXxxxx 25 24 G1 - 13 18 46 2
BKR 32 xxxxx 32 32 G11/4 - 110 20 60 3.2
BKR 40 xxxxx 40 38 G11/2 - 120 22 70 4
BKR 50 xxxxx 50 48 G2 = 140 24 85 5.9
NPT RH24L BKN 04 xxxxx 4 5 1/8-27NPT - 69 8 22 0.35
ANSIB 1.20.1 BKN 06 xxxxx 6 6  1/4-18NPT = 69 1.5 22 0.35
BKN 10 xxxxx 10 10 3/8-18NPT - 73 12 27 0.5
BKN 13 xxxxx 13 13 1/2-14NPT = 92 15.5 30 0.65
BKN 20 xxxxx 20 20 3/4-14NPT - 97 16 41 15
BKN 25 xxxxx 25 24 1-11.5NPT = 113 19 46 2
BKN 32 xxxxx 32 32 11/4-115NPT - 15 19.5 60 3.2
BKN 40 xxxxx 40 38  1M/2-115NPT = 135 19.5 70 4
BKN 50 xxxxx 50 48  2-11.5NPT - 140 20 85 5.9
DIN 2353 L BKHL 04 xxxxx 4 5 M12x1.5 6 67 75 22 0.3
BKHL 06 xxxxx 6 6 M14x1.5 8 67 7.5 22 0.3
BKHL 08 xxxxx 8 8 M16x1.5 10 71 8.5 22 0.3
BKHL 10 xxxxx 10 10 M18x1.5 12 75 8.5 27 0.5
BKHL 13 xxxxx 13 13 M22x1.5 15 84 9.5 30 0.6
- BKHL 16 xxxxx 16 15 M26x1.5 18 83 9.5 32 0.75
BKHL 20 xxxxx 20 20 M30x2 22 102 12 41 1.5
BKHL 25 xxxxx 25 24 M36x2 28 108 12 46
BKHL 32 xxxxx 32 32 M45x2 35 128 13.5 60 3
BKHL 40 xxxxx 40 38 M52x2 42 133 13.5 70 3.8
DIN 2353 S BKHS 04 xxxxx 4 5 M14x1.5 6 71.5 9.5 22 0.35
BKHS 06 xxxxx 6 6 M18x1.5 10 73 9.5 22 0.35
BKHS 08 xxxxx 8 8 M20x1.5 12 77 9.5 22 0.35
BKHS 10 xxxxx 10 10 M22x1.5 14 84 1.5 27 0.5
BKHS 13 xxxxx 13 13 M24x1.5 16 87 1.5 30 0.6
BKHS 16 xxxxx 16 13 M30x2 20 91 13.5 30 0.65
BKHS 20 xxxxx 20 20 M36x2 25 110 15 41 15
BKHS 25 xxxxx 25 24 M42x2 30 120 17 46 2.1
BKHS 32 xxxxx 32 32 M52x2 38 140 19 60 3.1

UN/UNF 824058, 15ENl

www.fukefitting.com



GUKE rzna

Tki® BALL VALVE

BERT

R TR RS

JB FRfE N ISR BKGB 04
O BIE T HZH BKGB 06
BKGB 08
BKGB 10
BKGB 16
BKGB 20
BKGB 25
BKGB 32
BKGB 40

XXXXX
XXXXX
XXXXX
XXXXX
XXXXX
XXXXX
XXXXX
XXXXX
XXXXX

DN
mm

4
6
8

10

16

20

25

32

40

LW
mm

10
15
19
24
30
36

BKGBiELL BB EL ST, UN/UNF $240%HE, 15Ef

ITERE SR

BKR 20

i
dJio

.@&
H

(747

1 BN
2 C35ERIIHIW, i
3 T AISI 316Ti

|~

PR/ 1R AF
1 RN
3 T AISI 316Ti

HEF R EREM A
TRER 11232

TR 3325 (RE—LEM)

www.fukefitting.com

D

M12x1.25
M16x1.5
M22x1.5
M27x1.5
M30x1.5

M36x2
M42x2
M52x2
M60x2

L I SW1
mm mm mm
61 10 19
69 11 19
76 12 27
76 12 27
84 13 32
103 15 41
116 18 50
149 20 60
174 22 70
FEALIE
0 EeE
1 5SS
2 R
3 {ERE
4 $5TRAMIE
O AR

T B&158% NBR
BN&E K PTFE
FEEEE FPM
ZA%ER EPDM

ook Ww

1 BEELRR PA

2 ZEHEE POM

T FE#% 8% NBR
B&E % PTFE
BIR&E CHEPVDF
BB EIPEEK

oo, w

=

2
kg
0.35
0.35
0.5
0.65
0.75
15

3.2



Product description

TkEBALL VALVE

TR SERENM AR A E) | ] 55/" 56

Ningbo Fuke Hydraulic Machinery Co., Ltd.

DN
mm

13
20
25
32
40
50

LW
mm

13
20
24
32
38
47.5

B

H
mm

51.2
73.4
76.6
104.4
111.4
129

H1
mm

40
57
60
85.4
92.4
110

H4

GRAELS
BK GFS
DN04-DN25

H1

H2

H2
mm

17.25
24.5
26.5
39.5

42
52

c

B
H4 SW
mm mm
10.9 9
16 14
16 14
18.5 17
18.5 17
18.5 17

BE R
SK GFS
DN32-DN50
M S
mm
M5 3
M6 4
M6 4
M8 5
M8 5
M8 5

www.fukefitting.com



GUKE rans
Tki® BALL VALVE
RBERT
THEe DN PB L A © E F G b =
mm bar mm mm mm mm mm N E£# mm kg
3000PSI
BK GFS 13 xxxxx 13 1/2 315 104 54 46 38.1 17.5 M8 5/16-18 15 1
BK GFS 20 xxxxx 20 3/4 315 121 65 52 47.6 22.3 M10 3/8-16 14 1.9
BK GFS 25 xxxxx 25 1 315 133 70 59 524 26.2 M10 3/8-16 18 2.5
SK GFS 32 xxxxx 32 11/4 250 163 79 73 58.7 30.2 M10 7/16-14 18 3.6
SK GFS 40 xxxxx = 40 11/2 200 168 94 83 69.9 35.7 M12 1/2-13 19 4.5
SK GFS 50 xxxxx 50 2 200 186 102 97 77.8 42.9 M12 1/2-13 19 6.5
6000PSI
BK GFS6 13 xxxxx 13 1/2 400 104 56 48 40.5 18.2 M8 5/16-18 16 1.1
BK GFS6 20 xxxxx 20 3/4 400 121 71 60 50.8 23.8 M10 3/8-16 18 2
BK GFS6 25 xxxxx = 25 1 400 133 81 70 57.2 27.8 M12 7/16-14 24 2.7
SKGFS632xxxxx 32 11/4 400 163 95 78 666 318 M4 1213 26 3.9
SK GFS6 40 xxxxx 40 11/2 400 168 113 95 79.3 36.5 M16 5/8-11 28 4.9
SK GFS6 50 xxxxx 50 2 400 186 133 114 96.8 445 M20 3/4-10 28 7.2

*ER IR B X TAEE 71 3 B 2 AR B A3 Sk E D R R KA BRAER R TR (AEREE) ERH TEENFRTHRERR.

FERIMERTEN, BRBITEHN

TR B SR

BK

G

FS

20

RIS

EZ A

RS

757

1 B0
2 C35 HiEIHIM, N
3 TN AISI 316Ti

BRIt/ AT

1 B4
3 IEE5R AISI 316Ti

HEAFRORREM 13
R4 11232

W 3325 (RE—IEH)

www.fukefitting.com

— REAE

0 BRFL
1 EEE
2 EAH
3 fEIRGE
4 $5RALTE

O A

S5 FPM

oo w

Bk EE
1 BEZ PA
2 ZEHEE POM

ook w

T B5#58% NBR
BM&E 2% PTFE

Z 1B EPDM

T B5158% NBR

Bm& k% PTFE
BiwE k% PVDF
B2EREAER PEEK



Product description TEEBRAEINERAS | 157/158

Ningbo Fuke Hydraulic Machinery Co., Ltd.

¥ki® BALL VALVE

®E M SwW

"
= -
’:‘ I/
=
4 o -% (&) <| O
Ij (7777
- L/
L1 L2 L3
L R BIKR
BK SF
DN04-DN25

# M SwW

Ha4
s

wz / /
z - /-
o L2l o <o I /
VZZZ7 o K
_—

(1T IT ]

L D—
L1 L2 L3 B
L S ) 1
SK SF
DN32-DN50
DN LW L1 B H H1 H2 H4 SW M S
mm mm mm mm mm mm mm mm mm mm
13 13 47 35 51.2 40 17.25 10.9 9 M5 3
20 20 60 48 73.4 57 245 16 14 M6 4
25 24 65 57 76.6 60 26.5 16 14 M6 4
32 32 83.4 80 104.4 85.4 39.5 18.5 17 M8 5
40 38 91 90 111.4 92.4 42 18.5 17 M8 5
50 47.5 100 111 129 110 52 18.5 17 M8 5

www.fukefitting.com



GUKE a3

¥ki® BALL VALVE

DN
mm

BK SF 13 xxxxx 13 1/2
BK SF 20 xxxxx 20 3/4
BK SF 25 xxxxx 25 1
SK SF 32 xxxxx 32 11/4
SK SF 40 xxxxx 40 11/2
SK SF 50 xxxxx 50 2

BK SF6 13 xxxxx 13 1/2
BK SF6 20 xxxxx 20 3/4
BK SF6 25 xxxxx 25 1
SK SF6 32 xxxxx 32 11/4
SK SF6 40 xxxxx 40 11/2
SK SF6 50 xxxxx 50 2

FRIERTE., BRSTEN
T 5B SR

BK SF

PB
bar

315
315
315
250
200
200

400
400
400
400
400
400

20

mm

151
162
178
190
231
232

151
174
198
223
281
316

1

L2 L3
mm mm
3000PSI

35 6.7
35 6.7
35 8
35 8
40 8
45 9.5
6000PSI

35 7.7
40 8.8
40 €5
45 10.3
70 12.6
80 12.6

mm

24
21
27
33
40
52

24
32
38
44
51
67

mm

14
21
27
33
40
52

s
S 2 A

i’z

33K

1 F%5N
2 C35 HiRYIEI4M, Hw
3 BN AISI 316Ti

B/ 4T
1 %5
3 R AISI 316Ti

HEFRIRRAEM A3
TREN 11232
TN 3325 (Rig—I&m)

www.fukefitting.com

mm

mm mm

30.2 254 4.2

38.1

31.8 4.2

44 .4 39.6 4.2
50.8 44.5 4.2
60.3 53.7 4.2
71.4 63.3 4.2

31.7 254 4.2
41.3 31.8 4.2
47.6 39.6 4.2

54

44.5 4.2

63.5 53.7 4.2
79.4 63.3 4.2

*ER IR A TAEE 71 T R A 2 SR B AR Sk E DR AR KAV RAER N TR (LERERE) ERM TIEENERTHERE.

0
1
2
3
4

RmEAIE

BResEi
SEESE
=Rz
TEIRGE
ARSI

O A

(23N, ¢ ~OV]

1
2

o0 W

T A% NBR
Bm&E K PTFE
AL FPM

Z A% EPDM

TkEE

BEtAR PA

BEXEREE POM

T &A% NBR
BU&E & PTFE
BiRAck PVDF
BREREAER PEEK

mm

2.8
2.8
2.8
2.8
2.8
2.8

2.8
2.8
2.8
2.8
2.8
2.8



Product description PRI SREN A RS

Ningbo Fuke Hydraulic Machinery Co., Ltd.

FinZE4 INFORMATION

1159/160

A AR & R~ Port

11S0 9974-1 A HIME L O M AHEC A3 . 1SO 9974-1 metric thread port and mating stud end.

anlzanlzpinlan
(=

A TR ISO 9974-3 B U fi:iit  1SO 9974-2 E A O fER%s) O JE 18 % £+
Type A 1ISO 9974-3 Type B 1ISO 9974-2 Type E O-Ring Seal O-Ring Seal
d4
d3
90° - 32
-, 3

L3
L2

7

FHTASSUVR 22 HE 7 i AR

This dimension only applies when tap
drill cannot pass through entire boss

. mm7/
Wd2

ISO 9974-1 il 1 Port

i 1 RA) Port Dimensions mm
AL d3
dz2 d4 L1 L2 L&

Thread 2% ref. el A tol. min. max. min. min. W

d1 dim.

M8X1 3 8 0, +0.2 13 1 8 10 0.1
M10X1 4.5 10 0, +0.2 15 1 8 10 0.1
M12X1.5 6 12 0, +0.2 18 1.5 12 15 0.1
M14X1.5 7 14 0, +0.2 20 1.5 12 15 0.1
M16X1.5 9 16 0, +0.2 23 1.5 12 15 0.1
M18X1.5 11 18 0, +0.2 25 2 12 15 0.1
M20X1.5 10 20 0, +0.2 27 2 14 17 0.1
M22X1.5 14 22 0, +0.2 28 2.5 14 17 0.1
M26X1.5 18 26 0, +0.2 33 2.5 16 19 0.2
M27X2 16 27 0, +0.2 83 2.5 16 20 0.2
M33X2 23 33 0, +0.3 41 2.5 18 22 0.2
M42X2 30 42 0, +0.3 51 2.5 20 24 0.2
M48X2 36 48 0, +0.3 56 2.5 22 36 0.2

www.fukefitting.com



G LKE

Fin 2% INFORMATION

FamiTés

2 1SO 6149-1 A HIMEL0 11 K B A 1SO 6149-1 metric thread port and mating stud end.

ISO 6149-2, SO 6149-3 T4
ISO 6149-2. 1SO 6149-3 stud end

&2
d4( & gauiing) A
Al AR
T RO.2 For identification of port
‘ ] RO.1 d6
< R0.2max
N — R0.4max d5 ~
B g 22
7 7 :
hr
d3 ©
e’
g | d1 K
JHTAR AP 5 i gk /lo]A
This dimension only applies when tap
drill cannot pass through entire boss
ISO 6149-1 jii 111 Port
7 2 R~) Port Dimensions mm
WAL d2 d3 d5 dé L1
L2 L3 L4 z° O JEH
Thread ; o | ZB% | d4 | 401 | +05 | +0.4 _ _ .
min.” | min ? min. max. min. +1 O-RING
d1 ref. 0 0 0
M8X1 17 14 3 12.5 9.1 14 1.6 11.5 1 10 12 6.1X1.6
M10X1 20 16 4.5 14.5 111 16 1.6 11.5 1 10 12 8.1X1.6
M12X1.5 | 23 19 6 17.5 | 13.8 19 24 14 1.5 11.5 15 9.3X2.2
M14X1.5 | 25 21 7.5 19.5 | 15.8 21 24 14 1.5 11.5 15 11.3X2.2
M16X1.5 | 28 24 9 225 | 17.8 24 24 15.5 1.5 13 15 13.3X2.2
M18X1.5 | 30 26 11 245 | 19.8 26 24 17 2 14.5 15 15.3X2.2
M20X1.5 | 32 27 - 255 | 21.8 27 24 -- 2 14.5 15 17.3X2.2
M22X1.5 34 29 14 275 | 23.8 29 2.4 18 2 15.5 15 19.3X2.2
M27X2 40 34 18 325 | 294 34 3.1 22 2 19 15 23.6X2.9
M33X2 49 43 23 415 | 354 43 3.1 22 2.5 19 15 29.6X2.9
M42X2 60 52 30 50.5 | 44.4 52 3.1 22.5 2.5 19.5 15 38.6X2.9
M48X2 66 57 36 55,5 | 50.4 57 3.1 25 2.5 22 15 44.6X2.9
M60X2 76 67 44 65.5 | 624 67 3.1 27.5 2.5 24.5 15 56.6X2.9

www.fukefitting.com




Product description TEBEAEAEEAS | 1671/162

Ningbo Fuke Hydraulic Machinery Co., Ltd.

Ff in 24 INFORMATION

3 DIN 3852 424l O M AHEC A3 DIN 3852 BSP thread port and mating stud end.

) ] L ]

{

DIN 3852 A % ki3 DIN3852 B U A):3ii DIN3852 E % A):3ii O JE [ % X O JE Rl &
DIN 3852 Type A DIN 3852 Type B DIN 3852 Type E O-Ring Seal O-Ring Seal
d4
d3
90° - 32
- .
|
? W ik
A d1
DIN 3852 yif [ Port
W ) Port Dimensions mm
d4
X +0.4
24 Thread L1 L2 L3
d3 0 w
d1 T max. min. min.
B. E AUk He
Type B,E Others
G1/8X28 9.8 0,+0.2 15 19 1 8 13 0.1
G1/4X19 13.2 0,+0.2 19 25 15 12 18.5 0.1
G3/8X19 16.7 0,+0.2 23 28 2 12 18.5 0.1
G1/2X14 21 0,+0.2 27 34 2.5 14 22 0.1
G3/4X14 26.5 0,+0.2 33 42 2.5 16 24 0.2
G1X11 33.3 0,+0.3 40 47 2.5 18 27 0.2
G1.1/4X11 42 0,+0.3 50 58 2.5 20 29 0.2
G1.1/2X11 47.9 0,+0.3 56 65 2.5 22 31 0.2
G2X11 59.7 0,+0.3 69 76 3 24 33 0.2

4 BS5380 S B2 L 1 K AH L A3 BS5380 BSP thread port and mating stud end.

E=

BS 5380 #4uii BS 5380 stud end

www.fukefitting.com



GUKE a3

FAinZE 4 INFORMATION

d2 A

A li‘h_ 0.12| A d5

R0.4max

R0.12 3.2
3 S A
3.2 ~—
/ :

N\ S
R
N
d3 .
d1 fT01]A
®_| A5 xA
BS 5380 i 1 Port
W I X ~) Port Dimensions mm
R d5 L1
1247 Thread d2 d3 L3 L4 (oFiA:]
+0.12 +0.4
d1 min. max. max. min. O-RING
0 0
G1/8X28 15 14 11.24 1.3 0.6 10.5 8.1X1.6
G1/4X19 19 18 14.16 1.2 0.6 11.0 10.1X1.6
G3/8X19 23 22 18.86 1.9 0.6 12.5 13.6X2.4
G1/2X14 27 26 22.40 1.9 0.8 15.0 17.6X2.4
G5/8X14 31 30 26.00 24 0.8 16.3 19.5X3.0
G3/4X14 33 32 28.92 24 1.1 16.3 22.5X3.0
G1X11 40 39 35.50 24 1.1 19.1 29.5X3.0
G1.1/4X11 50 49 43.56 24 1.1 21.4 36.5X3.0
G1.1/2X11 56 55 49.42 2.4 1.1 225 42.5X3.0
G2X11 69 68 61.42 2.4 1.1 25.7 54.5X3.0

5 JIS B 2351 SAF IR Lo O KA AR JIS B 2351 BSP thread port and mating stud end.

JIS B2351 i JIS B 2351 stud end

www.fukefitting.com



Product description

FinzE4l INFORMATION

TRABFRENMERAS)

Ningbo Fuke Hydraulic Machinery Co., Ltd.

1163/164

d2 A
d5
1 -0.12 A
A . . R0O.3
T ’ R0O.1 32
% ! N Z 3.2 —
-
7 ;
e’
N
A di / fToala
EGEN
JIS B 2351 il 1 Port
W I X ~) Port Dimensions mm
d5 L1
W24 Thread d2 L2 L3 L4 O M
+0.1 +04
d1 +0.3 min. max. min. O-RING
0 0
G1/8X28 18 11.6 2 15 1 10 7.8X1.9
G1/4X19 24 15.6 2.5 18 1.5 12 10.8X2.4
G3/8X19 28 18.6 2.5 18 2 12 13.8X2.4
G1/2X14 34 22.6 2.5 24 2.5 16 17.8X2.4
G3/4X14 45 29.8 3.5 25 2.5 17 22.1X3.5
G1X11 51 35.8 3.5 30 2.5 21 28.7X3.5
G1.1/4X11 62 44.8 3.5 30 2.5 21.4 37.7X3.5
G1.1/2X11 68 50.8 3.5 30 2.5 21.4 43.7X3.5
6 1SO 11926-1 SR L I M AHECH: 5 1SO 11926-1 SAE thread port and mating stud end.
ISO 11926-2. 1SO 11926-3 F B L0 kT3
1ISO 11926-2. ISO 11926-3 SAE thread stud end
d2
d4 (5t gauging) A
A
/ — — 7 RO0.4max @
I 7/ RO.2
N S, RO.1 %
S TA \
: 32 —
) ]
2 &
A Red
d3 ©
d1
®— /T0ATA
FHTAS Fu v 22 e 2 i AR i

This dimension only applies when tap
drill cannot pass through entire boss

ISO 11926-1 ZE %43 1 1SO 11926-1 SAE thread port

www.fukefitting.com



GUK E m==nz

FinzE4l INFORMATION

W E X~} Port Dimensions mm
R4 Thread d2 23 d4 d5 L1 L2 L3 L4 z° O JE kel
d1 min. 2% min. +0.05 04 min. max. min. +1° O-RING
ref. 0

5/16"X24 17 2.5 11 9.15 1.9 12 1.6 10 12 6.07X1.63
3/8"X24 19 3.5 13 10.75 2.4 12 1.6 10 12 7.65X1.63
7/16"X20 21 4.5 15 12.45 24 14 1.6 11.5 12 8.92X1.83
1/2"X20 23 6 16 14.05 25 14 1.6 11.5 12 10.52X1.83
9/16”X18 25 7.5 18 15.70 25 155 2.4 12.7 15 11.89X1.98
3/4"X16 30 10 22 20.65 25 17.5 24 14.3 15 16.36X2.21
7/8"X14 34 12.5 26 24 3.3 20 2.4 16.7 15 19.18X2.46
1.1/16"X12 41 16 32 29.2 3.3 23 24 19 15 23.47X2.95
1.3/16"X12 45 18 35 32.4 2.3 23 24 19 15 26.62X2.95
1.5/16"X12 49 21 38 35.55 3.3 23 3.2 19 15 29.74X2.95
1.5/8"X12 58 27 48 43.55 2.3 23 3.2 19 15 37.46X3.00
1.7/8"X12 65 33 54 49.9 3.3 23 3.2 19 15 43.69X3.00
2.1/2"X12 88 45 70 65.75 2.3 23 3.2 19 15 59.36X3.00

7 HERFIEL0M 0 Taper Thread Port

N
o)

b1

|
X1

HEATIEZIM O Taper Thread Port

W 3 s} Port Dimensions mm
R4 (Thread) E b1 min. b2 min.

R1/8x28 9.5 7.5

R1/4x19 13.5 11
R3/8x19 14 115

YLHE R LT R1/2x14 17.5 15
BSPT Thread R3/4x14 19 16.5
R1x11 22.5 19.5
R1.1/4x11 24.8 21.5
R1.1/2x11 24.8 21.5

R2x11 29.5 26

Z1/8x27 10 78
AR e Z1/4x18 14 11.8
NPT Thread Z3/8x18 14 11.8
Z1/2x14 18 155

Z3/4x14 18.5 16
Z1x11.5 22.5 19.5
Z1.1/4x115 24 20.5
Z1.1/2x115 24 20.5
Z2x11.5 25 215

www.fukefitting.com



Product description

FfiinZE 4 INFORMATION

TR REMERAE]

Ningbo Fuke Hydraulic Machinery Co., Lid.

1 165/166

A O HEFEEHHE. 74° 2F1HIE

2RI ER Recommended Thread Torque

ANHIMELr Metric Thread

JEAFIRAL BSP

Thread

JERHIAE N.M

SRS NUT TORQUE
M12x1.5 10-20
M14x1.5 20-35
M16x1.5 25-40
M18x1.5 30-45
M20x1.5 35-50
M22x1.5 40-70
M24x1.5 40-70
M26x1.5 60-100
M30x2.0 80-120
M36x2.0 100-150
M42x2.0 150-220
M45x2.0 180-250
M52X2.0 200-300

&M JIC 184 JIC Thread

24 THREAD

BEREHA N.M

24 THREAD ,jﬁ E?rﬂo%ER gL'J\fE
G1/8"x28 1112
G1/4"x19 2528
G3/8"x19 41-48
G1/2"x14 ——
G5/8"X14 96-110
G3/4"X14 o

G1"x11 151-165
G1.1/4"x11 192206
G1.1/2"x11 261-275

G2"x11 343-357

1l ORFS #2£r ORFS Thread

124; THREAD l\?ﬁfioﬂ; QNU'\é
9/16"x18 14-16
11/16"x16 0497
13/16"x16 43.47

1"x14 —_—
1.3/16"x12 90-95
1.7/16"x12 125135
1.11/16"x12 170-190

2"x12 200-225

NUT TORQUE
7/16"x20 15-16
1/2"x20 19-21
9/16"x18 24-28
3/4"x16 49-53
7/8"x14 77-85
1.1/16"x12 107-119
1.3/16"x12 127-140
1.5/16"x12 147-154
1.5/8"x12 172-181
1.7/8"x12 215-226
2.1/2"x12 332-350

www.fukefitting.com



GUKE rzna

M Seal

d O i )
d AN
, .
O ¥ O Ring Y& # Bonded Seal
DIN 24° #4241 O J& [ %5 35 il O JE el SAE iJ: 411 O JE Il
For DIN 24° Cone O-ring L.T. For SAE Flange O-ring
O JERIMR WAL d b M O RIS BERE d b
PART NO. THREAD TUBE O.D. PART NO. FLANGE SIZE
004.5x1.5 M12X1.5 4.5 1.5 6 0210 172" 18.64 3.53
006.5x1.5 M14X1.5 6.5 1.5 8 0214 3/4" 24.99 3.53
008.0x1.5 M16X1.5 8.0 15 10 0219 1" 32.92 3.53
010.0x1.5 M18X1.5 10.0 1.5 12 0222 1.1/4" 37.69 3.53
012.0x2.0 M22X1.5 12.0 2.0 15 0225 1.1/2" 47.22 3.53
015.0x2.0 M26X1.5 15.0 2.0 18 0228 2" 56.74 3.53
015.0x2.0 M27X1.5 15.0 2.0 18 0232 2.1/4* 69.44 3.53
CRNE20 B 200 20 22 JIS 72/ O For JIS Flange O Ring
026.0x2.0 M36X2 26.0 2.0 28 O RS T
032.0x2.5 M45X2 32,0 25 35 PART NO. (ALANEEE Sipiz g g
038.0x2.5 M52X2 38.0 2.5 42 0212 5/8" 21.82 3.53
DIN 24° 4l 5 41 O Ji i #5141 O T GLEHMRLL O Tl BHEL T O T
For DIN 24° Cone O-ring H.T. For BSP Male O-ring
O EER S HRLL d b HhMe O RN BRAL d b
PART NO. THREAD TUBE O.D. PART NO. THREAD
004.5x1.5 M14X1.5 4.5 1.5 6 0011 G1/8"X28 7.65 1.78
006.5x1.5 M16X1.5 6.5 1.5 8 o111 G1/4"X19 10.77 2.62
008.0x1.5 M18X1.5 8.0 1.5 10 0113 G3/8"X19 13.94 2.62
010.0x1.5 M20X1.5 10.0 15 12 0115 G1/2"X14 17.12 2.62
011.0x2.0 M22X1.5 11.0 2.0 14 0910 G5/8"X14 19.18 2.46
013.0x2.0 M24X1.5 13.0 2.0 16 0119 G3/4"X14 23.47 2.62
016.3x2.4 M30X2 16.3 24 20 0217 G1"X11 29.74 3.53
020.3x2.4 M36X2 20.3 24 25 0222 G1.1/4"X11 37.69 3.53
025.3x2.4 M42X2 253 24 30 0224 G1.1/2"X11 44.04 3.53
033.3x2.4 M52X2 33.3 24 38 0139 G2"X11 54 3
1 ORFS AMERLCF- I O J¥ R % 35t O TE el F il SAE SMERZL O JE I %k H2kH O JE R
For ORFS Male O-ring For SAE Male O-ring
O KRS RZL d b O JEI S IREL
- d b
PART NO. THREAD PART NO. THREAD
0011 9/16"x18UNF 7.65 1.78
0904 7/16"x20UNF 8.92 1.83
0012 11/16"x16UN 9.25 1.78
0014 13/16"x16UN 1242 | 178 9200 24200 fwes || &8
0016 1"x14UNSF 15.6 1.78 0906 9/16"x18UNF 11.89 1.98
0018 1.3/16"x12UN 18.77 1.78 0908 3/4"x16UNF 16.36 2.21
0021 1.7/16"x12UN 23.52 1.78 0910 7/8"x14UNF 19.18 2.46
0025 1.11/16"x12UN 29.87 1.78 0912 1.1/16"x12UN 23.47 295
0029 2"x12UN 37.82 1.78
0914 1.3/16"x12UN 26.62 2.95
0916 1.5/16"x12UN 29.74 2.95
0920 1.5/8"x12UN 37.46 3.00
0924 1.7/8"x12UN 43.69 3.00
0932 2.1/2"x12UN 59.36 3.00

www.fukefitting.com



Product description TEFERENEEAS | 167/168

Ningbo Fuke Hydraulic Machinery Co., Ltd.

Fiin 54 INFORMATION

LR IR 60° HMETHI T O TR

For BSP Female 60°Cone O-ring JNFh 2R 41475 Bonded Seal
OB (5 d b HEHRRE AL d D
PART NO. THREAD PART NO. THREAD
0171 G3/4"X14 171 1.6 ZHD-10 M10 . G1/8" 10.4 16
0221 G1"X11 221 1.6 ZHD-14 M14 | G1/4" 14.4 20
0291 G1.1/4"X11 29.1 1.6 ZHD-16 M16 16.4 22
0351 G1.1/2"X11 35.1 1.6 ZHD-18 M18 . G3/8" 18.4 25
ZHD-22 M22 . G1/2" 225 30
KL O B For Waterwash O-ring
YA VB ZHD-24 M24 245 32
i d b
PART NO. THREAD ZHD-27 M27 . G3/4" 275 35
010.0X2.0 M22x1.5 10.0 2.0 ZHD-30 M30 305 38
ZHD-33 M33 . G1" 335 42
SAE il #%:3k ] O JE M
For SAE Staplelok O-ring ZHD-36 M36 36.6 46
O BRI kMG B
PART NO. FITTING SIZE g 9 ZHD-42 M42 . G1.1/4 42.6 53
006.0X2.0 -04 6.0 2.0 ZHD-45 M45 456 56
010.0X2.0 -06 10.0 2.0 ZHD-48 M48 . G1.1/2" 48.7 60
013.0X2.5 -08 13.0 25
ZHD-52 M52 52.7 66
019.0X2.5 -12 19.0 25
025.0X2.5 16 25.0 25 ZHD-60 Meo . G2 60.7 75
033.0X2.5 -20 33.0 225)
040.0X3.0 -24 40.0 3.0
050.0X3.0 -32 50.0 3.0
A AMRESCAT I R AR O TR T '
For Metric Male Adjustable Stud End O-ring d
O TR WRZL d b D
PART NO. THREAD
006.1X1.6 M8X1 6.1 1.6
008.1X1.6 M10X1 8.1 1.6
009.3X2.4 M12X1.5 9.3 2.4 e4 CAPTIVE
011.3X2.4 M14X1.5 11.3 24 AL B WELL s R B
013.3X2.4 M16X1.5 13.3 24 PART NO. THREAD
015.3X2.4 M18X1.5 15.3 2.4 WD-B02 G1/8"X28 8.4 11.9 1.0
017.3x2.4 M20X1.5 17.3 24 WD-B04 G1/4"X19 11.6 16.5 1.5
OiBHes SE2AE B3 24 WD-B06 G3/8"X19 147 18.9 15
021.3X3.0 M24X1.5 213 3.0 WD-B08 G1/2"X14 18.5 239 1.5
023.5X3.0 M26X1.5 2315 3.0
WD-B12 G3/4"X14 239 29.2 1.5
023.5X3.0 M27X2 235 3.0
WD-B16 G1"X11 29.7 35.7 2.0
026.5X3.0 M30X2 26.5 3.0
029.5X3.0 M33X2 205 30 WD-B20 G1.1/4"X11 38.8 45.8 2.0
038.5X3.0 Ma2X2 385 3.0 WD-B24 G1.1/2"X11 447 50.7 2.0
044 5%X3.0 MABX2 5 30 WD-B02 M10X1 8.4 11.9 1.0
056.2X3.0 M60X2 56.2 3.0 WD-M12 M12X1.5 9.8 14.4 1)
WD-B04 M14X1.5 11.6 16.5 1.5
II WD-M16 M16X1.5 13.8 18.9 148}
d WD-M18 M18X1.5 15.7 209 1.5
D WD-M20 M20X1.5 17.8 229 148
TE ) R WD-M22 M22X1.5 19.6 24.3 1.5
Hp R d D H WD-B12 M26X1.5 23.9 29.2 1.5
DP-B04G 6 " 2 WD-B12 M27X2 23.9 29.2 15
BDR:BOSG 5 18 2 WD-B16 M33X2 29.7 3517 148
II WD-B20 M42X2 38.8 45.8 2.0
c; WD-B24 M48X2 447 50.7 2.0
D
HE RN
BERE d D H
DP-B04DK 6 11.3 4.5
DP-B08DK 12 18.5 5

www.fukefitting.com



TRFBRBRENWBRAS]

Ningbo Fuke Hydraulic Machinery Co., Ltd.

5

B RE

© MIBRWHRILA BRI ATHOFT2S
No.72,Hukoulane,Tongguang Village,
Fengshanstreet,YuYao,ZheJiang

pengyongjiu@fukeyeya.com

Q +86-133 6246 0879
+86 574-62687101

@ www.fukefitting.com




